Since 71948

ALCAN

IS

Caliper Brake Systems

..:

= - .-
. = = .' E m—_— ‘|-‘ N




aa

e B
i s " -
EEE R R o e A 1 ‘ t =




I\ SEN

Caliper Brake Systems

ALCAN OTOMOTIV HAKKINDA

1978 yilinda, izmir'de kurulmustur.
Firmamizin kurulusundan itibaren daima en iyi hizmet ve en yuksek kalite
gecmisten gunumuze kadar olan degismez politikasidir. Strekli artan kapasitesi

ile sektorinde emin adimlarla ilerlemekde olup sizlerin 6zgtvenine layik olmaya
calisacaktir.

imalatci olmanin sorumlulugunu yillardir tastyan ALCAN OTOMOTIV, emin
adimlarla sektérinde lider kalmaya devam edecektir.




ALCAN OTOMOTIV
It was established in I1zmir in 1978.

Since the establishment of our company, the best service and the highest
quality is the constant policy from the past to the present. With its ever-
increasing capacity, it takes firm steps forward in its sector and will try to deserve

your self-confidence.

ALCAN OTOMOTIV, which has been responsible for being a manufacturer for many
years, will continue to be the leader in its sector with confident steps.

www.alcanotomotiv.com






Meritor

IA\\ WS

www.alcanotomotiv.com



A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Repair Kit - Right
T Marka / Brand Meritor
° © 2215 OEM NO -
Model Elsa 2
- 1

I J 2028 Caliper Guides and Bushes Repair Kit
2 2023 Calibration Mechanism Complete - 1
3 2045 Dust Cover - 1
4 2093 Actuator Seal - 1
2100 Brake Caliper Lever - 1
6 1904 Seal 12x22x7 1
— 7 2152 Caliper Adjusting Gear (Right) - 1
B 8 2073 Calliper Bearing Caps - 1

Caliper Mechanism Repair Kit
/ Front - L - (26 Teeth)

; o o Marka / Brand Meritor
o @ 2203 C '
OOOO \\\\ “ m- m

2185 Operation Shaft Left-Front /26 1

. " Teeth

> o C 2 2187 Mechanism Repair Kit Left 1

e ‘ @ - 3 2191 Caliper Gasket & Bolts Repair Kit - 1
° O O |

55

L ) 4 2192 Caliper Adjusting Gear Left 1
i - i 5 2189 Adjusting Mechanism Clutch System Left 1
‘@ ‘ \ 6 2184 Caliper Seal & Bush Set - 1
WATA 2203 7 2183 Washer - 1

8 2196 Caliper Spline Shaft Bearing House Left 1

9 2194 Caliper Spline Shaft Ball Bearing - 1

10 2195 Caliper Spline Shaft Ball Bearing - 1

Caliper Mechanism Repair Kit
/ Front - Right - (26 Teeth)
d 0 9 Marka / Brand Meritor
OEM NO -
O ‘9'_ - 2204 Model

—

O
. mm
OOO \\\\ “ Right-Front / 26 1
) e ©

e

Operation Shaft Teeth

2 2188 Mechanism Repair Kit Right 1

” @ 3 2191 Caliper Gasket & Bolts Repair Kit - 1

L O 4 2193 Caliper Adjusting Gear Right 1
. N 5 2190 Adjusting Mechanism Clutch System Right 1
‘m . 6 2184 Caliper Seal & Bush Set - 1

\ MRTR 2204 Sy 2183 Washer - 1
8 2197 Caliper Spline Shaft Bearing House Right 1

9 2194 Caliper Spline Shaft Ball Bearing - 1

10 2195 Caliper Spline Shaft Ball Bearing - 1

6 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison
purposes only, and may not be used in invoices

Caliper Mechanism R. Kit
/ Rear - Right - (26 Teeth)

ALCAN NO Marka / Brand

2199
mm

2182

2188
2191
2193
2190
2184
2183
2197
2194
2195

OEM NO
Model

Operation Shaft

Mechanism Repair Kit
Caliper Gasket & Bolts Repair Kit
Caliper Adjusting Gear
Adjusting Mechanism Clutch System
Caliper Seal & Bush Set
Washer
Caliper Spline Shaft Bearing House
Caliper Spline Shaft Ball Bearing
Caliper Spline Shaft Ball Bearing

Caliper Mechanism R. Kit
/ Rear - L - (26 Teeth)

ALCAN NO

2198

o oo0E | seion " pwgsion " e

1

2158

Lo o ssaon L oesou i

Teeth
Mechanism Repair Kit Left
Caliper Gasket & Bolts Repair Kit -
Caliper Adjusting Gear Left
Adjusting Mechanism Clutch System Left
Caliper Seal & Bush Set -
Washer -
Caliper Spline Shaft Bearing House Left
Caliper Spline Shaft Ball Bearing -
Caliper Spline Shaft Ball Bearing -
Repair Kit - SET ( ELSA 1 - Right)
Marka / Brand Meritor
OEM NO 463 - 464 MAN SET (NEW MODEL)
Model Elsa 1

2181

2187
2191
2192
2189
2184
2183
2196
2194
2195

2051
2095
2001
2042
2012
2139
2086
2120

Marka / Brand
OEM NO
Model

Operation Shaft

Caliper Repair Kit
Brake Caliper Locking Shim
Brake Caliper Tappet Boot Set
Adjusting Gear Kit - 35 mm -
Caliper Roller Bearing Kit
Caliper Spring Retainers Thrust Repair Kit
Adjusting Mechanism Clutch System

Caliper Cover Plate Gasket (Metal Sheet)

Meritor

Right-Rear / 26
Teeth

Right

Right
Right

Right

Meritor

Left-Rear / 26

Right

Right
Right

1

1

—_

A\ Pareny

(1]
O
O
o
& e
0000 WW\ss 5
a2 .\a@'nc ~
°®&? 20°
w0 O/[

!A\
\.i"

K,%oo
~

awC-’ 0

www.alcanotomotiv.com

MERITOR 2198

dg” “.‘.,'f-f 0

MERITOR 2158




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Repair Kit - SET ( ELSA 1 - Left)

B A.canNO Marka / Brand Meritor
21 59 OEM NO 463 - 464 MAN SET (NEW MODEL)
Model Elsa 1
m CODE DESCRIPTION m PIECE
2051 Caliper Repair Kit
2 2095 Brake Caliper Locking Shim - 1
3 2001 Brake Caliper Tappet Boot Set - 1
4 2041 Adjusting Gear Kit - 35 mm - Left 1
5 2012 Caliper Roller Bearing Kit - 1
J g 6 2138 Caliper Spring Retlzziitners Thrust Repair Left 1
MERITOR 2158
7 2084 Adjusting Mechanism Clutch System Left 1
Caliper Cover Plate Gasket (Metal :
@ Ak Sheet) !
_Repair Kit - SET ( DUCO - Left)
ALCAN NO Marka / Brand Meritor
2 21 60 OEM NO VOLVO Set
g ——— = 8 - Model Duco
oo | I e _m
D ° ) ) = m CODE DESCRIPTION PIECE
:_ o = — \ s =y 2008 Caliper Guide and Seals Repair Kit (Rear)
8 % ° o © 2 2011 Caliper Roller Bearing Kit - 1
L 4
- o o % 3 2101 Caliper Anti Rotation Plate - 1
: !A: 4 2016 Intermediate Gear & Spring Set - 1
&5 ° el e ° CD. 5 2060 Caliper Adjusting Tappet Repair Kit Left 1
frrr ooy ~ 6 2004 Caliper Adjusting Mechanism Rear-Left 1
7 2075 Caliper Visual Pad Wear Assembly - 1
8 2013 Caliper Cover Plate Gasket Kit - 1

Repair Kit - SET ( DUCO - Right)

“Ww W % Marka / Brand Meritor
OEM NO VOLVO Set
‘%‘%Nﬁ @’“ 21 61 Model Duco
o ¢ I T
‘ 3;{ \ g 2008  Caliper Guide and Seals Repair Kit (Rear)

— & "J' .,__9 2 2011 Caliper Roller Bearing Kit - 1
- ‘ & 3 2101 Caliper Anti Rotation Plate - 1
| m | 4 2016 Intermediate Gear & Spring Set - 1
e ‘ & <3. 5 2061 Caliper Adjusting Tappet Repair Kit Right 1
0 ° 6 2005 Caliper Adjusting Mechanism Rear -Right 1
yemsmen 7 2075 Caliper Visual Pad Wear Assembly - 1
8 2013 Caliper Cover Plate Gasket Kit - 1

8 www.alcanotomotiv.com




purposes only, and may not be used in invoices

All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

Repair Kit - SET ( Volvo - New Model )

ALCAN NO Marka / Brand Meritor
21 62 OEM NO Volvo Set - New Model
Model Elsa 195, Elsa 225

Lo cooe L pesuon oo e

2050 Caliper Repair Kit 1
2 2012 Caliper Roller Bearing Kit - 1
3 2045 Dust Cover - 1
4 2048 Caliper Adjusting Gear - 1
5 2047 Calibration Mechanism Complete - 1
6 2093 Actuator Seal - 1
7 2074 Caliper Visual Pad Wear Assembly - 1
8 2073 Caliper Bearing Caps - 1

Caliper Adjusting Mechanism (Front)

Marka / Brand Meritor
2003 OEM NO MCK1113, SJ4110, 3092267, 85102093
Model B Duco, C Duco, D Duco, LE Duco
Lo o oo ____owasson e
1 1806 Caliper Adjusting Mechanism Front
2 1904 Seal 12x22x7 1

Caliper Adjusting Mechanism (Rear-Left)

Marka / Brand Meritor
2004 OEM NO MCK1111, SJ4102, 3092265, 85102095
Model B Duco, C Duco, D Duco, LE Duco
Lo cor osarmon L ouesonpice
1 1807 Caliper Adjusting Mechanism Rear-Left
2 1904 Seal 12x22x7 1

Caliper Adjusting Mechanism (Rear-Right)

Marka / Brand Meritor
2005 OEM NO MCK1112, SJ4103 , 3092266, 85102096
Model B Duco, C Duco, D Duco, LE Duco
CNo cooe —osscurmon owension _ rice
1 1808 Caliper Adjusting Mechanism Rear-Right 1
2 1904 Seal 12x22x7 1

1]
%(' N\U e

OO N

OTOMOTIV

we o VY|

MERITOR 2162

-
o
.E
-
Q
=

MERITOR 2003

MERITOR 2004

MERITOR 2005

www.alcanotomotiv.com 9




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Tappet Head Repair Kit
Marka / Brand Meritor

2006 OEM NO MCK1238, 3092264, CMSK.3.5

Model B Duco, C Duco, D Duco, LE Duco
Lo o psson oo e
1308 Tappet Boot
2 1809 Brake Caliper Tappet - 2
3 1906 Clips - 2

MERITOR 2000

Caliper Guide and Seals Repair Kit (Rear)

Ma:)k:“; zr;nd MCK1134, MCK1116, “43:?;4, 3092255, 3095627,
2008 " 85102094, CMSK.3.1
odel B Duco, C Duco, D Duco, LE Duco
NO | CODE DESCRIPTION DIMENSION PIECE
1 1101 Pin @35/102 1
2 1102 Pin @ 35/60 mm 1
3 1201 Screw M20X2/125 1
4 1202 Screw M20 x 2 / 80 mm 1
5 1403 Round Bush @35x40/77 mm 1
6 1402 Bush @35 X 39/30 mm 1
= m-.g.;u. o 7 1501 Pin Cap @40/18.5 2
o s 1300 Pin Boot : 2
9 1401 Pin Ring @37 X40/10 mm 2

Caliper Guide and Seals Repair Kit (Rear)

Marka / Brand Meritor
ALCAN NO OEM NO MCK1134, MCK1116, SJ4094, 3092255, 3095627,

85102004
\O \ 2105 Model B Duco, C Duco, D Duco, LE Duco

Lo conpaion oo e

'! 1101 @35/102

E ’ E a 2 1102 Pin @ 35/60 mm 1
3 1201 Screw M20X2/125 1

4 1202 Screw M20 x 2 /80 mm 1

ﬁ ﬁ 5 1434 Round Bush @ 35x40/36 mm 2

6 1402 Bush @ 35 X 39/30 mm 1

et @_,- 7 1501 Pin Cap ©40/185 2

8 1309 Pin Boot - 2

9 1401 Pin Ring @37 X40/10 mm 2

10 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Guide and Seals Repair Kit (Rear)

Marka / Brand Meritor
OEM NO MCK1134, MCK11168,5$1:.(J);%994‘1‘, 3092255, 3095627, . [ °
21 56 Model B Duco, C Duco, D Duco, LE Duco ” \
Lo oo osarion L oweiso e I
1101 @35/102 Ir

2 1102 Pin @ 35/60 mm 1 ‘ i i & a

3 1201 Screw M20X2/125 1 . @

4 1202 Screw M20 x 2 / 80 mm e

5 1458 Round Bush @39.5x35/77 mm 1 ﬁ a

6 1402 Bush @ 35X 39/30 mm 1

7 1501 Pin Cap ©40/18.5 2 9 il 9—/

8 1309 Pin Boot - 2

9 1401 Pin Ring @37 X40/10 mm 2

Caliper Guide and Seals Repair Kit (Front)

Marka / Brand Meritor

ALCAN NO
OEM NO MCK1135, MCK1118, SJ4107, 3092256, 3096768,

85102092
2007 Model D Duco

I ST o -
1101 ©35/102 " ' ' ' o

2 1201 Screw M20 X 2/125 20 | E
3 1403 Round Bush 035x40/77mm 1 S
4 1402 Bush @35 X 39 /30 mm 2 A A
5 1501 Pin Cap ©40/18.5 2
6 1309 Pin Boot - 2 @ e o
7 1401 Pin Ring @37 X40/10 mm 2 o

Caliper Guide and Seals Repair Kit (Front)

Marka / Brand Meritor
P MCK1135, MCK1118, SJ4107, 3092256, 3096768,

85102092

21 06 Model D Duco
Lolcore ] vescurmon | omesionrecs Y

1101 ©35/102
2 1201 Screw M20X2/125 2
3 1434 Round Bush @ 35x40/36 mm 2
4 1402 Bush @ 35 X 39/30 mm 2
5 1501 Pin Cap @40/18.5 2
6 1309 Pin Boot - 2 e
7 1401 Pin Ring © 37 X40/10 mm 2 S

www.alcanotomotiv.com 11




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Guide and Seals Repair Kit (Front)
2} Marka / Brand Meritor

21 55 OEM NO MCK1135, MCK11188,581.(J;:,(;72, 3092256, 3096768,
Model D Duco
oo o cmon oo e
1101 ©35/102
g w w 2 1201 Screw M20X2/125 2
— — 3 1458 Round Bush ©39.5x35/77 mm 1
“ A A 4 1402 Bush @ 35X 39/30 mm 2
% 7 vo 5 1501 Pin Cap @40/18.5 2
, % ) 6 1309 Pin Boot - 2
e 7 1401 Pin Ring © 37 X40/10 mm 2
Caliper Guide and Seals Repair Kit (Front)
Marka / Brand Meritor
2009 OEM NO -
Model B Duco, C Duco, D Duco, LE Duco
NO | CODE DESCRIPTION DIMENSION PIECE
(3] 1 1810 Adjusting Mechanism Left 1
2 1308 Tappet Boot - 1
3 1404 Bush @ 45x49/31 mm 1
4 1809 Brake Caliper Tappet - 1
5 1906 Clips - 1
MERTG. 2008 6 1907 Mechanism Seal - 1
Caliper Adjusting Tappet Repair Kit (Left)
Marka / Brand Meritor
2060 OEM NO MCK1236, 3092262, CMSK.3.2
Model B Duco, C Duco, D Duco, LE Duco, LRG648
Lo coor L oscumon L awviviow e
1810 Adjusting Mechanism Left
2 1308 Tappet Boot 2
3 1907 Mechanism Seal 2
4 1906 Clips - 2
5 1809 Brake Caliper Tappet 2
MERITOR .-m.a:- . 6 1404 Bush @ 45x49/31 mm 2

12 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Adjusting Tappet Repair Kit (Right)
/ Half Kit

Marka / Brand Meritor
201 0 OEM NO -
Model B Duco, C Duco, D Duco, LE Duco
Lo cor osamon L oueisonpice
1811 Adjusting Mechanism Right

2 1308 Tappet Boot - 1

3 1404 Bush @ 45x49/31 mm 1

4 1809 Brake Caliper Tappet - 1

5 1906 Clips - 1

6 1907 Mechanism Seal - 1 e

Caliper Adjusting Tappet Repair Kit (Right)

Marka / Brand Meritor
2061 OEM NO MCK1237, MCK1239, 3092263, CMSK.4.2
Model B Duco, C Duco, D Duco, LE Duco, LRG649
Lo cor osarmon L oueison s
1811 Adjusting Mechanism Right e
2 1308 Tappet Boot - 2 8
3 1907 Mechanism Seal - 2 .:
4 1906 Clips - 2 v
5 1809 Brake Caliper Tappet - 2 E
6 1404 Bush @45 x 49 /31 mm 2 MERITOR 2061
Small Gear Mechanism (Left)
Marka / Brand Meritor
2096 OEM NO 68322562PK4, CMSK.5.2, 68322562
Model C Duco, D Duco, LE Duco, Elsa 1, LRG705
Lo cor L ssaron L oueson s
1 2096 Gear Mechanism Left ©

MERITOR 2006

Small Gear Mechanism (Right)

Marka / Brand Meritor
2097 OEM NO 68322563PK4, CMSK.5.3, 68322563
Model C Duco, D Duco, LE Duco, Elsa 1, LRG704
Lo o saon ooy e
1 2097 Gear Mechanism Right

MERITOR 2007

www.alcanotomotiv.com 13




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Visual Pad Wear Assembly

ALCAN NO Marka / Brand Meritor
24 OEM NO SJ4111, CMSK.3.13
2075 Model B Duco , D DUCO , C DUCO , LE DUCO,
LRG536/37/652/53
oo e oo e
1 1936 Indicator Bar
2 1713 Spring - 1

MERITOR 2075

Caliper Repair Kit

Marka / Brand Meritor
2033 OEM NO MCK1065, MCK1066, CMSK.3.14
Model B Duco, C Duco, D Duco, LE Duco
NO | CODE DESCRIPTION DIMENSION PIECE
1 1101 Pin @35/102 1
2 1309 Pin Boot - 2
3 1501 Pin Cap ©40/18.5 2

MERITOR 2033

A0)1A9A

Caliper Guide and Dust Cover Repair Kit

ALCAN NO Marka / Brand Meritor
2049 OEM NO MCK1299, 3095628, 85107718
Model B Duco, C Duco, D Duco, LE Duco, LRG648/49
m CODE DESCRIPTION W PIECE
. 1101 ©35/102
M20X2/125
2 1201 Screw mm 2
L) 3 1202 Screw M20 x 2 /80 mm 1
4 1501 Pin Cap @40/18.5 2
MERITOR 2049 5 1309 Pln BOOt - 2
Caliper Anti Rotation Plate
ALCAN NO Marka / Brand Meritor
21 01 OEM NO 68322900PK10, CMSK.3.11
Model B Duco, C Duco, D Duco, LE Duco, LRG598/99
NO | CODE DESCRIPTION DIMENSION PIECE
1 2101 Anti Rotation Plate - 1

MERITOR 2107

14 www.alcanotomotiv.com




purposes only, and may not be used in invoices

All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

OTOMOTIV

Caliper Roller Bearing Kit

ALCAN NO Marka / Brand Meritor
OEM NO SJ4112, 3092329, CMSK.3.3
201 1 Model B Duco, C Duco, D Duco, LE Duco, Elsa 2,
LRG646/47
m CODE DESCRIPTION m PIECE
2165 Caliper Roller Bearing Kit

2 1814 Roller Bearing - 2
3 1813 Lever Bearing - 2

Caliper Roller Bearing Kit
Marka / Brand Meritor
OEM NO -
Elsa 1, DX175, B Duco, C Duco, D Duco, LE
21 65 Model Duco, Elsa 2
Lo cone L puson oo e
1 1812 Bearing berth
2 1601 Half Bearing - 2

MERITOR 2165

Meritor

Caliper Cover Plate Gasket

Marka / Brand Meritor
OEM NO ;
2054 Model D Duco
Lo o osamon L pwesou e

1 2054 Cover Plate Gasket

MERITOR 2084

Caliper Cover Plate Gasket

ALCAN NO Marka / Brand Meritor
2 0 5 5 OEM NO -
Model C Duco, LE Duco
m CODE DESCRIPTION W PIECE
1 2055 Cover Plate Gasket

www.alcanotomotiv.com 15




A\ Parierdy

MERITOR 2066

MERITOR 2073

A0)1A9A

-

MERITOR 2014

-0 ‘@ “a°

MERITOR 2014

16

de}

All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison
purposes only, and may not be used in invoices

Caliper Cover Plate Gasket

ALCAN NO Marka / Brand Meritor
20 56 OEM NO 68322774PK4
Model D Duco

Lo oo o oo

1 2056 Cover Plate Gasket

Caliper Cover Plate Gasket Kit

ALCAN NO Marka / Brand Meritor
20 1 3 OEM NO SJ4105, 3095669, CMSK.3.7
Model B Duco, C Duco, D Duco, LE Duco, LRG596/97

Lo cor osamon oo

2056 Cover Plate Gasket
2 1904 Seal 12x22x7 1
3 1905 Seal - 1
4 2045 Dust Cover - 1
Caliper Cover Plate Gasket Kit
ALCAN NO Marka / Brand Meritor
201 4 OEM NO MCK1041, 3092269
Model B Duco, C Duco, D Duco, LE Duco

Lo cor osamon ook

2055 Cover Plate Gasket
2 1904 Seal 12x22x7 1
3 1905 Seal - 1
4 2045 Dust Cover - 1
Caliper Cover Plate Gasket Kit
ALCAN NO Marka / Brand Meritor
201 5 OEM NO SJ4109, 3092270
Model B Duco, C Duco, D Duco, LE Duco

Lo oo oo oo

2054 Cover Plate Gasket
2 1904 Seal 12x22x7 1
3 1905 Seal - 1
4 2045 Dust Cover - 1

www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Cover Plate Gasket (Metal Sheet)
Marka / Brand Meritor
OEM NO -
21 1 9 Model Elsa 1
Lo lcoot L pesurmon | omesson Lece

1 2119 Caliper Cover Plate Gasket (Metal Sheet)

&
Caliper Cover Plate Gasket (Metal Sheet)
Marka / Brand Meritor
OEM NO -
21 20 Model Elsa 1
o o ocnmon oo e
1 2120 Caliper Cover Plate Gasket (Metal Sheet)
&
Caliper Cover Plate Gasket (Metal Sheet)
Marka / Brand Meritor .
OEM NO -
21 21 Model Elsa 1 8
o oo s oo =
1 2121 Caliper Cover Plate Gasket (Metal Sheet) E
&
Caliper Actuator Seal Set ° ° ° ° °
Marka / Brand Meritor
OEM NO 68322297PK10, 20706977, 5001 866 415
2209 Model Duco

NO | CODE DESCRIPTION DIMENSION PIECE
1 1905 Seal -

MERITOR 2200

Intermediate Gear & Spring Set

Marka / Brand Meritor
201 6 OEM NO MCK1067, CMSK.3.10
Model D Duco, LRG560/61
Lo cor osaron oo i
1703 Spring
2 1704 Spring - 1
3 1816 Intermediate Gear - 1

MERITOR 2018

www.alcanotomotiv.com 17




A\ Parierdy

O @.

MERITOR 2017

MERITUR 2018

A0)1A9A

MERITOR 2020

90000
o O -

MERITOR 2780

All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison
purposes only, and may not be used in invoices

Caliper Adjusting Mechanism (Left)

ALCAN NO Marka / Brand Meritor
201 7 OEM NO SJ4113, 3092763, CMSK.10
Model C Lisa, D Lisa, LRG594
m CODE DESCRIPTION m PIECE
1817 Adjusting Mechanism Left

2 1705 Spring . 1

3 1948 Felt - 1

4 1329 Adjusting Boot - 1

Caliper Adjusting Mechanism (Right)

Marka / Brand Meritor
201 8 OEM NO SJ4114.1, 30927'64, CMSK.10.2
Model C Lisa, D Lisa, LRG595
NO | CODE DESCRIPTION DIMENSION | PIECE
1 1818 Adjusting Mechanism Right 1
2 1705 Spring 5 1
3 1948 Felt - 1
4 1329 Adjusting Boot - 1

Caliper Guides and Bushes Repair Kit

Marka / Brand Meritor
2029 OEM NO SJ4076, 30.981 08, ?001 837006, CMSK.13
Model C Lisa, D Lisa, LRG550/51
Lo coesaron oo e
1108 ©35/79 mm
2 1107 Pin ©35/132 mm 1
3 1205 Screw M20 x 1.5/90 mm 1
4 1206 Screw M20 x 1.5 /150 mm 1
5 1309 Pin Boot - 2
6 1413 Pin Ring @37 x47 /12 mm 2
1407 Round Bush @ 35x39/30 mm 2
8 1414 Round Bush @ 35x41/30 mm 2
9 1504 Pin Cap Q 45/14.5 mm 2
10 1415 Oval Bush @ 35-36 x 39 / 47 mm 1
Caliper Guides and Bushes Repair Kit
Marka / Brand Meritor
21 80 OEM NO SJ4052, (-:MSK.54
Model C Lisa
Lo oo e oo e
1160 ©@35/115 mm
1161 Pin ©30/75mm 1
3 1384 Screw M18 x 1.5/ 135 mm 1
4 1385 Screw M18 x 1.5 /95 mm 1
5 1359 Tappet Boot 2
6 1486 Bush @30 x 34 /26 mm 2
7 1487 Pin Ring @32x42/12mm 2
8 1488 Bush @ 30-31 x 34 / 26 mm 1
9 1489 Pin Cap ©37/11 mm 1
10 1490 Pin Cap @ 42 /43 mm 1

www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A LCAN

Caliper Tappet Dust Cover Set

| ALCANNO_|
2205

Lo o saron ook

1

2

Brake Caliper Boot & Seal Set

|_ALCANNO
2035

B
@ ' O
C Lisa, D Lisa S

Brake Caliper Boot & Seal Set

|_ALCANNO_|
2150

SJ4078, CMSK.7
C Lisa, D Lisa, LRG548/49 ° °
m CODE DESCRIPTION W PIECE
. ‘®

1309
1359

1309 Pin Boot

1313 Tappet Boot - 1 s
1823 Shield @42 x60/6 mm 1 et
1918 Seal @ 40 x 57 /6 mm 1 E
1917 Seal @39 x52/5.5mm 1 E
1948 Adjusting O-ring - 1

1329 Adjusting Boot - 1 G

1920 Seal - 1

&
1309 Pin Boot
1313 Tappet Boot - 1
1823 Shield @42x60/6 mm 1 H
1918 Seal @40 x 57 / 6 mm 1 )
1917 Seal @39 x52/5.5mm 1
1948 Adjusting O-ring - 1
1329 Adjusting Boot - 1 °
1920 Seal = 1 MERITOR 2150
1359 Pin Boot - 2
1360 Qil Plug - 1

Marka / Brand
OEM NO
Model

Pin Boot

Tappet Boot

Marka / Brand
OEM NO
Model

Marka / Brand
OEM NO
Model

purposes only, and may not be used in invoices A
OTOMOTIV
/'o G
Meritor
SJ4077, 1524607, 3098109
C Lisa, D Lisa

MERITOR 2205

Meritor
SJ4061, 8550895

Meritor

www.alcanotomotiv.com 19




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Adjusting Gear Kit (Left)
L] ALCAN NO Marka / Brand Meritor
: ° OEM NO MCK1021, MCK1151, CMSK.11V
2037 Model C Lisa, D Lisa, LRG592/564

NO | CODE DESCRIPTION DIMENSION PIECE

; . 1 1824 Operation Shaft Left 1

'_b y b 2 1825 Fixed Ramp Left 1

° 0o R
\ 3 1826 Anti Rotation Pin - 1
4 1602 Ball - 3

MERITOR 2007

A0)1A9A

Bolt Repair Kit

Marka / Brand Meritor
2206 OEM NO SJ4021, 8550'881, 65537710
Model Lisa
NO | CODE DESCRIPTION DIMENSION PIECE
1 1206 Screw M20 x 1.5/150 mm 1
2 1393 Screw M20 x 1.5 /100 mm 1
3 1504 Pin Cap @45/14.5 mm 1

MERITOR 2208

20 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison \A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Adjusting Gear Kit (Right)

Marka / Brand Meritor

2038 OEM NO MCK1.022, M(?K1152, CMSK.12v

Model C Lisa, D Lisa, LRG593/565
Lo cor osamon L oviviowpice
1827 Operation Shaft Right

2 1828 Fixed Ramp Right 1 e

3 1826 Anti Rotation Pin - 1 ‘ ® y b

4 1602 Ball - 3 ~ °

MERITOR 2007

Meritor

Shaft Setting Lever
Marka / Brand Meritor
21 49 OEM NO -
Model C Lisa, D Lisa
Lo Lo | osourton L owason_Leice

1672 Setting lever
2 1266 Screw M10 x 1.5/ 50mm 1
3 1456 Pin Set - 1

MERITOR 2148

www.alcanotomotiv.com 21




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

OTOMOTIV

purposes only, and may not be used in invoices

Shaft Setting lever

ALCAN NO Marka / Brand Meritor
21 64 OEM NO SJ4117, 3092765, 65537714
Model D Lisa

Lo cove  oseumon _owevson_pice

1 2164 Caliper Push Plate

Adjusting Gear Ball
Marka / Brand Meritor
2066 OEM NO -
Model C Lisa, D Lisa
Lo o scnon oo e

1 1602 Ball

MERITOR 2064

A0)1A9A

Caliper Adjusting Gear (Left)
Marka / Brand Meritor
6 2039 OEM NO $J4073, 3098110, CMSK.15
5 o Model C Lisa, D Lisa
' Lo oo scnion L owevson_pice|

1 1275 Adjusting Gear
2 1739 Spring - 1

MERITOR 2030

Caliper Adjusting Gear (Right)

@ = ALCAN NO Marka / Brand Meritor
( OEM NO SJ4074, 3098111, CMSK.15.1
@ 9 2040 Model C Lisa, D Lisa
NO | CODE DESCRIPTION DIMENSION PIECE
1 1276 Adjusting Gear Right 1
2 1739 Spring s 1

MERITOR 2040

20 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

OTOMOTIV

purposes only, and may not be used in invoices

Needle & Roller Bearings

Marka / Brand Meritor
2053 OEM NO -SJ4031-, CMSK.14
Model C Lisa, D Lisa, LRG554/55
Lo oo saron oo e
1869 Washer @73 /@47 mm

2 1605 Shaft Roller Bearing @725/ @46 x 8,5 mm 1

3 1420 Bush @44 x @40 x 15 mm 1

4 1507 Dust Excluder Retainer @44 | @37,5 mm 1

5 1606 Shaft Roller Bearing 052 / @46 x 16 mm 1

MERITOR 2053

Caliper Adjusting Gear (Left)
Marka / Brand Meritor
OEM NO -
201 9 Model Elsa 2
Lo Lo ossaurton L owison_pice

1 1819 Adjusting Gear Left
2 1706 Spring - 1

-
o
.E
-
Q
=

Caliper Adjusting Gear (Right)

Marka / Brand Meritor
2020 OEM NO -
Model Elsa 2
NO | CODE DESCRIPTION DIMENSION PIECE
1 1820 Adjusting Gear Right 1
2 1706 Spring = 1

MERITOR 2020

Caliper Adjusting Gear (Left)

Marka / Brand Meritor
21 51 OEM NO CMSK.7.11.4
Model Elsa 2, LRG646
Lo o osemon oo e
1 1565 Adjusting Gear Left
2 1706 Spring = 1

www.alcanotomotiv.com 23




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Adjusting Gear (Right)

Marka / Brand Meritor
21 52 OEM NO CMSK.7.11.3
Model Elsa 2
Lo on oo oveso e
1 1566 Adjusting Gear Right
2 1706 Spring - 1

MERTOR 2152

Caliper Adjusting Mechanism Sealing Kit
Marka / Brand Meritor
2021 OEM NO CMSK.7.4
Model Elsa 2, Elsa 195, Elsa 225, LRG669/70
I S T T
1 1405 Bush
2 1912 Felt - 2
3 1406 Ring - 2

MERITOS 2027

Mechanism Repair Kit

O O O O ‘ ALCAN NO Marka / Brand Meritor
L _ OEM NO CMSK.7.9

<
1)
=.
o
o
q

/ 2044 Model Elsa 2, Elsa 195, Elsa 225, EX 225, LRG646/47
O O O‘ o NO | CODE DESCRIPTION DIMENSION PIECE
(2] o 1 1834 Clutch Plate - 4
( 2 1836 Clutch Plate - 3
. . 3 1604 Bearing - 1
e s S 4 1417 Plastik Ring - 1
MERITOR 2044 5 1418 Ring - 2

Caliper Calibration Mechanism (Aluminium)

° Marka / Brand Meritor
2022 OEM NO CMSK.7.5, 68324625
Model Duco, Elsa 2, LRG712/13
NO | CODE DESCRIPTION DIMENSION PIECE
1 1821 Mechanism Cap - 1
2 2057 Seal - 1

j Q\E '\\\;\\@ \Q\e ‘\\% ‘\ J 3 1203 Screw M8x45 Flanged 8

MERITOR 2022

24 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

OTOMOTIV

purposes only, and may not be used in invoices

Caliper Calibration Mechanism (Aluminium)

Marka / Brand Meritor
OEM NO ;
21 37 Model Elsa 2
Lo o oscurnon _oweison_pice

1443 Mechanism Cap
2 2057 Seal - 1 °
3 1203 Screw M8x45 Flanged 8 ‘ Q‘\é '\\% \“\e \Q\g '\
- &

MERITOR 2137

Calibration Mechanism Complete

Marka / Brand Meritor w
2023 o;:\)nd::) Elsa 2 o 8
\[¢) CODE DESCRIPTION DIMENSION PIECE .:
1 2023-1 Calibration Mechanism - 1 %

2 2057 Seal . 1 ( : = e = |

3 1203 Screw M8x45 Flanged 8 “\\ \ K\ ‘\\ \?\\ﬁ \@ \@ \‘g

MERITOR 2003

Calibration Mechanism Complete

Marka / Brand Meritor
2216 o

Lo saron oo e
; 222;5671 Callbratlogel\;echamsm - 1 ;\é\%\%@\%\‘

3 1203 Screw M8x45 Flanged 8

www.alcanotomotiv.com 25




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Calibration Mechanism (Aluminium)

Marka / Brand Meritor
2046 OEM NO 6086530, 68325646
Model Elsa 195, Elsa 225, EX 225
Lo osaron oesou ek
1837 Mechanism Cap
2 2058 Seal - 1
3 1222 Screw Set M8 - 1.25 / 45mm 8

MERITOR 2046

Caliper Calibration Mechanism (Aluminium)

Marka / Brand Meritor
21 5 4 OEM NO -
Model Elsa 195, Elsa 225, EX 225
Lo o oscuron oo e
1 1457 Mechanism Cap
5 ” 2 2058 Seal - 1
‘ W ‘ 3 1222 Screw Set M8 - 1.25 / 45mm 8
. e

MERITOR 2154

<
1)
=.
o
o
q

Calibration Mechanism Complete

Marka / Brand Meritor
2047 OEM NO -
Model Elsa 195, Elsa 225, EX 225
oo osarmon puaisou e
1 2047-1 Calibration Mechanism
2 2058 Seal - 1
3 1222 Screw Set M8 - 1.25 / 45mm 8

MEFRITOR 2047

Calibration Mechanism Complete

Marka / Brand Meritor
221 7 OEM NO -
Model Elsa 195, Elsa 225, EX 225
Lo oo oon oo e
1 22171 Calibration Mechanism
2 2058 Seal - 1
3 1222 Screw Set M8 - 1.25 / 45mm 8

MERITOR 2217

26 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Calibration Mechanism

Marka / Brand Meritor
21 07 OEM NO -
Model Elsa 2, Elsa 195, Elsa 225
Lo oo ssaron L ovow it
1893 Mechanism Cap
2 1958 Seal - 1
3 1203 Screw M8x45 Flanged 8

MEFRITOR 2107

Calibration Mechanism Complete

Marka / Brand Meritor
21 08 OEM NO -
Model Elsa 2, Elsa 195, Elsa 225
Lo oo oscnriononson e
1 2108-1 Calibration Mechanism
2 1958 Seal - 1 )
3 1203 Screw M8x45 Flanged 8 ‘ \ r\ ‘\ \ \@ -\\i\‘-ﬁ \‘3 \‘G

MERITOR 2108

}
Caliper Adjuster Mechanism S
Marka / Brand Meritor i
2024 OEM NO - w
Model Elsa 2, Elsa 195, Elsa 225, EX 225 E
Lo co samon L aveson i
1 2024 Adjuster Mechanism

MERITOR 2004

Caliper Brake Lining Calibration Gear

ALCAN NO Marka / Brand Meritor
2025 OEM NO -
Model Elsa 2, Elsa 195, Elsa 225, EX 225
Lo o scurnon _ ovason e
1 1847 Brake Lining Calibration Gear 1]
Caliper Brake Lining Calibration Gear °
ALCAN NO Marka / Brand Meritor
2223 OEM NO -
Model Elsa 2, Elsa 195 /225 / EX 225
NO | CODE DESCRIPTION DIMENSION PIECE \ piN
1 1847-2 Pin - 2 i

2 1847-1 Callibration Gear - 2 b . (\ Q /,-\
3 2024-2 Plastic Bush . 2 ' \

N e
4 20241 Calibration Plate - 1 (3] L]

MERITOR 2203

www.alcanotomotiv.com 27




purposes only, and may not be used in invoices

A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

OTOMOTIV

Caliper Adjusting Gear

Marka / Brand Meritor
2048 OEM NO -
Model Elsa 195, Elsa 225, EX 225
Lo saron L oueso i
1 1838 Adjusting Gear
2 1719 Spring - 1
3 1819-3 Scew - 1

MEFRITOR 2048

Caliper Cover Plate Gasket

ALCAN NO Marka / Brand Meritor
2057 OEM NO 68324270
Model Elsa 2
m CODE DESCRIPTION m PIECE
1 2057 Cover Plate Gasket

)

q

L[]

~+

()

q

Caliper Cover Plate Gasket
ALCAN NO Marka / Brand Meritor
2058 OEM NO -
Model Elsa 195, Elsa 225, EX 225
oo csamon L ovasor ke
1 2058 Cover Plate Gasket
(1)
® Operating Seals
ALCAN NO Marka / Brand Meritor
21 1 0 OEM NO MCK1088, CMSK.46.1
Model Elsa 2, Elsa 195, Elsa 225, LRG736/37
) CODE DESCRIPTION DIMENSION PIECE

1 2045 Dust Cover - 1
2 2093 Caliper Seal - 1
3 1309 Pin Boot - 2
4 1308 Tappet Boot - 2

MERITOSR 2110

28 www.alcanotomotiv.com




purposes only, and may not be used in invoices

All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

OTOMOTIV

Caliper Adjusting Gear

Marka / Brand Meritor
21 1 2 OEM NO -
Model Elsa 195, Elsa 225, EX 225, LRG598/99
Lo oseumo oo
1 1898 Adjusting Gear
2 1719 Spring - 1
Brake Caliper Lever / ¢ °
Marka / Brand Meritor N
221 3 OEM NO -
Model Elsa 195, Elsa 225, EX 225

Lo cone L ssaon L pweson e

1499 Caliper Lever - 1
2 1648 Lever Bearing - 2 ‘ . ‘
3 1814 i - 2

Roller Bearing

MEFRITOS

Meritor

Brake Caliper Lever

ALCAN NO Marka / Brand Meritor
21 71 OEM NO -
Model EX 225
NO | CODE DESCRIPTION DIMENSION PIECE
1 1640 Caliper Lever - 1 -
2 1813 Lever Bearing - 2
3 1814 Roller Bearing - 2
Brake Caliper Lever 'y Py
ALCAN NO Marka / Brand Meritor -
21 72 OEM NO SJ4108, 21109755, 3092260, 85109977
Model D Duco

Lo cone L ssaon L pwesou e

1641 Caliper Lever 1 f N : ) )
2 1815 Lever Bearing - 2 H o
3 1814 Roller Bearing - 2 | | _

MERITOR 217

www.alcanotomotiv.com 29




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Brake Caliper Lever

& o

ALCAN NO Marka / Brand Meritor
21 73 OEM NO -
Model Elsa 2, Elsa 195, Elsa 225
m CODE DESCRIPTION m PIECE

1647 Caliper Lever

‘ . L) 2 1648 Lever Bearing - 2
( I | | 3 1814 Roller Bearing - 2

MERITOR 2173

o .:_/ : .
7;”_1 Brake Caliper Lever ( Left)
| o /
o ALCAN NO Marka / Brand Meritor
21 74 OEM NO SJ4096, MCK1398, 85109975, 3092258
Model B Duco, C Duco, D Duco, LE Duco
Lo saon oo

R : . 1622 Caliper Lever Left

@ @ ' o ' ‘ 2 1813 Lever Bearing - 2

| | 3 1814 Roller Bearing - 2
(]
q
L[]
-+
o
q

|4 Brake Caliper Lever ( Right)
: )/ SN G Marka / Brand Meritor
[ ALCANNO | $J4097, MCK1399, 85109976, 3092259,
Ll e 21109754
21 75 Model B Duco, C Duco, D Duco, LE Duco
Lo s oo
1623 Caliper Lever Right

‘ S e WY
@ @ L) 2 1813 Lever Bearing - 2
‘ ) 3 1814 Roller Bearing - 2

MERITOR 2175

Brake Caliper Lever (Left)

Marka / Brand Meritor
21 76 OEM NO -
Model Elsa 1
NO | CODE DESCRIPTION DIMENSION PIECE
1 1645 Caliper Lever Left 1
2 1813 Lever Bearing - 2
3 1814 Roller Bearing - 2

MERITOR 2176

30 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Brake Caliper Lever (Right)

Marka / Brand Meritor
OEM NO -
21 77 Model Elsa 1
Lo oo oncon L pweisoupice

1646 Caliper Lever Right

2 1813 Lever Bearing -
3 1814 Roller Bearing -

MERITOR 2177

Brake Caliper Lever

ALCAN NO Marka / Brand Meritor
21 69 OEM NO -
Model Elsa 195, Elsa 225
m CODE DESCRIPTION m PIECE

1868 Caliper Lever 1

‘ =, o o
2 1813 Lever Bearing - 2 ‘ w @ )
3 1814 Roller Bearing - 2 L U

MERITOR 2164

| &
o
.E
| &
)]
'/ . ..\-.
Brake Caliper Lever :j_ »}
Marka / Brand Meritor o
21 70 OEM NO -
Model Elsa 2, Elsa 195, Elsa 225
Lo Lcoot L oscumnion | owevson_pice

1897 Caliper Lever

2 1815 Lever Bearing s ‘ 9 ‘ '
3 1814 Roller Bearing -

MERITOR 2170

Brake Caliper Lever
Marka / Brand Meritor
OEM NO -
21 68 Model Elsa 2
Lo Lo ossaurton L owson_pice

1867 Caliper Lever -

2 1813 Lever Bearing - ‘ @
3 1814 Roller Bearing -

MERITOR 2164

www.alcanotomotiv.com 31




=
1)
=.
o
o
q

32

A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Brake Caliper Lever

ALCAN NO Marka / Brand Meritor
21 00 OEM NO -
Model Elsa 2
Lo o oscumonaweson it

¥

1 1867 Caliper Lever

2 2165 Caliper Roller Bearing - 1

3 1813 Lever Bearing - 2
1814 Roller Bearing - 2

MERITOR 2100

Brake Caliper Lever

ALCAN NO Marka / Brand Meritor
21 02 OEM NO -
Model Elsa 195, Elsa 225

\\[0] CODE DESCRIPTION DIMENSION PIECE
1 1868 Caliper Lever - 1

o @ o = 2 2165 Caliper Roller Bearing - 1
@ @ [ 4] 3 1813 Lever Bearing - 2

4 1814 Roller Bearing - 2

MERITOR 2107

Brake Caliper Lever ( Left)

_ Marka / Brand Meritor
AHEARIND CMSK.3.4, 3092258, 85109975, MCK1398,

2114 OEMNO $J4096
Model B Duco, C Duco, D Duco, LE Duco, LRG596/97
y . ¥ e \[o} CODE DESCRIPTION DIMENSION PIECE
| : _ : 1 1622 Caliper Lever Left 1
— N 9— Y ° 2 2165 Caliper Roller Bearing o 1
‘ w @ ‘ ' o . 3 1813 Lever Bearing - 2
I N J 5] 4 1814 Roller Bearing - 2
. © eronana . 5 1905 Seal - 1
Brake Caliper Lever ( Right)
Marka / Brand Meritor
. | . $J4097, MCK1 :;sﬁ,o gg; 29976, 3092259,
0 % 21 1 3 Model B Duco, C Duco, D Duco, LE Duco
| | 1623 Caliper Lever Right
— _ 9— Y 2 2165 Caliper Roller Bearing - 1
- s
% ! 3 1813 Lever Bearing - 2
. w ‘ ' d . ) °o 4 1814 Roller Bearing - 2
. © wemonars . 5 1905 Seal - 1

www.alcanotomotiv.com




purposes only, and may not be used in invoices

All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

OTOMOTIV

Brake Caliper Lever

Marka / Brand Meritor
2 1 3 0 OEM NO SJ4108, 21109755, 3092260, 85109977 ; 2 . B R
Model D Duco A

NO | CODE DESCRIPTION DIMENSION PIECE 5 71 1 .

1 1641 Caliper Lever - 1 : : )

2 2165 Caliper Roller Bearing - 1 — e— Y

3 1815 Lever Bearing - 2 ‘ v‘ ‘ . () ' °

4 1814 Roller Bearing - 2 |\_ . e
5 1905 Seal - 1 R

Brake Caliper Lever
Marka / Brand Meritor
OEM NO -
21 29 Model EX 225
Lol cone | oscomnon__|_oweison | nece

1640 Caliper Lever — @— -
2 2165 Calliper Roller Bearing - 1 DG NG
3 1813 Lever Bearing - 2 W W o -
4 1814 Roller Bearing - 2 a MERITOR 2129 i o
.E
| .
)
Brake Caliper Lever
ALCAN NO Marka / Brand Meritor
21 1 1 OEM NO -
Model Elsa 2, Elsa 195, Elsa 225 ’
\'[e] CODE DESCRIPTION DIMENSION PIECE ¢ r 5
1 1897 Caliper Lever - 1 = R/
2 2165 Caliper Roller Bearing - 1 o= 9 -
3 1815 Lever Bearing - 2 v v [ 4]
4 1814 Roller Bearing - 2 — e s -
Brake Caliper Lever
ALCAN NO Marka / Brand Meritor
21 34 OEM NO -
Model Elsa 2, Elsa 195, Elsa 225
Lo e ssamon L wason e
1647 Caliper Lever
2 2165 Caliper Roller Bearing - 1
3 1648 Lever Bearing - 2
4 1814 Roller Bearing - 2 o

www.alcanotomotiv.com 33




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Roller Bearing Kit
Marka / Brand Meritor
21 53 OEM NO -
Model Elsa 2, Elsa 195, Elsa 225
NO CODE DESCRIPTION DIMENSION PIECE
1 2165 Caliper Roller Bearing - 1
2 1648 Lever Bearing - 2
3 1814 Roller Bearing - 2
) Brake Caliper Lever (Left)
Marka / Brand Meritor

OEM NO -
21 31 Model Elsa1
[ SR | Wy ]

: el 1645 Caliper Lever
NG © NG ‘ 2 2165 Caliper Roller Bearing - 1
w wl & 3 1813 Lever Bearing - 2
b A 4 1814 Roller Bearing - 2

MERITOR 2131

A0)1A9A

Brake Caliper Lever (Right)
\ Marka / Brand Meritor
OEM NO -
21 32 Model Elsa 1
Lo cooe L oseuionowewsoupice

1646 Caliper Lever Right
2 2165 Caliper Roller Bearing - 1
3 1813 Lever Bearing - 2
4 1814 Roller Bearing - 2
\( (2] ©
Caliper Tappet Head Repair Kit
'\\‘ = # / & Marka / Brand Meritor
v N’ 2026 OEM NO RVI5001866398, 85107913, MCK1309
Model Elsa 2, Elsa 195, Elsa 225
A ™ T
N ] 1 1308 Tappet Boot

M ~ 2 1822 Brake Caliper Tappet - 2

3 1913 Clips @34 x 32 x 6,5 mm 2

MERITOR 2024

34 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Tappet Head Repair Kit

'/ ’ |
\ & { Bl
ALCAN NO Marka / Brand Meritor \i ./{ /
2076 OEM NO MCK1309, CMSK.7.7 \‘_/
Model Elsa 2, Elsa 195, Elsa 225, LRG700/01
\\[o] CODE DESCRIPTION DIMENSION PIECE

@
1 1822 Brake Caliper Tappet - 2 m
2 1913 Clips @34 x 32 x 6,5 mm 2 v

MERITOR 2076

‘ 4
Y |
2]
’. \ )
-
\""'--__.—l-'

Brake Caliper Tappet Boot Set
Marka / Brand Meritor

MCK1139, 68324854PK10, 81.50802.6024,

2002 CELTE 81508026024

Model Duco, Elsa 2, LRG638/39
m CODE DESCRIPTION m PIECE
1 1308 Tappet Boot o

MERITOR 2003

Meritor

Brake Caliper Tappet Boot Set

ALCAN NO Marka / Brand Meritor
2208 OEM NO 68324854PK10, 81.50802.6024
Model Elsa 2
m CODE DESCRIPTION m PIECE
1 1308 Tappet Boot

MERITOR 2208

Caliper Tappet Dust Cover Set

ALCAN NO Marka / Brand Meritor
21 45 OEM NO -
Model Elsa 2, Elsa 195, Elsa 225
NO CODE DESCRIPTION DIMENSION PIECE
1 1309 Pin Boot - 2
2 1308 Tappet Boot - 2

MERITOR 2148

www.alcanotomotiv.com 35




purposes only, and may not be used in invoices

A\ Parierdy

ﬁg % . Marka/ Brand
2 OEM NO
21 46 Model

3 1309
4 1308

Pin Boot

Tappet Boot

MERITOR 2146

Marka / Brand
OEM NO
21 47 Model

1 1112

2 1113 Pin

3 1208 Screw

4 1213 Screw

5 1204 Screw

6 1308 Tappet Boot
7 1309 Pin Boot

o ALCAN NO Marka / Brand

W‘i ~ =~ 2032
P o
| = \[o} CODE DESCRIPTION
\0 Lo 2 Pin
N 3 1213 Screw
. ) 4 1208 Screw
A B I ”j w . 5 1407 Round Bush
e. c ) o | o 9 6 1503 Pin Cap
e 7 1309 Pin Boot
8 1401 Pin Ring
9 1412 Round Bush
10 2240 Vacuum Test Adapter Plug

Caliper Guides & Seals Repair Kit

Meritor
225201
EX 225

M16 - 1.5/ 40mm

Caliper Guides & Seals Repair Kit

Meritor
225200
EX 225

@31/78 mm
©35/117 mm
M18 x 1.5/82 mm
M18 x 1.5/120 mm
M16 - 1.5/40mm

Caliper Guides and Bushes Repair Kit

Meritor
MCK1254
Elsa 195

DIMENSION
@31/78 mm
@35/117 mm
M18 x 1.5/120 mm
M18 x 1.5/82 mm
@ 35 x39/30 mm
@44 /22 mm
@37 X40/10 mm
@ 31-33 x 42 /30 mm

All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

N B

Lot saron oveso ke
| 2045 Dust Cover
2 1204 Screw -1,
(4]

N

m CODE DESCRIPTION m PIECE

=

ST \C IR N

PIECE

36 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Guides and Bushes Repair Kit

ALCAN NO Marka / Brand Meritor
21 40 OEM NO -
Model Elsa 195

1 1112 @31/78 mm
2 1113 Pin @35/117 mm 1

3 1213 Screw M18 x 1.5/120 mm 1
4 1208 Screw M18 x 1.5/82 mm 1 Eﬂ

5 1503 Pin Cap @ 44 /22 mm 2
6 1401 Pin Ring @37 X40/10 mm 2 Ll
7 1412 Round Bush @ 31-33 x 42 /30 mm 1

Caliper Repair Kit

Marka / Brand Meritor
2077 OEM NO MCK1298, 85109890, 5001866989
Model Elsa 225, Ex 225
Lo s owerson ]
1113 ©35/117 mm -
2 1213 Screw M18 x 1.5/120 mm 1 (@]
s 1112 Pin ©31/78 mm 1 =
4 1208 Screw M18 x 1.5/82 mm 1 E
5 1407 Round Bush @35 x 39 /30 mm 2 >
6 1401 Pin Ring @37 X40/10 mm 2
7 1503 Pin Cap @ 44 /22 mm 2
8 1224 Screw M14 - 1.5/40mm 4
9 1204 Screw M16 - 1.5 /40mm 4
10 1309 Pin Boot - 2
1 1412 Round Bush © 31-33 x 42 /30 mm 1
12 2240 Vacuum Test Adapter Plug - 1

Caliper Repair Kit
Marka / Brand Meritor

OEM NO MCK1254 —r _
2078 Model Elsa 195 v ® Wﬁx oy ()
o ) e o -,
1113 ©35/117 mm 1 \ P El a
=y

o
1213 Screw M18 x 1.5/120 mm 1 - J
1112 Pin @31/78 mm 1 é 0
4 1208 Screw M18 x 1.5 /82 mm 1 < o

n

w

5 1407 Round Bush ©35x39/30mm 2 w %ﬁy Q ,
6 1401 Pin Ring @37Xx40/10mm 2 % % ® ‘ C’ ° e
7 1503 Pin Cap @ 44 /22 mm 2 = = T *
8 1309 Pin Boot - 2 o
9 1224 Screw M14 - 1.5/40mm 4
10 1412 Round Bush ©31-33x 42/30 1
mm
1 2240 Vacuum Test Adapter Plug - 1

www.alcanotomotiv.com 37




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Repair Kit

Marka / Brand Meritor
221 1 OEM NO MCK1323
Model Elsa 195
NO CODE DESCRIPTION DIMENSION PIECE
1 1113 Pin ©@35/117 mm 1
2 1213 Screw M18 x 1.5/ 120 mm 1
3 1112 Pin ©31/78 mm 1
4 1208 Screw M18 x 1.5 /82 mm 1
5 1407 Round Bush @ 35x39/30mm 2
6 1401 Pin Ring @37 X40/10 mm 2
iy 7 1394 Pin Cap @44 /17 mm 2
. 8 1309 Pin Boot - 2
9 1204 Screw M16 - 1.5 /40mm 4
10 1412 Round Bush 031-33x42/30 4
mm
1 2240 Vacuum Test Adapter Plug - 1
% . .4 © Caliper Repair Kit
s | |
p—yy Marka / Brand Meritor
OEM NO MCK1253
91 % 2079 Model Elsa 195, Elsa 225
1 1224 Screw M14 - 1.5/40mm 4
% 2 1309 Pin Boot - 2
PAN J 3 1503 Pin Cap @44 /22 mm 2
!- - Caliper Repair Kit
‘% % u Marka / Brand Meritor
| - OEM NO 5001866400, 85109892, MCK1310
‘% m 9 o 2080 Model Elsa 195, Elsa 225
—_———————— \[o} CODE DESCRIPTION DIMENSION PIECE
% % u 1 1224 Screw M14 - 1.5/ 40mm 4
T i 2 1204 Screw M16 - 1.5/ 40mm 4
%% 3 1503 Pin Cap ©44/22 mm 2
W 4 1309 Pin Boot . 2
MR 5 1213 Screw M18 x 1.5/120 mm 1

38 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices 0 T O M O T I v
Caliper Guides and Bushes Repair Kit

ALCAN NO Marka / Brand Meritor o ‘ u
2034 OEM NO CMSK.7.15, 5001860792, 5001858718, MCK1244 | 9
Model Duco, Elsa 2, LRG662/63 ’ '

m CODE DESCRIPTION m PIECE w

1308 Tappet Boot = _
2 1309 Pin Boot : 2 o e w& : % :
3 1505 Pin Cap @ 45/28 mm 2 e G
4 2093 Actuator Seal - 1 . % ; Nﬁ ; |
5 2045 Dust Cover - 1 —
6 1204 Screw M16 - 1.5/ 40mm 4 :

Bolt Repair Kit
ALCAN NO Marka / Brand Meritor
2207 OEM NO MCK1087, 35.50307.5607
Model Elsa 2
oo osmon oo e
1309 Tappet Boot
2 1505 Pin Cap @ 45 /28 mm 2
3 1204 Screw M16 - 1.5/ 40mm 4
4 1258 Screw M10x 1.5/20 mm 1 s
| -
(e
.E
Caliper Adjuster Dust Cover =
Marka / Brand Meritor w
ALCAN NO OEM NO 68322655PK10 E
2045 Model B Duco, C Duco, D Duco, LE Duco, Elsa 2, Elsa
195, Elsa 225, Ex 225

N0 | cooe osaron L oueison i

1 2045 Dust Cover
Ring
Marka / Brand Meritor
ALCAN NO OEM NO 5
21 67 Model Elsa 2, Elsa 195, Elsa 225, DUCO
T
1 2167 Ring

MERITOR 2167

Caliper Adjuster Dust Boot

Marka / Brand Meritor, VOLVO FH 12
OEM NO 68322655PK10
2222 Model B Duco, C Duco, D Duco, LE Duco, Elsa 2, Elsa
195, Elsa 225, Ex 225

1 2222 Dust Cover (1]

MERITOR 2221

www.alcanotomotiv.com 39




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Repair Kit

Marka / Brand Meritor
2050 OEM NO MCK1317, 85109889
Model Elsa 195, Elsa 225
NO CODE DESCRIPTION DIMENSION PIECE
1 1114 Pin ©31/117 mm 1
2 1113 Pin ©35/117 mm 1
3 1213 Screw M18 x 1.5/120 mm 2
4 1503 Pin Cap @ 44 /22 mm 2
5 1412 Round Bush 031-33x 42/30 2
mm

ERTOR 2080 6 1309 Pin Boot = 2
7 1407 Round Bush @ 35x39/30mm 2
8 1401 Pin Ring @37 X40/10 mm 2
9 1204 Screw M16 - 1.5 /40mm 4
10 2240 Vacuum Test Adapter Plug - 1

Caliper Repair Kit

7@ ALCAN NO Marka / Brand Meritor
= v ® 2103 OEM NO ALCAN Service Kit
%@%‘} 2] N’ Model Elsa 195
- m-—m-
CODE DESCRIPTION PIECE

n

<
1)
=.
o
o
q

o 1224 Screw M14 - 1.5 / 40mm
©31-33x 42 /30
w E ‘H c e O. 1412 Round Bush et 1

3 1401 Pin Ring @37 X40/10 mm 2

‘ 4 1916 Caliper Seal - 1
° . . 5 1503 Pin Cap Q 44 /22 mm 2
. o 6 1407 Round Bush @35 x39/30 mm 2
7 2045 Dust Cover - 1
8 1308 Tappet Boot - 2
9 1309 Pin Boot - 2
10 2240 Vacuum Test Adapter Plug - 1
Caliper Repair Kit
© [ o] Marka / Brand Meritor
o u ‘ 21 04 OEM NO ALCAN Service Kit
\ 4 Model Elsa 2
(o)) DESCRIPTION DIMENSION PIECE

1 1916 Caliper Seal - 1
&f ‘ u U ) B 1412 Round Bush 081-83x 421304
3 1411 Pin Ring @37 x42/14 mm 2
°° % . . 4 1505 Pin Cap @ 45/ 28 mm 2
@ ) [ )] 5 1407 Round Bush @35x39/30 mm 2
. R . 6 2045 Dust Cover - 1
7 1308 Tappet Boot - 2
8 1309 Pin Boot - 2
9 2240 Vacuum Test Adapter Plug - 1

40 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Anti Rotation Plate

ALCAN NO Marka / Brand Meritor
21 43 OEM NO 68322485PK10
Model Elsa 2
m CODE DESCRIPTION m PIECE
1 2143 Caliper Anti Rotation Plate

Caliper Visual Pad Wear Assembly

ALCAN NO Marka / Brand Meritor
2074 OEM NO MCK1311, MCK1296
Model Elsa 195, Elsa 225, Ex 225
m CODE DESCRIPTION m PIECE
1 1942 Indicator Bar
2 1712 Spring - 1

Meritor

Caliper Visual Pad Wear Assembly

ALCAN NO Marka / Brand Meritor 2]
21 42 OEM NO CMSK.8.13
Model Elsa 2, Elsa 195, Elsa 225
o e oo oo e °
1 1994 Indicator Bar
2 1737 Spring - 1

NO CODE DESCRIPTION DIMENSION P

Caliper Visual Pad Wear Assembly
Marka / Brand Meritor
OEM NO MCK1240
21 48 Model Elsa 2, Elsa 195, Elsa 225
IECE

1 1994 Indicator Bar f
2 1737 Spring - 1 % ﬁ& % w&
3 1204 Screw M16 - 1.5/ 40mm 4 X

MERITC

www.alcanotomotiv.com 41




A\\ A L.CAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Ipat Retainer Repair Kit

‘ e ALCAN NO Marka / Brand Meritor
2221 OEM NO 503128759, 81.50822.0007, MCK1262
Model Elsa1
\\[o) CODE DESCRIPTION DIMENSION PIECE
1 1782 Ipat Retainer - 1
2 1258 Screw M10 x 1.25 /20 mm 1

MERITOR 2221

Caliper Ipat Retainer Repair Kit

ALCAN NO Marka / Brand Meritor
2087 OEM NO MCK1174, 85107958, CMSK.44.12
Model Elsa 2, Elsa 195, Elsa 225
\\[o) CODE DESCRIPTION DIMENSION PIECE
1 1860 Ipat Retainer - 1
2 1258 Screw M10 x 1.25 /20 mm 1

MERITOR 2087

A0)1A9A

Caliper Ipat Retainer Repair Kit

ALCAN NO Marka / Brand Meritor
21 41 OEM NO MCK1264, CMSK.3.12
Model C Duco, D Duco, LE Duco, LRG550/51
m CODE DESCRIPTION m PIECE
1 1555 Ipat Retainer
2 1258 Screw M10 x 1.25 /20 mm 1

MERITOR 2141

Caliper Ipat Retainer Repair Kit

ALCAN NO Marka / Brand Meritor
21 57 OEM NO MCK1263
Model B Duco
Lo oo oy owasor e
1 1580 Ipat Retainer
2 1258 Screw M10 x 1.25 /20 mm 1

MERITOR 2157

42 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison
purposes only, and may not be used in invoices

Caliper Guides and Bushes Repair Kit

2028

o oo o oeison i

1105
2 1106
3 1230
4 1207
5 1309
6 1505
7 1407
8 1411
9 1412
10 1204
1 1258
12 2240

Marka / Brand
OEM NO
Model

Pin Boot
Pin Cap
Round Bush
Pin Ring

Round Bush

Vacuum Test Adapter Plug

5001 860 791, MCK1243, 85107912, 81.50802.6025,
MCK1140, CMSK.26, 81508026025

Duco, Elsa 2, LRG662/63

Pin
Screw

Screw

Screw

Screw

Meritor

@ 31/84 mm

@ 35/144 mm
M18 x 1.5/90 mm
M18 x 1.5/ 150 mm

@ 45/28 mm
@35x39/30 mm
@37 x42 /14 mm

@ 31-33x42/30
mm

M16 - 1.5 /40 mm
M10 x 1.25 /20 mm

Caliper Guides and Bushes Repair Kit

2178

o oo o oeison i

1105
2 1106
3 1230
4 1207
5 1309
6 1505
7 1407
8 1411
9 1483
10 1204
1 2240

Marka / Brand
OEM NO
Model

Pin Boot
Pin Cap
Round Bush
Pin Ring

Round Bush

Vacuum Test Adapter Plug

Pin
Screw

Screw

Screw

Meritor
MCK1289
Elsa 2

@ 31/84 mm

@ 35/144 mm
M18 x 1.5/90 mm
M18 x 1.5/ 150 mm

@ 45 /28 mm
@35x39/30 mm
@37 x42/14 mm

@ 31-32x42/45
mm

M16 - 1.5 /40 mm

Caliper Guides and Bushes Repair Kit

2030

1110
2 1009
3 1205
4 1206
5 1309
6 1407
7 1258
8 1914
9 1505
10 1204

Marka / Brand
OEM NO
Model

Pin Boot
Round Bush

Pin Ring
Pin Cap

Pin
Screw

Screw

Screw

Screw

Meritor

CMSK.46, 5001858717, MCK1086
Duco, Elsa 2, LRG546/47

m CODE DESCRIPTION m PIECE

@ 35/126 mm
@ 33-35 /66 mm
M20 x 1.5/90 mm
M20 x 1.5/ 150 mm
@ 35X 39/30 mm
M10 x 1.25/20 mm
@ 35x43/2.5mm
@45 /28 mm
M16 - 1.5/40mm

- W N

N\

\\ ..

MERITOR 2

174

“

‘1

ALCAN

OTOMOTIV

9

‘C)C]%ﬂﬁﬂ~@w@

www.alcanotomotiv.com

MEFRITOS

2040

Meritor

43



A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Guides and Bushes Repair Kit

Marka / Brand Meritor

ALCAN NO OEM NO MCK1102, 81.50802.6017, 81.50802.6020,
81.50802.6021, 81508026021, CMSK.5

2027 Model Duco, Elsa 1, LRG542/43
m CODE DESCRIPTION m PIECE

SC \

1104 @35/73 mm
2 1103 Pin @35/135 mm 1
. . ‘ 3 1205 Screw M20 x 1.5 /90 mm 1
4 1206 Screw M20 x 1.5 /150 mm 1
::. ® ® 5 1309 Pin Boot - 2
ﬂ ﬂ ) 1 _ﬁl 6 1502 Pin Cap Q 44 /27 mm 2
‘ w 7 1409 Pin Ring @39x36/15 mm 1
 MeRTOR 2027 8 1410 Pin Ring ©48x37/135mm 2
9 1407 Round Bush ©35x39/30 mm 2
10 1408 Oval Bush @ 35-37 x 40 / 33 mm 1
1 1459 Pin Ring @37 x40/15 mm 1

Pin Boot
Marka / Brand Meritor
OEM NO 68323751, SJ4053
082N oo |0 CeoDDn e en e

m CODE DESCRIPTION m PIECE

1 1309 Pin Boot

<
1)
=.
o
o
q

MERITOR 2083

'3

Adjusting Gear Kit (Right) - 35mm -

ALCAN NO Marka / Brand Meritor
20 42 OEM NO -
Model Elsa 1
) \\[o} CODE DESCRIPTION DIMENSION PIECE
1 1832 Tappet Gear Assembly ( Right ) 35mm 2
2 1830 Steel Cap - 2
3 1831 Intermediate Gear 35mm 1
2] 4 1442 Bush - 2

( ® Adjusting Gear Kit (Right) - 37,5mm -
Marka / Brand Meritor
2220 OEM NO -
Model Elsa 1
NO CODE DESCRIPTION DIMENSION PIECE
> 1 1771 Tappet Gear Assembly ( Right ) 37,5mm 2
2 1830 Steel Cap - 2
3 2218 Intermediate Gear 37,5 mm 1
L2 4 1769 Bush - 2

MERITOR 2230

44 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison
purposes only, and may not be used in invoices

Adjusting Gear Kit (Left) - 35mm -

ALCAN NO Marka / Brand Meritor
20 41 OEM NO -
Model Elsa 1

Lo oo oscaon L oweison s

1829 Tappet Gear Assembly ( Left ) 35mm
2 1830 Steel Cap - 2
3 1831 Intermediate Gear 35mm 1
4 1442 Bush - 2

Adjusting Gear Kit (Left) - 37,5mm -

ALCAN NO Marka / Brand Meritor
221 9 OEM NO -
Model Elsa1

o oo oscunon L oueison i

1770 Tappet Gear Assembly ( Left ) 37,5mm
2 1830 Steel Cap - 2
3 2218 Intermediate Gear 37,5mm 1
4 1769 Bush - 2

Adjusting Mechanism Clutch System (Left)

ALCAN NO Marka / Brand Meritor
2083 OEM NO -
Model Elsa 1

N0 | cooe oscaron L oeison i

1 1857 Mechanism Clutch Left

Intermediate Gear (37,5 mm)

ALCAN NO Marka / Brand Meritor
221 8 OEM NO -
Model Elsa 1
\\[o} CODE DESCRIPTION DIMENSION PIECE
1 2218 Intermediate Gear 37,5 mm 1

Adjusting Mechanism Clutch System (Left)

ALCAN NO Marka / Brand Meritor
208 4 OEM NO -
Model Elsa 1

m CODE DESCRIPTION m PIECE

1 1857 Mechanism Clutch
2 1858 Brake Caliper Adjusting Mechanism - 1
3 1714 Spring - 1

A\ Pareny

MERITOR 2274

-
o
.E
-
Q
=

MERITCR 2083

MERITOR 2218

oy

MERITOR 2084

www.alcanotomotiv.com 45




purposes only, and may not be used in invoices

A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

OTOMOTIV

Adjusting Mechanism Clutch System (Right)

ALCAN NO Marka / Brand Meritor
2085 OEM NO -
Model Elsa 1
m CODE DESCRIPTION m PIECE

1 1859 Mechanism Clutch Right

MERITOR 2084

Adjusting Mechanism Clutch System (Right)
Marka / Brand Meritor
OEM NO -
2086 Model Elsa 1
Lo one | cscurton _owiion i

1 1859 Mechanism Clutch Right
2] 2 1858 Brake Caliper Adjusting Mechanism - 1
AR TR 200 3 1714 Sprlng - 1

Caliper Spring Retainers Thrust Repair Kit (Left)

ALCAN NO Marka / Brand Meritor
21 38 OEM NO -
Model Elsa 1
m CODE DESCRIPTION m PIECE

1733 Spring
2 1652 Fixing Slot - 1
3 1651 Holder pin - 1
4 1653 Fixing Slot - 1

MERITOR 2134

Caliper Spring Retainers Thrust Repair Kit (Right)

ALCAN NO Marka / Brand Meritor
21 39 OEM NO -
Model Elsa1
m CODE DESCRIPTION W PIECE

1 1734 Spring Right

2 1652 Fixing Slot - 1
3 1651 Holder pin - 1
4 1653 Fixing Slot - 1

MEFRITOS 2138

Brake Caliper Tappet Boot Set

ALCAN NO Marka / Brand Meritor
2001 OEM NO ST1156, 81.50802.6016, CMSK.5.5
Model Duco, Elsa 1, LRG642/43/752/53
m CODE DESCRIPTION m PIECE
1 1307 Tappet Boot

46 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Brake Caliper Locking Shim

ALCAN NO Marka / Brand Meritor
2095 OEM NO 68321678PK10, CMSK.5.4, 68321678
Model Duco, Elsa 1, LRG632/33
m CODE DESCRIPTION W PIECE
1 2095 Locking Shim

MERITOR 2085

Caliper Guides and Bushes Repair Kit

Marka / Brand Meritor
2051 OEM NO MCK1103, CMSK.23
Model Elsa 1 @ o
R TTTT € °°
1103 ©35/135 mm
2 1115 Pin ©28.5/110 mm 1
3 1206 Screw M20x1.5/150 mm 1 e (A\G
4 1309 Pin Boot - 2 \I.—{ W
5 1502 Pin Cap @ 44/27 mm 2 ( R h v
6 1419 Ring ©@30x40/19 mm 1 ‘ @ w‘ E 3 ‘ 0
7 1409 Ring ©39x36/15mm 1 (5] & alltl L) o -
8 1407 Round Bush @ 35 x 39/30 mm 2 e (o)
0 1314 Round Bush 0285 x40/27 1 E
=

Round Bush ) j w :' :'

ALCAN NO Marka / Brand Meritor
2059 OEM NO 68323784, CMSK.5.16
Model Elsa 1, Elsa 2, D Lisa, Elsa 195, Elsa 225
Cocooe ———oscomon oo vece JREAN RN AN N N
1 1407 Round Bush ©35x39/30 mm 10

MERITOR 2065

Caliper Bearing Caps

ALCAN NO Marka / Brand Meritor
2073 OEM NO -
Model Elsa 2, Elsa 195, Elsa 225
m CODE DESCRIPTION m PIECE o
1 1856 Bearing Caps

MEFRITOR 2073

www.alcanotomotiv.com 47




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

@ Caliper Roller Bearing Kit

ALCAN NO Marka / Brand Meritor
201 2 OEM NO SJ4098, 3092261, CMSK.98.3
Model Duco, Elsa 1, DX175, LRG598/99
m CODE DESCRIPTION m PIECE
1 2165 Caliper Roller Bearing Kit
2 1814 Roller Bearing - 2
3 1815 Lever Bearing - 2

MRTR 2012

< Actuator Seal
1)
:. ALCAN NO Marka / Brand Meritor
-+ 2093 OEM NO CMSK.7.2, 68323746
2 Model Elsa 2, Elsa 195, Elsa 225, LRG720/21
O T
1 2093 Caliper Seal

Caliper Eccentric Shaft

ALCAN NO Marka / Brand Meritor
2043 OEM NO CMSK.2.GR
Model Dx 195, Dx 225
Lo s owason i
1 1833 Eccentric Shaft
2 1921 Shaft Seal - 1
3 1609 Bearing - 2

MERITOR 2043

48 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Roller Bearing (Set)
Marka / Brand Meritor

2069 OEM NO
Model Dx 195, Dx 225
m CODE DESCRIPTION W PIECE

1 1610 Bearing
2 1609 Bearing -

MEFRITOR 2069

. . L
Caliper Roller Bearing (Set) o
.E
Marka / Brand Meritor [
21 2 4 OEM NO MCK1344 Q
Model Dx 195, Dx 225 E
NO CODE DESCRIPTION DIMENSION PIECE

1 1627 Bearing Cage - 1

2 1610 Bearing - 1

3 1609 Bearing - 2

MEFRITOR 2124

Caliper Bridge & Inner Bearing

ALCAN NO Marka / Brand Meritor
21 23 OEM NO -
Model Dx 195, Dx 225
oo oo oweisen i
1 1681 Caliper Bridge & Inner Bearing
2 1627 Bearing Cage - 1

MERITOR 2173

www.alcanotomotiv.com 49




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Bridge & Tubes Repair Kit ( Left)

ALCAN NO Marka / Brand Meritor
21 25 OEM NO DSB6L
Model Dx 195, Dx 225

NO CODE DESCRIPTION DIMENSION PIECE

1 1129 Pinion Left 2
2 1681 Caliper Bridge & Inner Bearing - 1
3 1866 Gear - 1
4 1865 Fork - 1
B 5 1627 Bearing Cage - 1

Caliper Bridge & Tubes Repair Kit ( Right )

g Y@Ml Marka/Brand Meritor
OEM NO DSB6R, CMSK.19
2 2126 Model Dx 195, Dx 225
= POl o o cooeron  owowon e
2 1 1130 Pinion Right 2
2 1681 Calliper Bridge & Inner Bearing - 1
- 3 1866 Gear - 1
@ 4 1865 Fork - 1
MERITOR 2128 5 1627 Bearing Cage ~ 1

Caliper Adjuster Sleeve
& Thrust Plate Repair Kit ( Left)

Marka / Brand Meritor
21 27 OEM NO MCK1292
Model Dx 195
Chocone ——orscarmon ————owewsion et
1 1129 Pinion Left 2
2 1225 Screw Left 2
3 1239 Screw M10 X 1.5 /20mm 2
4 1531 Pusher Plate - 1
5 1681 Calliper Bridge & Inner Bearing - 1
6 1865 Fork - 1
7 1866 Gear - 1
8 1627 Bearing Cage - 1

50 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Adjuster Sleeve
& Thrust Plate Repair Kit ( Right )
@

ALCAN NO Marka / Brand Meritor ‘ ) .
21 28 OEM NO MCK1293 II ‘ F
Model Dx 195 J

- <
o N
\'[o} CODE DESCRIPTION DIMENSION PIECE °
1 1130 Pinion Right 2 .

2 1226 Screw Right

3 1239 Screw M10 X 1.5/20mm 2
4 1531 Pusher Plate @ 1 =N
Py @
5 1681 Caliper Bridge & Inner Bearing - 1
6 1865 Fork - 1 o
7 1866 Gear - 1
8 1627 Bearing Cage - 1

Caliper Bridge & Tubes Repair Kit ( Left)

ALCAN NO Marka / Brand Meritor
OEM NO 5
2135 )
Model Dx 195, Dx 225 o
NO CODE DESCRIPTION DIMENSION PIECE et
} S
1 1129 Pinion Left 2 Q
2 1681 Caliper Bridge & Inner Bearing - 1 E
3 1866 Gear - 1
4 1865 Fork - 1 .
5 1627 Bearing Cage - 1 T MERITOR 2135
6 1609 Bearing - 2
7 1610 Bearing - 1

Caliper Bridge & Tubes Repair Kit ( Right)

Marka / Brand Meritor
21 3 6 OEM NO -
Model Dx 195, Dx 225

Fhocons ——omscarmon ——omavaon izt

1 1130 Pinion Right 2

2 1681 Caliper Bridge & Inner Bearing - 1

3 1866 Gear - 1

4 1865 Fork - 1

5 1627 Bearing Cage - 1 MERITCR 218

6 1609 Bearing - 2

7 1610 Bearing - 1

www.alcanotomotiv.com 51




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Shaft Fittings Repair Kit
Marka / Brand Meritor
OEM NO -
221 0 Model Dx 195
o oo osamon ouason i

‘O avw

<]
1921 Shaft Seal
2 1228 Screw M8 - 1.25 / 20mm 2
3 1915 Cover Plate Gasket - 1
4 1609 Bearing - 1
5 1855 Shaft bearing - 1

MERTOR 2210

Shaft Setting Lever

ALCAN NO Marka / Brand Meritor
2070 OEM NO MCK1161, 3501B1120
Model Dx 225
\\[o} CODE DESCRIPTION DIMENSION PIECE
1 1853 Setting lever - 1
2 1222 Screw M8 - 1.25 / 45mm 1

MERITOR 2070

Caliper Shaft Bearing

A0)1A9A

ALCAN NO Marka / Brand Meritor
2072 OEM NO -
Model Dx 195, Dx 225
m CODE DESCRIPTION W PIECE

1 1609 Bearing
2 1855 Shaft bearing - 1

MERITOR 2077

Caliper Shaft Fittings Repair Kit

ALCAN NO Marka / Brand Meritor
2081 OEM NO MCK1294, CMSK.2R
Model Dx 195, Dx 225

o ° e o / ° m CODE DESCRIPTION m PIECE
- O o o ‘ % 1833 Eccentric Shaft

2 1921 Shaft Seal - 1

3 1937 Shaft Seal - 1

0 4 1938 Shaft Seal - 1
5 1228 Screw M8 - 1.25 / 20mm 2

6 1915 Cover Plate Gasket - 1

7 1609 Bearing - 1

By 8 1855 Shaft bearing - 1
- 9 1610 Bearing - 1
10 1211 Plug Bolt - 1

11 1931 Seal - 1

52 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Guides and Bushes Repair Kit

Marka / Brand Meritor
2031 OEM NO MCK1171, CMSK.8
Model Dx 195
Lo aron oo i
1111 @ 32 /97 mm Duct deep. 62mm 1
2 1209 Screw M16 x 1.5/55 mm 1
3 1217 Screw M16 x 1.5/80 mm 1
4 1416 Round Bush @ 32 x36/55mm 2
5 1506 Pin Cap @ 42 /28 mm 2
6 1311 Tappet Boot @ 41,80 2 :
7 1312 Tappet Boot - 2
8 1310 Tappet Boot Q57 2
9 1212 Screw Set - 1
10 1211 Plug Bolt - 1 S
11 1915 Cover Plate Gasket - 1
12 1931 Washer = 1
13 1937 Shaft Seal - 1
14 1451 Pin Set - 1
15 1143 Pin @ 32 /97 mm Duct deep. 37mm 1

}
(@)
. - =
Caliper Repair Kit -
()
ALCAN NO Marka / Brand Meritor E
2036 OEM NO MCK1192, CMSK.2.1 [ P O P gy
Model Dx 195
DR O @
1310 Tappet Boot Q57
2 1311 Tappet Boot @ 41,80 2 o @
3 1312 Tappet Boot - 2 |
4 1506 Pin Cap @ 42 /28 mm 2
5 1209 Screw M16 x 1.5 /55 mm 1 0
6 1217 Screw M16 x 1.5/80 mm 1

MEFRITOR 2006

Caliper Repair Kit

Marka / Brand Meritor
2092 OEM NO MCK1193 ‘ ‘ o y
Model Dx 225 e w ‘
Lo cone o oweion e |
1241 Screw M18 x 2.5/90 mm 1 o
2 1240 Screw M18 x 2.5 /60 mm 1 ‘
3 1506 Pin Cap @42 /28 mm 2
4 1310 Tappet Boot Q57 2
5 1361 Tappet Boot - 2 ° ° ‘
6 1358 Tappet Boot - 2

MEFRITOR

www.alcanotomotiv.com 53




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Pistons & Pinions Repair Kit (Left)

a‘\

1129 Pinion
2 1225 Screw Left
3 1939 Washer -
4 1940 Clamp .

NN

ALCAN NO Marka / Brand Meritor
2088 OEM NO CMSK.19.2
Model Dx 195, Dx 225
I T

N

MERTOR 2088

Caliper Pistons & Pinions Repair Kit (Right)

ALCAN NO Marka / Brand Meritor
2089 OEM NO -
Model Dx 195, Dx 225
m CODE DESCRIPTION m PIECE

1130 Pinion Right
2 1226 Screw Right 2
3 1939 Washer - 2
4 1940 Clamp - 2

A0)1A9A

Caliper Push Plate Repair Kit ( Left)
Marka / Brand Meritor
OEM NO -
21 1 5 Model Dx 195
oo oo owason it

1 1531 Pusher Plate
2 1225 Screw Left 2
3 1239 Screw M10 X 1.5 /20mm 2

MERITOR 2118

Caliper Push Plate Repair Kit ( Right )
Marka / Brand Meritor
OEM NO 5
21 1 6 Model Dx 195
oo oo ouason it

1 1531 Pusher Plate
2 1226 Screw Right 2
3 1239 Screw M10 X 1.5 /20mm 2

MERITOR 2116

54 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices

Caliper Adjusting Tappet Repair Kit (Left)
/ Half Kit

Marka / Brand Meritor
2090 OEM NO DSB5L, CMSK.2.F
Model Dx 195
I T
1861 Adjusting Mechanism Left
2 1862 Calibration Bolt - 1
3 1940 Clamp 2
4 1939 Washer - 2
5 1715 Spring - 1
6 1941 Ring - 2

Caliper Adjusting Tappet Repair Kit (Right)
/ Half Kit

Marka / Brand Meritor
2091 OEM NO DSB5R, CMSK.2.E
Model Dx 195
Lo e owasow e
1863 Adjusting Mechanism Right
2 1862 Callibration Bolt - 1
3 1939 Clamp 2
4 1940 Washer - 2
5 1715 Spring - 1
6 1941 Ring - 2

Caliper Adjusting Tappet Repair Kit (Left) /
Full Kit

Marka / Brand Meritor
2098 OEM NO MCK1290
Model Dx 195
Lo e oo v
1861 Adjusting Mechanism Left
2 1862 Calibration Bolt - 1
3 1940 Clamp 2
4 1939 Washer - 2
5 1715 Spring - 1
6 1941 Ring - 2
7 1865 Fork - 1
8 1866 Gear - 1

www.alcanotomotiv.com

OTOMOTIV

<

2000
© o o

MEFRITOR 2000

-
o
.E
-
Q
=

=
\_o ’0

MERITOS 2081

MERITOR 2008

55




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Adjusting Tappet Repair Kit (Right)
/ Full Kit

ALCAN NO Marka / Brand Meritor
2099 OEM NO MCK1291
Model Dx 195
\\[o} CODE DESCRIPTION DIMENSION PIECE
1 1863 Adjusting Mechanism Right 1
2 1862 Calibration Bolt - 1
3 1939 Clamp - 2
4 1940 Washer - 2
5 1715 Spring - 1
: MET T.f.‘n 2000
6 1941 Ring - 2
7 1865 Fork - 1
8 1866 Gear - 1
Central Fork & Gear
ALCAN NO Marka / Brand Meritor
2094 OEM NO CMSK.19.3
Model Dx 195, Dx 225
Cio—cone ——omcumon——— oweson ezt
1 1865 Fork - 1
g ° 2 1866 Gear - 1
)
:. MERITOR 20684
-+
()
q
Caliper Pad Retainer
ALCAN NO Marka / Brand Meritor
2071 OEM NO CMSK.2.H
Model Dx 195
\\[o} CODE DESCRIPTION DIMENSION PIECE
1 2071 Caliper Pad Retainer - 1
Brake Pad Retainer Repair Kit
ALCAN NO Marka / Brand Meritor
21 66 OEM NO MCK1154
Model Dx 195
Cio—cone ———omcumon———omesonpece
1 2071 Pad Retainer - 1
2 1915 Cover Plate Gasket - 1
3 1288 Screw M8 x 1.25 /20 mm 2
4 1222 Screw M8 x 1.25 / 45 mm 1
5 1211 Plug Bolt - 1
6 1931 Washer - 1
7 1290 Nut - 1
8 1482 Pin Set - 1

56 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Guides and Bushes Repair Kit

ALCAN NO Marka / Brand Meritor
21 22 OEM NO MCK1172
Model Dx 225
2 o .0 © ©
1136 @ 35/99 mm Duct deep. 35mm * S
2 1240 Screw M18 x 2.5/ 60 mm 1 o= % ° °
o0

3 1241 Screw M18 x 2.5 /90 mm 1 ./ ) ° °
4 1358 Tappet Boot @ 49 2 | Jil )
5 1361 Tappet Boot - 2 J . . @ | 0
6 1310 Tappet Boot @57 2 4 2] o g
7 1915 Cover Plate Gasket - 1 | _ '
8 1506 Pin Cap ©42/28 mm 2 @ 7 ° w
9 1269 Screw Set - 1 0 ‘ L |
10 1454 Round Bush @ 35x39 /50 mm 2
1 1144 Pin @ 35/99 mm Duct deep. 68mm 1
12 1937 Shaft Seal - 1
13 1451 Pin Set - 1

Meritor

Duco Cap Cover Bolts

ALCAN NO Marka / Brand Meritor
21 09 OEM NO 3095631
Model Duco
Lo oo e owson ke
1 1237 Screw M14 X 1.5/55mm

MERITOR 2109

Vacuum Test Adapter Plug

ALCAN NO Marka / Brand Meritor
21 33 OEM NO MCK1352
Model Elsa..., EX225
oo oo oo e
1 1344 Adapter Plug
2 1591 Screw M10 x 1.50 / 16 mm 1
3 1904 Seal 12x22x7 1

MERITOR 2133

www.alcanotomotiv.com 57




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Adjusting Gear Shaft (Left-Rear / 26 Teeth)
Marka / Brand Meritor
21 81 OEM NO -
Model
mm
1 2181 Operation Shaft Left-Rear / 26 Teeth
Adjusting Gear Shaft (Right-Rear / 26 Teeth)
Marka / Brand Meritor
21 82 OEM NO -
Model
B =
1 2182 Operation Shaft nght_rzeetir /26 1
Washer
g Marka / Brand Meritor
OEM NO CMSK.24.6, 68320133
D 21 83 Model
q
= mm
o 1 2183 Washer
q
Caliper Seal & Bush Set
Marka / Brand Meritor
21 84 OEM NO CMSK.24.9
Model Duco, D3, LRG524/25
\'[o] CODE DESCRIPTION DIMENSION PIECE
1 1491 Bush @50 x 55 /20 mm 1
2 1492 Clips - 1
3 1493 Shaft Cover - 1
4 1494 Seal - 1

Adjusting Gear Shaft (Right-Front / 26 Teeth)

ALCAN NO Marka / Brand Meritor
2202 OEM NO CMSK.29

Model Duco, D3, LRG563
1 2202 Adjusting Gear Shaft Right-Front / 26 Teeth

MERITOR 2202

58 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Adjusting Gear Shaft (Left-Front / 26 Teeth)

ALCAN NO Marka / Brand Meritor
21 85 OEM NO CMSK.28
Model Duco, D3, LRG532
Co oo oscummion ——_omension _rice
1 2185 Adjusting Gear Shaft Left-Front / 26 Teeth 1

Adjusting Gear Shaft (Left-Front / 48 Teeth)

ALCAN NO Marka / Brand Meritor
2201 OEM NO CMSK.24
Model DUCO, D3, LRG526
\[o) CODE DESCRIPTION DIMENSION PIECE
1 2201 Adjusting Gear Shaft Left-Front / 48 Teeth 1

MERITOR 2201

Adjusting Gear Shaft (Right-Front / 48 Teeth) 5
Marka / Brand Meritor o
OEM NO CMSK.25 A
21 86 Model DUCO, D3, LRG527 %
(Vo cooe omcrmon —— owewson —_pice
1 2186 Adjusting Gear Shaft Right-Front / 48 Teeth 1

MEFRITOR 2180

Mechanism Repair Kit (Left)

ALCAN NO Marka / Brand Meritor
21 87 OEM NO -
Model D3

\[o) CODE DESCRIPTION DIMENSION PIECE OO ®
1 1748 Spring Case - 1
2 1749 Spring Left 1
3 1750 Clutch Plate - 3
4 1751 Clutch Plate - 4 e S
Mechanism Repair Kit (Right)
Marka / Brand Meritor )
21 88 OEM NO CMSK.24.3
Model D3 e 9
oeremrrmmrremem - (OO
1 1748 Spring Case - 1
2 1752 Spring Right 1
3 1750 Clutch Plate - 3
4 1751 Clutch Plate = 4 o S

www.alcanotomotiv.com 59




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Adjusting Mechanism Clutch System (Left)

ALCAN NO Marka / Brand Meritor
21 89 OEM NO CMSK.24.5
Model

1386 Manual Adjuster Rubber Cap
2 1162 Screw M10 x 1.5/50 mm 1
3 1753 Spring Left 1
4 1755 Cap - 1
5 1163 Adjusting Gear - 1
s 6 1164 Adjusting Nut - 1
7 1165 Cap O-Ring - 1
8 1166 Washer - 1

Adjusting Mechanism Clutch System (Right)
Marka / Brand Meritor

21 90 O;:\Jlldl:lo CMSK.25.5

@ ~o

=
® mm
-
= 1386 Manual Adjuster Rubber Cap
2 2 1162 Screw M10 x 1.5/50 mm 1
3 1754 Spring Right 1
;f{"? 4 1755 Cap - 1
O ’{\ ) 5 1163 Adjusting Gear - 1
° (e ‘e © 6 1164 Adjusting Nut - 1
7 1165 Cap O-Ring - 1
8 1166 Washer - 1

P Caliper Gasket & Bolts Repair Kit

\ ALCAN NO Marka / Brand Meritor
v 21 91 OEM NO CMSK.6, SJ1212, 1522063
. -~ Model DUCO, D3, LRG524/25
9\ D) SN

Lo oo osamon oo e

1 1296 Head Gasket
‘ \ ‘ 1390 Dust Cover - 1
1299 Screw M8 X 1.25 / 40mm 4

4 1298 Screw M8 x 1.25 /16 mm 2

n

w

MEFRITOS

60 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Adjusting Gear (Left)
Marka / Brand Meritor

OEM NO CMSK.24.4

21 92 Model DUCO, D3, LRG562
m CODE DESCRIPTION m PIECE

1 2192 Caliper Adjusting Gear Left

MERITOR 2192

Caliper Adjusting Gear (Right)
Marka / Brand Meritor

OEM NO CMSK.25.4

21 93 Model DUCO, D3, LRG623
m CODE DESCRIPTION m PIECE

1 2193 Caliper Adjusting Gear Right

MERITOR 2193

Meritor

Caliper Spline Shaft Ball Bearing

ALCAN NO Marka / Brand Meritor
21 94 OEM NO CMSK.24.2
Model DUCO, D3, LRG528/29
Lo oeon oweisen e
1 2194 Caliper Spline Shaft Ball Bearing

Caliper Spline Shaft Ball Bearing

ALCAN NO Marka / Brand Meritor
21 95 OEM NO CMSK.24.7
Model DUCO, D3, LRG526/27
m CODE DESCRIPTION m PIECE
1 2195 Caliper Spline Shaft Ball Bearing

MERITOR 2796

www.alcanotomotiv.com 61




purposes only, and may not be used in invoices

A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

OTOMOTIV

Caliper Spline Shaft Bearing House - Left

ALCAN NO Marka / Brand Meritor
21 96 OEM NO CMSK.24.1
Model DUCO, D3, LRG622
Lo senor oo ok
1 2196 Caliper Spline Shaft Bearing House Left

MERTOR 2108

Caliper Spline Shaft Bearing House - Right

ALCAN NO Marka / Brand Meritor
21 97 OEM NO CMSK.25.1
Model DUCO, D3, LRG623
m CODE DESCRIPTION W PIECE
1 2197 Caliper Spline Shaft Bearing House Right

A0)1A9A

METTOR 2187

Caliper Repair Kit

Marka / Brand Meritor
OEM NO -
2224 Model

oSS o 8 9 ¢e o
N @6Sg g E T T
~ Ve Q - o O 2007 Caliper Guide and Seals Repair Kit (Front)
ow o 20 |1l @ i -
S A / 2 2061 Caliper Adjusting Tappet Repair Kit (Right) - 1
| S - o — % % 3 2130 Brake Caliper Lever - 1
| '% z 4 2005 Caliper Adjusting Mechanism (Rear-Right) - 1
s N7 N7 ~— 5 2101 Caliper Anti Rotation Plate - 1
\ @ R) 6 2016 Intermediate Gear & Spring Set - 1
k=] 3 7 2097 Gear Mechanism (Right) - 1
L] g = 0l 0 | ® o
Py 8 2075 Caliper Visual Pad Wear Assembly - 1
9 2054 Cover Plate Gasket - 1
10 2222 Dust Cover - 1

62 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison
purposes only, and may not be used in invoices

Caliper Repair Kit

Marka / Brand Meritor
OEM NO ;
2225 Model

o oo DEscRIPTION m Prece

2047 Calibration Mechanism Complete
2 2048 Caliper Adjusting Gear - 1
3 2165 Caliper Roller Bearing Kit - 1
4 2073 Caliper Bearing Caps - 1

Adjuster Seal & Boot Repair Kit

ALCAN NO Marka / Brand Meritor
2227 OEM NO -
Model Elsa 195 /225 / EX 225

m CODE DESCRIPTION m PIECE

1 2167 Ring
2 2045 Dust Cover - 1
3 1904 Seal 12x22x7 1
Actuator Seal Set
ALCAN NO Marka / Brand Meritor
2228 OEM NO 68323746PK10
Model DUCO, Elsa 2, Elsa 195/ 225/ EX 225

m CODE DESCRIPTION m PIECE

1 2093 Actuator Seal

A\ Pareny

MERITOR 2278

www.alcanotomotiv.com

Meritor

63




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Guides and Bushes Repair Kit

Marka / Brand Meritor
2229 OEM NO MCK1254, CMSK.7.1
Model Elsa 195 /225 / EX 225
0 \ é \2 oL one | oscumon L owon i
1113 ©35/117 mm
2 1213 Screw M18 x 1.5/120 mm 1
3 1112 Pin @31/78 mm 1
4 1208 Screw M18 x 1.5/82 mm 1
5 1407 Round Bush @ 35X 39/30 mm 2
6 1401 Pin Ring @37 X40/10 mm 2
7 1503 Pin Cap @ 44 /22 mm 2
8 1309 Pin Boot - 2
9 1224 Screw M14 - 1.5/40mm 4
10 1412 Round Bush @ 31-33 x 42 /30 mm 1
1 1258 Screw M10 x 1.25/20 mm 1

>N . @ °
Pin Repair Kit

o » Q
= \\ . ALCAN NO Marka / Brand Meritor
-+ e SJ4011, MCK1213, 4200276, 8.1508026008E10,
o : ' 2230 OEMNO 81508026009, MCK1213 SJ1228, CMSK.1
- ~ ——————— Model
N ~ [ N0 cobe
-~ ’ O 1 2230 Pin Repair Kit
R v
U (5]
MERTOR 2230
Caliper Tappet Dust Cover Set
ALCAN NO Marka / Brand Meritor
2233 OEM NO SJ4053
Model -
CODE DESCRIPTION DIMENSION PIECE

1 1359 Tappet Boot - 2

MERITOR 223

64 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison
purposes only, and may not be used in invoices

Caliper Repair Kit

2234

o oo — nmmuma

2047
2 2133
3 2227
4 2093
5 2048
6 2074
7 2073
8 2078
9 2102

Marka / Brand
OEM NO
Model

Meritor

Calibration Mechanism Complete

Vacuum Test Adapter Plug -

Adjuster Seal & Boot Repair Kit -

Actuator Seal

Caliper Adjusting Gear

Caliper Visual Pad Wear Assembly -

Caliper Bearing Caps
Caliper Repair Kit

Brake Caliper Lever

Caliper Boot & Pin Repair Kit

2236

1106
2 1105
3 1308
4 1309
5 1411
6 1407
7 1505
8 1483

Marka / Brand
OEM NO
Model

Pin
Tappet Boot
Pin Boot
Pin Ring
Round Bush
Pin Cap
Round Bush

Meritor

Elsa 2

@ 35/144 mm
@31/84 mm

@37 x42/14 mm
@ 35X 39/30 mm
@ 45/28 mm
@ 31-32x42 /45 mm

Caliper Boot & Pin Bush Set

2237

1458
2 1402
3 1308
4 1309

Marka / Brand
OEM NO
Model

Round Bush
Bush
Tappet Boot
Pin Boot

Meritor

DUCO/ D Duco Radial

@39.5x35/77 mm
@ 35X 39/30 mm

NN N = NN

N NN

N\

FE

ALCAN

OTOMOTIV

v .

MERITOR 2234

\g.

www.alcanotomotiv.com

MERITOR 2207

Meritor

65



A0)1A9A

66

A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

o Caliper Boot & Pin Repair Kit

ALCAN NO Marka / Brand Meritor
2238 OEM NO -
Model DUCO/ D Duco Radial
oo oo oo i
1458 Round Bush ©39.5x35/77 mm
2 1308 Tappet Boot 2
3 1309 Pin Boot 2
4 1402 Bush @35 X 39/30 mm 2
5 1101 Pin @35/102 2
Caliper Pin Boot Ring Set
ALCAN NO Marka / Brand Meritor
2239 OEM NO -
Model B Duco, C DUCO, LE DUCO, D Duco Radial, D
DUCO AXIAL
oo s owason v
1 1401 Pin Ring @37 X40/10 mm
(1]
MERITOR 2239
Vacuum Test Adapter Plug
ALCAN NO Marka / Brand Meritor
2240 OEM NO MCK1352
Model Elsa 1, Elsa 195/ 225/ EX 225, Elsa 2
\\[o} CODE DESCRIPTION DIMENSION PIECE
1 2240 Vacuum Test Adapter Plug - 1
@ Caliper Bearing Set
."-".‘u) p g
) ALCAN NO Marka / Brand Meritor

OEM NO -
2241 Model Elsa 2
| T T

1 2073 Caliper Bearing Caps
2 2165 Caliper Roller Bearing Kit - 1

www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Meritor Set Left Old Model
Marka / Brand Meritor
OEM NO -
2242 Model Meritor Set
o oo sscurmon __owawsou e

2028 Caliper Guides and Bushes Repair Kit

2 2023 Calibration Mechanism Complete - 1

3 2011 Caliper Roller Bearing Kit - 1

4 2151 Caliper Adjusting Gear (Left) - 1

5 2073 Caliper Bearing Caps - 1

6 2227 Adjuster Seal & Boot Repair Kit - 1

7 2142 Caliper Visual Pad Wear Assembly - 1 :

8 2093 Actuator Seal - 1 v

Meritor Set Right Old Model
Marka / Brand Meritor
OEM NO -
2243 Model Meritor Set
o o saurnon oo rice il

2028 Caliper Guides and Bushes Repair Kit 1
2 2023 Calibration Mechanism Complete - 1 s
3 2011 Caliper Roller Bearing Kit - 1 .4:
4 2152 Caliper Adjusting Gear (Right) - 1 E
5 2073 Caliper Bearing Caps - 1 E
6 2227 Adjuster Seal & Boot Repair Kit - 1
7 2142 Caliper Visual Pad Wear Assembly - 1
8 2093 Actuator Seal - 1

Caliper Repair Kit

Marka / Brand Meritor
2244 OEM NO . -
Model Meritor Set

\'[o} CODE DESCRIPTION DIMENSION PIECE
1 2229 Caliper Repair Kit - 1
2 2047 Calibration Mechanism Complete - 1
3 2011 Caliper Roller Bearing Kit - 1
4 2048 Caliper Adjusting Gear - 1
5 2073 Caliper Bearing Caps - 1
6 2074 Caliper Visual Pad Wear Assembly - 1
7 2227 Adjuster Seal & Boot Repair Kit - 1
8 2093 Actuator Seal - 1

www.alcanotomotiv.com 67




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Meritor Set Right
ALCAN NO Marka / Brand Meritor
2245 OEM NO -
2] o B - @ Model Meritor Set
o 8 q
& soo @65 oo csamonowasou e
S Z o0 ©
: g e ) ) 2008 Caliper Guide and Seals Repair Kit (Rear)
I I @& I CQW) f 2 2061 Caliper Adjusting Tappet Repair Kit (Right) - 1
‘ : ‘ %‘ @C\ 3 2056 Cover Plate Gasket - 1
I\ o il o * 1905 Seal . 1
i s \\ - 5 2045 Dust Cover - 1
o. - o 6 2011 Caliper Roller Bearing Kit - 1
| 53 7 2075 Caliper Visual Pad Wear Assembly - 1
e e = A (5] . R
WERTOR 2296 8 2101 Caliper Anti Rotation Plate - 1
9 2016 Intermediate Gear & Spring Set - 1
10 2005 Caliper Adjusting Mechanism (Rear-Right) - 1
Meritor Set Left
ALCAN NO Marka / Brand Meritor
2246 OEM NO -
2] 8 o . @ Model Meritor Set
8o 28 S¢ Lo oo owasou ree
cc G = =
: 1 St o I = 2008 Caliper Guide and Seals Repair Kit (Rear)
% |® B @4% I CW ) & 2 2060 Caliper Adjusting Tappet Repair Kit (Left) - 1
& L gy, = 3 2056 Cover Plate Gasket - 1
:o = 1 == k&{\
~t (a) | b (5] 4 1905 Seal - 1
- \ 5 2045 Dust Cover - 1
o. =0 6 2011 Caliper Roller Bearing Kit - 1
| {"3 7 2075 Caliper Visual Pad Wear Assembly - 1
S MEmTOR 2298 8 2101 Caliper Anti Rotation Plate - 1
9 2016 Intermediate Gear & Spring Set - 1
10 2005 Caliper Adjusting Mechanism (Rear-Right) - 1
Meritor Set
ALCAN NO Marka / Brand Meritor

OEM NO -
(6 2247 Model Meritor Set

88,
=)
a8 oo oo owison ke
4 2007 Caliper Guide and Seals Repair Kit (Front)
= 2 2061 Caliper Adjusting Tappet Repair Kit (Right) - 1
3 1905 Seal - 1
4 2012 Caliper Roller Bearing Kit - 1
5 2101 Caliper Anti Rotation Plate - 1
6 2005 Caliper Adjusting Mechanism (Rear-Right) - 1
7 2016 Intermediate Gear & Spring Set - 1
it - : 8 2075 Caliper Visual Pad Wear Assembly - 1
9 2054 Cover Plate Gasket - 1
10 2222 Dust Cover - 1

68 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Meritor Set

ALCAN NO Marka / Brand Meritor
2248 OEM NO - n -
Model Meritor Set S S ~

0
m CODE DESCRIPTION m PIECE :° B o UU

2007 Caliper Guide and Seals Repair Kit (Front)

2 2061 Caliper Adjusting Tappet Repair Kit (Right) - 1 66

3 2005 Caliper Adjusting Mechanism (Rear-Right) - 1

4 2222 Dust Cover - 1 o—_ .
5 2097 Gear Mechanism (Right) - 1 I
6 2101 Caliper Anti Rotation Plate - 1 \ : Al
7 2016 Intermediate Gear & Spring Set - 1 5] S :
8 2075 Caliper Visual Pad Wear Assembly - 1 HERIR2A
9 2130 Brake Caliper Lever - 1

10 2054 Cover Plate Gasket - 1

Meritor Set
Marka / Brand Meritor
OEM NO - =
2249 Model Meritor Set oQ{N» e
Lo oo oscemon oo e ISRCR bl

2050 Caliper Repair Kit C c“““*‘ W ‘ < l l ) s
2 2047 Calibration Mechanism Complete - 1 . hi o b .E
3 2173 Brake Caliper Lever - 1 :i \ ‘ o C). ° ‘ E
4 2048 Brake Caliper Lever - 1 o Ji J\ 3 E
5 2073 Caliper Bearing Caps - 1 [ b \
6 1905 Seal - 1
7 2227 Adjuster Seal & Boot Repair Kit - 1
8 2074 Caliper Visual Pad Wear Assembly - 1

Meritor Set Left Right New Model
Marka / Brand Meritor
OEM NO -
2250 Model Meritor Set
o oo oseumon owosou e

2078 Caliper Repair Kit
2 2047 Calibration Mechanism Complete - 1
3 2171 Brake Caliper Lever - 1
4 2048 Calliper Adjusting Gear - 1
5 2073 Caliper Bearing Caps - 1
6 2222 Dust Cover - 1
7 2093 Actuator Seal - 1
8 2074 Caliper Visual Pad Wear Assembly - 1

www.alcanotomotiv.com 69




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Meritor Set Left Right
Marka / Brand Meritor
OEM NO -
2251 Model Meritor Set
o o saon punson e

2229 Caliper Repair Kit

2 2047 Calibration Mechanism Complete - 1

3 2102 Brake Caliper Lever - 1

4 2048 Caliper Adjusting Gear - 1

5 2073 Caliper Bearing Caps - 1

e 6 2093 Actuator Seal - 1
7 2227 Adjuster Seal & Boot Repair Kit - 1

g s ' 8 2264  Caliper Visual Pad Wear Assembly (Metal) - 1

9 2133 Vacuum Test Adapter Plug - 1

& & & & & oo

ALCAN NO Marka / Brand Meritor
2252 OEM NO -
Elsa 195/ 225 / EX 225, RADIAL TYPE, AXIAL
Model
TYPE
; ; \'[o] CODE DESCRIPTION DIMENSION PIECE
1 1648 Lever Bearing - 10

MERITOR 2263

=
1)
=.
o
o
q

N &R @ N @ Lever Bearing Set
@ @ w Marka / Brand Meritor

2253 L '
LY\ S mm

1 1813 Lever Bearing

MERITOR 2263

Lever Bearing Set

ALCAN NO Marka / Brand Meritor
22 5 4 OEM NO -
-~ _ Model -
\[o] CODE DESCRIPTION DIMENSION | PIECE
1 1815 Lever Bearing - 10

MERITOR 2264

70 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison
purposes only, and may not be used in invoices

A\ Pareny

Caliper Tappet Head Repair Kit (J \( (]

ALCAN NO Marka / Brand Meritor

2255 OEM NO - ﬁ i : ]

Model DUCO/ B Duco, D DUCO, C DUCO, LE DUCO, \% :
LRG598/99
\\[o) CODE DESCRIPTION DIMENSION PIECE
1 1906 Clips - 2 ?F )
2 1809 Brake Caliper Tappet - 2 V
MERITOR 2256

Caliper Boot & Pin Repair Kit o % ' o

ALCAN NO Marka / Brand Meritor % \

3092256, SJ4107, MCK1118, MCK1135,
2256 OEMNO 85102092, 3096768 [ :
Model DUCO/ D DuCcoO J g

oo s wesiou i .

1 2215 Caliper Guide and Seals Repair Kit (Front) ° ° G

2 2002 Brake Caliper Tappet Boot Set - 1

e OO
-

Meritor Set

ALCAN NO Marka / Brand Meritor

OEM NO KIT-225277, 225277

2258

Model

1210
2 1251 Screw
3 1112 Pin
4 1208 Screw
5 1407 Round Bush
6 1401 Pin Ring
7 1503 Pin Cap
8 1309 Inner Boot
9 1224 Screw
10 1412 Round Bush
1 2240 Vacuum Test Adapter Plug
12 1267 Pin Cap
13 1308 Tappet Boot

Elsa 195 /225 / EX 225, RADIAL TYPE, AXIAL

TYPE, EX225L

@ 35/102mm
M18 x 1.5/103 mm
@31/78 mm
M18 x 1.5/82 mm

- a o

@ 35X 39/30 mm
@37 X40/10 mm
@44 /22 mm

4

4

M14 - 1.5/40mm
@ 31-33 x 42 /30 mm 1

e
.

- 1
©40/18-20mm 1
- 2

www.alcanotomotiv.com

MERTOR 2258

Meritor




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Repair Kit (Left)
Marka / Brand Meritor
OEM NO -
2259 Model Meritor Set
O. o oo oo oo pice

2028 Caliper Guides and Bushes Repair Kit
2 2023 Calibration Mechanism Complete - 1
3 2045 Dust Cover - 1
4 2093 Actuator Seal - 1
5 2100 Brake Caliper Lever - 1
6 1904 Seal 12x22x7 1
7 2151 Caliper Adjusting Gear (Left) - 1
WERITOR 2250 8 2073 Caliper Bearing Caps - 1
Pad Holder
ALCAN NO Marka / Brand Meritor
y N g X 2260 OEM NO -
—_—— 2 ) Model Elsa 195/ 225/ EX 225
TR L *‘
\\__,
g \\[o) CODE DESCRIPTION DIMENSION PIECE
D 1 2260 Pad Holder - 1
q
L[]
-+
o
q
Pad Holder Set
e. ALCAN NO Marka / Brand Meritor
2261 OEM NO 68324769, MBA112, 85109894
Model Elsa 195 /225 / EX 225
m CODE DESCRIPTION m PIECE
’ 1 2260 Pad Holder
4 2 1258 Screw M10 x 1.25 /20 mm 2

MERITOS 2261

Caliper Plate (Tog)

-
‘T( ALCAN NO Marka / Brand Meritor
\ o OEM NO -
2262 Model Elsa 195 /225 / EX 225
\\[o] CODE DESCRIPTION DIMENSION PIECE
1 2262 Caliper Plate (Tog) - 1

72 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

Indicator Bar (Metal)

2263

NO CODE
1 2263

Marka / Brand
OEM NO
Model

DESCRIPTION

Indicator Bar (Metal)

purposes only, and may not be used in invoices

Meritor

Elsa 195/225/ EX 225

DIMENSION | PIECE

- 1

Caliper Visual Pad Wear Assembly (Metal)

2264

Marka / Brand
OEM NO

Meritor

MCK1311, MCK1296, 85109883, KIT225207,

225207, KIT 225224

Model

Elsa 195 /225 / EX 225

"no | cone T ouson i

1 2263
2 1712

Pad Holder Set

2266

\\[o) CODE
1 1277
2 1258

Indicator Bar (Metal) (]
Spring - 1
o T
H—
Marka / Brand Meritor
OEM NO - — R
=~ 558 :ﬂ_‘au—h‘.
Model DUCO/ D DUCO F*“"“‘:i‘" -
DESCRIPTION DIMENSION PIECE
Pad Holder - 4 F-"" -
Screw M10 x 1.25 /20 mm 2
o —

Meritor Set Left Right

2267
[\ [o) CODE
1 2258
2 2047
3 2235
4 2048
5 2093
6 2227
7 2264

Marka / Brand Meritor
OEM NO KIT-225277, 225277 "
Model H2 Build Kit, H2 ELSA 3 12° -
“~ %
DESCRIPTION DIMENSION | PIECE [ bbb bl
Caliper Repair Kit - 1 [ ( \
Calibration Mechanism Complete - 1 “ %
Brake Caliper Lever - 1 (4] W I ® °
Caliper Adjusting Gear - 1
Actuator Seal - 1
, - 5]
Adjuster Seal & Boot Repair Kit - 1
MERTOR 2287

Caliper Visual Pad Wear Assembly (Metal) - 1

N\

MERITOR 2264

MERITOR 2206

ALCAN

OTOMOTIV

www.alcanotomotiv.com

Meritor

73




purposes only, and may not be used in invoices

A\ Parierdy

Callper Repair Kit
Marka / Brand

Meritor
225276

All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

o

OEM NO
2268 Model
mm

1
2

MERITOR 2268

2078
2002

Caliper Repair Kit

Brake Caliper Tappet Boot Set -

Caliper Repair Kit

TYPE, EX225L

=

ALCAN NO Marka / Brand Meritor
22 69 OEM NO KIT-225277, 225277
Model Elsa 195 /225 / EX 225, RADIAL TYPE, AXIAL

ﬁ 1210 @ 35/102mm
p— 2 1251 Screw M18 x 1.5 /103 mm 1
= 3 1112 Pin ©31/78 mm 1
@ | 1208 Screw M18 x 1.5 /82 mm 1
" 4 5 1407 Round Bush © 35X 39/30 mm 2
| ” o 6 1401 Pin Ring @37 X 40/10 mm 2
< S 3 @; . 1503 Pin Cap @44 /22 mm 1
() % % w ‘ e‘ ) e 8 1309 Inner Boot - 2
;- = > < 9 1224 Screw M14 - 1.5 /40mm 4
(@] 10 1412 Round Bush @ 31-33 x 42 /30 mm 1
= b 2240 Vacuum Test Adapter Plug - 1
12 1267 Pin Cap @40/18-20mm 1
9 g 9 9 9 i
ALCAN NO Marka / Brand Meritor
OEM NO -
Model DX 225, DX 195
1506 Pin Cap @ 42 /28 mm
Caliper Roller Bearing Kit
- il ALCAN NO Marka / Brand Meritor
2271 OEM NO -
Model Elsa 195 /225 / EX 225
o | o KNI
1 1648 Lever Bearing
2 1814 Roller Bearing - 2

MERITOR 2371

74 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison
purposes only, and may not be used in invoices

Caliper Repair Kit
Marka / Brand
OEM NO
2272 Model

Meritor

Elsa 195/225/ EX 225

N\

ALCAN

OTOMOTIV

1407 Round Bush @ 35X 39/30 mm

2 1309 Inner Boot - 2

3 1412 Round Bush @ 31-33x42/30 mm 2

4 1503 Pin Cap @ 44 /22 mm 2

5 1401 Pin Ring @37 X40/10 mm 2 MERTOn 2272
Caliper Repair Kit

ALCAN NO Marka / Brand Meritor

2273 OEM NO -

Model Elsa 195/ 225/ EX 225
\\[o} CODE DESCRIPTION DIMENSION PIECE

1 1407 Round Bush @ 35X 39/30 mm 2 “

2 1309 Inner Boot - 2 (o)

3 1412 Round Bush 031-33x42/30mm 1 ot

} S

4 1503 Pin Cap Q 44 /22 mm 2 Q

5 1401 Pin Ring @37 X40/10 mm 2 E
Screw Set \ \ \ \

ALCAN NO Marka / Brand Meritor

KIT--, 225277

2274 .

m CODE DESCRIPTION m PIECE

M8-1.25/
1 1222 Screw 45mm °
MERITOR 2274
Lever
ALCAN NO Marka / Brand Meritor

e

1 2275 Lever

Elsa 195/ 225 / EX 225

"no | cone DEscRIPTION swesonpic

www.alcanotomotiv.com

75



A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Repair Kit

Marka / Brand Meritor
OEM NO -
. 2276 Model

2024-2 Plastic Bush

2 2093 Actuator Seal - 1
3 2002 Brake Caliper Tappet Boot Set - 1
° ° 4 2082 Pin Boot - 1
5 2045 Dust Cover - 1

MERITOR 2278 6 2058 Seal - 1

° ° O. o co o m e

Lever Bearing

ALCAN NO Marka / Brand Meritor
2277 OEM NO -
Model -
\\[o) CODE DESCRIPTION DIMENSION PIECE
1 2277 Lever Bearing - 1

A0)1A9A

Brake Caliper Lever

ALCAN NO Marka / Brand Meritor
2278 OEM NO -
Model
m CODE DESCRIPTION W PIECE

2275 Lever
2 2165 Calliper Roller Bearing Kit - 1

S 3 2277 Lever Bearing - 2
# Q ° 4 1814 Roller Bearing - 2

MERITOR 2278

Brake Caliper Lever
Marka / Brand Meritor
OEM NO -
2279 Model
mm

1 2275 Lever
2 2277 Lever Bearing - 2
3 1814 Roller Bearing - 2

MERITOR 2275

76 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Brake Caliper Lever
Marka / Brand Meritor
OEM NO -
2280 Model
mm

1 1796 Caliper Lever

2 2277 Lever Bearing - 2
3 1814 Roller Bearing - 2
YoV

MERITOR 2280

Round Bush Set

ALCAN NO Marka / Brand Meritor
2282 OEM NO -
Model -
\'[o] CODE DESCRIPTION DIMENSION PIECE o “ w
1 1407 Round Bush @35 X 39/30 mm 2 (o]
dd
2 1412 Round Bush @ 31-33 x 42 /30 mm 1 0:
)
MERITOR 2282 E
Caliper Repair Kit
ALCAN NO Marka / Brand Meritor
2901 OEM NO -
Model Elsa 195 /225 / EX 225 o 5 0
) f
DETEECITEEECTTIT o, St S N
" e
1114 @31/117 mm 1 ) o L4 |
2 1113 Pin @35/117 mm 2 ‘ e = i E E
3 1213 Screw M18 x 1.5 /120 mm 2 "'0, m m
4 1503 Pin Cap @ 44 /22 mm 2 ; U | @ e -
5 1483 Round Bush @ 31-32 x 42/ 45 mm 2 "A A! - = |
6 1309 Inner Boot - 2 . v@‘—' | 3 & S Sl
7 1407 Round Bush @ 35X 39/30 mm 2 % %‘ —_——
8 1401 Pin Ring @37 X40/10 mm 2 e M
MERTOR 2001
9 1204 Screw M16 - 1.5/ 40mm 4
10 2240 Vacuum Test Adapter Plug - 1
" 2260 Pad Holder - 2

www.alcanotomotiv.com 77




purposes only, and may not be used in invoices

A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

OTOMOTIV

Caliper Bridge

ALCAN NO Marka / Brand Meritor
2231 OEM NO MCK1296

Model Elsa 195 /225 / EX 225
1 2231 Caliper Bridge

MERTOR 2231

Caliper Bridge
Marka / Brand Meritor
OEM NO 31932042
2232 Model

N0 cone — W Piece

1 2232 Caliper Bridge

MERTOR 2232

A0)1A9A

Completely Caliper (Left)

ALCAN NO Marka / Brand Meritor
cc M 01 OEM NO 68326982E
Model Elsa 195 /225 / EX 225
1 ccmo1 Completely Caliper (Left)

MERITOR CTMO1

Completely Caliper (Right)

ALCAN NO Marka / Brand Meritor
cc M 02 OEM NO 68326981E
Model Elsa 195 /225 / EX 225
m CODE DESCRIPTION m PIECE
1 CCMo02 Completely Caliper (Right)

MERITOR CCMOZ

78 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Meritor

www.alcanotomotiv.com 79







IA\\ Wit

www.alcanotomotiv.com



A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Repair Kit - SET (SN6/SN7)

Marka / Brand KNORR
31 83 OEM NO -
Model SN6/SN7/SK7
Lo oo o oo e
3040 Calibration Bolt
2 3037 Caliper Shaft Housing - 1
3 3059 Calliper Lever - Angle 12° Straight 1
4 3045 Caliper Calibration Shaft Chain 29 link 1
5 3029 Caliper Tappet Repair Kit 69mm 1
6 3041 Caliper Roller Bearings - 1
7 3027 Caliper Adjusting Mechanism Plastic body 1
gt 8 3025 Caliper Adjusting Mechanism Hexagonal Head 1

Repair Kit - SET ( SK7, ST7)

Marka / Brand KNORR
3203 OEM NO -
Model SK7..., ST7..., ADB22X

NO CODE DESCRIPTION DIMENSION PIECE

1 3040 Calibration Bolt - 2

2 3038 Caliper Shaft Housing - 1

3 3045 Caliper Calibration Shaft Chain 29 link 1

4 3029 Caliper Tappet Repair Kit 69mm 1

5 3027 Caliper Adjusting Mechanism Plastic body 1
gt - 6 3025 Caliper Adjusting Mechanism Hexagonal Head 1

Repair Kit - SET (SN6 / SN7)

o Marka / Brand KNORR
3202 OEM NO -
Model SN6/SN7/SK7
E Lo oo ooy e
3040 Calibration Bolt
. 2 3037 Caliper Shaft Housing - 1
3 3045 Calliper Calibration Shaft Chain 29 link 1
4 3029 Caliper Tappet Repair Kit 69mm 1
eel 5 3027 Calliper Adjusting Mechanism Plastic body 1
°’I 6 3025 Caliper Adjusting Mechanism Hexagonal Head 1

KNORR 3202

82 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Repair Kit - SET (SN6 / SN7 / SK7 / NA7 )

Marka / Brand KNORR
31 78 OEM NO Actros New Model
Model ., SN7..., SK7..., NA7..., ADB22X
mm
3040 Calibration Bolt
2 3037 Caliper Shaft Housing - 1
3 3058 Calliper Lever Straight 1
4 3045 Caliper Calibration Shaft Chain 29 link 1
5 3029 Caliper Tappet Repair Kit 69mm 1
6 3041 Caliper Roller Bearings - 1
7 3027 Caliper Adjusting Mechanism Plastic body 1
8 3025 Caliper Adjusting Mechanism Hexagonal Head 1

Repair Kit - SET ( SB5)
Marka / Brand KNORR
OEM NO TGL MAN
31 59 Model

mm

3001 Caliper Repair Kit
2 3101 Caliper Shaft Housing - 1
3 3026 Caliper Adjusting Mechanism - 1
4 3042 Caliper Roller Bearings - 1
5 1840 Thrust Part With Bellow 74mm 1
6 1320 Shaft Housing Boot 74mm 1
7 1427 Round Bush @16 x18/10 mm 1
8 3040 Caliper Calibration Bolt - 1
9 3114 Caliper Calibration Shaft Chain (12 link) 1
10 1629 Pignon Shaft - 1
11 3112 Caliper Steel Cap Kit - 1

Repair Kit - SET (SN5)

Marka / Brand KNORR
31 60 OEM NO TGL MAN
Model SNS5...

No | copE | DESCRIPTION | DIMENSION | PIECE
1 3012 Caliper Repair Kit - 1
2 3102 Caliper Shaft Housing - 1
3 3070 Caliper Cover - 1
4 3115 Caliper Calibration Shaft Chain (14 link) 1
5 3078 Caliper Roller Bearings - 1
6 3026 Caliper Adjusting Mechanism - 1
7 3040 Caliper Calibration Bolt - 1
8 3033 Caliper Tappet Repair Kit (69mm) 1
9 3229 Caliper Adjusting Shaft - 1

www.alcanotomotiv.com 83




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Repair Kit - SET (SB6 / SB7 )

: Marka / Brand KNORR
31 61 OEM NO TGA MAN
Model SB6..., SB7...
o I TN
1 3127 Caliper Repair Kit
2 3039 Caliper Shaft Housing - 1
3 3045 Caliper Calibration Shaft Chain (29 link) 1
4 3042 Caliper Roller Bearings - 1
5 3031 Caliper Tappet Repair Kit (74mm) 1
6 3027 Caliper Adjusting Mechanism (Plastic body) - 1
7 3025 Caliper Adjusting Mechanism (Hexagonal Head) - 1
8 3040 Callibration Bolt - 2

Repair Kit - SET (SN6 / SN7 / SK7 / NA7)

ALCAN NO Marka / Brand KNORR
\%\ 31 62 OEM NO SCANIA
~6 . Model SN6..., SN7..., SK7..., NA7..., ST7...
o/ . ‘ p— m CODE DESCRIPTION m PIECE
i = 2 < () Yoy | 3004 Caliper Repair Kit
2 3038 Caliper Shaft Housing - 1
e i -

N P \’e M«Mﬁ. 3 3068 Caliper Cover 1
o0 4 3045 Caliper Calibration Shaft Chain (29 link) 1
. | 5 3042 Caliper Roller Bearings - 1
6 3029 Caliper Tappet Repair Kit (69mm) 1
(o) 7 3027 Caliper Adjusting Mechanism (Plastic body) - 1
TS . 8 3025 Caliper Adjusting Mechanism (Hexagonal Head) o 1
9 3040 Calibration Bolt - 2

Repair Kit - SET ( SN6 / SN7 / SK7 / NA7)

: 5 ¥ i Marka / Brand KNORR
T\o \ ) ' 31 63 OEM NO Actros New Model
\';a . \ Model SNG6..., SN7..., SK7..., NA7...
- B s mm
It YwYeYy | 3003 Caliper Repair Kit
, ) 2 3037 Caliper Shaft Housing - 1
\ \e w‘ 3 3068 Caliper Lever - 1
4 3045 Calliper Calibration Shaft Chain (29 link) 1
e e - ) 5 3040 Calibration Bolt - 2
- ' i 6 3029 Caliper Tappet Repair Kit 69mm 1
° o 0O w % @ 7 3027 Caliper Adjusting Mechanism (Plastic body) - 1
R 8 3025 Caliper Adjusting Mechanism (Hexagonal Head) - 1
9 3041 Caliper Roller Bearings - 1

84 www.alcanotomotiv.com




Repair Kit - SET (SN6 / SN7 / SK7 / NA7)

All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices

ALCAN NO Marka / Brand KNORR

3164

3008
2 3038
3 3068
4 3045
5 3042
6 3029
7 3027
8 3025
9 3040

Repair Kit - SET ( SN6/SN7/SK7/NA7/ST7)

OEM NO

Model NA7, SN6/SN7/SK7, Knorr Set

mm

Caliper Repair Kit
Caliper Shaft Housing
Caliper Cover
Caliper Calibration Shaft Chain
Caliper Roller Bearings
Caliper Tappet Repair Kit
Caliper Adjusting Mechanism (Plastic body)
Caliper Adjusting Mechanism (Hexagonal Head)

Calibration Bolt

(29 link)
(69mm)

ALCAN NO Marka / Brand KNORR

OEM NO Axor New Model

3165

mm.n =13\ g

N~

3127
3037
3045

4 3040

3031
3027

7 3025

Repair Kit - SET ( SN6/SN7/SK7/NA7/ST7)

Marka / Brand KNORR
31 66 OEM NO Axor New Model
Model SN6..., SN7..., SK7..., NA7..., ST7...
NO | CODE DESCRIPTION DIMENSION
1 3127 Caliper Repair Kit -
2 3038 Caliper Shaft Housing -
3 3069 Caliper Lever -
4 3045 Caliper Calibration Shaft Chain (29 link)
5 3075 Calibration Bolt -
6 3076 Caliper Tappet Repair Kit (69mm)
7 3135 Caliper Adjusting Mechanism -
8 3025 Caliper Adjusting Mechanism (Hexagonal Head) -
9 3121 Caliper Roller Bearings -

3041

Model ., SN7..., SK7..

Caliper Repair Kit
Caliper Shaft Housing
Caliper Calibration Shaft Chain
Calibration Bolt
Caliper Tappet Repair Kit
Caliper Adjusting Mechanism (Plastic body)
Caliper Adjusting Mechanism (Hexagonal Head)

Caliper Roller Bearings

(29 link)

(74mm)

., ST7...

-

- a4

PIECE

1
1
1

OTOMOTIV

\1@
¥ O @

\\e ﬁm

Y
e” ‘% °° YeYY

Yoy

TKNORA 3164

\W\-He - o &
< & e

881 o vY

KNORR 3165

"\
:::0
o SNt 8 va

KNORR 3166

www.alcanotomotiv.com 85




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison
purposes only, and may not be used in invoices

A\ Parierdy

Wedged Fork

ALCAN NO Marka / Brand KNORR
OEM NO 1132202
3000-01 SB5, SN5, SB6/SB7, SB7 Radial, SN6/SN7/SK7,
Model SL7/SM7/ST
NO | CODE DESCRIPTION DIMENSION | PIECE
1 3000-01 Wedged Fork - 1

KMORR 300007

Knorr Sensor Test Device - Manual

ALCAN NO Marka / Brand KNORR
s D 0 1 OEM NO -
Model SB6/SB7, SN6/SN7/SK7, SL7/SM7/ST
NO | CODE DESCRIPTION DIMENSION PIECE
1 SDO01 Sensor Test Device - 1

Caliper Repair Kit
Marka / Brand KNORR

93162048, 1390427, 93162049, 1448915,
3 00 1 OEM NO

11014050, 81508226008, 81.50822.6009,
0004201282, 11369100062, 11328090062,

§ o o 09801028700, 11339680062, CKSK.1
o \ Model SBS..., SB6..., SBT...
)
- 1 1116 Pin @36/145 mm 1
(7] 2 1214 Screw M16 x 1.5 /150 mm 1
3 1117 Pin @ 34 /80 mm 1
4 1215 Screw M16 x 1.5 /87 mm 1
5 1421 Bush @ 36 x40 /82 mm 1
-~ 6 1922 Bellow Cap Clamp - 1
7 1317 Pin Boot - 1
KNORR, 3001 8 1316 Rubber Bush 0 34 x 40 /50 mm 1
9 1315 Bellow Cap - 1
10 1422 Pin Boot Ring - 1

Caliper Repair Kit

Marka / Brand KNORR
K000132, 0004202182, 81508226006,
3002 OEMNO 8285515563, 97131439, 1798063
Model SB6..., SB7...
[N oo oescurrion | omension et
1 1118 Pin @ 36/135 mm 1
2 1216 Screw M16 x 1.5/ 140 mm 1
3 1117 Pin @34 /80 mm 1
4 1215 Screw M16 x 1.5 /87 mm 1
5 1421 Bush @36 x40 /82 mm 1
6 1922 Bellow Cap Clamp - 1
7 1317 Pin Boot - 1
8 1316 Rubber Bush @ 34 x 40/50 mm 1
R 9 1315 Bellow Cap - 1
10 1422 Pin Boot Ring - 1

86 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison
purposes only, and may not be used in invoices

Caliper Repair Kit

ALCAN NO

3003

NO
1

CODE
1119
1215
1120
1217
1421
1509
1317
1923
1422
1508

OEM NO

Marka / Brand

Model

Caliper Repair Kit

ALCAN NO

3218

\[¢]
1

2

CODE
1119
1215
1120
1217
1421
1509
1317
1923
1422
1508
1510
1924

Marka / Brand
OEM NO

Pin Boot Ring
Ring
Steel Cap
Cap O-Ring

Caliper Repair Kit

[ ALCANNO_|
3127

\[e)

1

2

CODE

1119
1215
1120
1217
1421
1509
1317
1453
1422
1508

Marka / Brand
OEM NO
Model

DESCRIPTION
Pin
Screw
Pin
Screw
Bush
Pin Cap
Pin Boot
Pin Rubber Bush
Pin Boot Ring
Ring

50mm x 28mm

KNORR

DIMENSION
@36/114 mm
M16 x 1.5/87 mm
@ 32/80 mm
M16 x 1.5/80 mm
@ 36 x 40 / 82 mm
@40/14 mm

@ 35 mm

PIECE
1

—

PIECE
1

KNORR
K000472, K001470, 1477676, 09.801.06.33.0,
1639100, K017707, 81.50822.6019, K002716, 000
420 3482, CKSK.3.2
SN6/SN7/SK7
DESCRIPTION DIMENSION
Pin @36/114 mm
Screw M16 x 1.5 /87 mm
Pin @ 32/80 mm
Screw M16 x 1.5/80 mm
Bush @36 x 40 / 82 mm
Pin Cap @40/14 mm
Pin Boot -
Pin Rubber Bush @ 39 mm
Pin Boot Ring -
Ring -
KNORR
K048389K50, K067417K50, 3.434.3820.00,
K048434K62
Model SB6/SB7
DESCRIPTION DIMENSION
Pin @36/114 mm
Screw M16 x 1.5/87 mm
Pin @ 32/80 mm
Screw M16 x 1.5/80 mm
Bush @36 x40/82mm
Pin Cap @40/14 mm
Pin Boot -
Pin Rubber Bush @ 39 mm

K001915, 81508226019, 0980106310,
0004202282,0024200383, 1472919
SNG6..., SN7...

PIECE
1

A\ Pareny

SN BN
e

-’

KMORR 3003

Knorr

KMORR 3218

o™ N

< QU ©
O M,

KNORR 3127

www.alcanotomotiv.com 87




purposes only, and may not be used in invoices

A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

OTOMOTIV

Caliper Repair Kit
Marka / Brand KNORR

K004100, K010766, 0004205082, 3434381500,

3004 o]0 ADB22X

Model SN7..., SK7...
o scion oason e
1119 @36/114 mm

° 2 1215 Screw M16 x 1.5/87 mm 1
p— 3 121 Pin @ 36/64 mm 1
= 4 1218 Screw M16 x 1.5/70 mm 1
5 1421 Bush @ 36 x40/82 mm 1
6 1422 Pin Boot Ring - 2
7 1509 Pin Cap @40/14 mm 1
e 8 1317 Pin Boot - 2
e 9 1517 Pin Cap ©40/24.5 mm 1
10 1423 Pin Bush @36 x 40 /20 mm 1

Caliper Repair Kit

Marka / Brand KNORR
3074 OEM NO SAF Ref. No: 3.434.3815.00, K0O04168
Model SN7..., SK7...
Lo oo osamon L owson e
1119 @36/114 mm
2 1215 Screw M16 x 1.5/87 mm 1
3 1121 Pin @ 36 /64 mm 1
4 1218 Screw M16 x 1.5/70 mm 1
5 1421 Bush @ 36 x40 /82 mm 1
6 1422 Pin Boot Ring - 2
7 1509 Pin Cap @ 40/14 mm 1
8 1317 Pin Boot - 2
) B 9 1517 Pin Cap @40/24.5mm 1
o 10 1423 Pin Bush @36 x 40 /20 mm 1
1 1520 Plastic Cover 35 mm 1

Caliper Repair Kit
Marka / Brand KNORR
OEM NO K010813
3122 Model

°\ %" mm

‘ 1119 @36/114 mm
2 1215 Screw M16 x 1.5 /87 mm 1
3 1121 Pin @36 /64 mm 1
S 4 1218 Screw M16x 1.5/70 mm 1
() o -] e ° 1421 Bush @36 x 40 /82 mm 1
. . :—"‘* 5 ~ | 6 1422 Pin Boot Ring - 2
o @ ‘y . . 7 1317 Pin Boot - 2
o | @ ° 1510 Steel Cap 50mm x 28mm 1
KNORR 3122 9 1924 Cap O-Ring - 1
10 1517 Pin Cap @ 40/24.5 mm 1
1 1423 Pin Bush @36 x40 /20 mm 1

88 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

Caliper Repair Kit

Marka / Brand
OEM NO
30 5 5 Model

purposes only, and may not be used in invoices

m-m

1218 Screw
2 1121 Pin
3 1517 Pin Cap
4 1422 Pin Boot Ring
5 1423 Pin Bush
6 1317 Pin Boot

Caliper Repair Kit
Marka / Brand

300 5 OEM NO
Model
NO CODE DESCRIPTION
1 1119 Pin
2 1215 Screw
3 1120 Pin
4 1217 Screw
5 1421 Bush
6 1510 Steel Cap
7 1317 Pin Boot
8 1923 Pin Rubber Bush
9 1508 Ring
10 1924 Cap O-Ring
11 1422 Pin Boot Ring

Caliper Repair Kit
Marka / Brand

OEM NO
31 97 Model
NO CODE DESCRIPTION
1 1119 Pin
2 1215 Screw
3 1145 Pin
4 1217 Screw
5 1421 Bush
6 1509 Pin Cap
7 1317 Pin Boot
8 1923 Pin Rubber Bush
9 1422 Pin Boot Ring

®
KNORR
ADB22X
., SK7...
M16 x 1.5/70 mm
@36 /64 mm 1 o
@40/24.5 mm 1
- 1 g
@36 x40/20 mm 1 o
- 1
KNORR

K000375, 0004202982, 81.50822.6023, 1477678,
09.801.06.24.0, 81508226023

SB7...
DIMENSION PIECE
@36/114 mm 1
M16 x 1.5/87 mm 1
@ 32/80 mm 1
M16 x 1.5/80 mm 1
@36 x40/82 mm 1
50mm x 28mm 1
- 1
@ 39 mm 1
- 1
- 1
- 1
KNORR
K052759K50

NA7, ST7, SN6/SN7/SK7

DIMENSION PIECE
@36/114 mm 1
M16 x 1.5/87 mm 1
@ 32/88 mm 1
M16 x 1.5/80 mm 1
@ 36 x40 / 82 mm 1
@40/14 mm 1
- 1
@ 39 mm 1

www.alcanotomotiv.com

N\

ALCAN

OTOMOTIV

KMORR 3065

KMORR 3005

KMORR 3187




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Repair Kit

Marka / Brand KNORR
3 1 26 OEM NO K048396K50, ADB22X
Model SB6..., SB7...
mm
1119 @36/114 mm
2 1215 Screw M16 x 1.5/87 mm 1
3 1120 Pin @ 32/80 mm 1
4 1217 Screw M16 x 1.5/80 mm 1
5 1421 Bush @ 36 x 40 / 82 mm 1
6 1510 Steel Cap 50mm x 28mm 1
7 1317 Pin Boot - 1
8 1453 Pin Rubber Bush @35 mm 1
9 1422 Pin Boot Ring - 1
10 1924 Cap O-Ring - 1

Caliper Repair Kit

Marka / Brand KNORR
3 1 68 OEM NO K048371K50
Model
mm
1119 ©36/114 mm

2 1215 Screw M16 x 1.5/87 mm 1

3 1120 Pin ©32/80 mm 1

4 1217 Screw M16 x 1.5/80 mm 1

O 5 1421 Bush @36 x40/82mm 1

ol S ; . : o 6 1510 Steel Cap 50mm x 28mm 1

: 7 1317 Pin Boot - 1

- @ e @ 8 1925 Pin Rubber Bush © 39 mm 1

. 9 1422 Pin Boot Ring - 1

10 1924 Cap O-Ring - 1

Caliper Repair Kit

Marka / Brand KNORR
3 1 39 OEM NO 000 420 2982, 81.50822.6023
Model SB7...
NO | CODE DESCRIPTION DIMENSION PIECE
1 1119 Pin ©36/114 mm 1
2 1215 Screw M16 x 1.5/87 mm 1
3 1145 Pin ©32/88 mm 1
4 1217 Screw M16 x 1.5/80 mm 1
5 1421 Bush @36 x40/82mm 1
6 1510 Steel Cap 50mm x 28mm 1
7 1317 Pin Boot - 1
8 1923 Pin Rubber Bush @ 39 mm 1
SR 9 1422 Pin Boot Ring - 1
10 1924 Cap O-Ring - 1
1 1564 Plug - 1
12 1509 Pin Cap @ 40 /14 mm 1

920 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison
purposes only, and may not be used in invoices

Caliper Repair Kit

|_ALCANNO |
3006

NO
1

2

CODE

1119
1217
1117
1215
1145
1421
1509
1317
1510
1924
1422
1316
1923

Pin Rubber Bush

Caliper Repair Kit
Marka / Brand

3007

1

CODE DESCRIPTION
Pin

1116
1214
1120
1217
1421
1422
1315
1925
1317
1922

OEM NO

Model

Screw
Pin
Screw
Bush
Pin Boot Ring
Bellow Cap
Pin Rubber Bush
Pin Boot

Bellow Cap Clamp

@ 39 mm

KNORR

K000687, 1603326, 0980106310

SB7

@36/145 mm
M16 x 1.5/ 150 mm
@ 32/80 mm
M16 x 1.5/80 mm
D36 x40/82mm

Marka / Brand KNORR
OEM NO 000 421 6174

Model SB5, SN5, SB6/SB7, SB7 Radial, SN6/SN7/SK7
DESCRIPTION DIMENSION PIECE

Pin @36/114 mm 1

Screw M16 x 1.5/80 mm 1

Pin @ 34 /80 mm 1

Screw M16 x 1.5 /87 mm 2

Pin @ 32/88 mm 1

Bush @36 x40/82mm 1

Pin Cap J40/14 mm 1

Pin Boot - 1

Steel Cap 50mm x 28mm 1

Cap O-Ring - 1

Pin Boot Ring - 1

Rubber Bush @ 34 x40 /50 mm 1

~onension et
1

1

-

- o

1N

A\ Pareny

SN

KNORR 3008

Knorr

KMORR 3007

www.alcanotomotiv.com 91




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison
purposes only, and may not be used in invoices

A\ Parierdy

Caliper Repair Kit
Marka / Brand

KNORR
09.801.06.31.0, 1472919, 0024200383, K001532,

110Ul

3008 OEMNO 0004202282, 0980106310, CKSK.6
Model SB7...
“No cobr bmcuemiov  owenson _ piece
1 1119 Pin @36/114 mm 1
2 1215 Screw M16 x 1.5/87 mm 1
3 1120 Pin @ 32/80 mm 1
4 1217 Screw M16 x 1.5/80 mm 1
5 1421 Bush @ 36 x 40 / 82 mm 1
6 1509 Pin Cap @40/14 mm 1
7 1422 Pin Boot Ring - 1
e 8 1508 Ring - 1
9 1926 Pin Rubber Bush @ 35 mm 1
10 1510 Steel Cap 50mm x 28mm 1
1 1924 Cap O-Ring - 1
12 1317 Pin Boot - 1

Caliper Repair Kit

www.alcanotomotiv.com

Marka / Brand KNORR
3 1 40 OEM NO K001532
Model SB7...
NO | CODE DESCRIPTION DIMENSION PIECE

1 1119 Pin @36/114 mm 1
2 1215 Screw M16 x 1.5/87 mm 1
3 1145 Pin @ 32/88 mm 1
4 1217 Screw M16 x 1.5/80 mm 1
5 1421 Bush @ 36 x40/82 mm 1
6 1509 Pin Cap @ 40/14 mm 1
7 1422 Pin Boot Ring - 1
. 8 1317 Pin Boot - 1
o 9 1926 Pin Rubber Bush @ 35 mm 1
10 1510 Steel Cap 50mm x 28mm 1
1 1924 Cap O-Ring - 1
12 1564 Plug : 1




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison
purposes only, and may not be used in invoices

Caliper Repair Kit

3179
NO CODE
1 1119
2 1215
3 1120
4 1217
5 1421
6 1509
7 1422
8 1508
9 1923
10 1510
1 1924
12 1317
13 1926-1

PIECE

Marka / Brand KNORR
OEM NO K048389K50, ;(2;2%384;;6:6 K067417K50,
Model SB6..., SB7...
DESCRIPTION DIMENSION
Pin @36/114 mm
Screw M16 x 1.5/87 mm
Pin @ 32/80 mm
Screw M16 x 1.5/80 mm
Bush @36 x40/82mm
Pin Cap @40/14 mm
Pin Boot Ring -
Ring -
Pin Rubber Bush @39 mm
Steel Cap 50mm x 28mm
Cap O-Ring -
Pin Boot =

Pin Rubber Bush

Caliper Repair Kit
Marka / Brand

3009

NO CODE
1 1119
2 1215
3 1120
4 1217
5 1421
6 1422
7 1509
8 1925
9 1317

KNORR
OEM NO K001915, 0004204382;\313 52028)?26019, 81508226037,
Model SN6..., SN7...
DESCRIPTION DIMENSION
Pin @36/114 mm
Screw M16 x 1.5/87 mm
Pin @ 32/80 mm
Screw M16 x 1.5/80 mm
Bush @36 x 40 / 82 mm
Pin Boot Ring -
Pin Cap @40/14 mm
Pin Rubber Bush @ 39 mm

Pin Boot

@ 35 mm Only Head

e
9 -
@

www.alcanotomotiv.com

A\ Pareny

KMORR 3178

KMORR 3008

N
e.
O

-
-
o
c

XX




purposes only, and may not be used in invoices

A\ Parierdy

Caliper Repair Kit
Marka / Brand
3128 OEM NO

Model

NO | CODE DESCRIPTION

1 1119 Pin

2 1215 Screw

3 1120 Pin

4 1217 Screw

5 1421 Bush

6 1509 Pin Cap

7 1422 Pin Boot Ring

8 1508 Ring

9 1923 Pin Rubber Bush
10 1510 Steel Cap

1 1924 Cap O-Ring

12 1317 Pin Boot

A
-
o
1
q

Caliper Repair Kit
Marka / Brand
OEM NO
301 0 Model

NO | CODE DESCRIPTION

1 1119 Pin

2 1215 Screw

3 1117 Pin

4 1421 Bush

5 1317 Pin Boot

6 1510 Steel Cap

7 1509 Pin Cap

8 1316 Rubber Bush
KNORR 3010 9 1422 Pin Boot Ring

10 1924 Cap O-Ring

KNORR

DIMENSION
@36/114 mm
M16 x 1.5/87 mm
@ 32/80 mm
M16 x 1.5/80 mm
@36 x40/82mm
@40/14 mm

@39 mm

50mm x 28mm

KNORR

1139769F0062, 42537451, 35403113057

SB7...
DIMENSION
@36/114 mm
M16 x 1.5/87 mm
@ 34 /80 mm
@ 36 x 40 /82 mm
50mm x 28mm
@40/14 mm
@ 34 x 40 /50 mm

All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

K048389K50, K048434K62, K067417K50,
3.434.3820.00

SB6..., SB7...
PIECE

1
1
1

PIECE

1
2
1

94 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Repair Kit

Marka / Brand KNORR
301 1 OEM NO K000365, 0004200782, 0004202282, 0004203482
Model SB6/SB7, SN6/SN7/SK7
NO CODE DESCRIPTION DIMENSION PIECE
1 1119 Pin @36/114 mm 1
2 1117 Pin @ 34 /80 mm 1
3 1120 Pin @ 32/80 mm 1
4 1215 Screw M16 x 1.5/87 mm 2
5 1217 Screw M16 x 1.5/80 mm 1
6 1421 Bush @ 36 x 40 / 82 mm 1
7 1317 Pin Boot - 1
8 1510 Steel Cap 50mm x 28mm 1
9 1509 Pin Cap @ 40/14 mm 1
10 1924 Cap O-Ring - 1
11 1925 Pin Rubber Bush @ 39 mm 1 )
12 1422 Pin Boot Ring - 1 o
13 1316 Rubber Bush @ 34 x 40 / 50 mm 1
1 S
|
o
<
Caliper Repair Kit
Marka / Brand KNORR
OEM NO -
31 32 Model SB5..., SN5...
NO CODE DESCRIPTION DIMENSION PIECE
1 1119 Pin @36/114 mm 1
2 1120 Pin @ 32/80 mm 1
3 1215 Screw M16 x 1.5/87 mm 1
4 1217 Screw M16 x 1.5/80 mm 1
5 1421 Bush @36 x40/82mm 1
6 1317 Pin Boot - 1
7 1510 Steel Cap 50mm x 28mm 1
8 1509 Pin Cap @40/ 14 mm 1 -
9 1925 Pin Rubber Bush @39 mm 1 e
10 1924 Cap O-Ring - 1
1 1422 Pin Boot Ring - 1

www.alcanotomotiv.com

95




A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
AW\ oTomoTIV

Caliper Repair Kit

Marka / Brand KNORR
30 1 2 O;(l\)lldl;llo K001928, :’:;)50322.6026
o 9 e NO | CODE DESCRIPTION DIMENSION PIECE
\ % \ 11122 Pin @30/99 mm 1
2 1219 Screw M16 x 1.5/ 105 mm 1
3 1123 Pin @30/72 mm 1
4 1270 Screw M16 x 1.5/75 mm 1
5 1424 Pin Ring - 2
6 1426 Bush © 30 x 34/65mm 1
7 1511 Pin Cap @34/14 mm 2
= : L5 8 1318 Tappet Boot - 2
S o 1425 Bush @30 x 34 /25 mm 1
Caliper Repair Kit
Marka / Brand KNORR
309 1 OEM NO 11197330062, 1390426
(3] Model
2 m-mm
(4] 1118 ©36/135 mm
— . 2 1216 Screw M16 x 1.5 /140 mm 1
-~ o - 3 M7 Pin ©34/80 mm 1
A 4 1215 Screw M16 x 1.5 /87 mm 1
‘ (o] 5 1421 Bush @36 x40/82 mm 1
6 1922 Bellow Cap Clamp - 1
7] . (o) 7 1330 Pin Boot . 1
U 8 1316 Rubber Bush @ 34 x 40/50 mm 1
- 9 1331 Bellow Cap - 1
Caliper Repair Kit
Marka / Brand KNORR
3096 OEM NO 11179320062
Model SB6/SB7
NO | CODE DESCRIPTION DIMENSION PIECE
1 1118 Pin @36/135 mm 1
2 1216 Screw M16 x 1.5/ 140 mm 1
3 1133 Pin @ 34 /120 mm 1
4 1238 Screw M16 x 1.5/ 125 mm 1
5 1421 Bush @36 x40/82mm 1
6 1922 Bellow Cap Clamp - 1
7 1330 Pin Boot - 1
KNORR 3006 8 1950 Pin Rubber Bush - 1
9 1331 Bellow Cap - 1

96 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison
purposes only, and may not be used in invoices

Caliper Repair Kit

|_ALCANNO |
3097

NO

1

2

CODE

1116
1214
1133
1238
1421
1922
1315
1950
1317
1422

Marka / Brand
OEM NO
Model

DESCRIPTION
Pin
Screw
Pin
Screw
Bush
Bellow Cap Clamp
Bellow Cap
Pin Rubber Bush
Pin Boot

Pin Boot Ring

Caliper Repair Kit
Marka / Brand

3100

\[o)

1

CODE
1118
1216
1117
1215
1421

1922
1330
1316
1526

OEM NO
Model

DESCRIPTION
Pin
Screw
Pin
Screw
Bush
Bellow Cap Clamp
Pin Boot
Rubber Bush
Metal Cap

Caliper Repair Kit
Marka / Brand

3013

NO

1

CODE
1116
1214
1315
1317
1421

1422
1922

OEM NO
Model

DESCRIPTION
Pin
Screw
Bellow Cap
Pin Boot

Bush

Pin Boot Ring

Bellow Cap Clamp

KNORR
11358510062, 0004201182
SB6..., SBT...

DIMENSION
@36/145 mm
M16 x 1.5/ 150 mm
@34/120 mm
M16 x 1.5/ 125 mm
@36 x40/82mm

KNORR
11197140062
SB6/SB7

DIMENSION
@36/135 mm
M16x 1.5/140 m
@ 34 /80 mm
M16 x 1.5/87 mm
@ 36 x 40 / 82 mm

@ 34 x40/50 mm

42,5mm x 37mm

KNORR
K000935, 3.434.3802.00
SB5..., SB6..., SB7...

DIMENSION
@36/145 mm
M16x 1.5/150 m

@ 36 x40/82 mm

PIECE

9
1
9

PIECE

1
1
9

PIECE

1
1
1

§\§°0 N

o

N

e
~»

www.alcanotomotiv.com

A\ Pareny

g e

R
—

KMORR 3087

Knorr

P
e

o/y.

KMORR 3700

~, @
!o

KMORR 3013

97




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison
purposes only, and may not be used in invoices

A\ Parierdy

Caliper Repair Kit
Marka / Brand

KNORR
K031844, 1906779, K031844K50, 1756390,

3092 OEMNO K152588, K133158K50
Model SN6/SN7/SK7

NO CODE DESCRIPTION DIMENSION PIECE

o ] 4] [+] 1 1510 Steel Cap 50mm x 28mm 1

™ O Q - 2 1924 Cap O-Ring - 1

& w s 1421 Bush ©36x40/82mm 1

v 4 1119 Pin @ 36/114 mm 1

- e _ o o \g 5 1215 Screw M16x1.5/87mm 1

® %\ 6 1317 Pin Boot - 1

7 1422 Pin Boot Ring - 1

. . 8 3087 Pin Rubber Bush @ 40 - 50mm 1

o @e 0o °° ® 9 1134 Pin ©32/84 mm 1

- 10 1217 Screw M16 x 1.5 /80 mm 1

1 1526 Metal Cap 42,5mm x 37mm 1

12 1509 Pin Cap @40 /14 mm 1

13 1433 Pin Boot Ring - 1

14 1345 Pin Boot - 1

- Caliper Repair Kit
O [ ap °
ZW ( E!f{ Marka / Brand KNORR
| | ( OEM NO -
§ u 3209 Model SB6... ,SB7...

o I 6 NO | CODE DESCRIPTION DIMENSION PIECE

: O O 1 1518 Plastic Cover 38 mm 2

| J 2 1223 Adjusting Nut - 1

' 3 1852 Anti Rotation Pin - 2
L2 . . 1935 Holder pin . 2
0 ' 5 1934 Washer - 2
o ,

KMORR 3208 6 1761

IS

Plastic Cover -

Caliper Repair Kit
Marka / Brand

OEM NO

3 1 1 3 Model

KNORR
K013007
SB6/SB7, SN6/SN7/SK7

KMORR 3113

98

o

2

3

IS

o

NO CODE DESCRIPTION DIMENSION PIECE
1

1518 Plastic Cover 38mm

1119 Pin @36/114 mm
1121 Pin @36 /64 mm
1215 Screw M16 x 1.5/87 mm
1218 Screw M16 x 1.5/70 mm
1422 Pin Boot Ring -

1517 Pin Cap @40/24.5mm
1509 Pin Cap @40 /14 mm
1223 Adjusting Nut -

1851 Pad Retainer -

1935 Holder pin -

1852 Anti Rotation Pin -

1934 Washer -

www.alcanotomotiv.com

1
1
1




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Brake Pad Retainer Repair Kit

Marka / Brand KNORR
321 4 OEM NO -
Model SN5, SB6/SB7, SN6/SN7/SK7
NO CODE DESCRIPTION DIMENSION PIECE
1 1560 Pad Holder - 4
2 1935 Holder pin - 2
3 1852 Anti Rotation Pin - 2
4 1934 Washer - 2

KMORR 3214

Caliper Repair Kit

Marka / Brand KNORR
OEM NO 5
31 95 Model SB6... ,.SB7...
NO CODE DESCRIPTION DIMENSION PIECE
1 1518 Plastic Cover 38mm 2
2 1223 Adjusting Nut - 1
3 1852 Anti Rotation Pin - 2
4 1935 Holder pin - 2
5 1934 Washer - 2

KMORR 3795

Brake Pad Retainer Repair Kit

Marka / Brand KNORR i (1 ° ) o 3
3144 0 ' ~ S
Model SN5, SB6/SB7, SN6/SN7/SK7 > '\‘
NO CODE DESCRIPTION DIMENSION PIECE / —
1 1560 Pad Holder - 4 V O
2 1851 Pad Retainer - 2 e ‘ﬂ g
3 1852 Anti Rotation Pin - 2 . \ / I o .
4 1934 Washer = 2 : ) — N °:
5 1935 Holder pin - 2 ﬂ"? |'? ‘ ‘ a a
6 1518 Plastic Cover 38mm 2 \l § SJ {. (5 ﬁ
7 1223 Adjusting Screw - 2 KHORR T4 e

www.alcanotomotiv.com 99




A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison
A purposes only, and may not be used in invoices

OTOMOTIV

Caliper Repair Kit

Marka / Brand KNORR
31 47 OEM NO K052381K50, K001925
Model SL7, SM7
NO CODE DESCRIPTION DIMENSION PIECE

o 1 1135 Pin @36/102 mm 1
2 1120 Pin @ 32/80 mm 1
3 1215 Screw M16 x 1.5/87 mm 1
4 1217 Screw M16 x 1.5/80 mm 1
5 1455 Pin Bush @36 x40/75 mm 1
6 1422 Pin Boot Ring - 1
7 1925 Pin Rubber Bush @ 39 mm 1
8 1509 Pin Cap @ 40/14 mm 1
. 9 1317 Pin Boot - 1

Caliper Repair Kit

Marka / Brand KNORR
31 48 OEM NO K001274, K002716
Model SB5, SN5
NO CODE DESCRIPTION DIMENSION PIECE
1 1135 Pin ©36/102 mm 1
2 1120 Pin @ 32/80 mm 1
3 1215 Screw M16 x 1.5/87 mm 1
4 1217 Screw M16 x 1.5/80 mm 1
5 1455 Pin Bush ©36x40/75mm 1
6 1422 Pin Boot Ring - 1
7 1923 Pin Rubber Bush @ 39 mm 1
8 1508 Ring - 1
9 1509 Pin Cap @40/14 mm 1
10 1317 Pin Boot - 1
Caliper Repair Kit
Hari [ Brand K000696, 0980102;%?‘237675, 0024200383,
(¢ 3056 OEMNO 3434380500, 3434381200
. Model SB6..., SB7...
NO CODE DESCRIPTION DIMENSION PIECE
1 1119 Pin ©36/114 mm 1
2 1215 Screw M16 x 1.5/87 mm 1
A 3 1421 Bush @36 x40/82mm 1
4 1510 Steel Cap 50mm x 28mm 1
— ) 5 1924 Cap O-Ring - 1
— 6 1317 Pin Boot - 1
7 1422 Pin Boot Ring - 1

100 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Repair Kit

ALCAN NO Marka / Brand KNORR [}
3094 OEM NO -
SB5, SN5, SB6/SB7 , SB7 Radial , SN6/SN7/ -
Model
SK7

NO CODE DESCRIPTION DIMENSION PIECE

1 1119 Pin ©36/114 mm 1

2 1215 Screw M16 x 1.5/87 mm 1

3 1120 Pin @ 32/80 mm 1

4 1217 Screw M16 x 1.5 /80 mm 1

5 1926 Pin Rubber Bush @ 35 mm 1

6 1 508 Rlng _ 1 KNORR 3004

Caliper Repair Kit

Marka / Brand KNORR
3099 OEM NO - =
Model SB5, SN5, SB6/SB7, SB7 Radial, SN6/SN7/SK7 o
NO CODE DESCRIPTION DIMENSION PIECE §
1 1119 Pin @36/114 mm 1
2 1215 Screw M16 x 1.5/87 mm 1
3 1120 Pin @ 32/80 mm 1
4 1217 Screw M16 x 1.5/80 mm 1
5 1422 Pin Boot Ring - 1
6 1509 Pin Cap @40/14 mm 1 .
7 1317 Pin Boot - 1 KNORA 3000

Caliper Repair Kit

Marka / Brand KNORR o
OEM NO - ’

3212 -
NO CODE DESCRIPTION DIMENSION PIECE (‘; o
1 1215 Screw M16 x 1.5/87 mm 1 ﬂ

2 1217 Screw M16 x 1.5 /80 mm 1 4

3 1508 Ring ; 1

4 1510 Steel Cap 50mm x 28mm 1 & O

5 1223 Adjusting Nut - 1 5] é °
6 1518 Plastic Cover 38mm 1 (¢ ]

7 1924 Cap O-Ring - 1 KNORR 3212

www.alcanotomotiv.com 101




A\\ A L.CAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Repair Kit

om Marka / Brand KNORR
v OEM NO -
321 3 Model SB7..., SN7...

NO CODE DESCRIPTION DIMENSION PIECE

[ ] 1 1215 Screw M16 x 1.5/87 mm 1

2 1217 Screw M16 x 1.5/80 mm 1

3 1509 Pin Cap @40/14 mm 1

4 1526 Metal Cap 42,5mm x 37mm 1

° 5 1223 Adjusting Nut - 1

KNORR 3213 6 1518 Plastic Cover 38mm 1

Caliper Repair Kit
Marka / Brand KNORR

m © OEM NO

v 321 1 Model SN6..., SN7...

‘ NO CODE DESCRIPTION DIMENSION PIECE
<]

1 1215 Screw M16 x 1.5 /87 mm 1
2 1217 Screw M16 x 1.5 /80 mm 1

3 1509 Pin Cap @40/14 mm 1
4 1508 Ring - 1
0 5 1223 Adjusting Nut - 1
6 1518 Plastic Cover 38mm 1

KNORR 3211

Caliper Guide and Bush

Marka / Brand KNORR
OEM NO K000697, CKSK.13.2
301 5 Model SB6... SBT...
NO CODE DESCRIPTION DIMENSION PIECE
1 1120 Pin @32/80 mm 1
2 1923 Pin Rubber Bush @39 mm 1

KNORA 3015

102 www.alcanotomotiv.com




purposes only, and may not be used in invoices

All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

OTOMOTIV

Caliper Repair Kit

Marka / Brand KNORR
OEM NO K000698, 1906776, 0980106910, 3424381300
301 6 Model SB6..., SBY...

NO CODE DESCRIPTION DIMENSION PIECE

1 1120 Pin @32/80 mm 1

2 1217 Screw M16 x 1.5/80 mm 1

3 1923 Pin Rubber Bush @ 39 mm 1

4 1508 Ring - 1

KNORR 3076

Caliper Repair Kit

| -
Marka / Brand KNORR s
31 37 OEM NO - c
Model SB6..., SB7... !
NO CODE DESCRIPTION DIMENSION PIECE

1 1145 Pin @32/88 mm 1

2 1217 Screw M16 x 1.5/80 mm 1

3 1923 Pin Rubber Bush © 39 mm 1

4 1564 Plug - 1

KNORR 3137

Caliper Guide and Bush

ALCAN NO Marka / Brand KNORR
OEM NO CKSK.13.1
301 8 Model SBé6..., SB7...
NO CODE DESCRIPTION DIMENSION PIECE
1 1120 Pin @32/80 mm 1
2 1926 Pin Rubber Bush @ 35 mm 1

KNORR 3078

www.alcanotomotiv.com 103




purposes only, and may not be used in invoices

A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

OTOMOTIV

Caliper Repair Kit

Marka / Brand KNORR
OEM NO 09.801.06.90.0, CKSK.13.4
301 9 Model SB6..., SB7...
NO CODE DESCRIPTION DIMENSION PIECE
1 1120 Pin @ 32/80 mm 1
2 1217 Screw M16 x 1.5/80 mm 1
3 1926 Pin Rubber Bush @ 35 mm 1
4 1508 Ring - 1

KMORR 3018

Caliper Repair Kit

Marka / Brand KNORR
OEM NO -

x 31 38 Model SB6..., SB7...
: NO CODE DESCRIPTION DIMENSION PIECE
91 1 1145 Pin @ 32/88 mm 1
- 2 1217 Screw M16 x 1.5/80 mm 1

3 1926 Pin Rubber Bush @ 35 mm 1

4 1564 Ring - 1

KMORR 3138

Caliper Repair Kit

o ALCAN NO Marka / Brand KNORR
OEM NO K048399K50
31 29 Model SB6..., SB7...

NO CODE DESCRIPTION DIMENSION PIECE
1 1120 Pin © 32/80 mm 1
2 1217 Screw M16 x 1.5/80 mm 1
3 1925 Pin Rubber Bush @39 mm 1
4 1508 Ring - 1
5 1560 Pad Holder - 2

KNORR 3128

104 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Guide and Bush (235mm)

ALCAN NO Marka / Brand KNORR
OEM NO -
31 55 Model SB5, SN5, SB6/SB7, SB7 Radial, SN6/SN7/SK7
NO CODE DESCRIPTION DIMENSION PIECE
1 1120 Pin @ 32/80 mm 1
2 1453 Pin Rubber Bush 35 mm 1

KNORR - 31858

Caliper Guide and Bush (239mm)

ALCAN NO Marka / Brand KNORR
OEM NO -

3021 .
Model SB7... [
(@)
NO CODE DESCRIPTION DIMENSION PIECE :
11120 Pin ©32/80 mm 1 o

2 1925 Pin Rubber Bush @ 39 mm 1

KNORR 3027

Caliper Repair Kit

Marka / Brand KNORR
OEM NO -
3022 Model SB7...
NO CODE DESCRIPTION DIMENSION PIECE
1 1120 Pin @32/80 mm 1
2 1217 Screw M16 x 1.5/80 mm 1
3 1925 Pin Rubber Bush @ 39 mm 1

KNORR 3022

www.alcanotomotiv.com 105




purposes only, and may not be used in invoices

A\\ A L.CAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

OTOMOTIV

Caliper Guide and Bush

ALCAN NO Marka / Brand KNORR
OEM NO CKSK.13.3
3023 Model SB5..., SB6..., SB7...

NO CODE DESCRIPTION DIMENSION PIECE
1 1117 Pin @ 34 /80 mm 1
2 1316 Rubber Bush @ 34 x 40 / 50 mm 1

KMORR 3023

Caliper Repair Kit
Marka / Brand KNORR

1477678, CKSK.13.3B, 11368470064, 3434380100,

3024 OEMNO 1448910

Model SB5..., SB6..., SB7...
NO CODE DESCRIPTION DIMENSION PIECE
1 117 Pin @34 /80 mm 1
2 1215 Screw M16 x 1.5 /87 mm 1
3 1316 Rubber Bush @ 34 x 40 / 50 mm 1

KMORR 3024

110Ul

Caliper Metal-Rubber Bush (d40mm)

ALCAN NO Marka / Brand KNORR
3087 OEM NO -
Model SB6/SB7, SN6/SN7/SK7

NO CODE DESCRIPTION DIMENSION PIECE
1 3087 Pin Rubber Bush @ 40 - 50mm 1

KMORR 3087

Caliper Guide and Bush

Marka / Brand KNORR
OEM NO -
31 53 Model SN7...
NO CODE DESCRIPTION DIMENSION PIECE
1 3087 Pin Rubber Bush @ 40 - 50mm 1
2 1134 Pin @ 32/84 mm 1

KMORR 3153

106 www.alcanotomotiv.com




purposes only, and may not be used in invoices

All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

OTOMOTIV

Caliper Guide and Bush

ALCAN NO Marka / Brand KNORR
OEM NO -
3086 Model SB7... °
NO CODE DESCRIPTION DIMENSION PIECE
1 1133 Pin @ 34/120 mm 1
2 1950 Pin Rubber Bush - 1

KNORR 3086

Caliper Adjusting Mechanism
Marka / Brand KNORR

OEM NO Hybrid =

3208 Model SN6.., SN7..., SK7..., SB5..., SB6..., SBY.., ADB22X o

c

NO CODE DESCRIPTION DIMENSION  PIECE >
1 3208 Adjusting Mechanism - 1

KNORR 3208

Caliper Adjusting Mechanism -

(OriginalHead)
ALCAN NO Marka / Brand KNORR
OEM NO ADB22X
31 1 6 Model SN6..., SN7..., SK7..., SB5..., SB6..., SB7..., ADB22X
NO CODE DESCRIPTION DIMENSION PIECE
1 1281 Adjusting Mechanism Original Head 1
2 1223 Adjusting Nut - 1
3 1850 Adjusting Gear Original Head 1

KNORR 3178

www.alcanotomotiv.com 107




purposes only, and may not be used in invoices

A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

OTOMOTIV

Caliper Adjusting Mechanism
- (Original Head)

Marka / Brand KNORR
OEM NO -
31 31 Model SN7...
NO CODE DESCRIPTION DIMENSION PIECE

1 1280 Adjusting Mechanism Original Head 1

2 1223 Adjusting Nut - 1

3  3131-6 Ball - 1
L 4 1850 Adjusting Gear - 1

Caliper Adjusting Mechanism
- (Hexagonal Head)

ALCAN NO Marka / Brand KNORR
OEM NO ADB22X
3025 Model SN6..., SN7..., SK7..., SB5..., SB6..., SB7...
NO CODE DESCRIPTION DIMENSION PIECE
Caliper Adjusting Mechanism - Hexagonal }
1 1175 Head 1
ko 025 2 1850 Adjusting Gear - 1

A
=)
o
-
q

Caliper Adjusting Mechanism

Marka / Brand KNORR
3026 OEM NO -
Model SN5..., SB5...
NO CODE DESCRIPTION DIMENSION PIECE
1 1174 Caliper Adjusting Mechanism - 1
2 1850 Adjusting Gear - 1

Caliper Adjusting Mechanism (Original Head)

ALCAN NO Marka / Brand KNORR
OEM NO CKSK.10.3
3220 Model SN6/SN7/SK7
\\[o] CODE DESCRIPTION DIMENSION PIECE
1 3025-6 Ring of Mechanism - 1
2 3025-5 Seal - 1
o 3 3025-10 Adjusting Gear - 1
0 4 3025-11 Spring - 1
2] o .
5 3116-1 Mechanism Shaft - 1

KNORR 3220

108 www.alcanotomotiv.com




purposes only, and may not be used in invoices

All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

OTOMOTIV

Caliper Adjusting Mechanism (Hexagonal Head)

Marka / Brand KNORR
OEM NO CKSK.10.4
3221 Model SB5, SB6/SB7 , SN6/SN7/SK7
\'[o} CODE DESCRIPTION DIMENSION PIECE
1 3025-6 Ring of Mechanism - 1
2 3025-5 Seal - 1
3 3025-10 Adjusting Gear - 1
4 3025-11 Spring - 1
5 3025-1 Mechanism Shaft - 1

KMORR 3221

Caliper Adjusting Mechanism
(Hexagonal Head)

ALCAN NO Marka / Brand KNORR
OEM NO -
31 54 Model SN6..., SN7..., SK7..., SB5..., SB6..., SB7...
NO CODE DESCRIPTION DIMENSION PIECE
1 3154  Caliper Adjusting Mechanism (Hexagonal Head) - 1
®
KNORR 3154
} -
. . . . L
Caliper Adjusting Mechanism ()
c
ALCAN NO Marka / Brand KNORR !
OEM NO -
31 73 Model SN5...
NO CODE DESCRIPTION DIMENSION PIECE
1 3173 Adjusting Mechanism - 1

KMORR 3173

Caliper Adjusting Mechanism (Plastic body)

ALCAN NO Marka / Brand KNORR
OEM NO CKSK.10.1, ADB22X
3027 Model SN6..., SN7..., SK7..., SB6..., SB7..., ADB22X
NO CODE DESCRIPTION DIMENSION PIECE
1 3027 Adjusting Mechanism Plastic body 1

Caliper Adjusting Mechanism

ALCAN NO Marka / Brand KNORR
OEM NO -
3201 Model -
NO CODE DESCRIPTION DIMENSION PIECE
1 3201 Adjusting Mechanism - 1 [ 1]

KMORR 3201

www.alcanotomotiv.com 109




A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison
A purposes only, and may not be used in invoices

OTOMOTIV

Caliper Adjusting Mechanism
KNORR

ALCAN NO Marka / Brand

OEM NO

31 34 Model SNG6..., SN7..., SK7...

DIMENSION  PIECE
- 1

NO CODE DESCRIPTION

1 3134 Adjusting Mechanism

Caliper Adjusting Mechanism
KNORR

ALCAN NO Marka / Brand

OEM NO

31 35 Model SNG6..., SN7..., SK7...

NO CODE DESCRIPTION DIMENSION PIECE
- 1

1 3135 Adjusting Mechanism

Caliper Adjusting Mechanism

KNORR

ALCAN NO Marka / Brand
ADB22X

OEM NO

31 36 Model SKG..., SK7..., ADB22X

DIMENSION  PIECE
- 1

NO CODE DESCRIPTION

1 3136 Adjusting Mechanism

Caliper Adjusting Mechanism

ALCAN NO Marka / Brand KNORR
31 58 OEM NO -
Model SL7..., SM7..., ST7...
NO CODE DESCRIPTION DIMENSION PIECE
1 3158 Adjusting Mechanism - 1

Brake Caliper Mechanism Gear

ALCAN NO Marka / Brand KNORR
OEM NO ADB22X, CKSK.11.1
3049 Model SB5, SN5, SB6/SB7, SN6/SN7/SK7
NO CODE DESCRIPTION DIMENSION PIECE
1 1850 Adjusting Gear - 10

www.alcanotomotiv.com

110



All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Pinion Shaft

ALCAN NO Marka / Brand KNORR
OEM NO -
31 1 0 Model SN5...
NO CODE DESCRIPTION DIMENSION  PIECE
1 1628 Pinion Shaft - 5
1]
KNORR 3110
_ S Sl ol
Caliper Pinion Shaft :ﬁ A . ::‘ . q.
JYWIXINCMll Marka / Brand KNORR N ik, e
o - ) AN N
31 1 1 Model SB5..., SN5...
Sl foaa
NO CODE DESCRIPTION DIMENSION  PIECE el g { S
1 1629 Pinion Shaft - 5 % 5 .
» w =
1w/ iw
L] -
(NORR 311 L
onR 3 o
c
X
. .. o
Caliper Bellow and Steel Cap Repair Kit ‘ ' e '
ALCAN NO Marka / Brand KNORR _ -
3 028 OEM NO CKSK.5, K001301, 81.50822.6025 ~ N N
Model SB6..., SB7... B 4 o i/ )\ 7 \e 2
NO CODE DESCRIPTION DIMENSION  PIECE [ o _
o o o o
1 1315 Bellow Cap - 6 v v
2 1922 Bellow Cap Clamp - 6 - :
3 1510 Steel Cap 50mm x 28mm 6 O O O O
4 1924 Cap O-Ring - 6 4]
KNORR 3028
Dust Cover Set
ALCAN NO Marka / Brand KNORR
OEM NO 11350470063
31 49 Model SB5..., SB6..., SB7...
NO CODE DESCRIPTION DIMENSION  PIECE
1 1922 Bellow Cap Clamp - 1
2 1315 Bellow Cap - 1

KNORR 3148

www.alcanotomotiv.com 111




A
-
o
1
1

ALCAN

OTOMOTIV

purposes only, and may not be used in invoices

N\

Dust Cover Set
Marka / Brand

OEM NO
31 50 Model
NO CODE DESCRIPTION
1 1922 Bellow Cap Clamp
2 1331 Bellow Cap

KMORR 31850

Marka / Brand
-
3029 OEM NO
- Model

1 1839 Thrust Part With Bellow
2 1319 Shaft Housing Boot
3 1427 Round Bush

KNORR 3020

KMORA 3196

l

KMORA 3030

All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

KNORR
11344730063
SB6..., SB7...

DIMENSION PIECE
- 1
- 1

Caliper Tappet Repair Kit (69mm)

KNORR

K001300, K010603, K000366, 81508226031,
81508226020, 0004204282, 0004204082,
0004204982, 0004202382, 1689313, 1622785,
0980166320, 3434381400

SNG..., SN7...

NO CODE DESCRIPTION DIMENSION PIECE

, SK7..., ADB22X

69mm
69mm 2
@16x18/10 mm 2

o o | ) . -
) Caliper Tappet Repair Kit (69mm)
o ALCAN NO Marka / Brand KNORR
- K010603, K000366, 3434381400, 1689313,
- 3196 OEMNO 6084001
- , Model SN6..., SN7..., SK7...
- NO CODE DESCRIPTION DIMENSION  PIECE
= 1 1839 Thrust Part With Bellow 69mm 2
R — 2 1396 Shaft Housing Boot 69mm 2
3 1427 Round Bush @16 x18/10 mm 2
| |

Caliper Tappet Repair Kit (69mm)
Marka / Brand KNORR
OEM NO ADB22XL
3030 Model SN6..., SN7..., SK7...
CODE DESCRIPTION DIMENSION PIECE
1 1839 Thrust Part With Bellow 69mm 2
- 2 1427 Round Bush @16x18/10 mm 2

www.alcanotomotiv.com

112




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Tappet Repair Kit (74mm)

Marka / Brand KNORR
ALCAN NO K000944, K010604, 81508226032, 0980102630,
S 9312050, 1448913, 1623221, 0004200682,
3031 0004203982, 3434380400, 1759811, 1390429,
1743421, 1746824, 1756389, 1690420
Model SB6..., SBT...
NO CODE DESCRIPTION DIMENSION  PIECE
1 1840 Thrust Part With Bellow 74mm 2
2 1320 Shaft Housing Boot 74mm 2
3 1427 Round Bush @16x18/10 mm 2

KNORA 3037

Caliper Tappet Repair Kit (74mm)

Marka / Brand KNORR
OEM NO 11370760065, 000 420 1382, A0004201382
31 94 Model SB6..., SB7...
NO CODE DESCRIPTION DIMENSION PIECE
1 1840 Thrust Part With Bellow 74mm 1
2 1320 Shaft Housing Boot 74mm 1
3 1427 Round Bush ©16x18/10 mm 1 ——

KNORR 3194

-
-
o
c
XX

Caliper Tappet Repair Kit (74mm)

ALCAN NO Marka / Brand KNORR
OEM NO 11179320065, 11304130065, 1390429
3032 Model SB6..., SB7...
NO CODE DESCRIPTION DIMENSION PIECE
1 1840 Thrust Part With Bellow 74mm 2
2 1427 Round Bush @16 x 18 /10 mm 2

Caliper Tappet Repair Kit (69mm)
ALCAN NO Marka / Brand KNORR
OEM NO 0004230316, K046523K50, K206708

3076 Model SL7..., SM7...

NO CODE DESCRIPTION DIMENSION PIECE
1 1876 Thrust Part With Bellow 69mm 2

2 1319 Shaft Housing Boot 69mm 2

3 1432 Round Bush @15x17/8 mm 2

KNORR 3076

www.alcanotomotiv.com 113




purposes only, and may not be used in invoices

A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

OTOMOTIV

Caliper Tappet Repair Kit (69mm)

ALCAN NO Marka / Brand KNORR
OEM NO K001929, 81508226027, 0004204282
31 30 Model SNS...

NO CODE DESCRIPTION DIMENSION PIECE

1 1841 Thrust Part With Bellow 69mm 1
2 1427 Round Bush @16 x 18/10 mm 1
3 1319 Shaft Housing Boot 69mm 1

KMORR 3730

Caliper Tappet Repair Kit (69mm)

Marka / Brand KNORR
OEM NO -
3033 Model SN5...
NO CODE DESCRIPTION DIMENSION PIECE
1 1841 Thrust Part With Bellow 69mm 1
2 1427 Round Bush @16 x 18/10 mm 1
3 1969 Dust Cover - 1

KMORR 3033

A
5 -
o
-
1

Caliper Tappet Repair Kit

ALCAN NO Marka / Brand KNORR
31 82 OEM NO K017549M2-M17510
Model SL7...
NO CODE DESCRIPTION DIMENSION PIECE
1 1376 Thrust Part With Bellow - 2
2 1481 Clips - 2

KMORR 3182

Caliper Tappet Repair Kit
ALCAN NO Marka / Brand KNORR
OEM NO K017549M2, M17510

31 84 Model SL7...
NO CODE DESCRIPTION DIMENSION PIECE
1 1376 Thrust Part With Bellow - 2

2 1481 Clips - 2

3 1380 Shaft Housing Boot - 2

KMORR 3184

114 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison
purposes only, and may not be used in invoices

A\ Pareny

Caliper Boots and Pistons Repair Kit

Marka / Brand KNORR
OEM NO -
3098 Model $B6... SBY...
NO CODE DESCRIPTION DIMENSION PIECE
1 1840 Thrust Part With Bellow 74mm
2 1427 Round Bush @16 x18/10 mm 2
3 1422 Pin Boot Ring - 1
4 1317 Pin Boot - 1
5 1315 Bellow Cap - 1
6 1316 Rubber Bush @ 34 x 40 / 50 mm 1
7 1922 Bellow Cap Clamp - 1 SRR

Caliper Repair Kit

ALCAN NO Marka / Brand KNORR
OEM NO CKSK.8
31 45 Model SB6..., SB7...
-
NO CODE DESCRIPTION DIMENSION PIECE s
1 1317 Pin Boot - 1 c
2 1840 Thrust Part With Bellow 74mm 2 I‘ﬁ i ° o !
3 1510 Steel Cap 50mm x 28mm 1
4 1922 Bellow Cap Clamp - 1 -
5 1427 Round Bush @16 x18/10 mm 2 o& "y (5] =
6 1320 Shaft Housing Boot 74mm 2 - - |
7 1924 Cap O-Ring - 1 ‘ '
8 1422 Pin Boot Ring - 1
9 1223 Adjusting Nut - 1 %
© o
10 1518 Plastic Cover 38mm 1
11 1508 Ring - 1
12 1315 Bellow Cap - 1
13 1421 Bush @ 36 x 40 / 82 mm 1

. 1]
Caliper Boot
4 T
ALCAN NO Marka / Brand KNORR
OEMNO 1448600, 1415149, 1527631, 1477675,
303 4 0980106330, 42541412, Z004357, ADB22X
Model SB5..., SB6..., SB7..., SN6..., SN7..., SK7... ‘

NO CODE DESCRIPTION DIMENSION PIECE s —

1 1422 Pin Boot Ring - 1

2 1317 Pin Boot - 1

KMORR 3034

www.alcanotomotiv.com 115




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Guide Seals & Boot

Marka / Brand KNORR
OEM NO 11350470061
3035 Model SB6..., SB7...
NO CODE DESCRIPTION DIMENSION PIECE
1 1317 Pin Boot - 1
2 1315 Bellow Cap - 1
P pa— ;‘ _ 3 1422 Pin Boot Ring - 1
3] y o 4 1922 Bellow Cap Clamp - 1

KMORR 3035

Caliper Cap Set
ALCAN NO Marka / Brand KNORR
F OEM NO 11197140063
, 3200 Model SB6..., SBY...
y NO CODE DESCRIPTION DIMENSION PIECE
w 1 1922 Bellow Cap Clamp - 1
o 2]

A~

2 1399 Bellow Cap s 1
: KNORR 3200
(@)
1
q
\ Guide Seals & Boot
° 6 e ALCAN NO Marka / Brand KNORR
OEM NO CKSK.1.1, 93162049, 11328090061, 0014205283,
3036 81.50822.6008, 0980106110, 1415150, 1448914
Model SBé6..., SB7...
NO CODE DESCRIPTION DIMENSION PIECE
1 1317 Pin Boot - 1
o ’ 0 2 1510 Bellow Cap 50mm x 28mm 1
3 1422 Pin Boot Ring - 1
S— 4 1924 Bellow Cap Clamp - 1

KMORR 3038

Caliper Cap Kit

o a 6 : 2] Marka / Brand KNORR
OEM NO -
v 3077 Model SN6..., SN7..., SB6..., SB7...

NO CODE DESCRIPTION DIMENSION PIECE

(4] 1 1509 Pin Cap @40/11 mm 1
2 1510 Steel Cap 50mm x 28mm 1
3 1517 Pin Cap @ 40/24.5 mm 1
4 1924 Cap O-Ring - 1

KMORR 3077

116 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Steel Cap Kit

ALCAN NO Marka / Brand KNORR
OEM NO 1139769F0063, 3434380600
31 1 2 Model SB6..., SB7...
NO CODE DESCRIPTION DIMENSION PIECE
1 1510 Steel Cap 50mm x 28mm 1
2 1924 Cap O-Ring - 1 )

KNORR 3112

Caliper Calibration Bolt

ALCAN NO Marka / Brand KNORR
OEM NO K017549M2-M17510
3 1 80 Model SL7...
NO CODE DESCRIPTION DIMENSION PIECE
1 3180 Calibration Bolt - 1 (]

KNORR 3780

Knorr

Caliper Calibration Bolt

ALCAN NO Marka / Brand KNORR
OEM NO 34600135
3040 Model SB6..., SB7..., SN6..., SN7..., SK7..., ADB22X
NO CODE DESCRIPTION DIMENSION PIECE
1 3040 Calibration Bolt - 1

KNORR 3040

Caliper Calibration Bolt

ALCAN NO Marka / Brand KNORR
OEM NO -
3075 Model SL7..., SM7...
NO CODE DESCRIPTION DIMENSION PIECE
1 3075 Calibration Bolt - 1

KNORR 3075

www.alcanotomotiv.com 117




purposes only, and may not be used in invoices

A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

OTOMOTIV

Caliper Shaft Housing

ALCAN NO Marka / Brand KNORR
OEM NO ADB22X, CKSK.17.1
3037 Model SN6..., SN7..., ADB22X

NO CODE DESCRIPTION DIMENSION PIECE
1 1569 Shaft Housing - 1
2 1730 Spring - 1

KNORR 3037

Caliper Shaft Housing (Full kit)

Marka / Brand KNORR
OEM NO CKSK.17.1, ADB22X
3046 Model SN6..., SN7..., ADB22X
NO CODE DESCRIPTION DIMENSION PIECE
1 3037 Shaft Housing - 1
2 3040 Calibration Bolt - 2
3 1730 Spring - 1

KNORR 3048

110Ul

Caliper Shaft Housing

Marka / Brand KNORR
OEM NO ADB22X, ADB22XL
3038 Model SK7..., ST7..., ADB22X
NO CODE DESCRIPTION DIMENSION PIECE
1 1570 Shaft Housing - 1
2 1730 Spring = 1

KNORR 3038

Caliper Shaft Housing (Full kit)

Marka / Brand KNORR
OEM NO -
3047 Model SK7..., ST7..., ADB22X
NO CODE DESCRIPTION DIMENSION PIECE
1 3038 Shaft Housing - 1
2 3040 Calibration Bolt - 2
o 3 1730 Spring - 1

www.alcanotomotiv.com

118




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Shaft Housing (Full kit)

ALCAN NO Marka / Brand KNORR
OEM NO -
31 51 Model SL7..., SM7..., ST7...
NO CODE DESCRIPTION DIMENSION PIECE
1 3038 Shaft Housing
2 3075 Calibration Bolt
3 1730 Spring

KMORR 3181

Caliper Shaft Housing

| -
| &
o)
ALCAN NO Marka / Brand KNORR c
OEM NO - !
3039 Model SB6..., SB7...
NO CODE DESCRIPTION DIMENSION PIECE o
1 1571 Shaft Housing - 1
2 1730 Spring - 1 |

KMORR 3038

Caliper Shaft Housing (Full kit)

Marka / Brand KNORR
OEM NO CKSK.17
3048 Model SB6..., SB7...
NO CODE DESCRIPTION DIMENSION PIECE
1 3039 Shaft Housing - 1
2 3040 Callibration Bolt - 2
3 1730 Spring - 1

KMORR 3048

www.alcanotomotiv.com 119




A\\ A L.CAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Lever Bearing Set

Marka / Brand KNORR

EETS :
31 93 Model SB6..., SB7...

]
és_r\._;""’;

\[o) CODE DESCRIPTION DIMENSION PIECE
1 1569-3 Locking Plate - 2
2 3057 Roller Bearing - 1
© 3 1569-2 Locking Roller - 1

KMORR 3793

Caliper Shaft Housing

Marka / Brand KNORR
OEM NO -
31 01 Model SB5...
i CODE DESCRIPTION DIMENSION PIECE
1 1967 Shaft Housing - 1
2 1745 Spring - 2

KMORR 3107

110Ul

Caliper Shaft Housing

ALCAN NO Marka / Brand KNORR
OEM NO -
31 02 Model SN5...
\\[o] CODE DESCRIPTION DIMENSION PIECE
1 1968 Shaft Housing - 1
2 1745 Spring - 2
° ° Dust Cover
ALCAN NO Marka / Brand KNORR
OEM NO -
31 03 Model SN5...
\[o} (ee]»]3 DESCRIPTION DIMENSION PIECE
1 1969 Dust Cover - 5
)

KMORR 3703

120 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

Caliper Roller Bearings
Marka / Brand

OEM NO
3041 Model
NO CODE DESCRIPTION
1 1842 Bearing Cage
2 1607 Bearing

Caliper Roller Bearings

ALCAN NO Marka / Brand

OEM NO
3042 Model
NO CODE DESCRIPTION
1 1843 Bearing Cage
2 1607 Bearing

Adjuster Screw Gaiter
Marka / Brand

OEM NO
3 1 92 Model
NO CODE DESCRIPTION
1 1391 Adjuster Screw Gaiter

Caliper Roller Bearings
Marka / Brand

OEM NO
3078 Model
NO CODE DESCRIPTION
1 1877 Bearing Cage
2 1615 Bearing

SN6..., SN7..., SK7..., SB5..., ADB22X

SB5..., SB6..., SB7...

purposes only, and may not be used in invoices

A\ Pareny

KNORR
CKSK.14.1

DIMENSION PIECE
2
2

KNORR 3041

KNORR
CKSK.14

DIMENSION PIECE
2
2

KMORR 3042

KNORR

SL7..., SM7..., ST7...

DIMENSION PIECE
5

KMORR 3792

™

KNORR

SN5...

DIMENSION PIECE
2
2

7%

KMORR 3078

www.alcanotomotiv.com

Knorr

121




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Roller Bearings
ALCAN NO Marka / Brand KNORR
OEM NO -
31 21 Model SL7..., SM7...
\[o} CODE DESCRIPTION DIMENSION PIECE
1 1546 Bearing Cage - 2
2 1657 Bearing - 2
Caliper Caps
ALCAN NO Marka / Brand KNORR
OEM NO CKSK.3.3, ADB22X
3043 Model SNG..., SN7...
NO CODE DESCRIPTION DIMENSION PIECE
1 1509 Pin Cap @ 40/14 mm 6

KNORR 3043

S \ \ W\ Caliper Repair Kit
6

Y ALCAN NO Marka / Brand KNORR
- o OEM NO -
- ' ' ' - 31 90 Model SB5, SN5, SB6/SB7, SB7 Radial, SN6/SN7/SK7
e & NO CODE DESCRIPTION DIMENSION PIECE
e u Z 1 3179 Caliper Repair Kit - 1

O I : —y 2 1925 Pin Rubber Bush - 1

KMORR 3790

Caliper Plastic Cover (without chip)

ALCAN NO Marka / Brand KNORR
OEM NO CKSK.16.1, ADB22X
3044 SB6..., SB7..., SN6..., SN7..., SL7..., SM7..., SK6...,
Model SK7

\[e] CODE DESCRIPTION DIMENSION PIECE

1 1572 Plastic Cover - 1
2 1573 Cap - 1
Sensor Chip ( 2 Cables)
Marka / Brand KNORR
OEM NO -
3072-1 Model SB6..., SB7..., SN6..., SN7..., SL7..., SM7..., SKG6...,
ode SK7...

NO CODE DESCRIPTION DIMENSION PIECE
1 3072-1 Sensor Chip 2 Cables 1

KMORR 30721

122 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Plastic Cover ( 2 Cables)

ALCAN NO Marka / Brand KNORR
OEM NO ADB22X
3072 " SB6..., SBY..., SN6..., SN7..., SL7..., SM7..., SK6...,
odel
SK7...
NO CODE DESCRIPTION DIMENSION PIECE
1 1575 Plastic Cover ( 2 Cables ) - 1
2 1952 Plastic Shaft - 1

KNORR 3072

Sensor Chip ( 3 Cables - Mercedes )

ALCAN NO Marka / Brand KNORR
OEM NO -
3073-1 w SB6..., SB7..., SN6..., SN7..., SL7..., SM7..., SKG6...,
odel
SK7...
\\[o) CODE DESCRIPTION DIMENSION PIECE
1 3073-1 Sensor Chip 3 Cables - Merc. 1

Metal Cover (without chip)

ALCAN NO Marka / Brand KNORR
OEM NO CKSK.16 -
3219 Model SN6/SN7/SK7 ru
(o]
NO  CODE DESCRIPTION DIMENSION  PIECE —~ §
1 3219 Metal Cover (without chip) - 1 el ‘ ‘ ‘

Caliper Plastic Cover ( 3 Cables)

ALCAN NO Marka / Brand KNORR
OEM NO -
3146 SB6..., SB7..., SN6..., SN7..., SL7..., SM7..., SKG6...,
Model
SK7...
NO CODE DESCRIPTION DIMENSION PIECE
1 1577 Caliper Plastic Cover ( 3 Cables ) MAN TGA 1
2 1952 Plastic Shaft - 1

KMORR 3746

Sensor Chip ( 3 Cables - MAN )

ALCAN NO Marka / Brand KNORR
OEM NO -
31 46'1 SB6..., SB7..., SN6..., SN7..., SL7..., SM7..., SK6...,
Model
SK7...
\\[o} CODE DESCRIPTION DIMENSION PIECE
1 3146-1 Sensor Chip 3 Cables - MAN 1

KNORR 37461

www.alcanotomotiv.com 123




purposes only, and may not be used in invoices

A\\ A L.CAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

OTOMOTIV

Caliper Plastic Cover
- UNIVERSAL (without chip)

ALCAN NO Marka / Brand KNORR
OEM NO -
31 72 SB6..., SB7..., SN6..., SN7..., SL7..., SM7..., SK6...,
Model
SK7...
NO CODE DESCRIPTION DIMENSION PIECE
1 1586 Plastic Cover UNIVERSAL 1
2 1573 Cap - 1
3 1685 Universal Cover Plate - 1
4 1587 Chip Cover - 1

KMORR 3172

Caliper Plastic Cover ( 3 Cables)
- MERCEDES, ACTROS

ALCAN NO Marka / Brand KNORR
OEM NO ADB22X
3073 w SB6..., SB7..., SN6..., SN7..., SL7..., SM7..., SKG6...,
odel SK7

NO CODE DESCRIPTION DIMENSION PIECE
1 1576 Caliper Plastic Cover ( 3 Cables) MERCEDES, ACTROS 1
2 1952 Plastic Shaft - 1

KMORR 3073

A
=
o
=
1

Caliper Plastic Cover (without chip)

ALCAN NO Marka / Brand KNORR
OEM NO -
3207 SB6..., SB7..., SN6..., SN7..., SL7..., SM7..., SK6...,
Model
SK7...
\'[e] CODE DESCRIPTION DIMENSION PIECE
1 1173 Plastic Cover (without chip) - 1
2 1573 Cap - 1

KMORR 3207

Caliper Plastic Cover (without chip)

ALCAN NO Marka / Brand KNORR
OEM NO -
3206 SB6..., SB7..., SN6..., SN7..., SL7..., SM7..., SK6...,
Model SK7

\\[o} CODE DESCRIPTION DIMENSION PIECE
1 3206 Plastic Cover - 1

KNORR 3208

124 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Plastic Cover Seal

ALCAN NO Marka / Brand KNORR
OEM NO -
3175 SB6..., SB..., SN6..., SN7..., SL7..., SM7..., SKG...,
Model
SK7...
NO CODE DESCRIPTION DIMENSION PIECE
1 3175 Caliper Plastic Cover Seal - 1 ©

KNORR 3200

Caliper Plastic Cover (without chip)
- DAF, SCANIA, IVECO

ALCAN NO Marka / Brand KNORR
OEM NO CKSK.16.1.R
31 1 8 W SB6..., SB7..., SN6..., SN7..., SL7..., SM7..., SKG...,
odel
SK7...

NO CODE DESCRIPTION DIMENSION PIECE
1 1574 Plastic Cover DAF, SCANIA, IVECO 1

2 1573 Cap - 1

KNORR 3178

Knorr

Caliper Plastic Cover ( 2 Cables)
- DAF, SCANIA, IVECO

ALCAN NO Marka / Brand KNORR
OEM NO CKSK.16.1.R
31 1 9 w SB6..., SB7..., SN6..., SN7..., SL7..., SM7..., SKG...,
odel
SK7...
NO CODE DESCRIPTION DIMENSION PIECE
1 1578 Plastic Cover ( 2 Cables ) DAF, SCANIA, IVECO 1
2 1952 Plastic Shaft - 1

KNORR 3118

Caliper Plastic Cover ( 3 Cables)
- DAF, SCANIA, IVECO

ALCAN NO Marka / Brand KNORR
OEM NO ADB22X
3 1 20 Vodel SB6..., SB7..., SN6..., SN7..., SL7..., SM7..., SKG...,
SK7..., ADB22X
NO CODE DESCRIPTION DIMENSION PIECE
1 1579  Caliper Plastic Cover (3 Cables) DAF, SCANIA, IVECO 1
2 1952 Plastic Shaft - 1

KNORR 3120

www.alcanotomotiv.com 125




purposes only, and may not be used in invoices

A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

OTOMOTIV

Caliper Plastic Cover ( 3 Cables)

Marka / Brand KNORR
OEM NO -
31 89 Model SN7...
\\[o} CODE DESCRIPTION DIMENSION PIECE
1 1650 Plastic Cover ( 3 Cables ) - 1
2 1587 Chip Cover - 1
3 1952 Plastic Shaft - 1

KMORA 3189

Caliper Plastic Cover (without chip)

ALCAN NO Marka / Brand KNORR
OEM NO -
31 77 SB6..., SB7..., SN6..., SN7..., SL7..., SM7..., SK6...,
Model
SK7...
NO CODE DESCRIPTION DIMENSION PIECE
1 1594 Plastic Cover - 1
2 1573 Cap - 1

KNORR 3177

A
-
o
1
1

Caliper Plastic Cover (without chip)

ALCAN NO Marka / Brand KNORR
OEM NO ADB22X
31 57 Model ST7...

\\[o} CODE DESCRIPTION DIMENSION PIECE
1 3157 Plastic Cover - 1

Caliper Plastic Cover (without chip)

ALCAN NO Marka / Brand KNORR
OEM NO -
31 88 SB6..., SBY..., SN6..., SN7..., SL7..., SM7..., SKG6...,
Model
SK7...
\\[o} CODE DESCRIPTION DIMENSION PIECE
1 1631 Plastic Cover - 1
2 1573 Chip Cover - 1
3 1952 Plastic Shaft - 1

KMORA 3188

126 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices O T O M O T I v
Caliper Plastic Cover ( 2 Cables)

ITXNGE Marka/Brand KNORR (1]
OEM NO -
31 87 SB6..., SB7..., SN6..., SN7..., SL7..., SM7..., SKG...,
Model
SK7...

NO CODE DESCRIPTION DIMENSION PIECE o

1 1630 Plastic Cover ( 3 Cables ) - 1

2 1587 Chip Cover - 1

3 1952 Plastic Shaft - 1 ()

KNORR 3187

Caliper Plastic Cover ( 3 Cables ) - MAN TGA

Marka / Brand KNORR
OEM NO -
321 5 Model SN6..., SN7..., SL7..., SM7..., SK6..., SK7...
NO CODE DESCRIPTION DIMENSION PIECE
1 1774 Plastic Cover ( 3 Cables) MAN TGA 1 °
2 1954 Plastic Shaft - 1

KNORR 3215

Knorr

Caliper Plastic Cover ( 3 Cables)

ALCAN NO Marka / Brand KNORR
OEM NO -
31 86 " SB6..., SB7..., SN6..., SN7..., SL7..., SM7..., SK6...,
odel
SK7...

NO CODE DESCRIPTION DIMENSION PIECE
1 1599 Plastic Cover ( 3 Cables ) - 1

2 1587 Chip Cover - 1

3 1952 Plastic Shaft - 1

KNORR 3186

Caliper Plastic Cover (without chip)

Marka / Brand KNORR
OEM NO -
3088 Model SB5..., SN5... (2]
NO CODE DESCRIPTION DIMENSION PIECE
1 1951 Plastic Cover - 1
2 1952 Plastic Shaft - 1
3 1573 Cap - 1 KNORR 3088

www.alcanotomotiv.com 127




A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison
A purposes only, and may not be used in invoices

OTOMOTIV

Caliper Plastic Cover ( 2 Cables)

ALCAN NO Marka / Brand KNORR
OEM NO -
31 04 Model SBS5..., SN5...
NO CODE DESCRIPTION DIMENSION PIECE
1 1975 Caliper Plastic Cover ( 2 Cables) 1
2 1952 Plastic Shaft 1
Caliper Plastic Cover ( 3 Cables)
ALCAN NO Marka / Brand KNORR
OEM NO -
31 05 Model SBS5..., SN5...
\[o} CODE DESCRIPTION DIMENSION PIECE
1 1976 Plastic Cover ( 3 Cables ) 1
2 1952 Plastic Shaft - 1
A
: KNORR 3105
(@)
-
1
Caliper Plastic Cover (without chip)
ALCAN NO Marka / Brand KNORR
3089 OEM NO -
Model SB5..., SN5...
NO CODE DESCRIPTION DIMENSION PIECE
1 1953 Plastic Cover - 1
2 1952 Plastic Shaft - 1
3 1573 Cap - 1
Caliper Plastic Cover ( 2 Cables)
A\ BN \arka / Brand KNORR
31 06 OEM NO -
Model SB5..., SN5...
\\[o] CODE DESCRIPTION DIMENSION PIECE
1 1977 Caliper Plastic Cover ( 2 Cables ) 1
2 1952 Plastic Shaft - 1

KMORR 3708

www.alcanotomotiv.com

128




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Plastic Cover ( 3 Cables)

Marka / Brand KNORR
OEM NO .
31 07 Model SB5..., SN5...
\\[0] CODE DESCRIPTION DIMENSION PIECE
1 1978 Plastic Cover ( 3 Cables ) - 1
2 1952 Plastic Shaft - 1

KNORR 3107

Caliper Plastic Cover (without chip)

Marka / Brand KNORR
3090 OEM NO -
Model SN6..., SN7..., SL7..., SM7..., SK6..., SK7... o
NO CODE DESCRIPTION DIMENSION PIECE
1 1955 Plastic Cover - 1
2 1954 Plastic Shaft - 1
3 1573 Cap - 1

KNORA 3000

Knorr

Caliper Plastic Cover ( 2 Cables)

ALCAN NO Marka / Brand KNORR
OEM NO -
3108 Model SN6..., SN7..., SL7..., SM7..., SK..., SK7...
NO CODE DESCRIPTION DIMENSION PIECE
1 1979 Caliper Plastic Cover ( 2 Cables) - 1
2 1954 Plastic Shaft - 1
e
Caliper Plastic Cover ( 3 Cables)
ALCAN NO Marka / Brand KNORR
OEM NO -
31 09 Model SN6..., SN7..., SL7..., SM7..., SK6..., SK7...
NO CODE DESCRIPTION DIMENSION PIECE
1 1980 Plastic Cover ( 3 Cables ) - 1
2 1954 Plastic Shaft - 1
(]

KNORR 3108

www.alcanotomotiv.com 129




OTOMOTIV

A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison
A purposes only, and may not be used in invoices

Caliper Plastic Cover (without chip)

Marka / Brand KNORR
31 41 OEM NO -
Model SN6..., SN7..., SL7..., SM7..., SK6..., SK7...
NO CODE DESCRIPTION DIMENSION PIECE
1 1556 Plastic Cover - 1
8 2 1954 Plastic Shaft 1
3 1573 Tapa 1

KNORR 3747

Caliper Plastic Cover ( 2 Cables)

ALCAN NO Marka / Brand KNORR
OEM NO -
31 42 Model SN6..., SN7..., SL7..., SM7..., SK6..., SK7...
\\[o} CODE DESCRIPTION DIMENSION PIECE
1 1557 Caliper Plastic Cover ( 2 Cables) - 1
2 1954 Plastic Shaft - 1
(2]
Caliper Plastic Cover ( 3 Cables)
ALCAN NO Marka / Brand KNORR
31 43 OEM NO -
Model SN6..., SN7..., SL7..., SM7..., SK6..., SK7...
NO CODE DESCRIPTION DIMENSION PIECE
® 1 1558 Plastic Cover ( 3 Cables ) - 1
Plastic Shaft - 1

2 1954

KNORR 3143

www.alcanotomotiv.com

130



All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Plastic Cover Adaptor

ALCAN NO Marka / Brand KNORR
OEM NO -
31 67 SB6..., SBY..., SN6..., SN7..., SL7..., SM7..., SK6...,
Model
SK7...
[0} CODE DESCRIPTION DIMENSION PIECE
1 1461 Plastic Cover Adaptor - 5

Plastic Shaft

ALCAN NO Marka / Brand KNORR
OEM NO -
31 85 Model SN6..., SN7..., SL7..., SM7..., SK6..., SK7...
\\[o} CODE DESCRIPTION DIMENSION PIECE
1 1295 Plastic Shaft - 5

Knorr

Sensor Cover Plug ‘ ' ‘

ALCAN NO Marka / Brand KNORR
OEM NO -
31 69 SB6..., SB7..., SN6..., SN7..., SL7..., SM7..., SKG6...,
Model
SK7...
NO CODE DESCRIPTION DIMENSION PIECE
1 1583 Sensor Cover Plug - 5 o
KNORR 3168
Plastic Shaft -
h '.l "
ALCAN NO Marka / Brand KNORR '
31 71 OEM NO -
Model SKB6..., SK7..., ADB22X
NO CODE DESCRIPTION DIMENSION PIECE A )
1 1585 Plastic Shaft - 5

www.alcanotomotiv.com 131




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

fronm Plastic Shaft
ALCAN NO Marka / Brand KNORR
OEM NO -
31 70 Model SB5, SN5, SB6/SB7, SB7 Radial, SN6/SN7/SK7,
ADB22X
NO CODE DESCRIPTION DIMENSION PIECE
1 1952 Plastic Shaft - 5
L]
Plastic Shaft
S - FL e SO - XYMl WMarka / Brand KNORR
32 0 5 OEM NO -
Model SK6..., SK7...
- : | = = NO CODE DESCRIPTION DIMENSION PIECE
g -‘ = yr ‘i -
1 1172 Plastic Shaft - 5
®
KNORR 3208

110Ul

Caliper Calibration Shaft Chain (12 link)

ALCAN NO Marka / Brand KNORR
31 1 4 OEM NO -
Model SBS...

\[o} CODE DESCRIPTION DIMENSION PIECE
1 3114 Chain 12 link 1

WNORR 3114

Caliper Calibration Shaft Chain (14 link)

ALCAN NO Marka / Brand KNORR
OEM NO -
31 1 5 Model SN5

\[e] CODE DESCRIPTION DIMENSION PIECE
1 3115 Chain 14 link 1

WNORR 3115

132 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Plastic Cover Screw Set
&S a &S

ALCAN NO Marka / Brand KNORR
OEM NO -
31 23 SB6..., SB7..., SN6..., SN7..., SL7..., SM7..., SK6...,
Model

SK7..., SB5..., SN5...

NO CODE DESCRIPTION DIMENSION PIECE %
1 1257 Screw - 6 & 4

KMORR 3123

Plastic Shaft
ALCAN NO Marka / Brand KNORR
3 1 7 6 OEM NO 5
Model SB5, SN5, SB6/SB7, SB7 Radial, SN6/SN7/SK7
NO CODE DESCRIPTION DIMENSION PIECE
1 1592 Plastic Shaft - 5

KNORR 3178

Knorr

Caliper Calibration Shaft Chain (29 link)

ALCAN NO Marka / Brand KNORR
OEM NO CKSK.11
3045 Model SB6..., SB7..., SN6..., SN7..., SK7..., ADB22X
NO CODE DESCRIPTION DIMENSION PIECE
1 3045 Chain 29 link 1

WNORA 3045

Brake Pad Retainer Repair Kit

ALCAN NO Marka / Brand KNORR
OEM NO 1119712004, K000129, 0980102760, 3434380700,
3050 1617343, 6274200186, 0004202482
Model SB7..., SN7...

NO CODE DESCRIPTION DIMENSION PIECE

1 1851 Pad Retainer - 1

2 1852 Anti Rotation Pin - 1 /

3 1935 Holder pin - 1 (5] (]

2 1934 Washer s 1

KMORR 3080

www.alcanotomotiv.com 133




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

> Brake Pad Retainer Repair Kit
ALCAN NO Marka / Brand KNORR
OEM NO A0004202482, K000133, ADB22X, CKSK.2.5.1
3093 Model SB6..., SN5..., SN6..., SK7..., ADB22X
\\[o] CODE DESCRIPTION DIMENSION PIECE
1 1880 Pad Retainer - 1
) 2 1852 Anti Rotation Pin - 1
3 1935 Holder pin - 1
4 1934 Washer - 1

KMORR 3093

Brake Pad Retainer Repair Kit

Marka / Brand KNORR
321 0 OEM NO K000884
Model SB6/SB7, SN6/SN7/SK7
\[o) CODE DESCRIPTION DIMENSION PIECE

1 1851 Pad Retainer - 1
2 1852 Anti Rotation Pin - 1
3 1935 Holder pin - 1
4 1934 Washer - 1
5 1762 Plastic Holder - 1
KNORR 3210 6 1763 Metal Holder - 1

Brake Pad Retainer Repair Kit

Marka / Brand KNORR
31 98 OEM NO K012912
Model SL7...,, SM7.., ST7...
\[o) CODE DESCRIPTION DIMENSION PIECE

1 1880 Pad Retainer - 1

2 1852 Anti Rotation Pin - 1

3 1935 Holder pin - 1

4 1934 Washer - 1

5 1223 Adjusting Nut - 1

6 1518 Plastic Cover 38mm 1

7 1119 Pin @36/114 mm 1

8 1215 Screw M16 x 1.5/87 mm 1

KNORR 4788 9 1422 Pin Boot Ring - 1

10 1120 Pin @ 32/80 mm 1

11 1217 Screw M16 x 1.5/80 mm 1

12 1509 Pin Cap Q 40/14 mm 1

134 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Adjusting Mechanism Cap Set (38mm)
Marka / Brand KNORR

(1]
OEM NO K000029, 0004234687, 1459407, 81508226021, ‘ ‘ ‘ ‘ ‘
3051 81508226004, 81508226024, ADB22X
Model SN6/SN7/SK7
NO CODE DESCRIPTION DIMENSION  PIECE
1 1518 Plastic Cover 38mm 10

2 1223 Adjusting Nut - 10 % & & % & %

KMORR 3081

Adjusting Mechanism Cap Set (38mm) o‘ ‘ ‘ ‘ ‘ "
Marka / Brand KNORR
OEM NO K000945, 81.50822.6024, 1439493
3052 Model * S;:,SBG/SB: e ‘ ‘ ‘ ‘ ‘

NO CODE DESCRIPTION DIMENSION PIECE

1 1518 Plastic Cover 38mm . .........
2 1519 Cover -

3 1223 Adjusting Nut - 10

&%&ﬁ% @%i

KMNORR 3052

V000®

-
-
o
c

XX

Adjusting Mechanism Cap Set (35mm)

ALCAN NO Marka / Brand KNORR
OEM NO K003902, 09.801.06.25.0, ADB22X
3053 Model SN5..., SNG..., SN7..., SK7...
NO CODE DESCRIPTION DIMENSION PIECE
1 1520 Plastic Cover 35mm 10

2 1223 Adjusting Nut - 10 &

%@%&ﬁ%%

KMORR 3083

Adjusting Mechanism Adapter Set

ALCAN NO Marka / Brand KNORR
OEM NO 2001548, CKSK.2.8, ADB22X
3054 Model SB5, SN5, SB6/SB7, SB7 Radial, SN6/SN7/SK7
NO CODE DESCRIPTION DIMENSION PIECE
1 1223 Adjusting Nut - 10

KMORR 3084

www.alcanotomotiv.com 135




A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison
A purposes only, and may not be used in invoices

OTOMOTIV

Lever Bearing

ALCAN NO Marka / Brand KNORR
OEM NO CKSK.15
3057 Model SB6/SB7, SN6/SN7/SK7

\\[0] CODE DESCRIPTION DIMENSION PIECE
1 3057 Roller Bearing - 1

KNORR 3087

Caliper Lever Support
- Marka / Brand KNORR

OEM NO
3071 Model SB5..., SN5...
\\[o] CODE DESCRIPTION DIMENSION PIECE
1 1789 Lever Support - 5

KMORR 3071

110Ul

Caliper Cover

ALCAN NO Marka / Brand KNORR
OEM NO K017549M2-M17510
31 81 Model SL7/SM7/ST
\'[0] CODE DESCRIPTION DIMENSION PIECE
1 3181 Caliper Cover - 1
®

Caliper Cover

ALCAN NO Marka / Brand KNORR
3068 OEM NO CKSK.22, ADB22X
Model SN6/SN7/SK7

CODE DESCRIPTION DIMENSION PIECE

1 1878 Caliper Cover - 1
2 1234 Screw M8 x 16 mm 8

VYUV YNY Y,

KNORR 3068

www.alcanotomotiv.com

136




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Cover

ALCAN NO Marka / Brand KNORR
3069 OEM NO -
Model SN6/SN7/SK7
CODE DESCRIPTION DIMENSION PIECE

1 1879 Plastic Cover

_ 1
2 1235 Screw M8 x 50 mm 2 (e | ‘ ‘ ‘
1 1234 Screw M8 x 16 mm 6 \;\‘v ‘ ~ ‘ ‘

KNORA 3068

Caliper Cover

Marka / Brand KNORR
3070 OEM NO -
Model SNS...
NO CODE DESCRIPTION DIMENSION PIECE
1 1881 Caliper Cover - 1
2 1234 Screw M8 x 16 mm 6

SAA AL LD

KMORR 3070

™

KNORA 3058

Knorr

Brake Caliper Lever - Straight - (Angle 0°)
Marka / Brand KNORR

OEM NO 2002881, ADB22X

3058 Model SN6/SN7/SK7
NO CODE DESCRIPTION DIMENSION PIECE

1 3058 Brake Caliper Lever - Straight - (Angle 0°) 1

Brake Caliper Lever (Angle 12°)

ALCAN NO Marka / Brand KNORR
OEM NO 2002965, CKSK.18.3
3059 Model SN6/SN7/SK7
NO CODE DESCRIPTION DIMENSION PIECE
1 3059 Brake Caliper Lever (Angle 12°) 1

KNORA 3068

www.alcanotomotiv.com 137




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Brake Caliper Lever (Angle 12°)

ALCAN NO Marka / Brand KNORR
OEM NO 5
31 99 Model SN6/SN7/SK7
\\[0] CODE DESCRIPTION DIMENSION PIECE
1 3199 Brake Caliper Lever (Angle 12°) 1

KNORR 3198

Brake Caliper Lever - Straight - (Angle 0°)

ALCAN NO Marka / Brand KNORR
OEM NO CKSK.18.1
3060 Model SB6/SB7
\[e] CODE DESCRIPTION DIMENSION PIECE
1 3060 Brake Caliper Lever - Straight - (Angle 0°) 1

KNORR 3060

110Ul

Brake Caliper Lever (Angle 12°)

ALCAN NO Marka / Brand KNORR
OEM NO -
3061 Model SB6/SB7
\'[0] CODE DESCRIPTION DIMENSION PIECE
1 3061 Brake Caliper Lever (Angle 12°) 1

ENORR 3061

Brake Caliper Lever

ALCAN NO Marka / Brand KNORR
3062 OEM NO 2033222
Model SN6/SN7/SK7
\\[0] CODE DESCRIPTION DIMENSION PIECE
1 3062 Brake Caliper Lever - 1

WNORA 3062

138 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Brake Caliper Lever - Straight - (Angle 0°)

AN \N\OB Marka / Brand KNORR
3063 OEM NO -
Model SB6/SB7
NO CODE DESCRIPTION DIMENSION PIECE
1 3063 Brake Caliper Lever - Straight - (Angle 0°) 1

KNORA 3063

Brake Caliper Lever (Angle 12°)

NCWINON Marka / Brand KNORR
3064 OEM NO CKSK.18.2
Model SN6/SN7/SK7
NO CODE DESCRIPTION DIMENSION PIECE
1 3064 Brake Caliper Lever (Angle 12°) 1

KNORA 3064

Knorr

Brake Caliper Lever

ALCAN NO Marka / Brand KNORR
OEM NO 2002881
3066 Model SB6/SB7, SN6/SN7/SK7, ADB22X
NO CODE DESCRIPTION DIMENSION PIECE
1 3066 Caliper Lever - 1

KNORA 3065

Brake Caliper Lever

ALCAN NO Marka / Brand KNORR
OEM NO 5
31 24 Model SL7/SM7/ST
NO CODE DESCRIPTION DIMENSION PIECE
1 3124 Caliper Lever - 1

KNORR 3124

www.alcanotomotiv.com 139




purposes only, and may not be used in invoices

A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

OTOMOTIV

Brake Caliper Lever

ALCAN NO Marka / Brand KNORR
OEM NO -
3067 Model SN5...

\\[o} CODE DESCRIPTION DIMENSION PIECE
1 3067 Calliper Lever - 1

KNORR 3067

Caliper Lever

ALCAN NO Marka / Brand KNORR
OEM NO K100259, K000250, 1480809, 1480810
3085 Model SB6..., SB7...
\\[o] CODE DESCRIPTION DIMENSION PIECE
1 3085 Calliper Lever - 1

KNORR 3085

110Ul

Brake Caliper Lever

ALCAN NO Marka / Brand KNORR
OEM NO -

3095 Model SBS...

CODE DESCRIPTION DIMENSION PIECE
1 3095 Caliper Lever - 1
1]
KNORR 3005
Plug Set

ALCAN NO Marka / Brand KNORR

OEM NO CKSK.3.4

3065 Model SN5, SN6/SN7/SK7
\\[o} CODE DESCRIPTION DIMENSION PIECE
1 1795 Plug - 5

KNORR 3065

140 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Actuator Seal - 42mm

ALCAN NO Marka / Brand KNORR
3081 OEM NO ADB22X
Model -
NO CODE DESCRIPTION DIMENSION PIECE
1 3081 Caliper Seal 42mm 1

KNORR 3087

Actuator Seal - 45mm

ALCAN NO Marka / Brand KNORR
3082 OEM NO -
Model -
NO CODE DESCRIPTION DIMENSION PIECE
1 3082 Caliper Seal 45mm 1
-
L]
KNORR 3082 o
<
Caliper body Seal
ALCAN NO Marka / Brand KNORR
OEM NO -
31 91 Model SB6/SB7
NO CODE DESCRIPTION DIMENSION PIECE
1 3191 Caliper body Seal - 1
1]

WNORR 3187

Rubber Cap Kit

ALCAN NO Marka / Brand KNORR
OEM NO ADB22X
321 7 Model SB5, SB6/SB7, SN6/SN7/SK7, SL7/SM7/ST
\\[o] CODE DESCRIPTION DIMENSION PIECE
1 1776 Rubber Cap - 10

KMORR 3217

www.alcanotomotiv.com 141




A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
AN\ oToMoTIv

Rubber Cap Kit
Marka / Brand KNORR

OEM NO ADB22X
321 6 Model SB5, SB6/SB7, SN6/SN7/SK7, SL7/SM7/ST

\\[0] CODE DESCRIPTION DIMENSION PIECE
1 1775 Rubber Cap - 10

KMORR 3216

Caliper Repair Kit

) o Marka / Brand KNORR
3 1 74 OEM NO 93161189, 3700 - ?300, 381.391
Model Bendix
NO CODE DESCRIPTION DIMENSION PIECE
1 1473 Bush @50 x @45 x 40 mm 2
2 1152 Pin ©23,5 x 92 mm 1
\e 3 1474 Bush @55 x @38 x 24 mm 1
4 1371 Screw M16 x 1,5/125 mm 1
@ 5 1153 Pin @45 x 150 mm 1
6 1372 Screw M22 x 1,5/175 mm 1

KMORR 3174

A
-
o
q
1

Pin Cap Set

A Marka / Brand KNORR
\ h ' 3223 OEM NO ADB22X
Model -
v NO CODE DESCRIPTION DIMENSION PIECE
1 1509 Pin Cap @40 /11 mm 1
° o 2 1517 Pin Cap @40 /24,5 mm 1

WMORR 3223

Ring of Mechanism
Marka / Brand KNORR
J OEM NO -
o 3025'6 Model SB5, SB6/SB7 , SN6/SN7/SK7
o

CODE DESCRIPTION DIMENSION PIECE
1 3025-6 Ring of Mechanism - 1

KNORR 30258

142 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

o #54 mm
Caliper Tappet Repair Kit (69mm)
ALCAN NO Marka / Brand KNORR
OEM NO K046523K50, 0004230316

3222 Model SL7/SM7/ST
NO CODE DESCRIPTION DIMENSION PIECE

1 1876 Thrust Part With Bellow 69mm 2

2 1432 Round Bush @15x 17 /8 mm 2

WNORR 3222

Caliper Repair Kit
Marka / Brand KNORR

OEM NO -

3224 Model SL7/SM7/ST \‘\ \.ﬁ\
NO  CODE DESCRIPTION DIMENSION  PIECE 9
1 3009 Caliper Repair Kit - 1 ) . . ‘

2 3038 Caliper Shaft Housing - 1

3 3135 Caliper Adjusting Mechanism - 1 ) w w‘&

4 3025 Caliper Adjusting Mechanism - Hexagonal Head - 1 :

5 3045 Caliper Calibration Shaft Chain - 29 link . 1 v ,%
. WO.0 v

6 3069 Caliper Cover - 1 ‘ %

7 3076 Caliper Tappet Repair Kit (69mm) - 1 \;\@ o o °

8 3075 Calibration Bolt - 2
9 3121 Caliper Roller Bearings - 1

w3224

Knorr

Mechanism Repair Kit

Marka / Brand KNORR
3225 OEM NO -
Model SN6/SN7/SK7 , NA7 , ST7
NO CODE DESCRIPTION DIMENSION PIECE
1 3025 Caliper Adjusting Mechanism - Hexagonal Head - 1
2 3027 Caliper Adjusting Mechanism - Plastic body - 1
3 3045 Caliper Calibration Shaft Chain - 29 link - 1

KNORR 3225
Caliper Repair Kit
ALCAN NO Marka / Brand KNORR
OEM NO -

3226 Model SB5, SN5 , SB6/SB7 , SN6/SN7/SK7 —
\[o} CODE DESCRIPTION DIMENSION PIECE

1 1317 Pin Boot - 1 [ 1]

2 1422 Pin Boot Ring - 1

3 1120 Pin @ 32/80 mm 1

4 1217 Screw M16 x 1.5 /80 mm 1

5 1517 Pin Cap @40/24.5mm 1

KMORR 3228

www.alcanotomotiv.com 143




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

° Repair Kit
ALCAN NO Marka / Brand KNORR
3227 OEM NO -
Model -
/ﬁ-'..‘\_ Q NO CODE DESCRIPTION DIMENSION PIECE
1 1317 Pin Boot - 1
o 2 1422 Pin Boot Ring - 1
3 1509 Pin Cap @40/ 11 1

WNORA 3227

Caliper Repair Kit

Marka / Brand KNORR
K000472, 1477676, 09.801.06.33.0, 1639100,
322 8 OEM NO K017707, 81.50822.6019, K002716, 000 420 3482,
K001470, CKSK.3.2
Model SN6/SN7/SK7
NO  CODE DESCRIPTION DIMENSION [J]d
x 1 1119 Pin @36/114 mm 1
- | 2 1215 Screw M16 x 1.5 /87 mm 1
(@) 3 1145 Pin ©32/88 mm 1
: 4 1217 Screw M16 x 1.5 /80 mm 1
5 1421 Bush @36 x40 /82 mm 1
6 1509 Pin Cap @ 40 /11 mm 1
7 1317 Pin Boot - 1
e 8 1923 Pin Rubber Bush @ 39 mm 1
9 1422 Pin Boot Ring - 1
10 1508 Ring - 1
Caliper Adjusting Shaft
Marka / Brand KNORR
OEM NO B}
ke 3229 Model SN5
. @
(] 1 1628 Pignon Shaft - 1
2 1850 Adjusting Gear -

KMORR 3220

144 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Pin Repair Kit

Marka / Brand KNORR
3232 OEM NO ;
Model SN6/SN7/SK7 , NA7 , ST7
\\[o] CODE DESCRIPTION DIMENSION PIECE
11120 Pin ©32/80 mm 1
2 1508 Ring 5 1

3 1923 Pin Rubber Bush @39 mm 1 o‘ = - ’

KMORA 3232

Pin Cap Set

ALCAN NO Marka / Brand KNORR y '
3233 OEM NO ADB22X '
Model -

NO CODE DESCRIPTION DIMENSION PIECE

1 1517 Pin Cap @40/ 24.5 mm 5 ' l l r
o

Knorr

KNORA 3233

Caliper Lever

ALCAN NO Marka / Brand KNORR
323 4 OEM NO -
Model NA7, ST7, SN6/SN7/SK7
NO CODE DESCRIPTION DIMENSION PIECE
1 3234 Caliper Lever - 1

www.alcanotomotiv.com 145




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Calibration Bolt Removal Tool

ALCAN NO Marka / Brand KNORR
OEM NO -
3300 Model -
\\[o) CODE DESCRIPTION DIMENSION PIECE
1 3300 Calibration Bolt Removal Tool - 1

KMORA 3300

Caliper Pin Repair Kit

Marka / Brand KNORR
3301 OEM NO -
Model SB6/SB7
\[e] CODE DESCRIPTION DIMENSION PIECE
1 1116 Pin @36 /145 mm 1
2 117 Pin @ 34 /80 mm 1
3 1214 Screw M16 x 1.5/ 150 mm 1
4 1215 Screw M16 x 1.5/87 mm 1
5 1316 Rubber Bush @ 34 x40/50 mm 1

KMORR 3300

~ Brake Pad Retainer Repair Kit

ALCAN NO Marka / Brand KNORR

OEM NO K002311

3302 Model SB6/SB7
CODE DESCRIPTION DIMENSION PIECE

A
=
o
=
q

1 1851 Pad Retainer - 2
2 1852 Anti Rotation Pin 2
3 1935 Holder pin 2
4 1934 Washer - 2
5 1762 Plastic Holder 2
KNORR 3802 o 6 1763 Metal Holder 2

Caliper Guides & Cap Repair Kit

Marka / Brand KNORR
3303 OEM NO K00380f)
N Model SB7 Radial
(2] e __ ©o
“ \[o} CODE DESCRIPTION DIMENSION PIECE

e pe—— ‘ 1 3050 Brake Pad Retainer Repair Kit - 1
2 1509 Pin Cap @40 / 14mm 1
| e p- 3 1508 Ring - 1
\ \ 4 1518 Plastic Cover 38 mm 1
5 1223 Adjusting Nut - 1
\‘ (2] (o] @ °© 1215 Screw M16x1.5/87mm 1
. > p— 7 1217 Screw M16 x 1.5/80 mm 1
| w W — 8 1119 Pin @36/114 mm 1
. bl 9 1120 Pin @32/80 mm 1
10 1422 Pin Boot Ring - 1

146 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices O T O M O T I v
Caliper Boots and Pistons Repair Kit

Marka / Brand KNORR
3304 OEM NO o @ o
Model SN6/SN7/SK7 ‘ .

\[o) CODE DESCRIPTION DIMENSION PIECE o

1 1839 Thrust Part With Bellow 69 mm 2

2 1427 Round Bush @16 x18/10 mm 2 )

3 1422 Pin Boot Ring - 1

4 1317 Pin Boot - 1 [ 4]

5 1315 Bellow Cap - 1

6 1316 Rubber Bush @ 34 x 40 /50 mm 1

7 1922 Bellow Cap Clamp - 1 KHaaR; 904

Brake Pad Cable Protection Kit
Marka / Brand KNORR

OEM NO -

3305 Model SB6/SB7

NO CODE DESCRIPTION DIMENSION PIECE
1 1762 Plastic Holder - 1
2 1763 Metal Holder - 1
@ &
KNORR 3305
. } -
Caliper Complete Mechanism Repair Kit )
ALCAN NO Marka / Brand KNORR =
OEM NO - 0 X
3306 Model SN6/SN7/SK7 w w
NO  CODE DESCRIPTION DIMENSION  PIECE 5%‘%
1 3040 Calibration Bolt - 2 ¢
2 3058 Caliper Lever - Straight - 1 i e 0
3 3027 Caliper Adjusting Mechanism - Plastic body - 1 * & ° °
4 3025  Caliper Adjusting Mechanism - Hexagonal Head - 1 v ol PX
5 3041 Caliper Roller Bearings - 1 %
6 3029 Caliper Tappet Repair Kit 69mm 1 o
7 3045 Caliper Calibration Shaft Chain - 29 link - 1 o

Caliper Complete Mechanism Repair Kit

Marka / Brand KNORR
OEM NO -

3307 Model SN6/SN7/SK7
[0} CODE DESCRIPTION DIMENSION PIECE

1 3040 Calibration Bolt - 2

2 3029 Caliper Tappet Repair Kit 69mm 1

3 3041 Caliper Roller Bearings - 1

4 3045 Caliper Calibration Shaft Chain - 29 link -

5 3038 Caliper Shaft Housing - 1 (U

6 3062 Brake Caliper Lever - 1 0 ° ‘% ‘% I ~$
7 3025 Caliper Adjusting l\ll_lieetzlianlsm - Hexagonal } 1 ° om. S e
8 3027 Caliper Adjusting Mechanism - Plastic body - 1

www.alcanotomotiv.com 147




A\\ A L.CAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Repair Kit

N o 0 Marka / Brand KNORR
OEM NO -

3308 Model Knorr Set
\[o) CODE DESCRIPTION DIMENSION PIECE
1 3040 Callibration Bolt - 2
2 3037 Caliper Shaft Housing - 1
3 3027 Caliper Adjusting Mechanism - Plastic body - 1
4 3025 Caliper Adjusting Mechanism - Hexagonal Head - 1
5 3029 Caliper Tappet Repair Kit 69mm 1
6 3045 Caliper Calibration Shaft Chain - 29 link - 1
7 3042 Caliper Roller Bearings - 1

Knorr Set MAN TGA (New Model)

Marka / Brand KNORR
o 3309 OI\II-:I:.\)’Id:‘:I0 Knorr Set

\[o) CODE DESCRIPTION DIMENSION PIECE

1 3009 Caliper Repair Kit - 1

2 3039 Caliper Shaft Housing - 1

3 3027 Caliper Caliper Adjusting Mechanism - Plastic body - 1

4 3025 Caliper Adjusting Mechanism - Hexagonal Head - 1

5 3045 Caliper Calibration Shaft Chain - 29 link - 1

6 3040 Calibration Bolt - 2

7 3042 Caliper Roller Bearings - 1

KNORR 2300 - ' 8 3031 Caliper Tappet Repair Kit (74mm) - 1

Knorr Set Mercedes Axor (Old Model)

Marka / Brand KNORR
@ 33 1 0 OI\II:-Ird':IO Knorr Set

\[o) CODE DESCRIPTION DIMENSION PIECE

1 3009 Caliper Repair Kit - 1

2 3039 Caliper Shaft Housing - 1

3 3027 Calliper Caliper Adjusting Mechanism - Plastic body - 1

4 3025 Caliper Adjusting Mechanism - Hexagonal Head - 1

5 3045 Caliper Calibration Shaft Chain - 29 link - 1

] 6 3040 Calibration Bolt - 2

e 7 3041 Caliper Roller Bearings - 1

KNORR 5310 = ° 8 3031 Caliper Tappet Repair Kit (74mm) - 1

148 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices O T O M O T I v
Knorr Set Mercedes Axor (Old Model)

ALCAN NO Marka / Brand KNORR

OEM NO =

331 1 Model Knorr Set

oSN ®
1 3008 Caliper Repair Kit ) e e
2 3038 Caliper Shaft Housing - 1 soQ@e
3 3027 Caliper Adjusting Mechanism - Plastic body - 1 \ o
4 3025 Caliper Adjusting Mechanism - Hexagonal Head - 1 Y e \ R
5 3045 Caliper Calibration Shaft Chain - 29 link - 1 "

6 3068 Caliper Cover - 1
7 3040 Calibration Bolt - 2
8 3042 Caliper Roller Bearings - 1

bbb bbb b

9 3029 Caliper Tappet Repair Kit 69 mm 1

Repair Kit

Marka / Brand KNORR
OEM NO -
331 2 Model ST7, Knorr Set o \“\ -
\[o} CODE DESCRIPTION DIMENSION  PIECE c t'\" ﬂ '
1 3179 Caliper Repair Kit - 1 | =Iol-N | LS
2 3038 Caliper Shaft Housing - 1 N""‘" ;
3 3136 Adjusting Mechanism - 1 (5} .
4 3025 Caliper Adjusting Mechanism - Hexagonal Head - 1 - 7
5 3045 Caliper Calibration Shaft Chain - 29 link - 1 <] e -
6 3068 Caliper Cover - 1 : -
7 3040 Calibration Bolt - 2  wwwwwSNy - o% | ° ° e
8 3042 Caliper Roller Bearings - 1 KRR 2312
9 3029 Caliper Tappet Repair Kit 69 mm 1

Repair Kit

ALCAN NO Marka / Brand KNORR
OEM NO K017549M2 a
3313 Model SL7/SM7/ST, Knorr Set \ \
SO ©
NO CODE DESCRIPTION DIMENSION PIECE ~
e W
1 3009 Caliper Repair Kit - 1 — N /
.'f"\_'; o
2 3038 Caliper Shaft Housing - 1 e P [ -]
3 3136 Adjusting Mechanism - 1 L . *"""‘”
4 3025  Caliper Adjusting Mechanism - Hexagonal Head - 1 P = e S
5 3045 Caliper Calibration Shaft Chain - 29 link - 1 ° o O y ’% w

6 3184 Caliper Tappet Repair Kit - 1 ° ° '® ” %
° ) e ¥ °

7 3121 Caliper Roller Bearings - 1 . -
8 3180 Calibration Bolt - 2
9 3181 Caliper Cover - 1

www.alcanotomotiv.com 149




A\\ A L.CAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

O T O M O T I V purposes only, and may not be used in invoices
Knorr Set Scania

Marka / Brand KNORR
OEM NO -
0 O S ° ] = ] 331 4 Model Knorr Set
]
t‘ %\\ NO CODE DESCRIPTION DIMENSION PIECE

. ®0e . 1 3092 Caliper Repair Kit - 1
s 2 3199 Brake Caliper Lever (Angle 12°) - 1
‘\3‘ 3 3038 Caliper Shaft Housing - 1
| 4 3136 Adjusting Mechanism - 1
- 5 3116  Caliper Adjusting Mechanism - (Original Head) - 1
w \y e 6 3068 Caliper Cover o 1
w e 7 3045 Caliper Calibration Shaft Chain - 29 link - 1
L A A AL A A Q 3040 Callibration Bolt - 2

KNORR 3314

9 3041 Caliper Roller Bearings - 1
10 3029 Caliper Tappet Repair Kit - 1

Knorr Set - Schmitz

Marka / Brand KNORR
OEM NO -

331 5 Model Knorr Set
NO CODE DESCRIPTION DIMENSION PIECE
1 3004 Caliper Repair Kit - 1
2 3066 Caliper Lever - 1
3 3038 Caliper Shaft Housing - 1
4 3135 Caliper Adjusting Mechanism - 1
5 3045 Caliper Calibration Shaft Chain - 29 link - 1
6 3116  Caliper Adjusting Mechanism - (Original Head) - 1
7 3069 Caliper Cover - 1
8 3040 Calibration Bolt - 2
9 3041 Caliper Roller Bearings - 1
10 3029 Caliper Tappet Repair Kit - 1
1 3219 Metal Cover (without chip) - 1

Caliper Repair Kit

Marka / Brand KNORR
OEM NO 5
3316 e :
\'[o} CODE DESCRIPTION DIMENSION PIECE
1 1120 Pin ©32/80 mm 1
2 1217 Screw M16 x 1.5/80 mm 1
3 1925 Pin Rubber Bush @39 mm 1
4 1509 Pin Cap @ 14mm 1

KNORR 3318

150 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison
purposes only, and may not be used in invoices

Caliper Repair Kit

ALCAN NO Marka / Brand KNORR
OEM NO -
331 7 Model -
\\[o} CODE DESCRIPTION DIMENSION PIECE W
1 1119 Pin @36/114 mm 1 &
2 1215 Screw M16 x 1.5 /87 mm 1
3 1121 Pin @ 36 /64 mm 1
4 1218 Screw M16 x 1.5/70 mm 1
5 1421 Bush @ 36 x 40 / 82 mm 1
6 1422 Pin Boot Ring - 2
7 1509 Pin Cap @ 14mm 1
8 1317 Pin Boot - 2
9 1517 Pin Cap @ 40/24.5 mm 1
10 1790 Pin Bush - 1
Caliper Tappet Repair Kit
ALCAN NO Marka / Brand KNORR g
OEM NO - e
331 8 Model SN5
\\[o} CODE DESCRIPTION DIMENSION PIECE
) 2]
1 1841 Thrust Part With Bellow 69mm 1
2 1427 Round Bush @16x18/10 mm 1
KENORR 3318
Caliper Repair Kit \\ﬁ\ w \
ALCAN NO Marka / Brand KNORR
OEM NO 803114 e
3319 Model Bendix Q e \
\[o} CODE DESCRIPTION DIMENSION PIECE
1 3317 Caliper Repair Kit - 1
2 1223 Adjusting Nut - 2 @ ‘i ’ . .
3 1518 Plastic Cover 38 mm 2
Pin
ALCAN NO Marka / Brand KNORR
OEM NO -
3320 Model SN6/SN7/SK7
\\[o] CODE DESCRIPTION DIMENSION PIECE
1 3320 Pin @ 36/70 mm 1

www.alcanotomotiv.com

A\ Pareny

Knorr

151




purposes only, and may not be used in invoices

A\ Parierdy

Screw
ALCAN NO Marka / Brand
OEM NO
3321 Model
CODE DESCRIPTION
1 3321 Screw
Pin Cap
ALCAN NO Marka / Brand
OEM NO
3322 Model
\\[o} CODE DESCRIPTION
1 3322 Pin Cap

Caliper Repair Kit
Marka / Brand

OEM NO

3323 o
NO CODE DESCRIPTION
1 1119 Pin

2 1215 Screw

3 3320 Pin

4 3321 Screw

5 1421 Bush

6 1422 Pin Boot Ring
7 1509 Pin Cap

8 1317 Pin Boot

9 3322 Pin Cap
10 1790 Pin Bush

Caliper Repair Kit
Marka / Brand

3324 OEM NO
Model
Q NO  CODE DESCRIPTION
v 1 1560 Pad Holder
<] 2 1923 Pin Rubber Bush
3 1120 Pin
4 1217 Screw
' 5 1508 Ring

KNORR

SN6/SN7/SK7

DIMENSION

M16 x 1.5/75 mm

KNORR

SN6/SN7/SK7

DIMENSION
@40/31 mm

KNORR
K002872

SN6/SN7/SK7

DIMENSION
J36/114 mm
M16 x 1.5/87 mm
@36/70 mm
M16 x 1.5/75 mm
@ 36 x 40 / 82 mm

@ 14mm

@40/31 mm

KNORR
K000421

DIMENSION
@39 mm
@ 32/80 mm
M16 x 1.5/80 mm

All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

PIECE

1

PIECE

1

PIECE

1
1
1

PIECE

2
1
1
1
1

152 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Repair Kit

Marka / Brand KNORR
33 2 5 OEM NO CKSK:8.1
Model SB5, SN5, SB7 Radial, SN6/SN7/SK7
NO  CODE DESCRIPTION DIMENSION PIECE
1 1119 Pin ©36/114 mm 1
o 1120 Pin ©32/80 mm 1
3 1215 Screw M16 x 1.5/87 mm 1
4 1217 Screw M16 x 1.5 /80 mm 1
5 1508 Ring - 1
6 1923 Pin Rubber Bush @ 39 mm 1

WMORR 3325

Shaft Housing Repair Kit g
Marka / Brand KNORR
OEM NO -
3326 Model SN5
\\[o] (ee]»]3 DESCRIPTION DIMENSION PIECE
1 3070 Caliper Cover - 1 ~ ‘ ‘
2 3102 Caliper Shaft Housing - 1
3 1969 Dust Cover - 1 ‘ ‘ ‘

KNORR 3326

-
-
o
c
XX

Caliper Plastic Cover (3 Cables) (MAN)

ALCAN NO Marka / Brand KNORR
OEM NO -
3327 Model SB6/SB7, SN6/SN7/SK7, SL7/SM7/ST
NO CODE DESCRIPTION DIMENSION PIECE
1 3327  Caliper Plastic Cover (3 Cables) (MAN) - 1

Repair Kit - SET ( SN5)

Marka / Brand KNORR
OEM NO -

3328 Model SN5
NO CODE DESCRIPTION DIMENSION PIECE
1 3067 Caliper Lever - 1
2 3102 Caliper Shaft Housing - 1
3 3070 Caliper Cover - 1
4 3115  Caliper Calibration Shaft Chain (14 link) - 1
5 3078 Caliper Roller Bearings - 1
6 3026 Caliper Adjusting Mechanism - 2
7 3040 Callibration Bolt - 1
8 3130 Caliper Tappet Repair Kit (69mm) - 2
9 3229 Calliper Adjusting Shaft - 1

www.alcanotomotiv.com 153




A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

A O T O M O T I V purposes only, and may not be used in invoices
Caliper Repair Kit

Marka / Brand KNORR
OEM NO -
3329 o :
\[o} CODE DESCRIPTION DIMENSION PIECE

1 1317 Pin Boot - 1
2 1422 Pin Boot Ring - 1
3 1433 Pin Boot Ring - 1
4 1345 Pin Boot . 1
5 3087 Pin Rubber Bush @ 40 - 50mm 1
. 6 1526 Metal Cap 42,5mm x 37mm 1
o 7 1509 Pin Cap @ 14mm 1

Caliper Lever

ALCAN NO Marka / Brand KNORR
OEM NO -
3330 Model SN6/SN7/SK7

NO CODE DESCRIPTION DIMENSION PIECE
1 3330 Caliper Lever - 1

Adjusting Mechanism

Marka / Brand KNORR
OEM NO -
3331 Model :

\'[o} CODE DESCRIPTION DIMENSION PIECE
1 3331 Adjusting Mechanism - 1

Caliper Repair Kit

° Marka / Brand KNORR
\ (- 3332 OEM NO -
Model SN6/SN7/SK7
o \[e] CODE DESCRIPTION DIMENSION PIECE
1 1134 Pin @ 32/84 mm 1
2 1217 Screw M16 x 1.5/80 mm 1
(5 ) 3 1526 Metal Cap 42,5mm x 37mm 1
4 3087 Pin Rubber Bush @ 40 - 50mm 1
5 1433 Pin Boot Ring - 1
6 1345 Pin Boot - 1

KMORR 3332

154 www.alcanotomotiv.com




purposes only, and may not be used in invoices

All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

OTOMOTIV

Caliper Repair Kit

Marka / Brand KNORR
3333 OEM NO K028451
Model SN6/SN7/SK7

\'[o} CODE DESCRIPTION DIMENSION PIECE

1 1135 Pin @36/102 mm 1

2 1120 Pin ©32/80 mm 1

3 1215 Screw M16 x 1.5/87 mm 1

4 1217 Screw M16 x 1.5/80 mm 1

5 1455 Pin Bush @36 x40/75 mm 1

6 1422 Pin Boot Ring - 1

7 1925 Pin Rubber Bush @ 39 mm 1

8 1508 Ring - 1 -
9 1509 Pin Cap @ 14mm 1 S
10 1317 Pin Boot - 1

Caliper Repair Kit

Marka / Brand KNORR
OEM NO -
Model P\\\ﬁ\ W
NO  CODE DESCRIPTION DIMENSION  PIECE [ Q' ¥ @™ o £
1 3218 Caliper Repair Kit ; 1 ‘ &) : '
2 3191 Caliper body Seal - 1 s — ¥ ™
3 3085 Caliper Lever - 1
4 3040 Calibration Bolt - 2
5 3031 Caliper Tappet Repair Kit (74mm) - 1
6 3131  Caliper Adjusting Mechanism - (Original Head) - 1
7 3039 Caliper Shaft Housing - 1
8 3045 Caliper Calibration Shaft Chain - 29 link ° 1 e
9 3042 Caliper Roller Bearings - 1
10 3158 Adjusting Mechanism - 1
Caliper Repair Kit
Marka / Brand KNORR O e V = O
OEM NO - e Q i b %
3335 Model SN6/SN7/SK7 - SK7
O Q- %r <
NO CODE DESCRIPTION DIMENSION PIECE
1 3029 Caliper Tappet Repair Kit 69 mm 1
2 3042 Caliper Roller Bearings - 1 *., -...a"
3 3038 Caliper Shaft Housing - 1
4 3040 Callibration Bolt - 2
5 3027 Caliper Adjusting Mechanism - Plastic body - 1 N
6 3025 Caliper Adjusting Mechanism - Hexagonal Head - 1 e
7 3045 Caliper Calibration Shaft Chain - 29 link - 1 b

www.alcanotomotiv.com 155




A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison
A purposes only, and may not be used in invoices

OTOMOTIV

Caliper - Carrier Assembly (Right)

Marka / Brand KNORR
ST K028024, K021666, K009746, K009744, K003453,
CCKO1 K001908
Model SN6/SN7/SK7

NO CODE DESCRIPTION DIMENSION PIECE
- 1

1 CCKo1 Caliper - Carrier Assembly (Right)

KHORR  COKOT

Caliper - Carrier Assembly (Left)

Marka / Brand KNORR
S K001909, K003454, K009745, K009747, K021667,
CCKO02 K028025
Model SN6/SN7/SK7

\[e] CODE DESCRIPTION DIMENSION PIECE
1

1 CCKo02 Caliper - Carrier Assembly (Left) -

110Ul

Caliper - Carrier Assembly (Right)

ALCAN NO Marka / Brand KNORR
OEM NO K110226, K023796, K015086, K012341
Cc K03 Model SN6/SN7/SK7

\[¢] CODE DESCRIPTION DIMENSION PIECE

1 CCKO03 Caliper - Carrier Assembly (Right) - 1

KNORR  COKOZ

Caliper - Carrier Assembly (Left)

ALCAN NO Marka / Brand KNORR
OEM NO K012342, K015087, K023797, K110227
cc K04 Model SN6/SN7/SK7

\[o] CODE DESCRIPTION DIMENSION PIECE

1 CCKo04 Caliper - Carrier Assembly (Left) - 1

KMORR  CCKD4

www.alcanotomotiv.com

156




purposes only, and may not be used in invoices

All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

OTOMOTIV

Caliper - Carrier Assembly (Right)
Marka / Brand KNORR

K003400, K004674, KO11545, K011547, K013873,

cc Kos OEMNO K110228, K110306

Model SN6/SN7/SK7
\'[o] CODE DESCRIPTION DIMENSION PIECE
1 CCKO05 Caliper - Carrier Assembly (Right) - 1

Caliper - Carrier Assembly (Left)
Marka / Brand KNORR

K003401, K004675, K011546, K011548, K013874,

cc K06 OEMNO K110229, K110307

Model SN6/SN7/SK7
\'[o] CODE DESCRIPTION DIMENSION PIECE
1 CCKO06 Caliper - Carrier Assembly (Left) - 1

Caliper Kit (Left)

ALCAN NO Marka / Brand KNORR
K012634, K010278DC, K012634K50, K012634K62,
c c K07 OEM NO K012634K64, K050922N64, K115614K51,
K126632X50, K132663X50, K151740K50
Model SN6/SN7/SK7
NO CODE DESCRIPTION DIMENSION PIECE
1 CCKo07 Caliper Kit (Left) - 1

Caliper Kit (Right)

ALCAN NO Marka / Brand KNORR
K012633, K010277DC, K012633K50, K012633K62,
OEM NO K012633K64, K012633K69, K050921N64,
CCK08 K115613K51, K126631X50, K132662X50,
K151739K50
Model SN6/SN7/SK7
NO  CODE DESCRIPTION DIMENSION PIECE
1 CCKo8 Caliper Kit (Right) - 1

Grease Oil

ALCAN NO Marka / Brand KNORR ALCAN
OEM NO - MGI'ONOTW
G1 0 Model - CALIPER
GREASE
\\[o} CODE DESCRIPTION WEIGHT PIECE 4
1 G10 Grease Oil 1000gr 1

KMORA @10

www.alcanotomotiv.com 157







NS SEN

www.alcanotomotiv.com



A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Repair Kit - SET ( MAXX22T - Left)

0o ?= NS ~ |
L ] Marka / Brand Wabco
80 Ly ww d}l OEM NO -
\ o OO . | NN N, 41 08 Model PAN 17, PAN 19-1
| ' NN o KT T
4001 Caliper Repair Kit
% 2 4004 Caliper Roller Bearings - 1
%o 3 4027 Caliper Push Plate Slotted (Left) 1
: Co@ 4 4012 Caliper Adjusting Mechanism (Assembly) 115mm 1
5 4013 Caliper Lever - 1
WABCO 4108 ] ° 6 4037 Caliper Head Gasket Set - 1

Repair Kit - SET ( MAXX22T - Right )

OEM NO >
41 09 Model PAN 17 , PAN 19-1

i) S 'I" . : ALCAN NO Marka / Brand Wabco
e ‘

CODE DESCRIPTION DIMENSION PIECE
\\\\ P 1 4001 Caliper Repair Kit - 1
2 4004 Caliper Roller Bearings - 1
3 4028 Caliper Push Plate Slotted ( Right ) 1
% 4 4012 Caliper Adjusting Mechanism (Assembly) 115mm 1
& . (;?: 5 4013 Caliper Lever - 1
o 6 4037 Caliper Head Gasket Set - 1

Caliper Repair Kit

Marka / Brand Wabco
41 1 2 OEM NO -
Model Pan 17.5, Pan 19.5
NO | CODE DESCRIPTION DIMENSION PIECE
1 4004 Caliper Roller Bearings - 1
2 4013 Caliper Lever = 1
3 4011 Caliper Adjusting Mechanism 109mm Assembly 1

160 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

Repair Kit - SET ( Pan 17.5 - Right)

ALCAN NO Marka / Brand

4082
Lo e osarmon oussonrice |

4081 Caliper Repair Kit
2 4004 Caliper Roller Bearings 1
3 4024 Caliper Push Plate Slotted ( Right) 1
4 4011 Caliper Adjusting Mechanism (Assembly) 109mm 1
5 4013 Caliper Lever 1
6 4037 Caliper Head Gasket Set 1
Repair Kit - SET ( Pan 17.5 - Left)
Marka / Brand Wabco
4083 OEM NO 12-153 Man SET
Model Pan 17.5

Lo e osaron oo ic

4081
4004
4023
4011
4013
4037

Wabco
OEM NO 12-153 Man SET
Model Pan 17.5

Caliper Repair Kit
Caliper Roller Bearings
Caliper Push Plate Slotted
Caliper Adjusting Mechanism (Assembly)
Caliper Lever

Caliper Head Gasket Set

Caliper Repair Kit

ALCAN NO

4001

1

2

3

1127
1128
1217
1220
1322
1321
1428
1512
1513
1929
1515

Marka / Brand
OEM NO
Model

m CODE DESCRIPTION m PIECE
@38/76 mm

Pin
Screw
Screw

Caliper Pin Boot
Caliper Pin Boot
Pin Bush
Pin Cap
Pin Cap
Washer

Seal

12999776, SCB1068119, 1628065, 659742-2,
6597422, 6500700, 434382800, CWSK.6

purposes only, and may not be used in invoices

OTOMOTIV

Left 1
109mm 1

N

- 1

- 1 WABCD 4083

Wabco

Pan 19.5

@38/118 mm 1
M16 x 1.5/80 mm

- o

' 1 V
@38x42/30 mm 3
@42 /17 mm 1

@42 /28 mm 1 BCO 4001

www.alcanotomotiv.com 161




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Repair Kit
Marka / Brand Wabco
41 00 OEM NO -
Model Pan 19.5
&

1127 Pin ©38/76 mm
2 1128 Pin ©38/118 mm 1
3 1322 Caliper Pin Boot - 2
4 1321 Caliper Pin Boot - 1
5 1428 Pin Bush ©38x42/30 4
mm
6 1512 Pin Cap @42 /17 mm 1
7 1513 Pin Cap Q@ 42 /28 mm 1
8 1929 Washer - 2

Caliper Repair Kit

Marka / Brand Wabco
4076 OEM NO RVI 5021 170 488, CWSK.1, 12-999 678, 865966
Model Pan 22.5 (Double Piston)
NO | CODE DESCRIPTION DIMENSION PIECE
1 1150 Pin ©38/70 mm 1
2 1151 Pin @ 38/128 mm 1
3 1217 Screw M16 x 1.5/80 mm 1
4 1274 Screw M16 x 1.5/130 mm 1
5 1428 Pin Bush @38 x42/30 mm 3
6 1512 Pin Cap @42 /17 mm 1
7 1929 Washer - 2
8 1328 Caliper Pin Boot - 2
9 1365 Ring - 1
10 1364 Bellow Cap - 1
Caliper Repair Kit
Marka / Brand Wabco
401 6 OEM NO 12999738VT, 3434382700, 1505890, CWSK.4
Model Pan 19.5, Pan 22.5
Lo coessaron L oweson pice
1 1127 ©38/76 mm
2 1128 Pin @38/118 mm 1
3 1217 Screw M16 x 1.5/80 mm 1
4 1220 Screw M16 x 1.5/120 mm 1
5 1322 Caliper Pin Boot - 2
6 1321 Caliper Pin Boot - 1
7 1428 Pin Bush @ 38x42/30 mm 3
8 1512 Pin Cap @42 /17 mm 2
9 1513 Pin Cap Q@ 42 /28 mm 2
10 1929 Washer o 4
1 1328 Caliper Pin Boot - 2
12 1515 Seal - 1

162 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Repair Kit

Marka / Brand Wabco
41 03 OEM NO -
Model Pan 19.5, Pan 22.5

“No cobe ——psscuemon ——omenson et
1 1128 Pin ©38/118 mm 1
2 1127 Pin @38 /76 mm 1
3 1220 Screw M16 x 1.5/120 mm 1
4 1217 Screw M16 x 1.5/80 mm 1
5 1328 Caliper Pin Boot - 2
6 1428 Pin Bush @ 38 x 42 /30 mm 3
7 1512 Pin Cap @42 /17 mm 1
8 1513 Pin Cap @ 42 /28 mm 1
9 1321 Caliper Pin Boot - 1
10 1929 Washer - 2

Caliper Repair Kit

Marka / Brand Wabco
ALCAN NO OEM NO 12999729VT, 81508006023, 1515354, 11015566,
082139200, 81508046304

4002 Model 1000VG
(No_ CODE|  DESCRPTION | DIMENSION __ PIECE.
1 Pin 2

1124 @25/81 mm
2 1142 Pin @25/81 mm 2
3 1227 Screw M12x 1.5/90 mm 4
4 1927 Seal - 2
5 1943 Seal - 2
6 1514 Pin Cap - 4
7 1323 Caliper Pin Boot - 4
8 1429 Pin Bush @ 25x28/15 mm 8
9 1324 Caliper Pin Boot - 2
10 1221 Screw - 2
1 1708 Spring - 2
12 1928 Seal - 2
Caliper Repair Kit
Marka / Brand Wabco
4057 OEM NO 81508226003, 12999580VT
Model Pan 17.5
“No cobe osscuemon | omensio it |
1 1932 Head Gasket - 1 [ 2] (2] \\\\o
2 1515 Seal - 1 (] . . \\\\
3 1933 Head Seal - 1 .
4 1249 Screw M10 x 1 /40 mm 8 Q . °
5 1373 Screw M16 x 1.5 /90 mm 1 @ 9\ ..

6 1218 Screw M16 x 1.5 /70 mm 1 =

7 1321 Caliper Pin Boot - 1 y 3 P '
8 1325 Caliper Pin Boot - 2 % ! \ ‘ ; x@ @ Q
9 1516 Pin Cap @34/17 mm 2 Q

10 1430 Bush @ 30 x 34 /35 mm 1
1 1425 Bush @30 x 34 /25 mm 2

www.alcanotomotiv.com 163




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison
purposes only, and may not be used in invoices

A\ Parery

Caliper Repair Kit

Marka / Brand Wabco
_ 12999699, 12999702, 1436853, 42536957,
1436853, CWSK.2
4003 Model Pan 17.5

©
Lo o paon oo e

1126 @30/77 mm
2 1125 Pin ©@30/91 mm 1
3 1218 Screw M16 x 1.5/70 mm 1
4 1373 Screw M16 x 1.5 /90 mm 1
5 1516 Pin Cap @ 34/17 mm 2
6 1430 Bush @30 x34/35mm 1
7 1321 Caliper Pin Boot - 1
8 1325 Caliper Pin Boot - 2
9 1425 Bush @ 30 x34/25 mm 2
10 1515 Seal - 1
Caliper Repair Kit
Marka / Brand Wabco
4081 OEM NO 12999699, 12999702, 1436853, 42536957
Model Pan 17.5

Lo oo oy oo e

1126 ©30/77 mm
2 1125 Pin @30/91 mm 1
3 1218 Screw M16 x 1.5/70 mm 1
4 1373 Screw M16 x 1.5 /90 mm 1
5 1516 Pin Cap @34/17 mm 2
6 1582 Head Seal - 1
7 1321 Caliper Pin Boot - 1
8 1325 Caliper Pin Boot - 2
9 1425 Bush @ 30x34/25 mm 3
10 1933 Head Seal 1
Caliper Repair Kit
Marka / Brand Wabco
401 5 OEM NO 12999704 VT, 5001852880, 1519363, CWSK.7
Model Pan 17.5
w U NO | CODE DESCRIPTION DIMENSION PIECE
- 1 1373 Screw M16 x 1.5 /90 mm 1
2 1218 Screw M16 x 1.5/70 mm 1
. . 3 1516 Pin Cap @ 34/17 mm 2
e 4 1430 Bush @30 x34/35mm 1
( 5 1321 Caliper Pin Boot - 1
Q Q 6 1325 Caliper Pin Boot - 2
@ 7 1425 Bush @ 30 x 34 /25 mm 2
8 1515 Seal - 1

164 www.alcanotomotiv.com




purposes only, and may not be used in invoices

All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

OTOMOTIV

Caliper Steel Cap Kit
Marka / Brand Wabco
OEM NO -
4061 Model Pan 17.5
(W0 copE | oescrPTion ____oiwension _ pice |

1 1567 Steel Cap 34,5 x 38,5 mm 5

Caliper Repair Kit
Marka / Brand Wabco
4050 OEM NO -
Model Pan 19.5
Lo Lo | pescurron L owewsion_pice

1 127 @ 38/76 mm

2 1128 Pin @38/118 mm 1
3 1217 Screw M16 x 1.5/80 mm 1
4 1220 Screw M16 x 1.5/ 120 mm 1
5 1249 Screw M10x 1/40 mm 8

Wabhco

Caliper Repair Kit

Marka / Brand Wabco
4065 OEM NO CWSK.17.2
Model Pan 17.5
Lo o saon oo i
1126 ©30/77 mm
2 1125 Pin @30/91 mm 1
3 1218 Screw M16 x 1.5/70 mm 1
4 1373 Screw M16 x 1.5/90 mm 1
5 1249 Screw M10 x 1 /40 mm 8

Caliper Roller Bearings

Marka / Brand Wabco
4004 OEM NO CWSK.12
Model Pan 17.5, Pan 19.5
Lo coor oschmon L ueson e
1 1844 Bearing Cage
2 1608 Bearing - 2

www.alcanotomotiv.com 165




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Boots

L]
: ALCAN NO Marka / Brand Wabco
OEM NO -
— @O 4005 Model Pan 17.5
Lo o oscuon oo o
1 1321 Caliper Pin Boot

2 1325 Caliper Pin Boot - 2

WABCO 4005

Caliper Boots

Marka / Brand Wabco
OEM NO -
4099 Model Pan 17.5
Lo oot pesrnon L oweson e

1321 Caliper Pin Boot
2 1325 Caliper Pin Boot - 2
3 1516 Pin Cap @34/17 mm 2

WABCO 4080

Q

(o n

o © . ..

: Caliper Repair Kit
ALCAN NO Marka / Brand Wabco
4071 OEM NO 884.503.503.2, CWSK.11
Model Pan 17.5
Lo oseurmon oo o
1325 Caliper Pin Boot
2 1321 Caliper Pin Boot - 1
3 1516 Pin Cap @34/17 mm 1
o 4 1567 Steel Cap ©34,5 x 38,5 mm 1

WABCO 4071

Caliper Boots

Marka / Brand Wabco
OEM NO -
4006 Model Pan 19.5
Lo lcooe | oscnenon L owension Lece

1322 Caliper Pin Boot
1321 Caliper Pin Boot - 1
1929 Washer - 2

WABCO 4000

166 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison
purposes only, and may not be used in invoices

Caliper Boots

[ ALCANNO
4041

Lo o osaron oo

1321
2 1515
3 1933

Marka / Brand
OEM NO
Model

Caliper Pin Boot
Seal

Head Seal

Caliper Tappet Cover Kit

| ALCANNO_|
4048

Lo oo scmon L veso e

1328
2 1929
3 1321

Marka / Brand
OEM NO
Model

Caliper Pin Boot
Washer
Caliper Pin Boot

Caliper Tappet Cover Kit

[ ALCANNO
4049

Lo coosaron oo e

1328
2 1929
3 1321
4 1322

Marka / Brand
OEM NO
Model

Caliper Pin Boot
Washer
Caliper Pin Boot
Caliper Pin Boot

Caliper Repair Kit

|_ALCANNO |
4007

Lo oo osamon e e

1325
2 1425
3 1321
4 1516
5 1430

Marka / Brand
OEM NO
Model

Caliper Pin Boot
Bush
Caliper Pin Boot
Pin Cap
Bush

Wabco
6401759202, 3.434.3829.0
Pan 19.5, Pan 22.5

Wabco

Pan 19.5, Pan 22.5

Wabco
3.434.3827.01, 12999738VT
Pan 19.5, Pan 22.5

Wabco
CWSK.17.1
Pan 17.5

@30 x34/25 mm

@34/17 mm
@30 x34/35mm

2

A\ Pareny

www.alcanotomotiv.com

WABCO 4048

WABCO 4007

167




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Repair Kit

O Marka / Brand Wabco
OEM NO -
4008 Model Pan 19.5
Lo Lcone L pscurnon L pwsson | e

1322 Caliper Pin Boot
2 1428 Pin Bush @38 x42/30 mm 3
3 1321 Caliper Pin Boot - 1
4 1512 Pin Cap @42 /17 mm 1
5 1513 Pin Cap @42 /28 mm 1
6 1929 Washer - 2

Caliper Calibration Bolt (87mm)

Marka / Brand Wabco
OEM NO -
401 8 Model Pan 17.5
Lo lcooe | oscnenon L owension Lrece

1 4018 Caliper Calibration Bolt 87mm

Caliper Calibration Bolt (91mm)

Marka / Brand Wabco
OEM NO -
401 9 Model Pan 19.5
Lo lcone L pescurrion, | omewston Lnece

1 4019 Caliper Calibration Bolt 91mm

Caliper Calibration Bolt

Marka / Brand Wabco
41 1 8 OEM NO CWSK.12.1
Model PAN 17
NO | CODE DESCRIPTION DIMENSION PIECE
1 1649-1 Washer - 1
2 1649-2 Washer - 1
3 4009-2 Holder - 1
4 4009-4 Spring = 1
5  4009-3 Holder - 1
6 1649-3 Washer - 1
7 1930-1 Washer - 1
8 1930-2 Washer - 1
9 1710 Spring - 1
10 4018 Caliper Calibration Bolt 87mm 1

168 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Calibration Bolt (87mm)
- With Groove
Marka / Brand Wabco
OEM NO -
4038 Model Pan 17.5
Lo o benon _owewsion s

1 4038 Caliper Calibration Bolt - With Groove - 87mm

Caliper Calibration Bolt (91mm)
- With Groove

Marka / Brand Wabco
OEM NO -
4069 Model Pan 19.5
Lo lcont L pescurnon | omeston Lece

1 4069 Caliper Calibration Bolt - With Groove - 91mm

WABCD 4068

Caliper Adjusting Mechanism 109mm
Marka / Brand Wabco
4009 OEM NO -
Model Pan 17.5
Lo lcove | psscuemon | pwerson | rece

1 4009 Mechanism 109mm

Wabco

Caliper Adjusting Mechanism 115mm
Marka / Brand Wabco
OEM NO -
401 0 Model Pan 19.5
Lo oot oscnmnon L owension Lrece

1 4010 Mechanism 115mm

WABCO 4010

Caliper Adjusting Mechanism 109mm
- With Groove
Marka / Brand Wabco
OEM NO -
4040 Model Pan 17.5
Lo Lcovt L pescurmon | oweston Lece

1 4040 Mechanism With Groove

www.alcanotomotiv.com 169




purposes only, and may not be used in invoices

A\\ A L.CAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

OTOMOTIV

Caliper Adjusting Mechanism 115mm
- With Groove

ALCAN NO Marka / Brand Wabco
4067 OEM NO -
Model Pan 19.5
NO | CODE DESCRIPTION DIMENSION PIECE
1 4067 Mechanism With Groove 1

Caliper Shaft Housing (109mm)

A 3
‘ . A . /
A ALCAN NO Marka / Brand Wabco
e [ 4072 OEM NO -
> % Model Pan 17.5
m CODE DESCRIPTION m PIECE
% 1 1845 Caliper Shaft Housing 109mm
2 1709 Spring - 2

WABCO 4072

oaqgem

Caliper Shaft Housing (115mm)
Marka / Brand Wabco
OEM NO -
4073 Model Pan 19.5
Lo oo oscnmon __owexsionpece

1 1846 Caliper Shaft Housing 115mm
2 1709 Spring - 2
e.
Caliper Adjusting Mechanism 109mm
(Assembly)
Marka / Brand Wabco

OEM NO -
401 1 Model Pan 17.5
. I T
9 O o 4009 Mechanism 109mm

m 1845 Caliper Shaft Housing 109mm 1
| O |8 O 3 1709 Spring - 2

AR 4 4014  Adjusting Mechanism Washer & Spring Set - 1

170 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Adjusting Mechanism 115mm
(Assembly)
Marka / Brand Wabco

OEM NO -
401 2 Model Pan 19.5
memo|  esame | e (sl

4010 Mechanism 115mm
2 1846 Caliper Shaft Housing 115mm 1
3 1709 Spring - 2
4 4014  Adjusting Mechanism Washer & Spring Set - 1

WABCO 4012

Caliper Adjusting Mechanism 109mm
(Assembly) - With Groove

ALCAN NO Marka / Brand Wabco
4039 OEM NO -
Model Pan 17.5
NO | CODE DESCRIPTION DIMENSION PIECE
1 4040 Mechanism With Groove 1
2 1845 Caliper Shaft Housing 109mm 1
3 1709 Spring - 2
4 4014  Adjusting Mechanism Washer & Spring Set - 1

WABCO 4038

Caliper Adjusting Mechanism 115mm
(Assembly) - With Groove
Marka / Brand Wabco

OEM NO -
4068 Model Pan 19.5
Lo lcooe | osscarnon | pwstson | e

4067 Mechanism With Groove
2 1846 Caliper Shaft Housing 115mm 1
3 1709 Spring - 2
4 4014  Adjusting Mechanism Washer & Spring Set - 1

WABCO 4068

Caliper Lever

ALCAN NO Marka / Brand Wabco
401 3 OEM NO CWSK.12.3
Model Pan 17.5, Pan 19.5
m CODE DESCRIPTION m PIECE
1 1673 Lever

WABCO 4013

www.alcanotomotiv.com 171




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison
purposes only, and may not be used in invoices

A\ Parery

Adjusting Mechanism Washer & Spring Set

ALCAN NO Marka / Brand Wabco
41 1 6 OEM NO -
Model Pan 17.5
\\[o) CODE DESCRIPTION DIMENSION PIECE
1 1649 Clutch Plate 1
2 1930 Clips = 1
3 1710 Spring 1
4 4009-4 Spring - 1
5 4009-2 Holder 1
6 4009-3 Holder - 1
7 4018 Calibration Bolt 87mm 1
s Head Cover
Q
o p ALCAN NO Marka / Brand Wabco
(@) 4086 OEM NO -
(@] Model Pan 17.5

o o
..f( ALCAN NO Marka / Brand Wabco
) 401 4 OEM NO -
Model Pan 17.5, Pan 19.5

NO | CODE DESCRIPTION DIMENSION PIECE
1 1649 Clutch Plate 1

2 1930 Clips 1

3 1710 Spring 1

Adjusting Mechanism Washer & Spring Set

Lo cor L scon e

1 4086 Head Cover

Caliper Repair Kit

172

www.alcanotomotiv.com

| o ° Marka / Brand Wabco
\\ w w 40 8 5 OEM NO 6401759222, 8445030242
I Model Pan 17.5
r N . . 0 NO | CODE DESCRIPTION DIMENSION PIECE
1 1218 Screw M16 x 1.5/70 mm 2
° ° g @, . . 2 1292 Screw M16 x 1.5/120 mm 2
3 1321 Caliper Pin Boot 2
4 1516 Pin Cap @34 /17 mm 2
@ @ Q Q & Q 5 1567 Steel Cap @34,5 x 38,5 mm 2
6 1425 Bush @30 x 34 /25 mm 6
7 1325 Caliper Pin Boot 4
Pad Retainer
Marka / Brand Wabco
4084 OEM NO 688 420 4801, 688 420 4901
Model Pan 17.5
NO | CODE DESCRIPTION DIMENSION PIECE
1 1468 Pad Retainer 1
2 1291 Screw 1




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Head Gasket Set

ALCAN NO Marka / Brand Wabco
4037 OEM NO -
Model Pan 17.5, Pan 19.5

Lo oo osaron oo e

1932 Head Gasket
2 1515 Seal - 1
3 1933 Head Seal - 1
4 1249 Screw M10 x 1 /40 mm 8 et

Brake Pad Retainer Repair Kit J
Marka / Brand Wabco il o \
4097 OEM NO - ._.'n"'/ \ N
Model Pan 22.5, Pan 19.5 .\ mﬂ N
mm N @,\
1590 Pad Holder 6 N —;?” \ &2

2 4139 Pad Retainer 171 mm 2 \ \

3 1563 Plug - 2 l“\ i \ N ‘-&w 3 5’.
N ¥

4 1268 Adjusting Screw M10x1,5x20 2

Caliper Head Gasket Set o
Marka / Brand Wabco
OEM NO CWSK.12.4

401 7 Model Pan 17.5, Pan 19.5

Lo s oo e
1932 Head Gasket
2 1515 Seal - 1
3 1933 Head Seal - 1
. . . I ( A )

Brake Pad Retainer Repair Kit ® & ® . ®

ALCAN NO / i /'j g;\
_ Marka / Brand Wabco 4 4 .

OEM NO WVA29162, WVA 29162 ] e
4093 Model Pan 22.5 : ‘-\,\ .
Lo oo semon oo pice —— -

1561 Pad Holder w/ J F\"\_ &2
2 1597 Pad Retainer 178 mm 2 r < N d
3 1563 Plug . 2 J : :\b S
4 1268 Adjusting Screw M10x1,5x20 2 _ t:;.—?/ _ ~ °

WABCD 4093

www.alcanotomotiv.com 173




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Head Gasket Set
o Marka / Brand Wabco
OEM NO CWSsK.12.4
41 1 0 Model Pan 17.5, Pan 19.5

NO | CODE DESCRIPTION DIMENSION PIECE

1 1932 Head Gasket - 1
2 1515 Seal - 1
3 1933 Head Seal - 1
4 1582 Head Seal - 1
@& °
3
- W& caliper Gasket & Bolts Repair Kit
.& Marka / Brand Wabco

OEM NO -
4035 Model Pan 19.5, Pan 22.5
g Loloor L oscemon L swsison | esc

I' \ 1989 Head Gasket
|
M16-1.5/
\ 2 1204 Screw 40mm 5

WABCO 4036 - L 3 1249 Screw M10 x 1 /40 mm 2
] @ ® cCaliper Gasket & Bolts Repair Kit
o %‘ ALCAN NO Marka / Brand Wabco
. 4036 o° '
& Model Pan 19.5, Pan 22.5
N& NO | CODE DESCRIPTION DIMENSION | PIECE
% 1 1989 Head Gasket - 1
(¢ ] : M16 - 1.5/
:\ 2 1204 Screw 40mm 5
\\ 3 1249 Screw M10x1/40mm 2
e 4 1933 Head Seal - 1

WABCO 4036 5 1515 Seal - 1

Brake Caliper Tappet & Boot Set
Marka / Brand Wabco
OEM NO -
4020 Model PAN 19-2/22
I T O AT T

1 1864 Thrust Part With Bellow

174 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison \A LCAN

purposes only, and may not be used in invoices A
OTOMOTIV

Caliper Repair Kit
Marka / Brand Wabco

OEM NO 12999746VT, 1440505 - pli
4021 Model Pan 19.5 e \_____,

Lo oo osaron oo rice |

1 1864 Thrust Part With Bellow
2 1328 Calliper Pin Boot - 2
3 1929 Washer - 2

Caliper Repair Kit

Marka / Brand Wabco 1
41 01 OEM NO 12999746, 1440505, 5001858722 ° @ 9
Model Pan 19.5 ©
NO | CODE DESCRIPTION DIMENSION PIECE \ : .
1 1128 Pin ©38/118 mm 1 &
2 1127 Pin @ 38/76 mm 1 9 !
s 1217 Screw Mi6x15/80mm 1 - - °
4 1220 Screw M16x15/120mm 1 )
5 1864 Thrust Part With Bellow - 2 _LQ)
6 1328 Caliper Pin Boot - 2 (1]
7 1929 Washer - 2 o ;
Caliper Repair Kit
Marka / Brand Wabco
4022 OEM NO 12999746, 1440505, 5001858722, CWSK.5
Model Pan 19.5 Y
Lo saron oo i I \o -
1128 ©38/118 mm Q’. ‘i@ \
2 1127 Pin ©38/76 mm 1 :
3 1217 Screw M16 x 1.5/80 mm 1 °
4 1220 Screw M16 x 1.5/120 mm 1 9@ i ‘ w 3 3
5 1864 Thrust Part With Bellow - 2 j
6 1512 Pin Cap @42/17 mm 1
7 1513 Pin Cap @42 /28 mm 1 ‘ ‘ OO ‘ . .
8 1428 Pin Bush @38 x42/30 mm 3 o
9 1328 Caliper Pin Boot - 2
10 1929 Washer - 2
11 1515 Seal - 2

www.alcanotomotiv.com 175




A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison
A purposes only, and may not be used in invoices

OTOMOTIV

Caliper Push Plate Slotted ( Left)

ALCAN NO Marka / Brand Wabco
4023 OEM NO 640 175940 2 - L, CWSK.17.3
Model Pan 17.5

NO | CODE DESCRIPTION DIMENSION PIECE
1 4023 Caliper Push Plate Slotted Left 1

WABCO 4023

Caliper Push Plate Slotted ( Right)

ALCAN NO Marka / Brand Wabco
4024 OEM NO 640 175 940 2 - R, CWSK.17.5
Model Pan 17.5

NO | CODE DESCRIPTION DIMENSION PIECE

1 4024 Caliper Push Plate Slotted Right 1

WABGD 4024

oaqgem

Caliper Push Plate With Pin ( Left)

ALCAN NO Marka / Brand Wabco
4025 OEM NO -
Model Pan 17.5

NO | CODE DESCRIPTION DIMENSION PIECE

1 4025 Caliper Push Plate With Pin Left 1

WABCO 4025

Caliper Push Plate With Pin ( Right )

ALCAN NO Marka / Brand Wabco
4026 OEM NO -
Model Pan 17.5

NO | CODE DESCRIPTION DIMENSION PIECE
1 4026 Caliper Push Plate With Pin Right 1

WABCO 4026

www.alcanotomotiv.com

176



purposes only, and may not be used in invoices

All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

OTOMOTIV

Caliper Push Plate Slotted ( Left)

ALCAN NO Marka / Brand Wabco
4027 OEM NO 640 225 926 2 - L, CWSK.19.3
Model Pan 19.5
Lo Lcone | osscurnion L pwssion e
1 4027 Caliper Push Plate Slotted

Caliper Push Plate Slotted ( Right)

ALCAN NO Marka / Brand Wabco
4028 OEM NO 640195936 2- R
Model Pan 19.5
NO | CODE DESCRIPTION DIMENSION PIECE
1 4028 Caliper Push Plate Slotted Right 1

Caliper Push Plate Slotted ( Left)

ALCAN NO Marka / Brand Wabco
4029 OEM NO -
Model Pan 22.5
NO | CODE DESCRIPTION DIMENSION PIECE
1 4029 Caliper Push Plate Slotted Left 1

Caliper Push Plate Slotted ( Right)
Marka / Brand Wabco
4030 OEM NO -
Model Pan 22.5
Lo cove L ossaumon | ombuson | e

1 4030 Caliper Push Plate Slotted Right

WAHCO 4030

www.alcanotomotiv.com 177




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Calibration Bolt (Left)

ALCAN NO Marka / Brand Wabco
4031 OEM NO -
Model Pan 19.5 (Double Piston)

NO | CODE DESCRIPTION DIMENSION PIECE
1 4031 Caliper Calibration Bolt Left 1

Caliper Calibration Bolt (Right)

ALCAN NO Marka / Brand Wabco
4032 OEM NO -
Model Pan 19.5 (Double Piston)
m CODE DESCRIPTION m PIECE
1 4032 Caliper Calibration Bolt Right

Caliper Shaft Housing
Marka / Brand Wabco
OEM NO -
4033 Model PAN 19-2/22
Lo o oscrmon owesowrice

1 1644 Shaft Housing

é é 2 1729 Spring - 2
L

Caliper Shaft Housing (Full kit)

Marka / Brand Wabco
4034 OEM NO - .
Model Pan 19.5 (Double Piston)
. T TS
1644 Shaft Housing
2 4031 Calibration Bolt Left 1
3 4032 Calibration Bolt Right 1
4 1729 Spring - 2

178 www.alcanotomotiv.com




purposes only, and may not be used in invoices

All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

OTOMOTIV

Brake Caliper Lever

ALCAN NO Marka / Brand Wabco
4044 OEM NO -
Model Pan 19.5 (Double Piston)
Lo Lcovt L pescurmon | oweson L
1 4044 Brake Caliper Lever

Brake Caliper Lever

ALCAN NO Marka / Brand Wabco
4047 OEM NO -
Model Pan 19.5 (Double Piston)
NO | CODE DESCRIPTION DIMENSION PIECE
1 4047 Brake Caliper Lever - 1

Brake Caliper Lever Kit

Marka / Brand Wabco
4045 OEM NO - -
Model Pan 19.5 (Double Piston)
Lo o scuon oo e
1548 Lever Pim
2 1549 Adjusting Gear - 2
3 1550 Mechanism - 1 G © 0 o
4 1551 Clips - 1 %

5 1552 Washer - 2
6 1658 Caliper Bearing - 1
- 2

7 1553 Clips
@

Caliper Adjuster Mechanism Gear ( Left)
Marka / Brand Wabco
OEM NO -
4074 Model Pan 19.5, Pan 22.5

Lo oo son oo e

1 1272 Mechanism Gear Left

8 1736 Spring - 1
www.alcanotomotiv.com 179




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Adjuster Mechanism Gear ( Right)

ALCAN NO Marka / Brand Wabco
4075 OEM NO -
Model Pan 19.5, Pan 22.5

Lo oo osaron s e

1 1273 Mechanism Gear Right

Caliper Repair Kit

o e ( o Marka / Brand Wabco
@ @& \OO 4089 T '
Model PAN 19-2/22
; N NS 1272 Mechanism Gear Left
O O O O g g 2 1273 Mechanism Gear Right 1

3 1370 Seal 2
4 1742 Spring 2
o o 5 1743 Clutch Plate 4
6 1744 Clamp 2
JABDD 40BD
7 1554 Mechanism Pim 2
Mechanism Pim
ALCAN NO Marka / Brand Wabco
E 4046 OEM NO -
(o] Model Pan 19.5 (Double Piston)
o cooe m PIECE
4 | No | copE | -
(o] 1 1554 Mechanism Gear
Caliper Roller Bearings
ALCAN NO Marka / Brand Wabco
4042 OEM NO -
Model Pan 19.5 (Double Piston)
Lo cooe oschmon L ouesou e
1 1544 Bearing Cage
2 1655 Bearing - 2
Caliper Roller Bearings
ALCAN NO Marka / Brand Wabco
4043 OEM NO -
Model Pan 19.5 (Double Piston)
NO | CODE DESCRIPTION DIMENSION | PIECE
1 1545 Bearing Cage - 2
2 1656 Bearing - 2

180 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Bearing Caps

ALCAN NO Marka / Brand Wabco
4066 OEM NO -
Model PAN 19-2/22
NO | CODE DESCRIPTION DIMENSION PIECE
1 4066 Bearing Cage - 1

Caliper Shaft Housing (Full kit)
Marka / Brand Wabco
OEM NO -
41 1 5 Model MAXX19
I T

1 1773 Mechanism
2 1745 Spring - 2

Wabhco

Caliper Shaft Housing (Full kit)

Marka / Brand Wabco
41 1 4 OEM NO -
Model MAXX17
NO | CODE DESCRIPTION DIMENSION PIECE
1 1772 Mechanism - 1
2 1745 Spring - 2

Caliper Repair Kit
Marka / Brand Wabco
OEM NO -
41 1 7 Model MAXX17

NO | CODE DESCRIPTION DIMENSION PIECE \@ . \@

1 1780 Pin - 17,5mm ©30/77 mm 1

2 1781 Pin - 31mm @30/91 mm 1

3 1218 Screw M16 x 1.5/70 mm 1 ‘U w

4 1373 Screw M16 x 1.5 /90 mm 1

5 1516 Pin Cap @34/17 mm 2

6 1515 Seal - 1 . . 6 @ @
7 1321 Caliper Pin Boot - 1 { - ] ]

8 1325 Caliper Pin Boot - 2 e

9 1425 Bush @30 x34/25 mm 3

www.alcanotomotiv.com 181




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Shaft Housing (Full kit)

Marka / Brand Wabco
405 1 OEM NO -
Model MAXX22
NO | CODE DESCRIPTION DIMENSION PIECE
1 1665 Shaft Housing - 1
2 1745 Spring - 2
3 4059 Caliper Calibration Bolt - 1

Caliper Calibration Bolt

Marka / Brand Wabco
OEM NO -
4059 Model MAXX22
Lo Lo oscneron, L oweson e

1 4059 Caliper Calibration Bolt

NABCD 4050

Caliper Shaft Housing

Marka / Brand Wabco
OEM NO -
4052 Model MAXX22
Lo Lo | oscneron | owenson e

1 1666 Shaft Housing
2 1745 Spring - 2

Brake Caliper Lever

Marka / Brand Wabco
4 o 5 3 OEM NO -
Model MAXX 22 , MAXX 22L
Lo o ssaon ueson e
1667 Caliper Lever
2 1668 Lever Bearing - 2
3 1669 Roller Bearing - 2

Caliper Boots

Marka / Brand Wabco
407 0 OEM NO 6403229322, 81508226042
Model MAXX22
Lo o osmon oo pice
1 1321 Caliper Pin Boot
2 1515 Seal - 1

182 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Roller Bearings

ALCAN NO Marka / Brand Wabco
405 5 OEM NO -
Model MAXX22

NO | CODE DESCRIPTION DIMENSION PIECE

1 1670 Bearing Cage - 2

2 1671 Bearing - 2

\ L)
Caliper Roller Bearings o

o o of N
ALCAN NO Marka / Brand Wabco - {9 ——¢
4058 OEM NO -

Model MAXX22 .

Lo oo saon oo e |

4055 Caliper Roller Bearings
2 1668 Lever Bearing - \
3 1669 Roller Bearing B \/ \}‘
TASEh, OB L 8
e
‘;U
Brake Pad Retainer Repair Kit ° / a 0 . ()
ALCAN NO Marka / Brand Wabco ,j \\
OEM NO WVA29279, 640 322 933 2 - S, WVA 29279 — N D
4056 Model MAXX22 i \\\ .
1561 Pad Holder w’/ ( \ —
. J \ & H
2 1562 Pad Retainer - 2 L7 \\ J
3 1563 Plug 2 — '\\\_ T A
4 1268 Adjusting Screw M10x1,5x20 2 ==ﬁ*/ n i’p’ ' o

Caliper Repair Kit

Marka / Brand Wabco
41 02 OEM NO -
Model MAXX22 & ? Q ?

NO | CODE DESCRIPTION DIMENSION PIECE e e H

1 1322 Caliper Pin Boot

2 1469 Pin Bush @38 x42/35 mm 3 o.

3 1515 Seal - 1 (5}

4 1929 Washer - 2

5 1321 Caliper Pin Boot - 1 | )
6 1512 Pin Cap @42 /17 mm 2 w u

www.alcanotomotiv.com 183




purposes only, and may not be used in invoices

A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

OTOMOTIV

Caliper Adjusting Mechanism

ALCAN NO Marka / Brand Wabco
4060 OEM NO -
Model MAXX22, MAXX22 - L

Lo cosaron oo i

1 4060 Mechanism

Caliper Push Plate Slotted ( Left)
Marka / Brand Wabco

640 322 931 2, 6403229352, A0004230516,

4062 D=L ) 6403229452

Model MAXX22
m CODE DESCRIPTION m PIECE
1 4062 Caliper Push Plate Slotted Left

5 Caliper Push Plate Slotted ( Right )
[ ALCANNO | Marka / Brand Wabco
g AHEAING OEM NO 640 322 931 2, 6403229352, A0004230416,
o 4063 6403229462
Model MAXX22, MAXX 22L
Lo cor L osaron oo e
1 4063 Caliper Push Plate Slotted Right

Adjuster Repair Kit
Marka / Brand Wabco
OEM NO -
4064 Model MAXX22
(W0 cobe  pescmrTon | DmweNsion e |

1 1568 Seal Cap @52,8-51,7 X 14,8 mm 1
2 1363 Actuator Seal - 1
WABCC 4064
Sensor Cover (MAN)
_ Marka / Brand Wabco
HEANIND) OEM NO 640 322 928 2, 81.50822.6040,
4078 441 039 001 0 4811
Model MAXX22
NO | CODE DESCRIPTION DIMENSION PIECE
1 4078 Sensor Cover (MAN) - 1

184 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Sensor Cover - Mercedes New Model

ALCAN NO Marka / Brand Wabco
4079 OEM NO A0035409217, 441 039 009 0, 6403229432
Model MAXX22
NO | CODE DESCRIPTION DIMENSION PIECE
1 4079 Sensor Cover Mercedes - New Model - 1

Caliper Plug Repair Kit
L] 2]
Marka / Brand Wabco
4077 OEM NO 81.50822.6039, 640 322 927 2 \ .
Model MAXX22

NO | CODE DESCRIPTION DIMENSION PIECE

1 1282 Locking pin - 1 ..

2 1515 Plug - 1 2] . @

3 1283 Adjusting Gear - 1

4 1581 Seal - 1

WABGO 4077

Caliper Cover

Marka / Brand Wabco
4087 OEM NO - o
Model MAXX22 (@)
e
NO | CODE DESCRIPTION DIMENSION PIECE m
1 1588 Caliper Cover - 1 ;

2 1234 Screw M8 x 16 mm 6 9‘ ‘ ” ‘ ~ ‘

WABCO 4087
Caliper Repair Kit
Marka / Brand Wabco
4088 OEM NO - o
Model \
oo seuman oo

127 ©38/76 mm
2 1128 Pin @ 38/118 mm 1
3 1217 Screw M16 x 1.5/80 mm 1
4 1322 Caliper Pin Boot - 1
5 1469 Pin Bush @38 x 42/35 mm :
6 1321 Caliper Pin Boot - 1 O O
7 1929 Washer - 3 v u
8 1512 Pin Cap @42 /17 mm 2 WABCO 4088
9 1515 Seal - 2

Caliper Shaft Housing (Full kit)
Marka / Brand Wabco
4092 OEM NO -
Model MAXX22
Lo oo oo oo
1 4153 Caliper Shaft Housing % %
2 1709 Spring - 2

WABCO 4002

www.alcanotomotiv.com 185




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Calibration Bolt
Marka / Brand Wabco
OEM NO -
4094 Model MAXX22 - T
Lolaove L osscumon ] omouwon | e

1 4094 Caliper Calibration Bolt

Caliper Adjusting Mechanism
Marka / Brand Wabco
OEM NO -
4095 Model MAXX22 - T
Lolave L ssscuron ] omerwon | e

1 4095 Mechanism

Caliper Shaft Housing
Marka / Brand Wabco
OEM NO -
4096 Model MAXX22 - T
Lo Lone | oscneron | owenson L

1 4096 Shaft Housing

Caliper Repair Kit
Marka / Brand Wabco
OEM NO -
4098 Model
mm

1127 @ 38/76 mm
2 1128 Pin @38/118 mm 1
3 1217 Screw M16 x 1.5/80 mm 1
4 1220 Screw M16 x 1.5/ 120 mm 1
5 1322 Caliper Pin Boot - 2
6 1321 Caliper Pin Boot 1
7 1428 Pin Bush @38 x42/30 mm 3
8 1929 Washer 2
9 1512 Pin Cap @42/17 mm 2
10 1515 Seal 1

186 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Repair Kit

ALCAN NO Marka / Brand Wabco Q
40 54 OEM NO 640.322.926.2, 81508226038

Model MAXX22 - T, MAXX22

Lo coorpaon o i

1147 © 37,60 /76 mm % ° . .
2 1148 Pin ©37,90 /118 mm 1 o
2

3 1217 Screw M16 x 1.5/80 mm S

. s . : @@@‘ § 1
5 1766 Caliper Pin Boot 2 @ )

6 1321 Caliper Pin Boot - 1 W )

7 1428 Pin Bush @38 x42/30 mm 3

8 1512 Pin Cap @42 /17 mm 2

Caliper Cover

Marka / Brand Wabco
OEM NO -
41 04 Model MAXX22 - T
Lo Lot oscneron L owesion Lece

1 1690 Caliper Cover
2 1234 Screw M8 x 16 mm 6

Caliper Shaft Housing (Full kit)

ALCAN NO Marka / Brand Wabco
41 05 OEM NO -
Model MAXX22 - L
NO | CODE DESCRIPTION DIMENSION PIECE
1 1398 Shaft Housing P
2 4060 Mechanism
3 1745 Spring

Brake Caliper Lever
Marka / Brand Wabco
41 0 6 OEM NO -
Model MAXX22 - L
Lo laove | ssscumon ] oweson | rece I

1497 Caliper Lever
2 1668 Lever Bearing - 2
3 1669 Roller Bearing - 2

KMORR 4708

www.alcanotomotiv.com 187




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Tappet Boot - New Model

ALCAN NO Marka / Brand Wabco
Model Pan 17.5, Pan 19.5, Pan 22.5
m CODE DESCRIPTION m PIECE
1 4111 Tappet Boot

Caliper Repair Kit
Marka / Brand Wabco
41 2 0 OEM NO -
Model
mm

1147 @ 37,60/76 mm
2 1148 Pin @ 37,90 x 63 /118 mm 1
3 1217 Screw M16 x 1.5/80 mm 2
4 1469 Pin Bush @38 x42/35mm 1
5 1512 Pin Cap @42 /17 mm 1
6 1321 Caliper Pin Boot - 1
7 1322 Caliper Pin Boot - 1
8 1929 Washer - 1
9 1515 Seal - 1

Caliper Repair Kit - Left

) ) \ (5 ) ALCAN NO Marka / Brand Wabco
= i i . 41 21 OEM NO -
Model
Slht™ mm
2 \v - 4051 Caliper Shaft Housing (Full kit)
%Y w \ o ' @ 2 4055 Caliper Roller Bearings - 1
: : o 3 4053 Brake Caliper Lever - 1
¢l “Qg w @ g + 4062 Caliper Push Plate Siotied (Left) - 1
) 5 4087 Caliper Cover - 1
%% A{‘ e 6 4077 Caliper Plug Repair Kit - 1
7 4120 Caliper Repair Kit - 1

188 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Repair Kit - Right
Marka / Brand Wabco
OEM NO -
41 22 Model
mm

4051 Caliper Shaft Housing (Full kit)
2 4055 Caliper Roller Bearings - 1
3 4053 Brake Caliper Lever - 1
4 4063 Caliper Push Plate Slotted (Right) - 1
5 4087 Caliper Cover - 1
6 4077 Caliper Plug Repair Kit - 1
7 4120 Caliper Repair Kit - 1

Caliper Complete Repair Kit (Left)

ALCAN NO Marka / Brand Wabco -
41 23 OEM NO - B
Model o
o T
mm w8
4092 Caliper Shaft Housing (Full kit) 0 ;f B b . . ~ (1]
2 4106 Brake Caliper Lever - 1 “& o ;
3 4054 Caliper Repair Kit - 1 3 :’ J e U e
4 4055 Caliper Roller Bearings - 1 —— )
5 4029 Caliper Push Plate Slotted (Left) - 1 . ~
6 4104 Caliper Cover - 1

WABCO 41

Caliper Complete Repair Kit (Right)
Marka / Brand Wabco
OEM NO -
41 24 Model
m-m

4092 Caliper Shaft Housing (Full kit)
2 4106 Brake Caliper Lever - 1
3 4054 Caliper Repair Kit - 1
4 4055 Caliper Roller Bearings - 1 e ~
5 4030 Caliper Push Plate Slotted (Right) - 1 e ~
6 4104 Caliper Cover - 1 if g

www.alcanotomotiv.com 189




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Repair Kit

(1) N o ‘ (5 ) ALCAN NO Marka / Brand Wabco
> @ 4125 7 '
N Model PAN 19-1 , PAN 22-1
—" NO | CODE DESCRIPTION DIMENSION PIECE
o - ) 1929 Washer - 4
- -—) J y J 2 1321 Caliper Pin Boot - 1
O - e ° 1512 Pin Cap ©42/17 mm 2
= < ' 4 1513 Pin Cap @ 42 /28 mm 2
< ] o
) 5 1322 Caliper Pin Boot - 2
w H 6 1328 Caliper Pin Boot - 2
: ool 7 1428 Pin Bush @38 x 42/30 mm 3

Caliper Repair Kit (Left)
W@ SN

2] L)
Marka / Brand Wabco
OEM NO -
E 0 o . . : o 41 26 Model MAXX22 - T
R TR T IR o oo o oo e

(@] g " 4054 Caliper Repair Kit
o "{*;{' &4“ % % 2 4092 Caliper Shaft Housing (Full kit) - 1
" 3 4029 Caliper Push Plate Slotted (Left) - 1
4 4104 Caliper Cover - 1
5 4055 Caliper Roller Bearings - 1
6 4106 Brake Caliper Lever - 1
7 1933 Head Seal - 1

Complete Repair Kit (Right)
[« ] Marka / Brand Wabco
OEM NO -
41 27 Model MAXX22 - T
Lo cove L psscaerion __owension_| ez

%. SN

! j :'3 -/ H N %%__ _ btiiediiedintiing 4054 Caliper Repair Kit
"{*;{‘ &4“ % % 2 4092 Caliper Shaft Housing (Full kit) - 1
: 3 4030 Caliper Push Plate Slotted (Right) - 1
4 4104 Caliper Cover - 1
“\'v:\:., 5 4055 Caliper Roller Bearings - 1
Q”Q‘;u o 6 4106 Brake Caliper Lever - 1
RBCO 4127 i 7 1933 Head Seal - 1

190 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison
purposes only, and may not be used in invoices

Caliper Pin & Mechanism Repair Kit

[ ALCANNO_|
4128

Lo co L ssaron oo i

1126
1125
1218
1373
1516
1430
1321
1325
1425
1515
4009

Marka / Brand
OEM NO
Model

Pin
Screw
Screw

Pin Cap
Bush
Caliper Pin Boot
Caliper Pin Boot
Bush
Seal

Mechanism

Wabco

PAN 17

@30/77 mm
@30/91 mm
M16 x 1.5/70 mm
M16 x 1.5/90 mm
@34/17 mm
@30 x34/35mm

@30 x34/25mm

109mm

Caliper Pin & Mechanism Repair Kit

[ ALCANNO |
4129

Lo o psman L oweson i

1

2

3

1127
1128
1217
1220
1322
1321
1428
1512
1513
1929
1515
4010

Marka / Brand
OEM NO
Model

Pin
Screw
Screw

Caliper Pin Boot
Caliper Pin Boot
Pin Bush
Pin Cap
Pin Cap
Washer
Seal

Mechanism

Wabco

PAN 19-1

@ 38/76 mm
@38/118 mm
M16 x 1.5/80 mm
M16 x 1.5/ 120 mm

@38 x42/30 mm
@42 /17 mm
@42 /28 mm

115mm

1
1
1

-

A\ Pareny

J4©
-

o:::cl ::%5 ,;;;;;;;
‘.n.' "~\§e —

q

Wabhco

e ee
%\o 330_
N/

®.0.0

www.alcanotomotiv.com 191




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Repair Kit

e ALCAN NO Marka / Brand Wabco
41 30 OEM NO 5001 852 880, 12 999 704
Model
mm

1321 Caliper Pin Boot

,l 2 1516 Pin Cap ©34/17 mm 2
3 1425 Bush © 30 x34/25mm 2
4 1373 Screw M16 x 1.5/90 mm 2
@ @ . . 5 1218 Screw M16 x 1.5/70 mm 2
o} 6 1325 Caliper Pin Boot - 2
Caliper Boot & Pin Bush Set
e Marka / Brand Wabco
: 41 31 OEM NO -
H Model PAN 19-1
NO | CODE DESCRIPTION DIMENSION PIECE
1 1321 Caliper Pin Boot - 2
H 2 1322 Caliper Pin Boot - 2
3 1328 Caliper Pin Boot @42/17 mm 2
4 1929 Washer = 4
( j 5 1428 Pin Bush @38 x42/30 mm 3
k’g{ ° 6 1512 Pin Cap ©42/17 mm 2
7 1513 Pin Cap @42 /28 mm 2
Caliper Repair Kit
Marka / Brand Wabco
41 32 OEM NO -
Model PAN 19-1
! 1 || o NO | CODE DESCRIPTION DIMENSION PIECE
\\__, 1 4037 Caliper Head Gasket Set - 1
NN . . - Oo 2 1127 Pin ©38/76 mm 1
| NN | — 3 1128 Pin ©38/118 mm 1
(o i N | ¢ 1428 Pin Bush @38 x42/30 mm 3
3 Ij :J u u @ w 5 1512 Pin Cap @ 42/17 mm 2
" 6 1513 Pin Cap @ 42 /28 mm 2
© ! ° pr T o 7 4048 Caliper Tappet Cover Kit - 1

192 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Complete Repair Kit

Marka / Brand Wabco :ﬁ e N \ @
OEM NO o N ] :’
41 33 Model PAN 19-1, PAN 22-1, Wabco Set . ‘ :' =/ -

Lo con oson ok

© O0e P&

4001 Caliper Repair Kit
Caliper Adjusting Mechanism 115mm
2 | 4m2 (Assembly) 1 <y :‘é@@
-
3 4004 Caliper Roller Bearings - 1 2 2
4 4013 Caliper Lever - 1 /f;’;’

WABCO 4733

Caliper Repair Kit . X
Marka / Brand Wabco

4134 OEM NO - \\-E \ °

Model MAXX 22T, Wabco Set - S - &
Lo coor  osamon oo nice (PIP OO SD S
4054 Caliper Repair Kit

2 4092 Caliper Shaft Housing (Full kit) - 1

3 4106 Brake Caliper Lever - 1

4 4058 Caliper Roller Bearings - 1

Head Seal Set
Marka / Brand Wabco
41 35 OEM NO -
Model
mm

1 1582 Head Seal

Caliper Repair Kit

Marka / Brand Wabco
41 36 OEM NO -
Model PAN 17 L
Lo o osoon oo ece JiF
4081 Caliper Repair Kit

2 4004 Caliper Roller Bearings - 1

3 4011 Caliper Adjus(trsgsyrstcﬂr;e)mism 109mm 1

4 4013 Caliper Lever - 1

WABCO 4738

www.alcanotomotiv.com 193




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Repair Kit (Left)

i i ; > :’ -. :’ \ ) Ma;k:l\; il::nd Wa-bco
7 @ . 4137 Model MAXX 22
S o o oo s e
- ’ 1 4051 Caliper Shaft Housing (Full kit)
Q,‘V {} 2 4064 Adjuster Repair Kit - 1
:Q‘e, (<] 3 4054 Caliper Repair Kit - 1

4 4053 Brake Caliper Lever - 1
o 5 4055 Caliper Roller Bearings - 1
6 4077 Caliper Plug Repair Kit - 1

3%
(-]

@ wvwwsw@

7 4062 Caliper Push Plate Slotted (Left) - 1
8 4087 Caliper Cover - 1

Caliper Repair Kit - Right
() Marka / Brand Wabco

% :’ 4 :’ OEM NO -
(<] R e~ 4138 Model MAXX 22
2O v O T
" : & ' 1 4051 Caliper Shaft Housing (Full kit)
j o /ée Q,‘:V % 2 4064 Adjuster Repair Kit - 9
3 4054 Caliper Repair Kit - 1
. 4 4053 Brake Caliper Lever - 1
. - o 5 4055 Caliper Roller Bearings - 1
Py ~vveen @ 6 4077 Caliper Plug Repair Kit - 1
WABCO 4138 7 4063 Caliper Push Plate Slotted (Right) - 1
8 4087 Caliper Cover - 1

Pad Retainer
Marka / Brand Wabco
41 39 OEM NO -
Model
mm

1 4139 Pad Retainer 171 mm

D N

ALCAN NO Marka / Brand Wabco
41 40 OEM NO -
Model PAN 17, PAN 19-1, PAN 22-1
m CODE DESCRIPTION m PIECE
1 1249 Screw M10 x 1 /40 mm

WABCO 4140

194 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Roller Bearings Half Kit
Marka / Brand Wabco
OEM NO -
41 41 Model MAXX 22
Lol oot L pscurnon____omwasson| e

1 1669 Roller Bearing
2 1668 Lever Bearing - 2
WABCO 4147
Repair Kit - SET (Right 0 SN [ ap <@
P (Right) 2 99 O.’ AN =
Marka / Brand Wabco (Y- @ W
OEM NO - o . » o
4142 Model PAN 22-1 O O NN
Lo o o o N o
4001 Caliper Repair Kit =
[} @
2 4004 Caliper Roller Bearings - 1 o ; %
3 4030 Caliper Push Plate Slotted (Right) - 1 e
Caliper Adjusting Mechanism 115mm 4 Col
4 4012 (Assembly) : t
5 4013 Caliper Lever - 1 WABCO 4142
6 4037 Caliper Head Gasket Set - 1

Repair Kit - SET (Left)
Marka / Brand Wabco
OEM NO -
41 43 Model PAN 22-1
mm

4001 Caliper Repair Kit
2 4004 Caliper Roller Bearings - 1
3 4029 Caliper Push Plate Slotted (Left) - 1
4 4012 Caliper Adjus('(rsgsgﬁrsg:;z;nism 115mm : 1
5 4013 Caliper Lever - 1
6 4037 Caliper Head Gasket Set - 1 e

Caliper Repair Kit (1)
Marka / Brand Wabco O

OEM NO -
41 44 Model PAN 19-1, PAN 22-1 O
Lo oo samon e e

1929 Washer 2 :
L5 )

2 1321 Caliper Pin Boot - 1 e
3 1512 Pin Cap @42 /17 mm 1 k J
4 1513 Pin Cap @ 42 /28 mm 1 : o : -

5 1322 Caliper Pin Boot - 2
6 1328 Caliper Pin Boot - 2 WABCO 4144

0/0)
0
«

www.alcanotomotiv.com 195




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

- °
— -
o % @ @ | caliper Repair Kit
iy - . 3 Marka / Brand Wabco

OEM NO o
41 45 Model PAN 17

000
O - m CODE DESCRIPTION m PIECE
- 1 4003 Caliper Repair Kit
Caliper Adjusting Mechanism 109mm :
2 R (Assembly) 1

Caliper Repair Kit
. Marka / Brand Wabco
41 46 OEM NO -
'_ Model PAN 17
| T T

kkkt o 4003 Caliper Repair Kit
} = 2 4004 Caliper Roller Bearings - 1
Q | gy 3 4037 Caliper Head Gasket Set - 1
A o | .?a a 4011 Caliper Adjus(txsgsgllrsglr;?msm 109mm 1
Co® 5 4013 Caliper Lever - 1
o 6 1582 Head Seal = 1

WABCO 4748

=
Q
(=}
(@]
o

Caliper Repair Kit
Marka / Brand Wabco

OEM NO o

\\\\ 41 47 Model PAN 19-1, PAN 22-1
. . NN LG R R

a 1932 Head Gasket
H 2 1515 Seal : 1
U 3 1933 Head Seal - 1
—— ¢ A S 4 1249 Screw M10 x 1 /40 mm 8
{3 ‘ e - 5 1512 Pin Cap @42 /17 mm 2
" ! 6 1513 Pin Cap @ 42/28 mm 2

- 4

N (- } w ° 7 1321 Caliper Pin Boot - 1
B 8 1322 Caliper Pin Boot - 2
9 1428 Pin Bush © 38 x 42 /30 mm 3

Caliper Pin Boot Set
e Marka / Brand Wabco
41 48 OEM NO -
Model MAXX 22L
NO | CODE DESCRIPTION DIMENSION PIECE

1 1766 Caliper Pin Boot - 2
2 1321 Caliper Pin Boot - 1

196 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Repair Kit (Left)
Marka / Brand Wabco
OEM NO .
41 49 Model MAXXUS
Lo oot onscarnion L owson e

4077 Caliper Plug Repair Kit

2 4107 Brake Caliper Lever - 1
3 4054 Caliper Repair Kit - 1
4 4087 Caliper Cover -

5 4105 Caliper Shaft Housing (Full kit) - 1
6 4111 Tappet Boot - 1
7 1933 Head Seal - 1
8 4058 Caliper Roller Bearings - 1
9 4056 Brake Pad Retainer Repair Kit - 1
10 4062 Caliper Push Plate Slotted (Left) - 1

Caliper Repair Kit - Right
Marka / Brand Wabco
OEM NO .
4150 Model MAXXUS
Lolave | osoneron L pweison_Lric

4077 Caliper Plug Repair Kit

2 4107 Brake Caliper Lever - 1
3 4054 Caliper Repair Kit - 1
4 4087 Caliper Cover -

5 4105 Caliper Shaft Housing (Full kit) - 1
6 4111 Tappet Boot - 1
7 1933 Head Seal - 1
8 4058 Caliper Roller Bearings - 1
9 4056 Brake Pad Retainer Repair Kit - 1
10 4063 Caliper Push Plate Slotted (Right) - 1

Caliper Repair Kit

Marka / Brand Wabco
41 51 OEM NO -
Model MAXX 22T
Lo oo oscmon e
1766 Caliper Pin Boot
2 1321 Caliper Pin Boot - 1
3 1428 Pin Bush @ 38 x 42 /30 mm 3
4 1512 Pin Cap @42 /17 mm 2
5 1515 Seal - 1

www.alcanotomotiv.com 197




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Repair Kit

Marka / Brand Wabco
o 4 1 52 OEM NO 6082006, 5021170487, 12999677, 865965
Q@ ( ) Model PAN 22,5 DOUBLE PISTON
. = T
4020 Brake Caliper Tappet & Boot Set
2 1364 Bellow Cap - 1
® © V o 3 1365 Ring - 1
4 1274 Screw M16 x 1.5/ 130 mm 1
'. i " & & 5 1217 Screw M16 x 1.5 /80 mm 1
. . O O ‘ N 6 1563 Plug - 2
.e 0 oI o 7 1929 Washer - 2
e 8 1328 Caliper Pin Boot - 2
9 1512 Pin Cap @42/17 mm 1

Caliper Shaft Housing

E ALCAN NO Marka / Brand Wabco
Q OEM NO .
U 41 53 Model MAXX 22T
8 ‘ _m
CODE DESCRIPTION PIECE
o N o coo: -
1 4060 Mechanism
2 4096 Shaft Housing - 1
L2
Pin Repair Kit
ALCAN NO Marka / Brand Wabco
OEM NO B
(2] e 4154 Model PAN 19-2, PAN 22-2
m <n 99 Lo oo e oo e
: o 1127 ©38/76 mm
o ,3 a 2 1128 Pin ©38/118 mm 1
. 3 1217 Screw M16 x 1.5/80 mm 1
M16 x 1.5/120
\_ Q 4 1220 Screw mm 1
\____, N—
_— / 5 1428 Pin Bush @38 x 42 /30 mm 3
& @
2] 6 1513 Pin Cap @ 42/28 mm 1
7 1512 Pin Cap @42/17 mm 1
8 1328 Caliper Pin Boot - 2

198 www.alcanotomotiv.com




purposes only, and may not be used in invoices

All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

OTOMOTIV

Completely Caliper (Left)

ALCAN NO Marka / Brand Wabco
c CWO 1 OEM NO 640175056
Model Wabco Completely Caliper
m CODE DESCRIPTION m PIECE
1 ccwo1 Completely Caliper (Left)

Completely Caliper (Right)

ALCAN NO Marka / Brand Wabco
CCWOZ OEM NO 640175057
Model Wabco Completely Caliper
NO | CODE DESCRIPTION DIMENSION PIECE
1 CCwo02 Completely Caliper (Right) - 1

Wabhco

Completely Caliper (Left)

Marka / Brand Wabco
OEM NO 40195019
CCW03 Model PAN 19-1 plus
Lol cons L oscnon____owension Lt

1 cCcwo3 Completely Caliper (Left)

Completely Caliper (Right)
Marka / Brand Wabco
OEM NO 40195020
CCW04 Model PAN 19-1 plus
Lo Lot L pescnon__oweisoupsce

1 CCwo4 Completely Caliper (Right)

www.alcanotomotiv.com 199







Haldex

IA\\ Wi

www.alcanotomotiv.com



A\\ A L.CAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Repair Kit

ALCAN NO Marka / Brand HALDEX
5 0 01 OEM NO -
Model Mark I, Mark Ill, Mark IV, Module X
Lo cone s oo e
1 1711 Spring
2 1326 Caliper Pin Boot 67mm x 36mm 2

HALDEX 5007

Caliper Repair Kit
Marka / Brand HALDEX
OEM NO 91013
5002 Model Module X

CODE DESCRIPTION DIMENSION PIECE
1 1327 Caliper Pin Boot - 6

I HALDEX 5002
QL
Q.
%
®, _ o o Callper Repair Kit
e d ALCAN NO Marka / Brand HALDEX
- > OEM NO 87405
C 5003 Model Mark 11, Mark 11l
;'7"_ NO CODE DESCRIPTION DIMENSION PIECE
1 1711 Spring - 2
2 1326 Caliper Pin Boot 67mm x 36mm 2
3 1944 Clips - 2
4 1945 Plug - 2
)\ 0. )

HALDEX 5003

Caliper Repair Kit

. ALCAN NO Marka / Brand HALDEX
OEM NO 89794

5004 Model Mark I, Mark Ill, Mark IV, Module X

CODE DESCRIPTION DIMENSION PIECE
1 1711 Spring - 2
2 1326 Caliper Pin Boot 67mm x 36mm 2
3 1944 Clips - 2

HALDEX 5004

202 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Repair Kit

Marka / Brand HALDEX O
5005 OEM NO 91011, 94662 ,3434385201
Model MARK Il , MARK Il , MARK IV, Module X o
NO | CODE DESCRIPTION DIMENSION PIECE
1 1711 Spring - 2 -_
2 1326 Caliper Pin Boot 67mm x 36mm 2
3 1944 Clips - 2
4 1945 Plug - 1 . @

Caliper Pin Boot (Old Model)

Marka / Brand HALDEX
5032 OEM NO -
Model Mark Il, Mark Ill, Mark IV
NO | CODE DESCRIPTION DIMENSION PIECE
1 1326 Caliper Pin Boot 67mm x 36mm 2

HALDEX 5032

x
)
=
©
L

Caliper Pin Boot (New Model)

ALCAN NO Marka / Brand HALDEX
5033 OEM NO -
Model Mark Il, Mark Ill, Mark IV
NO | CODE DESCRIPTION DIMENSION PIECE
1 1355 Caliper Pin Boot 78mm x 40mm

HALDEX 5033

Caliper Repair Kit
Marka / Brand HALDEX

5006 OEM NO 89541 G- "
Model Mark II, Mark Ill, Mark IV % % . .
NO | CODE DESCRIPTION DIMENSION PIECE % % %
T 13 Pin @35/69 mm 4 % % % . .
2 1231 Screw M14 x 2 /52 mm 4 — _/
e T ) . .
3 1327 Caliper Pin Boot - 8 g g/. @
4 1522 Steel Cap - 4 N N . .
5 1523 Pin Cap @ 57/40 2 i!;‘ @ | |
. | N
6 1946 Plastic Gasket - 4 9 = oiﬁ '/
(= ---*-wl l-'—-\J -*-\I ey 4—-~hr ""'-\-\.I ( -—-~.
7 1945 Plug - 2 ‘-1--‘l ‘.- - - - - - .
8 1431 Ring - ) @ g o

www.alcanotomotiv.com 203




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

@ © Caliper Repair Kit

3 . ALCAN NO Marka / Brand HALDEX
' OEM NO 87680
& . 5007 Model Mark Il, Mark Ill, Mark IV
. .\ s Do oo non woson e
1523 Pin Cap ©57/40
( \ b ‘} r ‘-’ . 2 1327 Caliper Pin Boot - 8
— — = S . 3 1946 Plastic Gasket - 4
) ) 2C ) . 4 1945 Plug - 2
@ == e A A L = 5 1431 Ring - 8
HALDEX 500
Caliper Repair Kit
()
. IY@YICMl WMarka/Brand HALDEX
4l 5008 OEM NO 87406
Model Mark Il, Mark Ill, Mark IV
. . NO | CODE DESCRIPTION DIMENSION PIECE
. . 1 1131 Pin @ 35/69 mm 4
2 1231 Screw M14 x 2 /52 mm 4
. . 3 1945 Plug - 2
4 1327 Caliper Pin Boot - 8
. . |5 1946 Plastic Gasket - 4
QO 1431 Ring - 8
Brake Caliper Lever
ALCAN NO Marka / Brand HALDEX
5058 OEM NO -
Model MARK IlI-lll Type
NO | CODE DESCRIPTION DIMENSION PIECE
1 5058 Caliper Lever - 1
©® Calibration Mechanism Complete
\\ ALCAN NO Marka / Brand HALDEX
\\ 5 0 5 5 OEM NO 87680
J Model Mark I, Mark Il
® I T
1 1168 Calibration Mechanism Complete
- 4 = 1169 Screw Set - 1
P 0 3 1945 Plug - 2
! @ a 4 1495 Nut - 4
[+ )

204 www.alcanotomotiv.com




purposes only, and may not be used in invoices

All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

Mechanism Locking Wire

Marka / Brand HALDEX
5056 OEM NO -
Model Mark
NO | CODE DESCRIPTION DIMENSION | PIECE
1 1170 Locking Wire - 2
Caliper Cap Set
Marka / Brand HALDEX
50 09 OEM NO 89927, 3434385600, 94661, 3434385401
Model Mark Il, Mark Ill, Mark IV
Cwo cobe oescurron | owesion  piece
1 1523 Pin Cap @57 /40 2

Caliper Roller Bearing

Marka / Brand HALDEX
501 0 OEM NO -
Model Mark Il, Mark Ill, Mark IV
NO | CODE DESCRIPTION DIMENSION PIECE
1 5010 Caliper Roller Bearing - 1

Caliper Pad Retainer

Marka / Brand HALDEX
5038 OEM NO 879165
Model Mark Ill, Mark IV
NO | CODE DESCRIPTION DIMENSION PIECE
1 5038 Pad Retainer - 1

i

www.alcanotomotiv.com

HALDEY 5058

HALDEY 5008

OTOMOTIV

Haldex

205



purposes only, and may not be used in invoices

A\\ A L.CAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

OTOMOTIV

Caliper Roller Bearing

ALCAN NO Marka / Brand HALDEX
50 41 OEM NO -
Model Mark II, Mark Il

NO | CODE DESCRIPTION DIMENSION PIECE
1 1686 Caliper Roller Bearing - 2

[
Caliper Mechanism
Marka / Brand HALDEX

5049 OEM NO
Model Mark II, Mark Il
NO | CODE DESCRIPTION DIMENSION PIECE

1 1294 Caliper Mechanism
2 1293 Screw Set - 2

HALDEY 5048

Caliper Roller Bearings
Marka / Brand HALDEX
I 501 1 OEM NO -
n_, Model Mark Il, Mark Ill, Mark IV
o Lo o oscneion oo i
x 1 1612 Bearing
2 1870 Bearing Cage - 2

HALDEX 5011

Caliper Shaft Housing

Marka / Brand HALDEX
OEM NO -
5043 Model Mark IV
S Ny DT T

1 1462 Shaft Housing

\ \ 222 cre'
2 1 Screw o 4

HALDEX 5043

Caliper Shaft Housing

Marka / Brand HALDEX
50 4 4 OEM NO -
Model Mark 11l
NO | CODE DESCRIPTION DIMENSION PIECE

\ \ 1 1463 Shaft Housing - 1
\ \ @ \@ @ @ 2 1286 Screw Set - 1
(2] 3 1285 Nut - 4

HaL ::'-:' 5044

206 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Tappet Plate and Bolt Set

ALCAN NO Marka / Brand HALDEX
501 2 OEM NO -
Model Mark IV
NO | CODE DESCRIPTION DIMENSION PIECE

1 5014 Calliper Calibration Bolt - 2

2 5013 Calliper Tappet Plate - 1

3 1956 Clips - 2 . ’ () O \_‘
© J\ =]

HALDEX 5012

Caliper Tappet Plate and Bolt Set

ALCAN NO Marka / Brand HALDEX G G
5036 OEM NO 94664
Model Mark IV
NO | CODE DESCRIPTION DIMENSION PIECE

1 5014 Caliper Calibration Bolt »
2 5013 Caliper Tappet Plate - 1
3 1956 Clips - 2
4 1326 Caliper Pin Boot 67mm x 36mm 2

HALDEX 5036

o
Haldex

Caliper Tappet Plate

Marka / Brand HALDEX
501 3 OEM NO 92731
Model Mark IV
Lo o osceeion _owaonpi
1 5013 Caliper Tappet Plate

HALDEX 5013

Caliper Calibration Bolt

Marka / Brand HALDEX
501 4 OEM NO -
Model Mark IV
NO | CODE DESCRIPTION DIMENSION PIECE
1 5014 Caliper Calibration Bolt - 1

HALDEX 5014

www.alcanotomotiv.com 207




A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison
A purposes only, and may not be used in invoices

OTOMOTIV

Caliper Adjusting Mechanism Gear
Marka / Brand HALDEX

OEM NO -
501 5 Model Mark IV

DIMENSION | PIECE
- 1

NO | CODE DESCRIPTION
1 5015 Caliper Adjusting Mechanism Gear

HALDEX 5015

Caliper Adjusting Mechanism Gear
Marka / Brand HALDEX

OEM NO -

501 6 Model Mark IV
wlems|  smewm | mew e

1 5016 Caliper Adjusting Mechanism Gear

x9p|eH

Calibration Mechanism
Marka / Brand HALDEX

OEM NO -
5047 Model Mark IV

DIMENSION PIECE

NO | CODE DESCRIPTION
1 1470 Caliper Adj. Mechanism - 1
2 1369 Screw Set - 1

6
Caliper Adjuster Shaft Set
ALCAN NO Marka / Brand HALDEX
5 01 7 OEM NO 90693, 3434385502
Model Mark Il, Mark 1ll, Mark IV, Module X
NO | CODE DESCRIPTION DIMENSION PIECE
1 1945 Plug - 2
2 1872 Adjuster Shaft - 2
3 1947 Seal - 2

HALDEX 5017

www.alcanotomotiv.com

208



All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Boot and Cap Set
ALCAN NO Marka / Brand HALDEX ~ /
5052 OEM NO 94663 0 [ e
Model Mark
NO | CODE DESCRIPTION DIMENSION PIECE ° . .
1 1355 Caliper Pin Boot 78mm x 40mm 2 L L

2 1945 Plug B 2 / - =
3 1947 Seal . 5 O
4 1387 Screw - > -
5 1388 Cap O-Ring R 2 —
6 1389 Plug _ >
° C o

Caliper Adjuster Shaft Set
Marka / Brand HALDEX
OEM NO 89925
5037 Model

Mark I, Mark Ill, Mark IV, Module X

NO | CODE DESCRIPTION DIMENSION PIECE
1 1945 Plug - 2
2 1947 Seal - 2

HALDEX 5037

Haldex

Caliper Repair Kit

Marka / Bran HALDEX - -
5018 aOI;M N; : 91012 ° b : * ° . .el
Model Module X ‘
NO | CODE DESCRIPTION DIMENSION | PIECE Q Q ‘
1 1132 Pin ©35/63 mm 4 ‘ . .
2 1233 Screw M14 x 2 /42 mm 4 a f
3 1327 Caliper Pin Boot 6 g B B
4 1522 Steel Cap - 4 w £ - . .
5 1946 Plastic Gasket 4 @ = = @
6 1945 Plug . 1 ’f Py f@\ Q0 @ % .
7 1506 Pin Cap @42/28 2 @ == - - o

Caliper Boot and Cap Set (] N O
o 0g %@
e

Marka / Brand HALDEX P
5019 OEM NO 91014 w\

Model Module X L —

NO | CODE DESCRIPTION DIMENSION piece [ - -

1 1327 Caliper Pin Boot - 2 )
2 1522 Steel Cap - 4 —
3 1946 Plastic Gasket - 1 Y )
4 1945 Plug _ 1
5 1506 Pin Cap @42 /28 mm 2 @

HALDEX 5018

www.alcanotomotiv.com 209




A\\ A L.CAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

©® cCaliper Boot and Cap Set
QO & P g
)\ ALCAN NO Marka / Brand HALDEX
5020 OEM NO 91013, 94660
\ °\ Model Module X
= ‘ i NO | CODE DESCRIPTION DIMENSION PIECE
k. ; ; 1 1327 Caliper Pin Boot - 6
——
2 1522 Steel Cap - 4
p— "3 1946 Plastic Gasket - 4
B . 4 1945 Plug o 1
S ° 5 1506 Pin Cap ©42/28 2
Cap Set
ALCAN NO Marka / Brand HALDEX
5021 OEM NO 91019, 3434385601
Model Module X

NO | CODE DESCRIPTION DIMENSION PIECE
1 1506 Pin Cap Q42/28 2

HALDEX 5021

L
=
o
®
X

Caliper Mechanism Clamp

ALCAN NO Marka / Brand HALDEX
5022 OEM NO -
Model Module X
NO | CODE DESCRIPTION DIMENSION PIECE
1 5022 Caliper Mechanism Clamp - 1

HALDEX 5022

Caliper Mechanism Plate

ALCAN NO Marka / Brand HALDEX
5023 OEM NO -
Model Module X
o NO | CODE DESCRIPTION DIMENSION PIECE
1 5023 Caliper Mechanism Plate - 1

HALDEX 5023

210 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Shaft Housing

ALCAN NO Marka / Brand HALDEX
5024 OEM NO 92909 o
Model Module X - Gen 2
NO | CODE DESCRIPTION DIMENSION PIECE
1

1 1873 Shaft Housing -
2 1949 Washer Set - 1

3 1716 Spring - 1 ‘ O O‘
L) o

Caliper Adjusting Mechanism

Marka / Brand HALDEX
5025 OEM NO -
Model Module X
NO | CODE DESCRIPTION DIMENSION PIECE
1 5025 Calliper Adjusting Mechanism - 1

Caliper Adjusting Mechanism Gear

Marka / Brand HALDEX
5026 OEM NO o
Model Module X
NO | CODE DESCRIPTION DIMENSION PIECE
1 5026 Caliper Adjusting Mechanism Gear - 1

Caliper Adjusting Mechanism Gear

Marka / Brand HALDEX
5027 OEM NO -
Model Module X
NO | CODE DESCRIPTION DIMENSION PIECE
1 5027 Caliper Adjusting Mechanism Gear - 1

Caliper Manual Adjusting Gear

Marka / Brand HALDEX
5028 OEM NO -
Model Module X
NO | CODE DESCRIPTION DIMENSION PIECE
1 5028 Caliper Manual Adjusting Gear - 1

www.alcanotomotiv.com 211




A\\ A L.CAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Tappet and Calibration Bolt

ALCAN NO Marka / Brand HALDEX
5029 OEM NO -
Model Module X
NO | CODE DESCRIPTION DIMENSION PIECE
1 5029 Caliper Tappet and Calibration Bolt - 1

Caliper Roller Bearings
Marka / Brand HALDEX

OEM NO
5030 Model Module X
[ N CODE___DESCRPTION ______DIMENSION _ PIEce|
1

1 1613 Bearing -
2 1874 Bearing Cage - 2

Caliper Roller Bearings

Marka / Brand HALDEX
5031 OEM NO -
Model Module X
NO | CODE DESCRIPTION DIMENSION PIECE
1 1875 Bearing Cage - 2
2 1614 Bearing - 2

Brake Caliper Lever

ALCAN NO Marka / Brand HALDEX
5034 OEM NO -
Model Module X

NO | CODE DESCRIPTION DIMENSION PIECE
1 5034 Caliper Lever - 1

212 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Calibration Mechanism Complete
Marka / Brand HALDEX
OEM NO -
5057 Model Module X
Lo cont L osswenon L pwsson e

~ g

1395 Calibration Mechanism Complete
2 1287 Screw Set - 1
3 1872 Adjuster Shaft - 1
4 1947 Seal - 1

Caliper Tappet Plate

Marka / Brand HALDEX
5035 OEM NO -
Model Module X
NO | CODE DESCRIPTION DIMENSION PIECE
1 5035 Caliper Tapper Plate - 1

x
)
=
©
L

HALDEY 5035

Caliper Adjusting Mechanism

Marka / Brand HALDEX
5048 OEM NO -
Model Module X - Gen 1
NO | CODE DESCRIPTION DIMENSION PIECE
1 5048 Adjusting Mechanism - 1

Bearing Cage

Marka / Brand HALDEX
505 1 OEM NO -
Model Module X - Gen 1
NO | CODE DESCRIPTION DIMENSION PIECE
1 5051 Bearing Cage - 1

HALDEX 5081

www.alcanotomotiv.com 213




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

e Calibration Mechanism Complete

. ‘ Marka / Brand HALDEX
5046 OEM NO -
*\ Model Module X - Gen 2
e 0 O TR NO | CODE DESCRIPTION DIMENSION PIECE
1 1584 Calibration Mechanism Complete - 1
2 1287 Screw Set - 1
3 1945 Plug - 1
4 1872 Adjuster Shaft - 1
5 1947 Seal - 1

~© Caliper Shaft Housing
\‘w/ Marka / Brand HALDEX

L 7 OEM NO 5

Q_) \ 5 050 Model Module X

Q- NO | CODE DESCRIPTION DIMENSION PIECE

b4 i 1 1589 Shaft Housing - 1
v} 2 1471 Clamp - 2
P 3 1741 Spring - 1
gf') 4 1472 Washer - 2

HALDEX 5050

Caliper Shaft Housing
Marka / Brand HALDEX

OEM NO -
5059 Model Module X - Gen 1

(o cone ——oiscumon ———omwension  piece
1 1

1765 Shaft Housing -
2 1949 Washer Set - 1
3 1716 Spring - 1

HALDEX 5068

214 www.alcanotomotiv.com




purposes only, and may not be used in invoices

All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

Caliper Brake Lining Calibration Gear - Right
Marka / Brand HALDEX
OEM NO -
5060 Model MARK Il
Lo oot oscueton L_pwbisionpice

1 5060 Brake Lining Calibration Gear Right

Caliper Brake Lining Calibration Gear - Left

Marka / Brand HALDEX
5061 OEM NO -
Model MARK Il
NO | CODE DESCRIPTION DIMENSION | PIECE
1 5061 Brake Lining Calibration Gear Left 1
Lever Pin
Marka / Brand HALDEX
5062 OEM NO -
Model MODUL X GEN 2 TYPE
NO | CODE DESCRIPTION DIMENSION | PIECE
1 5062 Lever Pin - 1

Caliper Repair Kit
Marka / Brand HALDEX
5 0 63 OEM NO -
Model
mm

5033 Caliper Pin Boot (New Model)
2 1711 Spring - 2
3 1945 Plug - 1
4 1944 Clips - 2

OTOMOTIV

HALDEX 5060

HALDEX 5061

HALDEX 5062

.

HALDEX 5063

www.alcanotomotiv.com

Haldex

215






IA\\ Wi

www.alcanotomotiv.com



A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

AN\ oTomoTIV

purposes only, and may not be used in invoices

(-]
Brake Adjusting Seal Kit
Marka / Brand IVECO
60 0 1 OEM NO 7980408
Model 42101841, 42101842, 42102123
Lo o oeson oo pie
1 6002 Brake Adjusting Seal
2 6003 Brake Adjusting Seal - 2
Brake Adjusting Seal
Marka / Brand IVECO
60 02 OEM NO 42488736, 1205C1667, 166046
Model 42101841, 42101842, 42102123
Lo o oscuon oo e
1 6002 Brake Adjusting Seal
—_—
<
o
n WECD @002
o
Brake Adjusting Seal
Marka / Brand IVECO
60 03 OEM NO 42488735, 1205B1666, 166045
Model 42101841, 42101842, 42102123
Lo o oscuon oo e
1 6003 Brake Adjusting Seal
©
WECO 6003
Brake Adjusting Seal
Marka / Brand IVECO
600 4 OEM NO 93161625, 42531677
Model 41000981, 41000982
Lo cone - oscnon oo e
1 6004 Brake Adjusting Seal

WECD  AO04

218 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Brake Adjusting Seal and Clutch Plate Kit
Marka / Brand IVECO
6005 OEM NO 93161257, 12999404
Model 41000981, 41000982
Lo lcone L osscenon____pwstson e

1335 Brake Adjusting Seal ‘ //—\ \

2 1882 Clutch Plate -
3 1883 Clutch Plate

WECD 6005

Brake Adjusting Repair Kit . /_ /_ |
Marka / Brand IVECO s
6006 OEM NO 93161254, 12999418VT, FBU7499
Model 41000981, 41000982 5
NO | CODE DESCRIPTION DIMENSION PIECE 'rD ED
1 1335 Brake Adjusting Seal - 2 ‘% \&& o
2 1882 Clutch Plate - 2
3 1883 Clutch Plate - 2
4 1884 Brake Adjusting Screw - 2 e

lveco

Brake Adjusting Seal and Clutch Plate Kit

ALCAN NO Marka / Brand IVECO ° :

OEM NO 93161429
6007 Model
mm

1 1336 Brake Adjusting Seal
2 1885 Clutch Plate - 2

WECD  AO07

80
0O

WECD  AO08

Brake Adjusting Seal and Clutch Plate Kit

ALCAN NO Marka / Brand IVECO
6008 OEM NO 93161181
Model

Lo oo oson oo e

1 1337 Brake Adjusting Seal
2 1885 Clutch Plate - 4

00

www.alcanotomotiv.com 219




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Boots and Pistons Repair Kit

ALCAN NO Marka / Brand IVECO
6009 OEM NO 42538002
Model

m-m

1840 Thrust Part With Bellow 74mm
2 1427 Round Bush @16x18/10 mm 2
3 1422 Pin Boot Ring - 1
4 1317 Pin Boot - 1
5 1315 Bellow Cap - 1
ELD guoN 6 1316 Rubber Bush @ 34 x 40 / 50 mm 1

Caliper Tappet Repair Kit (74mm)

ALCAN NO Marka / Brand IVECO
601 0 OEM NO 1130413065, 42541413
Model

O0J9A|

m CODE DESCRIPTION m PIECE
Q ‘ 1 1840 Thrust Part With Bellow 74mm

2 1427 Round Bush @16 x18/10 mm 2

WECD 6010

Caliper Boot & Ring Set

ALCAN NO Marka / Brand IVECO
o 601 1 OEM NO 93161192, 381.413
Model 4300 131.720, 4300 131.721, 4300 131.766, 4300
131.767,
o CODE DESCRIPTION m PIECE
w 9 1 1338 Pin Boot ; 1
\_’/ 2 1339 Pin Boot - 2
—_ 3 1340 Pin Boot - 2
Q/’IN\ Z\ 4 1886 Pin Boot Ring - 2
( ) ) m (‘\ 5 1887 Pin Boot Ring ; 2
s ] \W_/ S \-/ \—/ 6 1957 Plastic Washer - 1
. l'u'HZ(.J.. :illll 7 1888 Washer - 1

220 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison
purposes only, and may not be used in invoices

Caliper Repair Kit

6012

Lo oo psaron L owasonsie

Marka / Brand
OEM NO

Model

IVECO

K000375, 000 420 2982, 81.50822.6023

N\

ALCAN

OTOMOTIV

1119 @36/114 mm
2 1215 Screw M16 x 1.5/87 mm 1
3 1120 Pin @ 32/80 mm 1
4 1217 Screw M16 x 1.5/80 mm 1
5 1421 Bush @ 36 x40 /82 mm 1
6 1510 Steel Cap 50mm x 28mm 1
7 1317 Pin Boot - 1
8 1923 Pin Rubber Bush @ 39 mm 1
9 1508 Ring - 1
10 1924 Cap O-Ring - 1 VESD 6012
1 1422 Pin Boot Ring - 1
Caliper Repair Kit
Marka / Brand IVECO
6 0 1 3 Ol\iz\:ld::) K000472, K048371K50, 42541412 o
. (9
NO | CODE DESCRIPTION DIMENSION PIECE ﬂ)
1 1119 Pin @36/114 mm 1 2
2 1215 Screw M16 x 1.5/87 mm 1
3 1120 Pin ©32/80 mm 1
4 1217 Screw M16 x 1.5/80 mm 1
5 1421 Bush @36 x40/82mm 1
6 1509 Pin Cap @40/ 14 mm 1
7 1317 Pin Boot - 1
8 1923 Pin Rubber Bush @ 39 mm 1
9 1422 Pin Boot Ring - 1
10 1508 Ring - 1 £CO 6013
Brake Adjusting Repair Kit
Marka / Brand IVECO
601 4 OEM NO 93161268, 12999403, 1518476, HBU2663
Model 41000981, 41000982
Lo oo sson o e
1972 Brake Adjusting Holder Upper
2 1973 Brake Adjusting Holder Lower - 2
3 1974 Brake Adjusting Latch - 2

WECD  AO014

www.alcanotomotiv.com 221




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

g g Return Spring
: fﬂf@ y ' % ) Marka / Brand IVECO
\ OEM NO 93161260
g g 6036 Model
= = 1 6015 Return Spring

Return Spring

ALCAN NO Marka / Brand IVECO
. o 601 5 OEM NO 2258Y1507
= /* : Model
= 1 6015 Return Spring

WEDD  GO1S

Return Spring

ALCAN NO Marka / Brand IVECO
— OEM NO 8121307
(‘<D 6016 Model -
(@) NO | CODE DESCRIPTION DIMENSION PIECE
o 1 6016 Return Spring - 1

Brake Adjusting Repair Kit

Q Q’ Marka / Brand IVECO
60 1 7 OEM NO 93161622, 42558430, RBSK1408.M

Model 41000981, 41000982
K g @ ° mm
: % . 3 o 1889 Brake Adjusting Holder
" ~ ~ 2 1890 Brake Adjusting Screw - 2
_ 3 1891 Brake Adjusting Latch - 2
o i 4 1892 Brake Adjusting Nut - 2
! . . o 5 6004 Brake Adjusting Seal - 2
e e 6 6015 Brake Adjusting Return Spring - 1
7 6016 Brake Adjusting Return Spring - 1
Adjuster Repair Kit
Marka / Brand IVECO
601 8 OEM NO 42480062, 7980407
Model 42101841, 42101842, 42102123
Lo saron oo e

1 1721 Adjustment mechanism

222 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Adjuster Repair Kit

ALCAN NO Marka / Brand IVECO
601 9 OEM NO 93161621
Model

41000981, 41000982

Lo o osarion s e

1 1722 Adjustment mechanism

Caliper Pat Retainer Repair Kit

ALCAN NO Marka / Brand IVECO
6020 OEM NO 93161560, KN 381.419
Model 131.720, 131.774, 131.776, 131.721, 131.775,
131.777
NO | CODE DESCRIPTION DIMENSION PIECE
1 1547 Locker - 1
2 1724 Spring - 1
3 1725 Spring - 1
4 1981 Fork - 1
5 1982 Locking pin - 2
6 1726 Spring - 1
7 1727 Locking spring - 2

WECD 6020

Adjuster Repair Kit

Marka / Brand IVECO
6021 OEM NO 93161267, 12999402, 1518475, FBU9123 -
Model Perrot Type e ——————
NO | CODE DESCRIPTION DIMENSION PIECE !
1 1731 Adjustment mechanism - 1 |
2 1639 Brake Adjusting Holder - 2

WECO 6021

Brake Adjusting Repair Kit (Left)

Marka / Brand IVECO
6022 OEM NO 7980405
Model 42101841, 42101842, 42102123
Lo oo oo oo e
6025 Brake Adjusting Holder Left

2 1347 Brake Adjusting Seal - 1

3 1445 Brake Adjusting Latch - 2

4 1446 Washer - 2

WECD 6022

www.alcanotomotiv.com 223




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

o Brake Adjusting Repair Kit (Right)

ALCAN NO Marka / Brand IVECO
6023 OEM NO 7980406
Model 42101841, 42101842, 42102123
m CODE DESCRIPTION m PIECE
6026 Brake Adjusting Holder Right
2 1348 Brake Adjusting Seal - 1
3 1445 Brake Adjusting Latch - 2
4 1446 Washer - 2
Dust Boot
ALCAN NO Marka / Brand IVECO
6024 OEM NO 7980408
Model 42101841, 42101842, 42102123
NO | CODE DESCRIPTION DIMENSION | PIECE
1 1347 Brake Adjusting Seal - 1
2 1348 Brake Adjusting Seal - 1

WECD  A024

<
®
0
o

Brake Adjusting Holder - Left

ALCAN NO Marka / Brand IVECO
6025 OEM NO 42537366, 2297H8354
Model

mm

1 6025 Brake Adjusting Holder

WECD 6025

Brake Adjusting Holder - Right

ALCAN NO Marka / Brand IVECO
602 6 OEM NO 42537365, 2297J4820, 2297K4821, 2297J8356
Model

mm

1 6026 Brake Adjusting Holder Right

WECD 6026

204 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Brake Adjusting Repair Kit

Marka / Brand IVECO
6027 OEM NO 42491950, RBSK-0502B
Model 42101841, 42101842, 42102123
Lo o osaro L pasiow e
1138 Brake Adjusting Holder
2 1254 Brake Adjusting Screw - 2
3 1732 Brake Adjusting Return Spring - 2
4 1255 Brake Adjusting Nut - 2
5 1349 Brake Adjusting Seal - 2
6 1446 Washer - 2
7 1445 Brake Adjusting Latch - 2

Brake Adjusting Repair Kit

ALCAN NO Marka / Brand IVECO
6028 OEM NO 93161623
Model

mm

1889 Brake Adjusting Holder 1
2 1891 Brake Adjusting Latch - 1
3 1892 Brake Adjusting Nut - 1

WECD  6O28

Brake Adjusting Repair Kit
Marka / Brand IVECO 2
6029 OEM NO 93161256 L f ’
Model 41000981, 41000982 i |
IO o

1998 Brake Adjusting Holder ©
2 1259 Brake Adjusting Screw - |

2
3 1260 Brake Adjusting Holder Lower - 2 ) o
4 1261 Brake Adjusting Holder Upper - 2
5 1659 Clutch Plate - 2 I
6 1660 Clutch Plate - 2 @ C; 1 Q Q
7 1999 Brake Adjusting Latch - 2 (5] 1 ‘ (=)
8 1357 Brake Adjusting Seal - 2 VER Mt

Brake Adjusting Repair Kit

ALCAN NO Marka / Brand IVECO
6030 OEM NO 42491974
Model

mm

1995 Brake Adjusting Holder
2 1996 Brake Adjusting Latch - 1
3 1997 Brake Adjusting Nut - 1

WECD 6030

www.alcanotomotiv.com 225




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Brake Adjusting Repair Kit
Marka / Brand IVECO
OEM NO 42536197
o 6031 U0 \
- 2

1889 Brake Adjusting Holder
2 1256 Brake Adjusting Screw - 2
3 1891 Brake Adjusting Latch - 2
4 1892 Brake Adjusting Nut - 2
3 6004 Brake Adjusting Seal - 2
e -4 1740 Brake Adjusting Return Spring - 2

Brake Adjusting Repair Kit
. Marka / Brand IVECO
OEM NO 42537366, RBSK1607.M

6032 ..

mm
1758 Brake Adjusting Holder

o ° 1759 Brake Adjusting Latch - 2
1760 Brake Adjusting Nut - 2

WECO  B032

<!
®
0
o

Brake Adjusting Nut

ALCAN NO Marka / Brand IVECO
6033 OEM NO 41211047, 9C462B021BA
Model TRAKKER-TECH-STAR
Lo co s oo
1 6033 Brake Adjusting Nut

WECD 6033

° Y o Brake Adjusting Repair Kit
® ® Marka / Brand IVECO
) OEM NO 42559512

(5] 5 0 6035 Model

- 2

1889 Brake Adjusting Holder
: : Z e 1777 Brake Adjusting Screw - 2
i — ="' 3 1891 Brake Adjusting Latch - 2
. 4 1892 Brake Adjusting Nut - 2
o il - —ll - o 5 6004 Brake Adjusting Seal - 2
IVECO 6035 6 1740 Brake Adjusting Return Spring - 2

226 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A LCAN

purposes only, and may not be used in invoices A
OTOMOTIV

lveco

www.alcanotomotiv.com 227







Hydraulic Caliper

NS

www.alcanotomotiv.com



All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison
purposes only, and may not be used in invoices

A\ Parery

Caliper Repair Kit

230

Caliper Repair Kit

ALCAN NO Marka / Brand Hydraulic Caliper
221 2 OEM NO 271163, SP9669
5 MERITOR Hydraulic Caliper Caliper , (& 58 mm
. @ Model REAR)
u oo oscmon  ouesion e
( ) 1383 Bellow Cap 2
2 1691 Clips - 1
3 1692 Clips - 1
4 1598 Pin Cap ©22/12 mm 2
5 1693 Seal - 1
6 1694 Seal - 2
7 1695 Cap O-Ring - 2
8 1696 Cap O-Ring - 2
9 1697 Caliper Auto Adjuster Plastic Ring - 1
10 1698 Cap O-Ring - 1
1 1699 Piston Boot - 2
12 1397 Pin Cap ©22/8mm 2
L
<
o
q
Q
c
— @ Caliper Repair Kit
(@]
‘@) ALCAN NO Marka / Brand Hydraulic Caliper
[a}] OEM NO SJ1034
- 21 79 Model MERITOR Hydraulic Caliper
-8 NO (o)) DESCRIPTION DIMENSION PIECE
B . 1 1159 Pin ©20/71 mm 2
2 1484 Screw M12 x 1.25 /85 mm 2
3 1383 Bellow Cap - 2
4 1598 Pin Cap @24 /12 mm 2
HYDRAULIC CALIPER 2176 5 1485 Screw ~ 2

ALCAN NO Marka / Brand Hydraulic Caliper
221 4 OEM NO 1522081, 3090851, 8124737, SP8565
Model MERITOR Hydraulic Caliper

m CODE DESCRIPTION m PIECE

www.alcanotomotiv.com

1167 ©@20/71 mm
2 1484 Screw M12 x 1.25 /85 mm 2
. v ' e 3 1383 Bellow Cap - 2
4 1598 Pin Cap @24 /12 mm 2
fpR e 5 1397 Pin Cap @22/8mm 2




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Repair Kit L
Marka / Brand Hydraulic Caliper \
2200 OEM NO SJ1022 . . \
Model MERITOR Hydraulic Caliper

NO (o)) DESCRIPTION DIMENSION PIECE [B= =

1 1167 Pin ©20/71 mm 2 . g

2 1484 Screw M12 x 1.25/85 mm 2 "

3 1383 Bellow Cap - 2 . :

4 1598 Pin Cap @24/12 mm 2 (5 | o

5 1485 Screw - 2 HIDBRILKOANED 2400

Caliper Piston

ALCAN NO Marka / Brand Hydraulic Caliper
8030 OEM NO -
Model BREMBO Hydraulic Caliper
m CODE DESCRIPTION m PIECE
. @ 60 X 48,50
1 8030 Piston X 63 1

| S
° v
HYORAULIC CALIPER 8030 Q
o
S
Caliper Piston o
o
ALCAN NO Marka / Brand Hydraulic Caliper 3
803 1 OEM NO - m
Model BREMBO Hydraulic Caliper | ..
“No cob ——osscueron —omension _ pice g
. @60 X 28X
1 8031 Piston 63,50 1 I

HYDRMULIC CALIPER 8031

Caliper Piston Kit

Marka / Brand Hydraulic Caliper
8001 OEM NO 4253 41 2.1 .
Model BREMBO Hydraulic Caliper
NO | CODE DESCRIPTION DIMENSION PIECE
1 1637 Piston @ 60 /65 mm 1
2 1638 Piston © 60 /65 mm 1

HYDRAULIC CALIPER 8001

Caliper Piston Kit -
ALCAN NO Marka / Brand Hydraulic Caliper
8021 OEM NO -
Model BREMBO Hydraulic Caliper
(N cove oescuPrion ———omension riece |
1 1662 Piston @60/75mm 1
2 1663 Piston @ 60/76 mm 1

HYDRBULIC CALIPER 8021

www.alcanotomotiv.com 231




N
w
N

A\ Parery

HYDRAL

ILIC CALIPER

HYDRAULIC CALIPER

HYDRAL

ILIC CALIPER

RO

8002

3

8004

All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison
purposes only, and may not be used in invoices

Adjusting Shaft
Marka / Brand Hydraulic Caliper
8002 OEM NO -
Model BREMBO Hydraulic Caliper
Lo oot oscueon L pwewsonpice
1 8002 Adjusting Shaft
Adjusting Shaft
Marka / Brand Hydraulic Caliper
8027 OEM NO -
Model BREMBO Hydraulic Caliper
NO | CODE DESCRIPTION DIMENSION PIECE
1 8027 Adjusting Shaft - 1
Shaft Girling
Marka / Brand Hydraulic Caliper
8003 OEM NO SP8570, SJ1032
Model BREMBO Hydraulic Caliper

NO | CODE DESCRIPTION DIMENSION PIECE
1 8003 Adjusting Shaft - 1

Adjusting Mechanism

Marka / Brand Hydraulic Caliper
8004 OEM NO - : :
Model BREMBO Hydraulic Caliper
Lo Lo L osscurnon L owewson_pic
1 1244 Adjustment Slot
2 1245 Setting Screw 16 X 68 1

www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Adjusting Screw
ALCAN NO Marka / Brand Hydraulic Caliper
8022 OEM NO -
Model BREMBO Hydraulic Caliper
Lo oo sion oo
1 8022 Adjusting Screw 16 X 79

Spring mechanism

ALCAN NO Marka / Brand Hydraulic Caliper
8005 OEM NO -
Model BREMBO Hydraulic Caliper
Lo o oo oo e
1 8005 Spring | -
v
Q.
o
HYORAULIC CALIFER  BOOS m
O
()
o
=
1]
L S
Wedge Repair Kit O
>
ALCAN NO Marka / Brand Hydraulic Caliper I
8006 OEM NO -
Model BREMBO Hydraulic Caliper
Lo o oo oo e
1 1983 Felt
2 1632 Adjustment Wedge - 1

HYDRAULIC CALIFER 8006

Wedge Repair Kit

ALCAN NO Marka / Brand Hydraulic Caliper
8007 OEM NO -
Model BREMBO Hydraulic Caliper
m CODE DESCRIPTION m PIECE
1 8007 Adjustment Wedge 39,35mm

www.alcanotomotiv.com 233




purposes only, and may not be used in invoices

A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

OTOMOTIV

HYDRAULIC CALIFER  BOOE

19dije) sipneapAH

Sv
.

HYDRAULIC CALIFER  B010

Wedge Repair Kit

ALCAN NO Marka / Brand Hydraulic Caliper
8023 OEM NO -
Model BREMBO Hydraulic Caliper

Lo cor osarmon L oueisoupice

1 8023 Adjustment Wedge 50,75mm

Wedge Repair Kit

Marka / Brand Hydraulic Caliper
8008 OEM NO - : .
Model BREMBO Hydraulic Caliper
Lo o oscerion oo e
1 8009 Bush
2 1633 Adjustment Wedge - 1
Bush
Marka / Brand Hydraulic Caliper
8009 OEM NO - : :
Model BREMBO Hydraulic Caliper
Lo o oscunon L oweson_pice
1 8009 Bush

Caliper Repair Kit

Marka / Brand Hydraulic Caliper
801 0 OEM NO 93161759, 42 5:-3 41 2?
Model BREMBO Hydraulic Caliper
oo co L psarron L bsison ece
1 1246 Screw M12 X 1.75 X 110
2 1137 Pin @ 22/90 mm 2
3 1343 Pin Boot - 4

234 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A LCAN

purposes only, and may not be used in invoices A o T O M O T I V
Caliper Repair Kit d
Marka / Brand Hydraulic Caliper
8024 OEM NO -
Model BREMBO Hydraulic Caliper

1 1264 Screw M12 X 1.75 X 120 2 (
2 1146 Pin @ 22/98 mm 2 . .
3 1343 Pin Boot - 4 (:)

HYDRAULIC CALIFER  BOZ4

Screw Set
ALCAN NO Marka / Brand Hydraulic Caliper
801 1 OEM NO -
Model BREMBO Hydraulic Caliper
NO | CODE DESCRIPTION DIMENSION PIECE
1 1247 Screw M 12X 1.25 X 45 4 E
Q.
o —_—
R ©
HYDRAULIC CALIPER  BO17 U
()
o
=
(]
L S
. o
Locking plate :I>:~.
ALCAN NO Marka / Brand Hydraulic Caliper
801 2 OEM NO -
Model BREMBO Hydraulic Caliper
NO | CODE DESCRIPTION DIMENSION PIECE
1 1440 Locking plate - 1
2 1441 Locking plate - 1
2]
Bush
ALCAN NO Marka / Brand Hydraulic Caliper
801 3 OEM NO -
Model BREMBO Hydraulic Caliper
NO | CODE DESCRIPTION DIMENSION PIECE
1 8013 Bush @39 x35/20 mm 1

HYDRAULIC CALIFER 8013

www.alcanotomotiv.com 235




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Setting Washer
Marka / Brand Hydraulic Caliper
801 4 OEM NO - ' '
Model BREMBO Hydraulic Caliper
Lo v oscueon L pueison i
1 8014 Setting Washer

HYDRAULIC CALIFER 8074

Operating Seals (60mm piston)

ALCAN NO Marka / Brand Hydraulic Caliper
801 5 OEM NO SJ1037, SP8597
Model BREMBO Hydraulic Caliper
Lo cone oo oo e
I 1 1984 Seal
2 1985 Seal - 2
<
o
q
m HYDRAULIC CALIFER  BO1S
c
prd
(@]
N
Q
=
S o @ Operating Seals
q
ALCAN NO Marka / Brand Hydraulic Caliper
801 6 OEM NO -
Model BREMBO Hydraulic Caliper
Lo cone oo oo el
1986 Seal
2 1987 Seal - 1
© 3 1988 Seal - 1
Bearing
ALCAN NO Marka / Brand Hydraulic Caliper
801 7 OEM NO -
Model BREMBO Hydraulic Caliper
Lo cone oo oo e
1 8017 Bearing
@

HYDRAULIC CALIFER  B0OT7

236 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices O T O M O T I V
Caliper Boot Kit (40mm piston)

ALCAN NO Marka / Brand Hydraulic Caliper
801 8 OEM NO 93162193
Model 42555416, Iveco daily
m CODE DESCRIPTION m PIECE
4

1 1356 Pin Boot

HYDRAULIC CALIFER  BOT8

(2]
Caliper Boot Kit (40mm piston)
Marka / Brand Hydraulic Caliper
OEM NO 93161847
801 9 Model 42555416, Iveco daily

NO | CODE DESCRIPTION DIMENSION PIECE
1 1991 Seal -
2 1992 Seal -

HYDRALLIC CALIFER

B019

Operating Seals (40mm piston)

ALCAN NO Marka / Brand Hydraulic Caliper
8020 OEM NO 93162192
Model

42555416, Iveco daily
Lo saron oo e
1991 Seal
2 1992 Seal - 2
3 1993 Seal
4 1356 Pin Boot

Hydraulic Caliper

N

OQ

I

HYDRAULIC CALIFER  BO20

Caliper Repair Kit

ALCAN NO Marka / Brand Hydraulic Caliper .
8025 OEM NO 42548197, 42555416
Model Iveco

7 .
N
.oﬂ‘ﬁ
> .
©

AL BO2S

Lo corsaron oueson e

1154 @18 /66 mm 2
2 1155 Screw M8 x 1.25 /70 mm

//

2
3 1595 Pin Cap 2
4 1374 Pin Boot - 2
5 1375 Clamp 2

www.alcanotomotiv.com 237




A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
AW oToMoTIV

Caliper Repair Kit
@

° ALCAN NO Marka / Brand Hydraulic Caliper
8026 OEM NO -
Model VOLKSWAGEN Crafter - MERCEDES Sprinter

NO | CODE DESCRIPTION DIMENSION | PIECE
1 1155 Screw M8 x 1.25 /70 mm 2
2 1156 Pin @ 18/66 mm 1
3 1157 Pin @ 18/66 mm 1
4 1378 Seal - 1
5 1379 Pin Boot - 2
6 1595 Pin Cap - 2
A A A A A Cap Set
v v \./ \./ v Marka / Brand Hydraulic Caliper
8028 OEM NO - . .
Model BREMBO Hydraulic Caliper
OO OO O mrmm——TT
1 1392 Pin Cap @ 45.50 /8.5 mm
@

HYDRAULIC CALIFER  BOZE

19dije) sipneapAH

Shaft Setting lever

Marka / Brand Hydraulic Caliper
8029 OEM NO - . '
Model BREMBO Hydraulic Caliper
NO | CODE DESCRIPTION DIMENSION PIECE
1 8029 Setting lever - 1
f_ : p Caliper Repair Kit
= ,_,, 3 = 2 i ot Marka / Brand Hydraulic Caliper
J i "‘\, [ fe 8032 OEM NO 000 420 99 83
: _ ~— Model BREMBO Hydraulic Caliper
OO Lo oo oscnrion _owensonpice
1 1767 Locking Plate Kit
2 1768 Seal Kit - 1

HYDRAULIC CALIFER  BOS2

238 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Piston

ALCAN NO Marka / Brand Hydraulic Caliper
8033 OEM NO -
Model BREMBO Hydraulic Caliper

CNo o bescumon ——omension _ pice

1 8033 Piston @ 60 X 63,60 1

Caliper Piston

ALCAN NO Marka / Brand Hydraulic Caliper
8034 OEM NO -
Model BREMBO Hydraulic Caliper
m CODE DESCRIPTION m PIECE
1 8034 Piston @60 X 61,50 1
o
HYDRALLIC CALIPER BO34 L
v
Q.
o
S
Piston
—
ALCAN NO Marka / Brand Hydraulic Caliper 3
8035 OEM NO 93193785 S
Model - |
NO | CODE DESCRIPTION DIMENSION PIEC g
1 8035 Piston - 1 I

Caliper Lubricating Plug Kit
Marka / Brand Hydraulic Caliper

8037 .. '

BREMBO Hydraulic Caliper

Lo oo oo oo e

1 8037 Caliper Lubricating Plug Kit

Wedge Grooved

ALCAN NO Marka / Brand Hydraulic Caliper
8038 OEM NO -
Model BREMBO Hydraulic

Lo corosaron L ouesou e

1 8038 Wedge Grooved

HYDRAULIC CALIPER  BO3A

www.alcanotomotiv.com 239







Saf Modul T

IA\\ WS

www.alcanotomotiv.com



A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

° Caliper Repair Kit

. N per Rep
i + Marka /Brand SAF HODULT
;3 W 00 &

OEM NO =
9024 Model SBS 2220 (MODUL T-HALDEX)

\I; . . NO | CODE DESCRIPTION DIMENSION PIECE
1 9001 Caliper Repair Kit - 1
2 9023 Caliper Adjusting Gear - 1
[L O 3 1593 Dust Cover - 1
-5 &V ' .e 4 9012 Adjustment mechanism - 1

~
SAFMODULT 9024

Caliper Repair Kit

ALCAN NO Marka / Brand SAF MODUL T
9001 OEM NO 3434386100, 95397, 550017811
Model SBS 2220 (MODUL T-HALDEX), KRONE
o b DBT22LT
8N ?° mm
. \ m 1139 ©35,5/87mm
- | 2 1140 Pin ©35/120mm 1
L) ™o [ 0o 1217 Screw M16x 1,5/80 mm 2
w O O 4 1407 Round Bush @ 35x39/30 mm 2
QD L °, 5 1352 Washer - 2
=h P Y6 1533 Pin Cap @ 42 /26mm 1
= @ ° 7 1534 Pin Cap © 45/ 22mm 1
8- P 8 1449 Plastic Bush @ 35,7 x 35 / 4x87 mm 1
: SAFMODULT 9007 - 9 1450 Bush Retainer @ 39,5 x 36 x 14,5mm 1
:l 10 1350 Inner Boot - 2
- Caliper Adjuster Screw Gaiter Kit
ALCAN NO Marka / Brand SAF MODUL T
9002 OEM NO -
SBS 2220 (MODUL T-HALDEX), KRONE
Model DBT22LT
NO CODE DESCRIPTION DIMENSION PIECE
x 5 1 1350 Inner Boot - 2
2 1352 Washer - 2
3 9003 Piston Actuator - 1
(] .
SAFMODULT 9002
Piston Actuator
ALCAN NO Marka / Brand SAF MODUL T
9022 OEM NO 95399
SBS 2220 (MODUL T-HALDEX), KRONE
Model DBT22LT
NO CODE DESCRIPTION DIMENSION PIECE
1 9003 Piston Actuator - 1
2 1543 Plug - 1

SAFMODULT 8022

242 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison
purposes only, and may not be used in invoices

Piston Actuator

ALCAN NO Marka / Brand SAF MODUL T
9003 OEM NO 3434386300
Model SBS 2220 (MODUL T-HALDEX), KRONE
DBT22LT
NO | CODE DESCRIPTION DIMENSION PIECE
1 9003 Piston Actuator - 1
Inner Boot
ALCAN NO Marka / Brand SAF MODUL T
9004 OEM NO -
Model SBS 2220 (MODUL T-HALDEX), KRONE
DBT22LT
m CODE DESCRIPTION m PIECE
1 1350 Inner Boot - 2
2 1352 Washer - 2

Plastic Locking Mechanism

ALCAN NO Marka / Brand SAF MODUL T
9005 OEM NO -
Model SBS 2220 (MODUL T-HALDEX), KRONE
DBT22LT
NO | CODE DESCRIPTION DIMENSION PIECE
1 1540 Locking Plastic - 5

Caliper Adjusting Gear

ALCAN NO Marka / Brand SAF MODUL T
900 6 OEM NO -
Model SBS 2220 (MODUL T-HALDEX), KRONE
DBT22LT
NO | CODE DESCRIPTION DIMENSION PIECE
1 1541 Adjusting Gear - 5
2 1990 Seal - 5

%%
%

-

SAF MODUL T 2003

A\ Pareny

N
I
L @

©
O

SAFMODULT 9004

SAFMODULT BDDS

L —
e
4 —

=
L —

www.alcanotomotiv.com

SAFMODULT 8008

Saf Modul T

243



A\\ A L.CAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

- Caliper Adjusting Gear

o ALCAN NO Marka / Brand SAF MODUL T
9021 OEM NO 95398, 3 434 3862 00
Model SBS 2220 (MODUL T-HALDEX), KRONE
DBT22LT
m CODE DESCRIPTION m PIECE
1541 Adjusting Gear
2 1990 Seal - 1
3 1543 Plug - 1

SAFMODULT 8021

Caliper Adjusting Gear

ALCAN NO Marka / Brand SAF MODUL T
9007 OEM NO -
Model SBS 2220 (MODUL T-HALDEX), KRONE
DBT22LT
Lo con saron o e
1 1542 Adjusting Gear
n
Q
* SAFMODULT aniy
()
Q.
c
= . .
o Caliper Adjusting Gear
° ALCAN NO Marka / Brand SAF MODUL T
9023 OEM NO -
Model SBS 2220 (MODUL T-HALDEX), KRONE
DBT22LT
NO | CODE DESCRIPTION DIMENSION PIECE
1 1541 Adjusting Gear - 1
2 1990 Seal - 1
3 1543 Plug - 1
4 1542 Adjusting Gear - 1
SAFMODULT 9023
.S, S 3 e\’ Setting Tappet
’ ’ ' v v JW@XNOM Marka/Brand SAF MODUL T
9008 OEM NO -
Model SBS 2220 (MODUL T-HALDEX), KRONE
- : DBT22LT
&‘) &) m &"‘, " = NO | CODE DESCRIPTION DIMENSION PIECE
1 1543 Plug - 10
©
SAFMODULT 9008

244 www.alcanotomotiv.com




purposes only, and may not be used in invoices

All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

OTOMOTIV

Caliper Roller Bearings

ALCAN NO Marka / Brand SAF MODUL T
9009 OEM NO -
Model SBS 2220 (MODUL T-HALDEX), KRONE
DBT22LT
NO | CODE DESCRIPTION DIMENSION PIECE
1 1674 Bearing - 1
2 1682 Bearing - 1

SAF MOOUL T 2008

Caliper Roller Bearings

ALCAN NO Marka / Brand SAF MODUL T
9020 OEM NO -
Model SBS 2220 (MODUL T-HALDEX), KRONE
DBT22LT
NO | CODE DESCRIPTION DIMENSION | PIECE
1 1675 Bearing - 1
2 1366 Bearing Cage - 1

h
SAFMODULT 9020 f—
=
©
=)
(TH
. . 4]
Caliper Roller Bearings 7,
ALCAN NO Marka / Brand SAF MODUL T
901 0 OEM NO -
Model SBS 2220 (MODUL T-HALDEX), KRONE
DBT22LT
NO | CODE DESCRIPTION DIMENSION PIECE
1 1675 Bearing - 1
2 1366 Bearing Cage - 1
3 1680 Roller Bearing - 2

SAF MOOUL T «10

Needle & Roller Bearings

ALCAN NO Marka / Brand SAF MODUL T
901 1 OEM NO -
Model SBS 2220 (MODUL T-HALDEX), KRONE
DBT22LT
NO | CODE DESCRIPTION DIMENSION PIECE
1 1676 Bearing - 1
2 1677 Bearing - 1
3 1678 Bearing - 1
2 1679 Bearing - 1

SAF MOOUL T 2017

www.alcanotomotiv.com 245




A\\ A L.CAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Calibration Mechanism Complete

ALCAN NO Marka / Brand SAF MODUL T
901 2 OEM NO -
Model SBS 2220 (MODUL T-HALDEX), KRONE
DBT22LT
m CODE DESCRIPTION m PIECE
1 9012 Adjustment mechanism

SAF MOOUL T 22

Adjustment mechanism

ALCAN NO Marka / Brand SAF MODUL T
901 3 OEM NO -
Model SBS 2220 (MODUL T-HALDEX), KRONE
DBT22LT
m CODE DESCRIPTION m PIECE
1 9013 Adjustment mechanism

SAF MOOUL T N3

g Caliper Calibration Bolt
=h Marka / Brand SAF MODUL T
< 9014 OEM NO -
SBS 2220 (MODUL T-HALDEX), KRONE
8_ Model DBT22LT
e Lo o oscuron oo pc
- 1 9014 Calibration Bolt
-]

SAF MOOUL T 2014

Caliper Mechanism Plate

ALCAN NO Marka / Brand SAF MODUL T
901 5 OEM NO -
Model SBS 2220 (MODUL T-HALDEX), KRONE
DBT22LT
m CODE DESCRIPTION m PIECE
1 9015 Caliper Mechanism Plate

SAF MOOUL T 2015

Brake Caliper Lever

Marka / Brand SAF MODUL T
901 6 OEM NO -
Model SBS 2220 (MODUL T-HALDEX), KRONE
DBT22LT

NO | CODE DESCRIPTION DIMENSION PIECE
1 9016 Caliper Lever - 1

SAFMOOULT @08

246 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Bearing Cap

ALCAN NO Marka / Brand SAF MODUL T
901 7 OEM NO -
SBS 2220 (MODUL T-HALDEX), KRONE
Model DBT22LT
NO | CODE DESCRIPTION DIMENSION PIECE
1 9017 Bearing Cap - 1
0
Brake Pad Retainer Repair Kit (Y
ALCAN NO Marka / Brand SAF MODUL T (]
901 8 OEM NO - [ ] !
SBS 2220 (MODUL T-HALDEX), KRONE L i
Model DBT22LT \—
NO | CODE DESCRIPTION DIMENSION PIECE
1 1476 Pad Holder - 1
2 1477 Pad Retainer - 1
3 1593 Dust Cover - 1

SAF MOOUL T

o
-

Caliper Bearing Caps

ALCAN NO Marka / Brand SAF MODUL T
901 9 OEM NO -
Model SBS 2220 (MODUL T-HALDEX), KRONE
DBT22LT
NO | CODE DESCRIPTION DIMENSION PIECE
1 1250 Bearing Caps - 5

SAFMODULT G019
Caliper Complete Kit ' @ 00
Marka / Brand SAF MODUL T ‘4;
902 5 OEM NO - .
Model - } .
e
NO | CODE DESCRIPTION DIMENSION PIECE - '
1 9024 Caliper Repair Kit - 1
2 9018 Brake Pad Retainer Repair Kit - 1

SAF MODUL T uu:-‘h

Caliper Complete Kit
Marka / Brand SAF MODUL T
9026 OEM NO -
Model SBS 2220
Lo oo saron o i

1 1593 Dust Cover

'(46
. O%e «s " ©
X \’ r/

SAFMODULT €026

www.alcanotomotiv.com

N
~
N




A\\ A L.CAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Repair Kit

ALCAN NO Marka / Brand SAF MODUL T
9027 OEM NO 3434386100, 95397, 550017811
Model SBS 2220, KRONE DBT22LT, MODUL T-HALDEX
m CODE DESCRIPTION m PIECE
1 9001 Caliper Repair Kit - 1
2 1543 Plug - 1

SAFMODULT 9027

Caliper Repair Kit
ALCAN NO Marka / Brand SAF MODUL T
9028 OEM NO -
Model -
wn NO | CODE DESCRIPTION DIMENSION PIECE
E’h © 1 9023 Caliper Adjusting Gear - 1
g 2 1540 Locking Plastic - 1
) 3 1593 Dust Cover - 1
° SAF MODUL T QU'JIS
o
c
=
Mechanism Fixing Kit
ALCAN NO Marka / Brand SAF MODUL T
9029 OEM NO -
Model SBS 2220, MODUL T-HALDEX
NO | CODE DESCRIPTION DIMENSION PIECE
1 9029 Mechanism Fixing Kit - 1
&
SAFMODULT 9020
p Brake Pad Retainer Repair Kit
) ALCAN NO Marka / Brand SAF MODUL T
R P | 9030 OEM NO -
w Model -
o NO | CODE DESCRIPTION DIMENSION PIECE
1 1476 Pad Holder - 1
2 1477 Pad Retainer - 1

SAFMOOUL T 8030

248 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A LCAN
purposes only, and may not be used in invoices o T o M O T I v

Piston Actuator ° | °
ALCAN NO Marka / Brand SAF MODUL T
9031 OEM NO 95399
Model SBS 2220, KRONE DBT22LT, MODUL T-HALDEX N

NO | CODE DESCRIPTION DIMENSION PIECE

1 9003 Piston Actuator - 1

]

2 1543 Plug . 1 w [ )
3 1476 Pad Holder - 1

SAFMODULT 9037

Caliper Adjusting Gear =
ALCAN NO Marka / Brand SAF MODUL T =)
9032 oM\ - E

Model SBS 2220, KRONE DBT22LT, MODUL T-HALDEX E

NO | CODE DESCRIPTION DIMENSION PIECE Y

1 1541 Adjusting Gear - 1 ©
wn

2 1990 Seal - 1

3 1543 Plug - 1

4 1542 Adjusting Gear - 1

5 1593 Dust Cover - 1

SAFMODULT 2032

(] o
T DN . O
Caliper Repair Kit & a N g
Marka / Brand SAF MODUL T : O ‘&
0400 M : ' 2 @0
Model /
mm >
9018 Brake Pad Retainer Repair Kit / .
2 9023 Caliper Adjusting Gear - 1 w
3 9001 Caliper Repair Kit - 1 -’

SAFMODULT 9400

www.alcanotomotiv.com 249







Z-CAM BRAKE

IA\\ Wit

www.alcanotomotiv.com



A\ Parery

ayeag wed-7

All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison
purposes only, and may not be used in invoices

Brake Pad (Left)

ALCAN NO Marka / Brand Z-CAM BRAKE
E033 OEM NO 681 92 681
Model

m:m

1 E033 Brake Pad (Left)

Brake Pad (Right)
Marka / Brand Z-CAM BRAKE
OEM NO 681 92 682
E034 Model
mm

1 E034 Brake Pad (Right)

Adjusting Gear Repair Kit (Left)

ALCAN NO Marka / Brand Z-CAM BRAKE
DOOZ OEM NO 272909, 3097099, 8550978, 1694352, ST4014
Model
m CODE DESCRIPTION m PIECE
1 D002 Adjusting Gear Repair Kit (Left)

Adjusting Gear Repair Kit (Right)

ALCAN NO Marka / Brand Z-CAM BRAKE
D001 OEM NO 1694353, 8550977, 3097100, 272908, ST4013
Model
mmm
1 D001 Adjusting Gear Repair Kit (Right)

www.alcanotomotiv.com

252




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Reverse Lock Repair Kit (Left)
Marka / Brand Z-CAM BRAKE B '
D 01 1 OEM NO 276097, 1694365 P
Model !
mm L
1 1801 Locking plate
2 1701 Locking Spring - 1 ] [ 2]

Reverse Lock Repair Kit (Right)

Marka / Brand Z-CAM BRAKE
D 01 0 OEM NO 276098, 1694366
Model -
NO | CODE DESCRIPTION DIMENSION | PIECE
1 1802 Locking plate - 1
2 1702 Locking Spring - 1

()
Lock Cap Repair Kit (14 teeth) f,g
Marka / Brand Z-CAM BRAKE E
E032 OEM NO 276096
Model - E
NO | CODE DESCRIPTION DIMENSION PIECE ‘U
1 1804 Setting teeth (14 teeth) 1 Ll)
2 1759 Setting Screw - 1 N
3 1303 Big Seal - 1
4 1302 Small Seal - 1

Caliper Repair Kit
Marka / Brand Z-CAM BRAKE
OEM NO i
E035 Model
Lo o oo o — o

D001 Adjusting Gear Repair Kit (Right) ' '
2 D002 Adjusting Gear Repair Kit (Left) - g ( o

—

3 D005 Cross Shaft - 1

4 D007 Thrust Pin - 1 M@ - “-\( O @
5 D009 Return Spring Pin - 1 (5] v . @

6 D010 Reverse Lock Repair Kit (Right) - 1 ) ° _ o @
7 DO11 Reverse Lock Repair Kit (Left) - 1 9 % ( o - Q Q Q

8 D013 Dust Cover - 2 I"""g \...:’ % O @)

9 D016 Pinion (Right) ; 1 © L e C 0O e
10 D017 Pinion (Left) - 1

" E027 Gasket Kit - 1

12 E028 Lock Cap Repair Kit (23 teeth) - 1

www.alcanotomotiv.com 253




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

Lock Cap Repair Kit (14 teeth)

(2]
o ALCAN NO Marka / Brand Z-CAM BRAKE
' _ = E030 OEM NO 276096
(’ Model -

NO | CODE DESCRIPTION DIMENSION PIECE
1 1804 Setting teeth (14 teeth) 1
2 1803 Setting Screw - 1
3 1303 Big Seal - 1
@ 4 1302 Small Seal - 1

CAMBRAKE 030

Lock Cap Repair Kit (14 teeth)

Marka / Brand Z-CAM BRAKE
E029 OEM NO 276099, ST1034
Model
Lo o e
1804 Setting teeth (14 teeth)

- ] 2 1803 Setting Screw - 1
[+ ] 3 1301 Adjuster Seal - 1
4 1302 Small Seal - 1
5 1303 Big Seal - 1

1AM BRAKE  EOSD

ayeag wed-7

Lock Cap Repair Kit (23 teeth)

) Marka / Brand Z-CAM BRAKE
P OEM NO 5001875807, 3090964, 276100
’ E028 Model -
NO | CODE DESCRIPTION DIMENSION PIECE
1 1805 Setting teeth (23 teeth) 1
® 2 1803 Setting Screw = 1
3 1303 Big Seal - 1
4 1302 Small Seal - 1
o 5 1301 Adjuster Seal - 1

Lock Cap Repair Kit (23 teeth)
Marka / Brand Z-CAM BRAKE
OEM NO B
E031 Model
mm

1 1803 Setting Screw
2 1805 Setting Screw (28 teeth) 1

1AM BRAKE  E031

254 www.alcanotomotiv.com




purposes only, and may not be used in invoices

All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

OTOMOTIV

Gasket Kit

Marka / Brand Z-CAM BRAKE
E027 OEM NO 272905, ST1053
Model
Lo seron oo e
1901 Felt

2 1902 Seal - 1

3 1903 Seal - 1

4 1306 Seal = 1

5 1304 Seal - 2

6 1305 Seal - 1

Cross Shaft

ALCAN NO Marka / Brand Z-CAM BRAKE
D005 OEM NO A164040, 5001868121, 272910, SP8540
Model
mm
1 D005 Cross Shaft

(<))
=X
(14
. . . . L
Adjusting Pinion (Left) (sa]
ALCAN NO Marka / Brand Z-CAM BRAKE E
E 02 4 OEM NO 3090997, 1081819, 1606775, ST1038 1+
Model - LI)
NO | CODE DESCRIPTION DIMENSION | PIECE N

1 E024 Adjusting Pinion (Left) 1

Adjusting Pinion (Right)

Marka / Brand Z-CAM BRAKE
E023 OEM NO 3090998, 1081820, ST1039
Model
mm
1 E023 Adjusting Pinion (Right)

Pinion (Left)

Marka / Brand Z-CAM BRAKE
D017 OEM NO 1696924, A164052
Model -
NO | CODE DESCRIPTION DIMENSION | PIECE
1 D017 Pinion (Left) 1

www.alcanotomotiv.com 255




purposes only, and may not be used in invoices

A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

OTOMOTIV

Pinion (Right)

ALCAN NO Marka / Brand Z-CAM BRAKE
D01 6 OEM NO 1696925, 5001868126
Model
oo seon s
1 D016 Pinion (Right)
o
Thrust Pin
ALCAN NO Marka / Brand Z-CAM BRAKE
D007 OEM NO 5001868120, 1696446, 137074
Model
I T TS
1 D007 Thrust Pin
o
ll\l
(@] . .
Q 4 Brake Adjuster Return Spring
3 | _ Marka / Brand Z-CAM BRAKE
e OEM NO 3097092, 1696444, 5001868113, 68192115,
oy ) D008 9C462296AA
oy Model -
QL
x NO | CODE DESCRIPTION DIMENSION PIECE
o 1 D008 Brake Adjuster Return Spring - 1
o

Return Spring Pin

ALCAN NO Marka / Brand Z-CAM BRAKE
Doog OEM NO 3097299, 1698346
‘ Model
] m CODE DESCRIPTION m PIECE
1 D009 Return Spring Pin
Cover
ALCAN NO Marka / Brand Z-CAM BRAKE
D01 2 OEM NO 1696449, 166062
Model
mm
1 D012 Cover

256 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Dust Cover
Marka / Brand Z-CAM BRAKE
D 01 3 OEM NO 3090954, 1696448, 5001 868 119
Model
NO | CODE DESCRIPTION DIMENSION | PIECE
1 D013 Dust Cover
Adjusting Gear Cap ' '
-
ALCAN NO Marka / Brand Z-CAM BRAKE
D 01 9 OEM NO 272904, 1694367
Model
\
mm . ¥
1 1532 Gear Cap : I’ "
2 1346 Cap O-Ring - 1 o %)

()
=
Pinion Kit (Left) o
m
Marka / Brand Z-CAM BRAKE

D01 4 OEM NO 272906 E
Model ¢+
L o o e Q
D017 Pinion (Left) N

2 1803 Setting Screw - 1

3 1804 Setting teeth (14 teeth) 1

4 1302 Small Seal - 1

5 1303 Big Seal - 1

6 1801 Locking plate - 1

7 1701 Locking Spring - 1

Pinion Kit (Right)

ALCAN NO Marka / Brand Z-CAM BRAKE
D01 5 OEM NO 272907
Model

mm

D016 Pinion (Right)
2 1803 Setting Screw - 1
3 1804 Setting teeth (14 teeth) 1
4 1302 Small Seal - 1
5 1303 Big Seal - 1
6 1802 Locking plate - 1
7 1702 Locking Spring - 1

www.alcanotomotiv.com 257







Carrier

INESEN

www.alcanotomotiv.com



J

A9l.1]e

260

A\ Parery

212 mm

175 mm

228 mm

288 mm

310 mm

CARRIER  CW0

212 mm

175 mm

228 mm

288 mm

o 310 mm

CARRIER  CWO02

212 mm

175 mm

228 mm

288 mm

310 mm

CARRIER  CWO03

263 mm

211 mm

216 mm

o 316 mm

CARRIER D04

All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison
purposes only, and may not be used in invoices

Caliper Carrier (Pan 17,5’ - Right)

ALCAN NO Marka / Brand WABCO
CWo01 o i
Model Pan 17,5

(No cobe —oescurmion ——— omenson _ piece|

i CWOo1 Calliper Carrier Pan 17,5 - Right 1

Caliper Carrier (Pan 17,5 - Left)

ALCAN NO Marka / Brand WABCO
CWo02 et i
Model Pan 17,5

(No cobe —oescurmion ———omension  pice |

1 Cwo2 Caliper Carrier Pan 17,5 - Left 1

Caliper Carrier (Pan 17,5 - Left+Right )
- Bidirectional

ALCAN NO Marka / Brand WABCO
cwos ‘. i
Model Pan 17,5
NO | CODE DESCRIPTION DIMENSION PIECE
1 Cwo3 Caliper Carrier Pan 17,5’ - Left+Right 1

Caliper Carrier (Pan 19,5’ - Right)

ALCAN NO Marka / Brand WABCO
CWo4 °. i
Model Pan 19,5

(o cone ——oscumion ———bmension _ riece

1 Cwo4 Caliper Carrier Pan 19,5 - Right 1

www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

263 mm

Caliper Carrier (Pan 19,5’ - Left) T

Marka / Brand WABCO
OEM NO 5
CWOS Model Pan 19,5
L sarmon oo ke

1 CWo05 Caliper Carrier Pan 19,5 - Left

CARRIER  CWO0S

280 mm

218 mm

Caliper Carrier (Pan 22,5’ - Left)

ALCAN NO Marka / Brand WABCO
CWO 6 OEM NO 6403220040, 6403220070, 81.50804-6577
Model MAXX22 - MAN TGX / TGS 290
m CODE DESCRIPTION m PIECE
1 CWwWo6 Caliper Carrier Pan 19,5 - Left 1 80mu
408 mm
[ 1]
CARRIER CWOE

Carrier

280 mm

218 mm

Caliper Carrier (Pan 22,5’ - Right )

ALCAN NO Marka / Brand WABCO
cw07 OEM NO 6403220050, 6403220080, 81.50804-6576
Model MAXX22 - MAN TGX / TGS
220 mm
m CODE DESCRIPTION m PIECE

1 Ccwo7 Caliper Carrier Pan 22,5’ - Right 1 380 mm

408 mm
CARRIER cwar

263 mm

211 mm

Caliper Carrier (Pan 19,5-1 Plus - Left)
Marka / Brand WABCO
CW10 e o X
Model PAN 19-1 plus
(N0 coo | DESCRPTION _____DweNsion  pice |

1 Cwi10 Caliper Carrier Pan 19,5-1 - Left 1

400 mm

CARRIER  CW10

www.alcanotomotiv.com 261




A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison
A purposes only, and may not be used in invoices

OTOMOTIV

Carrier Pan 22-1 (Right)
Marka / Brand WABCO

OEM NO o

CW08 Model PAN 22-1, Wabco Carrier
[ NO CODE_____DESCRPTION _______DIVENSION__ PicE

1 Ccwo8 Caliper Carrier Pan 19,5-1 - Right 1

378 mm

400 mm

280 mm

Caliper Carrier (Pan 22,5’ - Left)
Marka / Brand WABCO

OEM NO 640 915 744 4, 000 423 2306

Cwo9 Model MAXX22 - L

DIMENSION PIECE

NO | CODE DESCRIPTION
1 Cwo9 Caliper Carrier Pan 22,5’ - Left 1

322 mm

350 mm

280 mm

Caliper Carrier (Pan 22,5’ - Right )

221 mm
ALCAN NO Marka / Brand WABCO
CW1 1 OEM NO 640.915.745.4, 000 423 2206
Model MAXX22 - L, Mercedes Arocs

1 Cwi11 Caliper Carrier Pan 22,5’ - Right

322 mm

350 mm

CRRAIER  CW11

Caliper Carrier (Pan 17,5’ - Left+Right ) - Rear

ALCAN NO Marka / Brand WABCO
CWSO OEM NO 613 174 158 4, 001 317 4158
Model 712C/914C/L0O 914 /L0 915 - Rear
NO | CODE DESCRIPTION DIMENSION PIECE
1 Cw50 Caliper Carrier Pan 17,5’ Left+Right (Rear) 1
° 270 mm
CARRIER CWSD

www.alcanotomotiv.com

262



All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison
purposes only, and may not be used in invoices

Caliper Carrier (22,5” - Left+Right)
- Bidirectional - Scania

ALCAN NO Marka / Brand KNORR
c K01 OEM NO K010765, 1756388
Model Scania - 22,5
NO | CODE DESCRIPTION DIMENSION PIECE
1 CKo1 Caliper Carrier 22,5 - Left+Right 1

Caliper Carrier (22,5” - Left+Right)
- Bidirectional

ALCAN NO Marka / Brand
3080 0060 00, 3 080 0059 00, KO015308, Z019050

OEM NO
c Koz Model Knorr Carrier, SN6/SN7/SK7

[No cooe ——orscurmion ——_bmension _ pec

1 CKo02 Caliper Carrier 22,5’ - Left+Right 1

KNORR

Caliper Carrier (17,5” - Left+Right)

ALCAN NO Marka / Brand KNORR
c K03 OEM NO K001927, 000 421 3006, 0004213006, 2121599
Model SN5, Atego
NO | CODE DESCRIPTION DIMENSION PIECE
1 CKo03 Caliper Carrier 17,5’ - Left+Right 1

Caliper Carrier (22,5” - Left+Right )

ALCAN NO Marka / Brand KNORR
OEM NO K004099, 2121600, 3 080 0054 01, 3 080 0055 01,
c K04 3080005401, 3080005501
Model SK7 SF Trailer Axle
NO | CODE DESCRIPTION DIMENSION PIECE
1 CKo4 Calliper Carrier 22,5’- Left+Right 1

A\ Pareny

378 mm

286 mm

248 mm

290 mm

400 mm

ﬁ 436 mm

316 mm

CARRIER K02

219 mm

300 mm

316 mm

CARRIER  CK03

266 mm

211,5 mm

www.alcanotomotiv.com

Carrier

263



A\ Parery

210 mm

410 mm

CARRIER  CKOS

286 mm

248 mm

N

408 mm

CARRIER  CKOG

o)
q
=
1)
1

286 mm

248 mm

290 mm

378 mm

400 mm

CARRIER  CKOY

286 mm

248 mm

322 mm

350 mm

CARRIER  CK10

All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison
purposes only, and may not be used in invoices

Caliper Carrier (22,5” - Left+Right)

ALCAN NO Marka / Brand KNORR
K000026, 000 421 1106, 0004211106, Z007541,
CKO05 22 L1 2121501
Model SN6..., SN7..., SK7..., NA7...

CNo cobe——bsscaerion ———bmension e |

1 CKO05 Caliper Carrier 22,5"- Left+Right 1

Caliper Carrier (22,5” - Left+Right)

ALCAN NO Marka / Brand KNORR
c K06 OEM NO K001278
Model SB7.., SN7.., TGA..
NO | CODE DESCRIPTION DIMENSION PIECE

1 CKO06 Calliper Carrier 22,5’- Left+Right 1

Caliper Carrier (22,5” - Left+Right)

ALCAN NO Marka / Brand KNORR
C K07 OEM NO K011479, 1689314, Z006590
Model SN7...,, SB7...

(o cooe ——osscaerion ————omension e |

1 CKo07 Caliper Carrier 22,5"- Left+Right 1

Caliper Carrier (22,5” - Left+Right)

Marka / Brand KNORR
K000027, 0004230606, 2121592, 000 423 0606,
CK10 OEMNO K000027, Z006582, 000 423 0606
Model SB7..., SN7...

(o cope —bescurmon ———omension _ pieee

1 CK10 Caliper Carrier 22,5’ - Left+Right 1

264

www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

266 mm

211 mm

Caliper Carrier (19,5” - Left+Right )

ALCAN NO Marka / Brand KNORR
CK1 1 OEM NO K003673, K0O01105
Model
m CODE DESCRIPTION m PIECE \
1 CK11 Caliper Carrier - Left+Right 338 mm

360 mm

CARRIER  CK11

266 mm

211 mm

Caliper Carrier (22,5” - Left+Right)

ALCAN NO Marka / Brand KNORR
c K1 2 OEM NO K012619, Z006715, 01.303.88.56.0
Model
m CODE DESCRIPTION m PIECE
1 CK12 Caliper Carrier 22,5’ - Left+Right 1 298 mm

366 mm

CARRIER  OK12

Carrier

250 mm

Caliper Carrier (22,5” - Left+Right)

ALCAN NO Marka / Brand KNORR

c K1 3 OEM NO K004680, 2379696, 01.303.88.57.0
Model

1 CK13 Caliper Carrier 22,5’ - Left+Right 1

366 mm

434 mm

CARRIER  CK13

266 mm

211 mm

Caliper Carrier (19,5” - Left+Right )

ALCAN NO Marka / Brand KNORR
C K1 4 OEM NO K004679, 2379695, 01.303.88.55.0
Model SNG...
NO | CODE DESCRIPTION DIMENSION PIECE
1 CK14 Caliper Carrier 19,5'- Left+Right 1 298 mm

366 mm

CARRIER K14

www.alcanotomotiv.com 265




A\ Parery

266 mm

211 mm

340 mm

360 mm

CARRIER  CK1S

286 mm

248 mm

290 mm

380 mm

408 mm

CARRIER K1Y

290 mm

380 mm

408 mm

CARRIER  CK26

286 mm

248 mm

264 mm

392 mm

348 mm

CARRIER  CK18

All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison
purposes only, and may not be used in invoices

Caliper Carrier (19,5” - Left+Right )

ALCAN NO Marka / Brand KNORR
C K1 5 OEM NO K013742, 2017557
Model SN6...
NO | CODE DESCRIPTION DIMENSION | PIECE

1 CK15 Caliper Carrier 19,5’ - Left+Right 1

Caliper Carrier (22,5” - Left+Right)

ALCAN NO Marka / Brand KNORR
K001529, 000 421 3706, MB 000 421 3706,
C K17 OEMNO 0004213706
Model SN6.., SN7..., SK7..., NAT..., ST7...

(Mo cooe ——oiscaerion ——~ bmwension e |

1 CK17 Caliper Carrier 22,5 - Left+Right 1

Caliper Carrier (22,5” - Right )

_ Marka / Brand WABCO
UGN OEM NO K001530, 000 421 3806, 0501213710,
c K26 36.50802.0005, N8893322
Model SN6.., SN7..., SK7..., NA7..., ST7...

[No cobe —biscuron —bmwension _riece

1 CK26 Caliper Carrier 22,5’ - Right 1

Caliper Carrier (22,5” - Left+Right )

ALCAN NO Marka / Brand KNORR
CK1 8 OEM NO K001510, K108814K50
Model SB7..., SN7...

(o cone ——oiscurion ———bwension et

1 CK18 Caliper Carrier 22,5’ - Left+Right 1

www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

266 mm

211 mm

Caliper Carrier (19,5” - Left+Right )

ALCAN NO Marka / Brand KNORR
c K1 9 OEM NO K000690, K001926
Model SN6..., SB6...
m CODE DESCRIPTION m PIECE
1 CK19 Caliper Carrier 19,5’ - Left+Right 1 340 mm
360 mm
CARRIER cK18 .

Caliper Carrier (22,5” - Left+Right)

ALCAN NO Marka / Brand KNORR
c Kzo OEM NO K001502, 0501214701, 050 121 0163
Model SB6..., SB7...
m CODE DESCRIPTION m PIECE \' ‘

1 CK20 Caliper Carrier 22,5’ - Left+Right 1 S/ €

326 mm
D

406 mm

CARRIER  OK20

Carrier

286 mm

248 mm

Caliper Carrier (22,5” - Left+Right)

ALCAN NO Marka / Brand KNORR
C K21 OEM NO K001505, 11197270061, 09.801.02.49.0
Model SB6..., SB7..., BP AXLE
m [ee]]3 DESCRIPTION m PIECE
1 CK21 Calliper Carrier 22,5’- Left+Right 1

0 400 mm

CARRIER  CK21

218,50 mm

174 mm

Caliper Carrier (17,5” - Left+Right)

ALCAN NO Marka / Brand KNORR
c K22 OEM NO K005606
Model SN5..., TGL 12.180
No | cooe DESCRIPTION | srmEEy | e
1 CK22 Caliper Carrier 17,5’ - Left+Right 1

CARRIER  OK22

www.alcanotomotiv.com 267




A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
AN\ oToMoTIv

266 mm

211 mm

Caliper Carrier (22,5")
Marka / Brand KNORR

K007475

OEM NO
CK23 Model SNG6..., SN7..., SK7...
Lo oo osaron v

1 CK23 Caliper Carrier 22,5’

2014 mm

CARRIER  OK23

278 mm

208 mm

Caliper Carrier (22,5")

ALCAN NO Marka / Brand KNORR
c K24 OEM NO K052379K50, 000 423 1006
Model SL7..., SM7.., ST7...

NO | CODE DESCRIPTION DIMENSION PIECE
1 CK24 Caliper Carrier 22,5’ 1

322 mm

350 mm

CARRIER  OK24

286 mm

Mo Caliper Carrier (22,5")
Marka / Brand KNORR
OEM NO K001507, 1390425

CK25 Model SN6.., SN7..., SK7...
Lo oo son o e

290 mm

1 CK25 Caliper Carrier 22,5
378 mm
o 400 mm
CARRIER CK25
286 mm
SR Caliper Carrier (22,5")
ALCAN NO Marka / Brand KNORR

OEM NO K046498K50, 000 421 5706

c K27 Model
mm

1 CK27 Caliper Carrier 22,5’

CARRIER  OK2¥

www.alcanotomotiv.com

268




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

278 mm

Caliper Carrier

ALCAN NO Marka / Brand KNORR
c K28 OEM NO K108006K50
Model

mm

1 CK28 Caliper Carrier

215,50 mm

316 mm

CARRIER  CK28

Caliper Carrier (22,5")

ALCAN NO Marka / Brand KNORR
CK29 OEM NO K001521
Model SB6..., SB7..., SN6..., SN7..., SK7...
NO | CODE DESCRIPTION DIMENSION | PIECE TR
1 CK29 Caliper Carrier 22,5 1

310 mm

0 400 mm

CARRIER  OK20

Carrier

Caliper Carrier (19,5” - Right)

ALCAN NO Marka / Brand KNORR
c K30 OEM NO K001497, 02.0313.15.00
Model SB6..., SB7... —3-4
NO | CODE DESCRIPTION DIMENSION PIECE X E .
1 CK30 Caliper Carrier 22,5’ 1 I 176 mm Tl |
” I L ,% -,

296 mm

CARRIER  CK30

266 mm

Caliper Carrier (19,5” - Left)

211 mm

Marka / Brand KNORR
c K33 OEM NO K004206, 02.0313.14.00
Model SB6..., SB7..., Trailer Left
mm Y e
1 CK33 Caliper Carrier 19,5"- Left w_

CARRIER  OK33

www.alcanotomotiv.com 269




A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
AN\ oToMoTIv

278 mm

215 mm

Caliper Carrier (22,5")

Marka / Brand KNORR
OEM NO K108001K50, ST7002, ST7012
149,2 mm N CK31 Model SL7..., SM7..., ST7...
W NO | CODE DESCRIPTION DIMENSION PIECE
1 CK31 Caliper Carrier 22,5 1

2014 mm

CARRIER  CK31

286 mm

245 mm

Caliper Carrier (22,5")

ALCAN NO Marka / Brand KNORR
c K32 OEM NO K046764K50, 000 421 5806
Model SL7..., SM7..., ST7..

mm

1 CK32 Caliper Carrier

378 mm

400 mm

CARRIER  CK32

286 mm

248 mm

Caliper Carrier (22,5")

N
2 ALCAN NO Marka / Brand KNORR
- OEM NO K001275, 000 421 2506
(_D. c K34 Model ., Mercedes Trailer
s\ 176 mm ,IJ
- m (ee]»]3 DESCRIPTION m PIECE
340 mm 1 CK34 Caliper Carrier 22,5’

CARRIER (K34

286 mm

Caliper Carrier (22,5")

248 mm
ALCAN NO Marka / Brand KNORR
c K35 OEM NO 2121598, 5021 175 296, M91004702, K001525
Model Knorr Carrier, SB6/SB7,
S | No | copE DESCRIPTION _ DIMENSION | PIECE
1 CK35 Caliper Carrier 22,5’
400 mm
[
349,75 mm
264 mm : : ” H
o Caliper Carrier (22,5” - Left+Right )
ALCAN NO Marka / Brand MERITOR
MCK1319, 68327462, 85109887, 5001866988,
CMO01 OEMNO 68325306
PRI Model 22.5, Elsa 195, Elsa 225,
CODE DESCRIPTION m PIECE
1 CMo1 Caliper Carrier 22,5’

368,50 mm

o 408,75 mm

CARRIER  CWMO1

270 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison
purposes only, and may not be used in invoices

Caliper Carrier (22,5” - Left+Right)

ALCAN NO Marka / Brand MERITOR
c M 02 OEM NO 68322778, 1489072, 3092253
Model D Duco

Lo coor L saron oo

1 CMo02 Calliper Carrier 22,5

Caliper Carrier (22,5” - Left+Right )

Marka / Brand MERITOR
ST MCK1297, MCK1322, 85109886, 5001 866 384,
c M 03 68325303, 68325303
Model Elsa 195, Elsa 225, EX 225

Lo o saon e

1 CMO03-1 Caliper Carrier 22,5
2 1208 Screw M18 x 1.5/82 mm 1
3 1213 Screw M18 x 1.5/120 mm 2

Caliper Carrier (22,5” - Left+Right)

ALCAN NO Marka / Brand MERITOR
c M 0 4 OEM NO 68323673, 35.50307.5526
Model Elsa 2

Lo saon oo i

1 CMo4 Calliper Carrier 22,5’

Caliper Carrier (22,5” - Left+Right)

ALCAN NO Marka / Brand MERITOR
c M 05 OEM NO MCK1185
Model Dx 195

oo o oo e

1 CMO05 Caliper Carrier

A\ Pareny

305 mm

CARRIER  OMO2

305 mm

250 mm

350,50 mm

370,50 mm

SN

CARRIER  CMOD3

Carrier

369 mm

CARRIER  CMO4

247 mm

207 mm

244 mm

338 mm

305 mm

CARRIER  OMOS

www.alcanotomotiv.com 271




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

305 mm

245 mm

Caliper Carrier (22,5")
Marka / Brand MERITOR
C M 0 6 OEM NO 68324199
Model Elsa 2
Lo oo oson oo pice

1 CMo6 Calliper Carrier 22,5’

245 mm

370 mm

CARRIER  CMOG

280 mm

251 mm

Caliper Carrier (22,5")

ALCAN NO Marka / Brand MERITOR
c M 07 OEM NO BDA443, 31932043
Model

272 mm

mm

23 1 CMo7 Caliper Carrier
406 mm

N o

m CARRIER cMo7?

q

-

-

D

-

305 mm

250 mm

Caliper Carrier (22,5")

ALCAN NO Marka / Brand MERITOR
220 mm OEM NO 68321617, BDA445, 81.50802.6015
380 mm CM08 Model Elsa 1

408 mm m CODE DESCRIPTION m PIECE
\\ O O 1 CMo08 Caliper Carrier 225
]

CARRIER  CMOE

Caliper Carrier (19,5)

ALCAN NO Marka / Brand MERITOR
C M 09 OEM NO MCK1321, 85109888, 68325353
Model Elsa 195, Elsa 225, EX 225

Lo oo oson oo e

1 CMO09 Caliper Carrier 19,5’

CARRIER  CMO9

272 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison
purposes only, and may not be used in invoices

Caliper Carrier (19,5”)

ALCAN NO Marka / Brand MERITOR
c M 1 0 OEM NO MCK1252, 883186, 68324660
Model Elsa 195, Elsa 225, EX 225

Lo conr L osarnon oo e

1 CM10 Caliper Carrier 19,5

Caliper Carrier (22,5")

ALCAN NO Marka / Brand MERITOR
c M 1 1 OEM NO 68321617, 81.50802.6015, BDA445
Model Elsa 1, MAN

Lo o seon oo e

1 CM11 Caliper Carrier

Caliper Carrier (22,5")

ALCAN NO Marka / Brand MERITOR
c M 1 2 OEM NO 68320814
Model

mm

1 CM12 Caliper Carrier 22,5

Caliper Carrier (19,5")

ALCAN NO Marka / Brand MERITOR
c M 1 3 OEM NO 68321433
Model C Lisa

Lo oo oson oo e

1 CM13 Caliper Carrier 19,5’

www.alcanotomotiv.com

A\ Pareny

264 mm

211 mm

310 mm

CARRIER  CMID

305 mm

250 mm

220 mm

380 mm

408 mm

CARRIER  CM11

-
2
-
-
0]
O

280 mm

250 mm

CARRIER  OM12

\ . 192 mm Ve é—

354 mm

CARRIER  OM13

273




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

274 mm

Sl Caliper Carrier (22,5")
Marka / Brand MERITOR
c M14 OEM NO 68321281
Model D Lisa
Lo saron oo e

1 CM14 Caliper Carrier 22,5

354 mm

CARRIER  OM14

264 mm

218 mm

Caliper Carrier (22,5")
Marka / Brand MERITOR

OEM NO 68325994, MCK1384

C M 1 5 Model Elsa 225, Ror Trailer
O - T ——

iiiiee |

CARRIER  OM15

245 mm

350 mm

J

A9l.1]e

264 mm

211mm

Caliper Carrier (19,5")

ALCAN NO Marka / Brand MERITOR
C M 1 6 OEM NO 68324660, MCK1252
Model Elsa 195, Ror Trailer
m CODE DESCRIPTION m PIECE
(1) 1 CM16 Caliper Carrier 19,5’

CARRIER  OM1G

305 mm

250 mm
Caliper Carrier (22,5")
Marka / Brand MERITOR
ALCAN NO OEM NO 68324200, MCK1138, 81.50802.6023, 85107911,

5006028412, 0501214607, MCK1368, 503130937

c M 1 7 Model Elsa 225, MAN

NO | CODE DESCRIPTION DIMENSION PIECE

220 mm
294 mm

380 mm

1 CM17 Caliper Carrier 22,5’ 1
408 mm

CARRIER  OM1Y

274 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

Caliper Carrier (19,5")

211 mm

ALCAN NO Marka / Brand MERITOR
c M 1 8 OEM NO 68325353, MCK1321, 85109888
Model Elsa 195, Volvo 345 mim
NO | CODE DESCRIPTION DIMENSION | PIECE SE—
1 CcMm18 Caliper Carrier 19,5’ 1

350 mm

0 369 mm

CARRER  CW1E

263,5 mm

Caliper Carrier (19,5")

217 mm

Marka / Brand MERITOR
C M 1 9 OEM NO 68323828
Model LE DUCO
Lo oo o i s
1 CM19 Caliper Carrier 19,5’ Zailll

369 mm

CARRIER  C319

305 mm

Caliper Carrier (22,5")

| -
ALCAN NO Marka / Brand MERITOR Q
c M 20 OEM NO MCK1138, 81.50802.6023, 68324200 ‘:
Model Elsa 2 S
NO | CODE DESCRIPTION DIMENSION PIECE 8

1 CM20 Caliper Carrier 22,5’ 1 \\ ' ' ' '

@
CARRIER CM20
305 mm

250 mm

Caliper Carrier (22,5")

ALCAN NO Marka / Brand MERITOR i 2
c M 21 OEM NO MCK1368, 503130937, 68324200 JB0 mm
Model Elsa 225

408 mm

o o oseumon L ownson e S -
1 CM21 Caliper Carrier i i i t \'@

o

CARRIER  CM21

259 mm

Caliper Carrier (22,5)

ALCAN NO Marka / Brand HALDEX
c FO 1 OEM NO -
Model SAF Axle - MODUL T
(ee]»]3 DESCRIPTION m PIECE
| No | coe - .
1 CFo1 Caliper Carrier 22,5’

3le mm

CARRIER  CFON

www.alcanotomotiv.com 275







IA\\ WSt

www.alcanotomotiv.com



A\\ A L.CAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

’ Caliper Sensor Cable (Front Right)

f ALCAN NO Marka / Brand MERITOR
( OEM NO 5001856032, 68326716
| i)
/"'I CAB3002-230cm Model CALIPER SENSOR CABLE
1 CABO09 Caliper Sensor Cable 230 cm

230cm

KNORR  CAB3I002

’ Caliper Sensor Cable (Rear Right)
;' Marka / Brand MERITOR

OEM NO 5001856034, 68326714

CAB3003-1 40cm Model CALIPER SEN,SOR CABLE
o ssaro oo i

1 CAB10 Caliper Sensor Cable 140 cm

140cm

KNORR  CABI003

a|qed

Caliper Sensor Cable (Front Right)

ALCAN NO Marka / Brand MERITOR
OEM NO 20928560, 23740273, 68326746,
CAB3006-520cm 7420928560
Model CALIPER SENSOR CABLE

m CODE DESCRIPTION m PIECE

1 CAB11 Caliper Sensor Cable 520 cm 1

KNORR  CAB3I00G

Caliper Sensor Cable (Front Left)

Marka / Brand MERITOR
OEM NO 20928559, 23740272, 68326745,
CAB3008-360cm 7420928559
Model CALIPER SENSOR CABLE

[ No  copE DESCRIPTION _ DIMENSION | PIECE

1 CAB12 Caliper Sensor Cable 360 cm 1

KNORR  CAB3I008

278 Www.alcanotomotiv.com/




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

o
Caliper Sensor Cable

ALCAN NO Marka / Brand | MERITOR
OEM NO \ 20928533, 68326729

CAB3010-150cm Model |  CALIPER SENSOR CABLE
oo son s ke

1 CAB13 Caliper Sensor Cable 150 cm

KNORR  CABIOTO

Caliper Sensor Cable (Front Right - Left)

ALCAN NO Marka / Brand | MERITOR
81.25937.6039, 68326720,
CAB3012-135cm OEMNO ‘ 81.25937.6015
Model CALIPER SENSOR CABLE
m CODE DESCRIPTION m PIECE
1 CAB14 Caliper Sensor Cable 135cm 1

135cm

KNORR  CABI012

@
)
S
&)

Caliper Sensor Cable (Rear Right)
Marka / Brand | MERITOR

OEM NO ‘ 81.25937.6044, 68326725

CAB3014-175cm Model | CALIPER SENSOR CABLE
oo son v ke

1 CAB15 Caliper Sensor Cable 175 cm

175cm

KNORR  CABI0T4

Caliper Sensor Cable
Marka / Brand \ MERITOR

OEM NO ‘ 20928541, 68326733

CAB301 5 1 56 cm Model CALIPER SENSOR CABLE
mm

1 CAB16 Caliper Sensor Cable 156 cm

156 cm

KNORR  CABIOTS

\WWW.aICanotomotiv.com\ 279




A\\ A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

o
’ Caliper Sensor Cable

[ ALCAN NO Marka / Brand | MERITOR
| 68326911, 68327005, 21665041,
CAB3025-130cm " 23740277
Model CALIPER SENSOR CABLE

1 CABO017 Caliper Sensor Cable 130 cm 1

130cm

KNORR  CABI0ZS

’ Caliper Sensor Cable

Marka / Brand i MERITOR
OEM NO 81.25937.6042, 68326723
CAB3048 1 75cm Model CALIPER SENSOR CABLE
mm
1 CABO018 Caliper Sensor Cable 175 cm
175cm
Q KNORR  CABI04R
O
(]
° .
’ Caliper Sensor Cable
f Marka / Brand } MERITOR
| OEM NO 81.25937.6043, 68326724
| CAB3049-175cm Model | CALIPER SENSOR CABLE

m CODE DESCRIPTION m PIECE

1 CAB019 Caliper Sensor Cable 175 cm

175cm

KNORR  CAB30M0

@
., Caliper Sensor Cable (with socket)
|
| Marka / Brand } KNORR
OEM NO 449 756 004 0
CAB1031-G1-40cm Model | CALIPER SENSOR CABLE
o oo osario  siwiow i

. e 1 CABO01-40cm Caliper Sensor Cable 40 cm

2 SKo1 Socket - 1

40cm

KNORR  CAB1031-GY

280 /Www.alcanotomotiv.com/




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A LCAN
purposes only, and may not be used in invoices o T o M o T I v

0
Caliper Sensor Cable (with socket) ‘ .
Marka / Brand i KNORR I\
OEM NO 449 756 007 0 ,
CAB1031-G2-70cm Model | CALIPER SENSOR CABLE '

S
m CODE DESCRIPTION m PIECE

1 CABO01-70cm Caliper Sensor Cable

70 cm
2 SKO01 Socket - 1 . )
@
Caliper Sensor Cable (with socket) ‘ .
Marka / Brand | KNORR Hn,
OEM NO 449756 0130 .
CAB1031-G3-130cm "' ~

‘ CALIPER SENSOR CABLE

m CODE DESCRIPTION m PIECE

1 CAB01-130cm Caliper Sensor Cable

130 cm e
2 SKO1 Socket - 1

130cm

KNORR  CABT037-G3 2
0
]
O
Caliper Sensor Cable (with socket) o
P @Y C N marka / Brand } KNORR ‘ .
OEM NO 449756 015 0 : ;
CAB1031-G4-150cm Model | CALIPER SENSOR CABLE '|| |'I
o oo osaon oo v A |
1 CABO01-150cm Caliper Sensor Cable 150 cm
2 SKo1 Socket - 1
Q-
@
Caliper Sensor Cable (with socket) ‘ .
T II
Marka / Brand } KNORR |||I II'
OEM NO 449756 017 0 .
CAB1031-G5-170cm Model | CALIPER SENSOR CABLE h

m CODE DESCRIPTION m PIECE

1 CAB01-170cm Caliper Sensor Cable

170 cm
&
2 SKO1 Socket - 1

KNORR  CAB1031-GS

170cm

\WWW.aICanotomotiv.com\

281



A\\ A L.CAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

@
. Caliper Sensor Cable (with socket)

|' Marka / Brand i KNORR
|' OEM NO 4497560200
' CAB1031-G6-200cm Model | CALIPER SENSOR CABLE
o o osaron owesou i
1 CAB01-200cm Caliper Sensor Cable 200 cm

2 SKO01 Socket - 1
Q-

200cm

KNORR  CAB10371-G6

Caliper Sensor Cable (with socket)

Marka / Brand i KNORR
OEM NO 449 756 022 0
CAB1031-G7-220cm Model | CALIPER SENSOR CABLE

o o oscmon ot e
. ) 1 CAB01-220cm Caliper Sensor Cable 220 cm
2 SKO1 Socket - 1
220cm
Q KNORR  CAB10371-G7
O
()
o . .
. Caliper Sensor Cable (with socket)
. Marka / Brand} KNORR
| OEM NO 449 756 023 0
|' CAB1031-G8-230cm Model | CALIPER SENSOR CABLE
oo osceron__ owewiow pec
1 CAB01-230cm Caliper Sensor Cable 230 cm

2 SKO1 Socket - 1
&

230cm

KNORR  CABT031-GE

@
., Caliper Sensor Cable (with socket)
| Marka / Brand} KNORR
OEM NO 449 756 035 0
CAB1031-G9-350cm Model | CALIPER SENSOR CABLE
oo ooy s e
. e 1 CABO01-350cm Caliper Sensor Cable 350 cm
2 SKo01 Socket - 1

350cm

KNORR  CAB10371-GO

282 /Www.alcanotomotiv.com/




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A LCAN
purposes only, and may not be used in invoices o T o M o T I v

@
Caliper Sensor Cable (with socket) ‘ .
Marka / Brand | KNORR 'h

OEMNO 449 756 050 0 ,

CAB1031-G10-500cm Model | CALIPER SENSOR CABLE L
mmm

1 CABO01-500cm Caliper Sensor Cable 500 cm

2 SKO01 Socket - 1 . )

KNORR  CAB1031-G10

=

B00cm

@
Caliper Sensor Cable (with socket) ‘ .
Marka / Brand i KNORR ||||
OEM NO 449 756 080 0 g
CAB1031-G11-800cm ., | CALIPER SENSOR CABLE
o oo osaron ouisen e
1 CAB01-800cm Caliper Sensor Cable 800 cm . )
2 SKo1 Socket - 1
KNORR  CAB10371-G11 o 2
o)
1]
O
Caliper Sensor Cable (with socket) o
Marka / Brand } KNORR ‘ .
OEM NO 449 756 100 0 , j
CAB1031-G12-1000cm | CALIPER SENSOR CABLE '|| |
o o osarno awaso vec SR |
1 CAB01-1000cm Caliper Sensor Cable 1000 cm
2 SKo1 Socket - 1
9
@
Caliper Sensor Cable (with socket) ‘ .
Marka / Brand } KNORR l'.l II'
OEM NO 449 756 120 0 \
CAB1031-G13-1200cm ., | CALIPER SENSOR CABLE h
Mo cob: oescurriov _ owension miace |
1 CAB01-1200cm Caliper Sensor Cable 1200 cm 1 e
2 SKO01 Socket - 1

1200cm

KNORR  CAB1031-G13

\WWW.aICanotomotiv.com\ 283




A\\ A L.CAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

@
. Caliper Sensor Cable (with socket)

f ALCAN NO Marka / Brand KNORR
J OEM NO -

CAB1032-K1-40cm Model CALIPER SENSOR CABLE
oo o owsiow e

1 CAB02-40cm Caliper Sensor Cable 40 cm
2 SKO1 Socket - 1

KNORR  CABTO03ZK1

A0cm

~ Caliper Sensor Cable (with socket)
! Marka / Brand KNORR

OEM NO =

CAB1032-K2-70cm Model CALIPER SENSOR CABLE
oo s oo e

1 CAB02-70cm Caliper Sensor Cable 70 cm

&
2 SKO1 Socket - 1

70cm

KNORR  CABT03ZK2

0
o
=
)

. Caliper Sensor Cable (with socket)
: Marka / Brand KNORR

OEM NO =

J CAB1032-K3-130cm Model CALIPER SENSOR CABLE
o oo osamon oo i

1 CAB02-130cm Caliper Sensor Cable 130 cm
2 SKo1 Socket - 1

KNORR  CABT03ZKS

Caliper Sensor Cable (with socket)
Marka / Brand KNORR

OEM NO -

CAB1032-K4-150cm Model CALIPER SENSOR CABLE
I T

1 CABO02-150cm Caliper Sensor Cable 150 cm
2 SKO1 Socket - 1

KNORR  CABT03Z2K4

284 www.alcanotomotiv.com




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A\\ A LCAN

purposes only, and may not be used in invoices
OTOMOTIV

(1]

Caliper Sensor Cable (with socket) @
Marka / Brand KNORR

CAB1032-K5-170 e :

Finae e cm Model CALIPER SENSOR CABLE

o osaron oo ke

1 CAB02-170cm Caliper Sensor Cable 170 cm

2 SKO1 Socket - 1

KNORR  CABT03ZKS

Caliper Sensor Cable (with socket)

Marka / Brand KNORR
CAB1032-K6-200cm  °.""° '
Model CALIPER SENSOR CABLE
o o csaon oo sice
1 CAB02-200cm Caliper Sensor Cable 200 cm . e
2 SKO1 Socket - 1

200cm

KNORR  CABT03ZKE

@
)
S
&)

Caliper Sensor Cable (with socket)

Marka / Brand KNORR
CAB1032-K7-220cm  °.° '
Model CALIPER SENSOR CABLE
o oo ey oo ke
1 CAB02-220cm Caliper Sensor Cable 220 cm
2 SKO1 Socket - 1

KNORR  CABTOZZKT

220cm

Caliper Sensor Cable (with socket)

Marka / Brand KNORR
CAB1032-K8-230cm  °;'° :
Model CALIPER SENSOR CABLE
o ox  osmon oo e
1 CAB02-230cm Caliper Sensor Cable 230 cm . o
2 SKo1 Socket - 1

230cm

KNORR  CABT03ZKS

\vvww.aloanotomotiv.com 285




A\\ A L.CAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

@
. Caliper Sensor Cable (with socket)

f ALCAN NO Marka / Brand KNORR
J OEM NO -

CAB1032-K9-350cm Model CALIPER SENSOR CABLE
m-m-mm

1 CAB02-350cm Caliper Sensor Cable 350 cm
2 SKO1 Socket - 1

KNORR  CABT03ZKS

Caliper Sensor Cable (with socket)
Marka / Brand KNORR

OEM NO =

CAB1032-K10-500cm Model CALIPER SENSOR CABLE
mmm

1 CAB02-500cm Caliper Sensor Cable 500 cm

&
2 SKO1 Socket - 1

B00cm

KNORR  CABTOZZK10

a|qed

Caliper Sensor Cable (with socket)
Marka / Brand KNORR

OEM NO =

CAB1032-K11-800cm Model CALIPER SENSOR CABLE
mmm

1 CAB02-800cm Caliper Sensor Cable 800 cm
2 SKo1 Socket - 1

KNORR  CABT0ZZK17

Caliper Sensor Cable (with socket)
Marka / Brand KNORR

OEM NO -

CAB1032-K12-1000cm Model | CALIPER SENSOR CABLE
o o eamo ahnson ke

1 CABO02-1000cm Caliper Sensor Cable 1000 cm
2 SKo1 Socket - 1

KNORR  CABTOZZK12

286 Www.alcanotomotiv.com/




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for compari

r nly, and may not b dmmvS\on A\\ALICAN
purposes only, al ay not be use oices OTOMOTIV

(1]
Caliper Sensor Cable (with socket) @
Marka / Brand | KNORR
CAB1032-K13-1200cm  °""° '
Model ‘ CALIPER SENSOR CABLE
I S e T
1 CAB02-1200cm Caliper Sensor Cable 1200 cm
2 SKO1 Socket - 1 . e
_ (1]
»
Caliper Sensor Cable (with socket)
|
Marka / Brand | KNORR \ J
CAB1033-U1-40cm  *® ' '
Model CALIPER SENSOR CABLE
mm
1 CABO03-40cm Caliper Sensor Cable
2

40 cm
SKo1

. e
Socket - 1

40cm

KNORR  CABT033UT

K
o)
1]
(& )
Caliper Sensor Cable (with socket)
Marka / Brand | KNORR
CAB1033-U2-70cm "' :
Model ‘ CALIPER SENSOR CABLE
Lol cove L osenrrion L pwesion Lo
1 CABO03-70cm Caliper Sensor Cable 70 cm
2 SKO1 Socket - 1
Q-
[ ‘;a
Caliper Sensor Cable (with socket)
|
Marka / Brand | KNORR s
CAB1033-U3-130cm  °"'° :
Model ‘ CALIPER SENSOR CABLE
ol e L pssoneron, L owenson L
1 CABO03-130cm Caliper Sensor Cable
2

130 cm
SKo1

. e
Socket - 1

130cm

KNORR  CAB1033-U3

\WWW.aICanotomotiv.com\

287



A\ Parery

S

KNORR  CAB1033-U4

150cm

e
170ecm
m" KNORR  CAR1033US
—
T
|
|
|
o
200em
KNORR  CAB1033- U6
T
|
|
|
e

KNORR  CART03E3UT

220cm

All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison
purposes only, and may not be used in invoices

. Caliper Sensor Cable (with socket)

Marka / Brand \ KNORR
CAB1033-U4-150cm  °™""° '
Model ‘ CALIPER SENSOR CABLE
o on  sscumon e ke
1 CABO03-150cm Caliper Sensor Cable 150 cm
2 SKo1 Socket - 1

Caliper Sensor Cable (with socket)

Marka / Brand | KNORR
CAB1033-U5-170cm "' '
Model ‘ CALIPER SENSOR CABLE
o o oo - gucwion e
1 CABO03-170cm Caliper Sensor Cable 170 cm
2 SKO1 Socket - 1

Caliper Sensor Cable (with socket)

Marka Brand| NORR
CAB1033-U6-200cm °™"'° '
Model ‘ CALIPER SENSOR CABLE

m CODE DESCRIPTION W PIECE

1 CABO03-200cm Caliper Sensor Cable 200 cm
2 SKo1 Socket - 1

Caliper Sensor Cable (with socket)

Marka / Brand | KNORR
CAB1033-U7-220cm  °"'° '
i Model | CALIPER SENSOR CABLE

m CODE DESCRIPTION W PIECE

1 CABO03-220cm Caliper Sensor Cable 220 cm
2 SKo1 Socket - 1

288 /Www.alcanotomotiv.com/




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for compari

r ALCAN
purposes only, and may not be used in lnvoR A\\

OTOMOTIV
Caliper Sensor Cable (with socket)
Marka / Brand |

KNORR II
CAB1033-U8-230cm  °™'°

Model

‘ CALIPER SENSOR CABLE
o oo osaon oo pice
1

CABO03-230cm

2 SKO1

Caliper Sensor Cable

230 cm
Socket

KNORR  CAB1033-US

@ o
Caliper Sensor Cable (with socket) |

ALCAN NO Marka / Brand |

KNORR II
CAB1033-U9-350cm °™'°

Model

S
‘ CALIPER SENSOR CABLE
o oo osaon  puison ek
1 CABO03-350cm

2 SKo1

Caliper Sensor Cable 350 cm

. e
- 1

a50em
KNORR  CAB1033-US

Socket

Cable

Caliper Sensor Cable (with socket)
Marka / Brand |

KNORR
CAB1033-U10-500cm  °"'°

‘ CALIPER SENSOR CABLE

m CODE DESCRIPTION m PIECE
1

Model

CAB03-500cm

2 SKo1

Caliper Sensor Cable

500 cm
Socket

B00cm
KNORR  CABT033LUI0

Caliper Sensor Cable (with socket) '
Marka / Brand |

KNORR I
CAB1033-U11-800cm  *""° | '

‘ CALIPER SENSOR CABLE
m CODE DESCRIPTION W PIECE
1

CAB03-800cm

Caliper Sensor Cable 800 cm
2 SKO01

. e
Socket - 1

anbcm
KNORR  CABT033UTT

\WWW.aICanotomotiv.com\

289



A\\ A L.CAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices
OTOMOTIV

@
. Caliper Sensor Cable (with socket)

f ALCAN NO Marka / Brand KNORR

|' OEM NO -

- CAB1033-U12-1000cm Model CALIPER SENSOR CABLE
IEWW

1 CAB03-1000cm Caliper Sensor Cable 1000 cm

2 SKO01 Socket - 1
Q-

1000 cm

KNORR  CABTO33LAZ

~  Caliper Sensor Cable (with socket)

. Marka / Brand KNORR
CAB1033-U13-1200cm >=""° -

Model CALIPER SENSOR CABLE

. ) 1 CAB03-1200cm Caliper Sensor Cable 1200 cm

2 SKO1 Socket - 1

1200 cm

KNORR  CABT033LN3

0
o
=
)

. Caliper Sensor Cable (with socket)
i Marka / Brand KNORR

OEM NO =

CAB1 034-G-200cm Model CALIPER SENSOR CABLE
o oo oehon oo i

1 CAB04-200cm Caliper Sensor Cable 200 cm

2 SKO1 Socket - 1
&

200cm

KNORR  CABT034-0

Caliper Sensor Cable (with socket)
Marka / Brand KNORR

OEM NO -

CAB1034-Y-200cm Model | CALIPER SENSOR CABLE

m CODE DESCRIPTION m PIECE
. e 1 CABO06-200cm Caliper Sensor Cable 200 cm

2 SKo1 Socket - 1

200cm

KNORR  CABT034-%

290 /Www.alcanotomotiv.com/




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

purposes only, and may not be used in invoices A\\

OTOMOTIV

Caliper Sensor Cable (with socket)

@ o

Marka / Brand KNORR "I '
OEM NO - L
CAB1034-T-200cm Model | CALIPER SENSOR CABLE
o o o oo sice
1 CAB05-200cm Caliper Sensor Cable 200 cm
2 SKO01 Socket - 1 . )
KNORR  CAB1034-T
) - @
Caliper Sensor Cable (with socket) --
|
Marka / Brand KNORR "-\
OEM NO -
CAB1034-5-200cm Model CALIPER SENSOR CABLE
oo csaron  uvon e
1 CAB07-200cm Caliper Sensor Cable
2

200 cm
SKo1

£2
Socket - 1

200cm

KNORR  CAB1034-5

@
)
S
&)

Caliper Sensor Cable

Marka / Brand KNORR
OEM NO -
CAB1 035-40cm Model CALIPER SENSOR CABLE
o o osaron e e
1 CABO08-40cm Caliper Sensor Cable 40 cm
2 SKo1 Socket - 1
. e
A0cm
KNORR  CAB1035
Caliper Sensor Cable
Marka / Brand KNORR
OEM NO -
CAB1 035-70cm Model CALIPER SENSOR CABLE
o on oo owwio e
1 CABO08-70cm Caliper Sensor Cable 70 cm
2 SKo1

. e
Socket - 1

70cm
KNORR  CAB103S

\vvww.alcanotomotiv.com

201



A\\ A L.CAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison

OTOMOTIV

130cm

KNORR  CAB103S

150cm

KNORR  CAB103S

a|qed

170cm

KNORR  CAB103S

200cm

KNORR  CAB103S

purposes only, and may not be used in invoices

Caliper Sensor Cable

Marka / Brand KNORR
CAB1 035_1 30cm OEM NO 449753 0120
Model CALIPER SENSOR CABLE
o e awesen e
1 CAB08-130cm Caliper Sensor Cable 130 cm
2 SKO1 Socket - 1

Caliper Sensor Cable

Marka / Brand KNORR
CAB1035-150cm OEMNO :

Model CALIPER SENSOR CABLE

m CODE DESCRIPTION m PIECE

1 CABO08-150cm Caliper Sensor Cable 150 cm
2 SKO01 Socket - 1

Caliper Sensor Cable
Marka / Brand KNORR

OEM NO =

CAB1 035-1 70cm Model CALIPER SENSOR CABLE
o oo osamon  oueisou ek

1 CABO08-170cm Caliper Sensor Cable 170 cm
2 SKo1 Socket - 1

Caliper Sensor Cable

Marka / Brand KNORR
CAB1 035_200cm OEM NO 449 753 0200
Model CALIPER SENSOR CABLE
oo oeaon oo ke
1 CABO08-200cm Caliper Sensor Cable 200 cm
2 SKO01 Socket - 1

292 Www.alcanotomotiv.com/




All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A LCAN
purposes only, and may not be used in invoices o T o M o T I v

Caliper Sensor Cable

ALCAN NO Marka / Brand KNORR
OEM NO -

CAB1035-220cm Model | CALIPER SENSOR CABLE

| NO CODE DESCRIPTION m PIECE
220 cm

1 CAB08-220cm Caliper Sensor Cable
2 SKO01

Socket

220cm

KNORR  CAB103S

Caliper Sensor Cable (with socket)

KNORR

ALCAN NO Marka / Brand
OEM NO -

CAB1035-230cm Model CALIPER SENSOR CABLE

m CODE DESCRIPTION m PIECE
230 cm

Caliper Sensor Cable

1 CAB08-230cm
2 SKO1 Socket - 1
230cm
_ ()]
KNORR  CAB1035 —
o)
1]
(& )
Caliper Sensor Cable
Marka / Brand KNORR G
OEM NO 449 753 025 0 :
CAB1 035-250cm Model CALIPER SENSOR CABLE III
1 CABO08-250cm Caliper Sensor Cable 250 cm
2 SKO1 Socket - 1
250 cm
KNORR  CAB103S
Caliper Sensor Cable .
II
ALCAN NO Marka / Brand KNORR .'I
OEM NO - o
CAB1 035-350cm Model CALIPER SENSOR CABLE 2
oL cooe L ossonron _pwision L
1 CABO08-350cm Caliper Sensor Cable 350 cm
2 SKO01 Socket - 1
asDem
KNORR  CAB103S
293

\vvww.alcanotomotiv.com




OTOMOTIV

A LCAN All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison
A purposes only, and may not be used in invoices

. Caliper Sensor Cable

' Marka / Brand KNORR
' OEM NO =
|

CAB1035-500cm Model CALIPER SENSOR CABLE

- | NO CODE DESCRIPTION m PIECE

1 CAB08-500cm Caliper Sensor Cable 500 cm
2 SKO1 Socket - 1

B00cm

KNORR  CAB103S

Caliper Sensor Cable

ALCAN NO Marka / Brand KNORR
449 753 055 0

OEM NO

CAB1035-550cm Model CALIPER SENSOR CABLE

m CODE DESCRIPTION W PIECE

1 CABO08-550cm Caliper Sensor Cable 550 cm
2 SKO01 Socket

550cm

KNORR  CAB103S

a|qed

Caliper Sensor Cable

@ Marka / Brand KNORR
| OEM NO -
I CAB1 035-800cm Model CALIPER SENSOR CABLE

]
o m CODE DESCRIPTION m PIECE

1 CABO08-800cm Caliper Sensor Cable 800 cm
2 SKo1 Socket

anbcm

KNORR  CAB103S

. Caliper Sensor Cable
u'l Marka / Brand KNORR
OEM NO 449753 100 0

- CAB1 035-1 ooocm Model CALIPER SENSOR CABLE
oo osaro o e
1 CABO08-1000cm Caliper Sensor Cable 1000 cm
2 SKo1 Socket 1

1000 cm

KNORR  CAB103S

Www.alcanotomotiv.com/

294



All original numbers, marks and models from vehicle manufacturers listed in this catalogue are for comparison A LCAN
purposes only, and may not be used in invoices o T o M o T I v

Caliper Sensor Cable

Marka / Brand KNORR
CAB1035-1200cm OEMNG -

Model CALIPER SENSOR CABLE

o oo osaon ousison ek

1 CAB08-1200cm Caliper Sensor Cable 1200 cm

2 SKO01 Socket - 1 . )

KNORR  CAB103S

1200 cm

Caliper Sensor Cable

Marka / Brand KNORR
OEM NO 449 753200 0
CAB1 035-2000cm Model CALIPER SENSOR CABLE
ot oo oo sice
1 CAB08-2000cm Caliper Sensor Cable 2000 cm )
2 SKo1 Socket - 1

2000 cm

KNORR  CAB103S

Cable

Caliper Sensor Cable
Marka /Brand MERITOR

68326519, 68326694,

CAB3030-185cm L 21206870, 7421296870

Model CALIPER SENSOR CABLE
m CODE DESCRIPTION m PIECE

1 CAB20-185cm Caliper Sensor Cable 185 cm 1

1B5cm

KNDRR  CAB3I0A0

Caliper Sensor Cable
Marka / Brand MERITOR

68326514, 68326689,

CAB3031-185cm L 21206865, 7421296865

Model CALIPER SENSOR CABLE
m CODE DESCRIPTION m PIECE
1 CAB21-185cm Caliper Sensor Cable 185 cm 1

1B5cm

KNDRR  CAB3I03T

\vvww.aloanotomotiv.com 295




IN\Parey

Caliper Brake Systems

Meritor

CODE DESCRIPTION Marka / Brand

2001 Brake Caliper Tappet Boot Set Meritor

2002 Brake Caliper Tappet Boot Set Meritor 35
2003 Caliper Adjusting Mechanism (Front) Meritor 9
2004 Caliper Adjusting Mechanism (Rear-Left) Meritor 9
2005 Caliper Adjusting Mechanism (Rear-Right) Meritor 9
2006  Caliper Tappet Head Repair Kit Meritor 10
2007  Caliper Guide and Seals Repair Kit (Front) Meritor 11
2008  Caliper Guide and Seals Repair Kit (Rear) Meritor 10
2009  Caliper Guide and Seals Repair Kit (Front) Meritor 12
2010 Caliper Adjusting Tappet Repair Kit (Right) / Half Kit Meritor 13
2011 Caliper Roller Bearing Kit Meritor 15
2012  Caliper Roller Bearing Kit Meritor 48
2013  Caliper Cover Plate Gasket Kit Meritor 16
2014  Caliper Cover Plate Gasket Kit Meritor 16
2015  Caliper Cover Plate Gasket Kit Meritor 16
2016 Intermediate Gear & Spring Set Meritor 17
2017 Caliper Adjusting Mechanism (Left) Meritor 18
2018 Caliper Adjusting Mechanism (Right) Meritor 18
2019 Caliper Adjusting Gear (Left) Meritor 23
2020 Caliper Adjusting Gear (Right) Meritor 23
2021 Caliper Adjusting Mechanism Sealing Kit Meritor 24
2022 Caliper Calibration Mechanism (Aluminium) Meritor 24
2023 Calibration Mechanism Complete Meritor 25
2024 Caliper Adjuster Mechanism Meritor 27
2025 Caliper Brake Lining Calibration Gear Meritor 27
2026 Caliper Tappet Head Repair Kit Meritor 34
2027  Caliper Guides and Bushes Repair Kit Meritor 44
2028 Caliper Guides and Bushes Repair Kit Meritor 43
2029 Caliper Guides and Bushes Repair Kit Meritor 18
2030 Caliper Guides and Bushes Repair Kit Meritor 43
2031 Caliper Guides and Bushes Repair Kit Meritor 53
2032  Caliper Guides and Bushes Repair Kit Meritor 36
2033 Caliper Repair Kit Meritor 14
2034  Caliper Guides and Bushes Repair Kit Meritor 39
2035 Brake Caliper Boot & Seal Set Meritor 19
2036 Caliper Repair Kit Meritor 58
2037 Caliper Adjusting Gear Kit (Left) Meritor 20
2038 Caliper Adjusting Gear Kit (Right) Meritor 21
2039  Caliper Adjusting Gear (Left) Meritor 22
2040  Caliper Adjusting Gear (Right) Meritor 22
2041 Adjusting Gear Kit (Left) - 35 mm - Meritor 45
2042  Adjusting Gear Kit (Right) - 35 mm - Meritor 44
2043 Caliper Eccentric Shaft Meritor 48
2044 Mechanism Repair Kit Meritor 24
2045 Caliper Adjuster Dust Cover Meritor 39
2046 Caliper Calibration Mechanism (Aluminium) Meritor 26
2047 Calibration Mechanism Complete Meritor 26

www.alcanotomotiv.com



CODE DESCRIPTION Marka / Brand

2048 Caliper Adjusting Gear Meritor

2049  Caliper Guide and Dust Cover Repair Kit Meritor 14
2050 Caliper Repair Kit Meritor 40
2051 Caliper Guides and Bushes Repair Kit Meritor 47
2053 Needle & Roller Bearings Meritor 23
2054 Caliper Cover Plate Gasket Meritor 15
2055 Caliper Cover Plate Gasket Meritor 15
2056  Caliper Cover Plate Gasket Meritor 16
2057  Caliper Cover Plate Gasket Meritor 28
2058  Caliper Cover Plate Gasket Meritor 28
2059 Round Bush Meritor 47
2060 Caliper Adjusting Tappet Repair Kit (Left) Meritor 12
2061 Caliper Adjusting Tappet Repair Kit (Right) Meritor 13
2066  Adjusting Gear Ball Meritor 22
2069 Caliper Roller Bearing (Set) Meritor 49
2070 Shaft Setting Lever Meritor 52
2071 Caliper Pad Retainer Meritor 56
2072 Caliper Shaft Bearing Meritor 52
2073 Caliper Bearing Caps Meritor 47
2074 Caliper Visual Pad Wear Assembly Meritor 41
2075  Caliper Visual Pad Wear Assembly Meritor 14
2076 Caliper Tappet Head Repair Kit Meritor 35
2077 Caliper Repair Kit Meritor 37
2078 Caliper Repair Kit Meritor 37
2079 Caliper Repair Kit Meritor 38
2080 Caliper Repair Kit Meritor 38
2081 Caliper Shaft Fittings Repair Kit Meritor 52
2082 Pin Boot Meritor 44
2083  Adjusting Mechanism Clutch System (Left) Meritor 45
2084  Adjusting Mechanism Clutch System (Left) Meritor 45
2085 Adjusting Mechanism Clutch System (Right) Meritor 46
2086 Adjusting Mechanism Clutch System (Right) Meritor 46
2087 Caliper Ipat Retainer Repair Kit Meritor 42
2088 Caliper Pistons & Pinions Repair Kit (Left) Meritor 54
2089 Caliper Pistons & Pinions Repair Kit (Right) Meritor 54
2090  Caliper Adjusting Tappet Repair Kit (Left) / Half Kit Meritor 55
2091 Caliper Adjusting Tappet Repair Kit (Right) / Half Kit Meritor 55
2092 Caliper Repair Kit Meritor 53
2093  Actuator Seal Meritor 48
2094 Central Fork & Gear Meritor 56
2095 Brake Caliper Locking Shim Meritor 47
2096 Small Gear Mechanism (Left) Meritor 13
2097 Small Gear Mechanism (Right) Meritor 13
2098 Caliper Adjusting Tappet Repair Kit (Left) /Full Kit Meritor 55

www.alcanotomotiv.com




IN\Parey

Caliper Brake Systems

CODE DESCRIPTION Marka / Brand

2099 Caliper Adjusting Tappet Repair Kit (Right) / Full Kit Meritor

2100 Brake Caliper Lever Meritor 32
2101 Caliper Anti Rotation Plate Meritor 14
2102 Brake Caliper Lever Meritor 32
2103 Caliper Repair Kit Meritor 40
2104 Caliper Repair Kit Meritor 40
2105 Caliper Guide and Seals Repair Kit (Rear) Meritor 10
2106  Caliper Guide and Seals Repair Kit (Front) Meritor 11
2107  Caliper Calibration Mechanism Meritor 27
2108  Calibration Mechanism Complete Meritor 27
2109 Duco Cap Cover Bolts Meritor 57
2110 Operating Seals Meritor 28
2111 Brake Caliper Lever Meritor 33
2112 Caliper Adjusting Gear Meritor 29
2113 Brake Caliper Lever ( Right ) Meritor 32
2114 Brake Caliper Lever ( Left) Meritor 32
2115 Caliper Push Plate Repair Kit ( Left) Meritor 54
2116 Caliper Push Plate Repair Kit ( Right ) Meritor 54
2119 Caliper Cover Plate Gasket (Metal Sheet) Meritor 17
2120 Caliper Cover Plate Gasket (Metal Sheet) Meritor 17
2121 Caliper Cover Plate Gasket (Metal Sheet) Meritor 17
2122 Caliper Guides and Bushes Repair Kit Meritor 57
2123 Caliper Bridge & Inner Bearing Meritor 49
2124 Caliper Roller Bearing (Set) Meritor 49
2125 Caliper Bridge & Tubes Repair Kit ( Left ) Meritor 50
2126 Caliper Bridge & Tubes Repair Kit ( Right ) Meritor 50
2127 Caliper Adjuster Sleeve &Thrust Plate Repair Kit ( Left ) Meritor 50
2128 Caliper Adjuster Sleeve &Thrust Plate Repair Kit ( Right ) Meritor 51
2129 Brake Caliper Lever Meritor 33
2130 Brake Caliper Lever Meritor 33
2131 Brake Caliper Lever (Left) Meritor 34
2132 Brake Caliper Lever (Right) Meritor 34
2133 Vacuum Test Adapter Plug Meritor 57
2134 Brake Caliper Lever Meritor 33
2135 Caliper Bridge & Tubes Repair Kit ( Left ) Meritor 51
2136 Caliper Bridge & Tubes Repair Kit ( Right ) Meritor 51
2137  Caliper Calibration Mechanism (Aluminium) Meritor 25
2138  Caliper Spring Retainers Thrust Repair Kit (Left) Meritor 46
2139 Caliper Spring Retainers Thrust Repair Kit (Right) Meritor 46
2140 Caliper Guides and Bushes Repair Kit Meritor 37
2141 Caliper Ipat Retainer Repair Kit Meritor 42
2142 Caliper Visual Pad Wear Assembly Meritor 41
2143 Caliper Anti Rotation Plate Meritor 41
2145  Caliper Tappet Dust Cover Set Meritor 35
2146  Caliper Guides & Seals Repair Kit Meritor 36
2147  Caliper Guides & Seals Repair Kit Meritor 36
2148 Caliper Visual Pad Wear Assembly Meritor 41
2149 Shaft Setting Lever Meritor 21
2150 Brake Caliper Boot & Seal Set Meritor 19
2151 Caliper Adjusting Gear (Left) Meritor 23

www.alcanotomotiv.com



CODE DESCRIPTION Marka / Brand

2152 Caliper Adjusting Gear (Right) Meritor

2153 Caliper Roller Bearing Kit Meritor 34
2154 Caliper Calibration Mechanism (Aluminium) Meritor 26
2155 Caliper Guide and Seals Repair Kit (Front) Meritor 12
2156  Caliper Guide and Seals Repair Kit (Rear) Meritor 11
2157 Caliper Ipat Retainer Repair Kit Meritor 42
2158 Repair Kit - SET ( ELSA 1 - Right ) Meritor 7
2159 Repair Kit - SET ( ELSA 1 - Left) Meritor 8
2160 Repair Kit - SET ( DUCO - Left) Meritor 8
2161 Repair Kit - SET ( DUCO - Left) Meritor 8
2162 Repair Kit - SET ( Volvo - New Model ) Meritor 9
2164  Shaft Setting lever Meritor 22
2165 Caliper Roller Bearing Kit Meritor 15
2166 Brake Pad Retainer Repair Kit Meritor 56
2167 Ring Meritor 39
2168 Brake Caliper Lever Meritor 31
2169 Brake Caliper Lever Meritor 31
2170 Brake Caliper Lever Meritor 31
2171 Brake Caliper Lever Meritor 29
2172 Brake Caliper Lever Meritor 29
2173 Brake Caliper Lever Meritor 30
2174 Brake Caliper Lever ( Left) Meritor 30
2175 Brake Caliper Lever ( Right ) Meritor 30
2176 Brake Caliper Lever (Left) Meritor 30
2177 Brake Caliper Lever (Right) Meritor 31
2178  Caliper Guides and Bushes Repair Kit Meritor 43
2180 Caliper Guides and Bushes Repair Kit Meritor 18
2181 Adjusting Gear Shaft (Left-Rear / 26 Teeth) Meritor 58
2182 Adjusting Gear Shaft (Right-Rear / 26 Teeth) Meritor 58
2183 Washer Meritor 58
2184  Caliper Seal & Bush Set Meritor 58
2185  Adjusting Gear Shaft (Left-Front / 26 Teeth) Meritor 59
2186  Adjusting Gear Shaft (Right-Front / 48 Teeth) Meritor 59
2187 Mechanism Repair Kit (Left) Meritor 59
2188 Mechanism Repair Kit (Right) Meritor 59
2189 Adjusting Mechanism Clutch System (Left) Meritor 60
2190 Adjusting Mechanism Clutch System (Right) Meritor 60
2191 Caliper Gasket & Bolts Repair Kit Meritor 60
2192  Caliper Adjusting Gear (Left) Meritor 61
2193  Caliper Adjusting Gear (Right) Meritor 61
2194  Caliper Spline Shaft Ball Bearing Meritor 61
2195 Caliper Spline Shaft Ball Bearing Meritor 61
2196 Caliper Spline Shaft Bearing House - Left Meritor 62
2197  Caliper Spline Shaft Bearing House - Right Meritor 62
2198  Caliper Mechanism R. Kit / Rear - L - (26 Teeth) Meritor 7
2199 Caliper Mechanism R. Kit / Rear - Right - (26 Teeth) Meritor 7
2201 Adjusting Gear Shaft (Left-Front / 48 Teeth) Meritor 59
2202  Adjusting Gear Shaft (Right-Front / 26 Teeth) Meritor 58
2203 Caliper Mechanism Repair Kit / Front - L - (26 Teeth) Meritor 6
2204 Caliper Mechanism Repair Kit / Front - Right - (26 Teeth) Meritor 6

www.alcanotomotiv.com




IN\Parey

Caliper Brake Systems

CODE DESCRIPTION Marka / Brand

2205 Caliper Tappet Dust Cover Set Meritor
2206 Bolt Repair Kit Meritor 20
2207 Bolt Repair Kit Meritor 39
2208 Brake Caliper Tappet Boot Set Meritor 35
2209  Caliper Actuator Seal Set Meritor 17
2210 Caliper Shaft Fittings Repair Kit Meritor 52
2211 Caliper Repair Kit Meritor 38
2213 Brake Caliper Lever Meritor 29
2215 Caliper Repair Kit - Right Meritor 6
2216 Calibration Mechanism Complete Meritor 25
2217 Calibration Mechanism Complete Meritor 26
2218 Intermediate Gear (37,5 mm) Meritor 45
2219 Adjusting Gear Kit (Left) - 37,5 mm - Meritor 45
2220  Adjusting Gear Kit (Right) - 37,5 mm - Meritor 44
2221 Caliper Ipat Retainer Repair Kit Meritor 42
2222  Caliper Adjuster Dust Boot Meritor 39
2223  Caliper Brake Lining Calibration Gear Meritor 27
2224 Caliper Repair Kit Meritor 63
2225 Caliper Repair Kit Meritor 63
2227 Adjuster Seal & Boot Repair Kit Meritor 63
2228  Actuator Seal Set Meritor 63
2229  Caliper Guides and Bushes Repair Kit Meritor 64
2230 Pin Repair Kit Meritor 64
2231 Caliper Bridge Meritor 78
2232 Caliper Bridge Meritor 78
2233 Caliper Tappet Dust Cover Set Meritor 64
2234 Caliper Repair Kit Meritor 65
2236 Caliper Boot & Pin Repair Kit Meritor 65
2237 Caliper Boot & Pin Bush Set Meritor 65
2238 Caliper Boot & Pin Repair Kit Meritor 66
2239  Caliper Pin Boot Ring Set Meritor 66
CCMO01 Completely Caliper (Left) Meritor 78
CCM02 Completely Caliper (Right) Meritor 78
2240 Vacuum Test Adapter Plug Meritor 66
2241 Caliper Bearing Set Meritor 66
2242 Meritor Set Left Old Model Meritor 67
2243 Meritor Set Right Old Model Meritor 67
2244  Caliper Repair Kit Meritor 67
2245 Meritor Set Right Meritor 68
2246 Meritor Set Left Meritor 68
2247 Meritor Set Meritor 68
2248 Meritor Set Meritor 69
2249 Meritor Set Meritor 69
2250 Meritor Set Left Right New Model Meritor 69
2251 Meritor Set Left Right Meritor 70
2252 Lever Bearing Set Meritor 70
2253 Lever Bearing Set Meritor 70
2254 Lever Bearing Set Meritor 70
2255  Caliper Tappet Head Repair Kit Meritor 71
2256 Caliper Boot & Pin Repair Kit Meritor 71

www.alcanotomotiv.com



CODE DESCRIPTION Marka / Brand

2258 Meritor Set Meritor

2259 Caliper Repair Kit (Left) Meritor 72
2260 Pad Holder Meritor 72
2261 Pad Holder Set Meritor 72
2262 Caliper Plate (Tog) Meritor 72
2263 Indicator Bar (Metal) Meritor 73
2264  Caliper Visual Pad Wear Assembly (Metal) Meritor 73
2266 Caliper Repair Kit - Right Meritor 73
2267 Pad Holder Set Meritor 73
2268 Caliper Repair Kit Meritor 74
2269 Caliper Repair Kit Meritor 74
2270 Plug Set Meritor 74
2271 Caliper Roller Bearing Kit Meritor 74
2272  Caliper Repair Kit Meritor 75
2273  Caliper Repair Kit Meritor 75
2274 Screw Set Meritor 75
2275 Lever Meritor 75
2276 Caliper Repair Kit Meritor 76
2277 Lever Bearing Meritor 76
2278 Brake Caliper Lever Meritor 76
2279 Brake Caliper Lever Meritor 76
2280 Brake Caliper Lever Meritor 77
2282 Round Bush Set Meritor 77
2901 Caliper Repair Kit Meritor 77

www.alcanotomotiv.com




IN\Parey

Caliper Brake Systems

Knorr

CODE DESCRIPTION Marka / Brand

3001 Caliper Repair Kit Knorr

3002 Caliper Repair Kit Knorr 86
3003 Caliper Repair Kit Knorr 87
3004  Caliper Repair Kit Knorr 88
3005 Caliper Repair Kit Knorr 89
3006  Caliper Repair Kit Knorr 91

3007 Caliper Repair Kit Knorr 91

3008 Caliper Repair Kit Knorr 92
3009 Caliper Repair Kit Knorr 93
3010 Caliper Repair Kit Knorr 94
3011 Caliper Repair Kit Knorr 95
3012  Caliper Repair Kit Knorr 96
3013  Caliper Repair Kit Knorr 97
3015  Caliper Guide and Bush Knorr 102
3016  Caliper Repair Kit Knorr 103
3018  Caliper Guide and Bush Knorr 103
3019 Caliper Repair Kit Knorr 104
3021 Caliper Guide and Bush (@39mm) Knorr 105
3022 Caliper Repair Kit Knorr 105
3023 Caliper Guide and Bush Knorr 106
3024 Caliper Repair Kit Knorr 106
3025 Caliper Adjusting Mechanism - (Hexagonal Head) Knorr 108
3026  Caliper Adjusting Mechanism Knorr 108
3027  Caliper Adjusting Mechanism (Plastic body) Knorr 109
3028 Caliper Bellow and Steel Cap Repair Kit Knorr 111
3029 Caliper Tappet Repair Kit (69mm) Knorr 112
3030 Caliper Tappet Repair Kit (69mm) Knorr 112
3031 Caliper Tappet Repair Kit (74mm) Knorr 113
3032 Caliper Tappet Repair Kit (74mm) Knorr 113
3033 Caliper Tappet Repair Kit (69mm) Knorr 114
3034  Caliper Boot Knorr 115
3035  Guide Seals & Boot Knorr 116
3036  Guide Seals & Boot Knorr 116
3037  Caliper Shaft Housing Knorr 118
3038  Caliper Shaft Housing Knorr 118
3039  Caliper Shaft Housing Knorr 119
3040  Caliper Calibration Bolt Knorr 117
3041 Caliper Roller Bearings Knorr 121
3042 Caliper Roller Bearings Knorr 121
3043 Caliper Caps Knorr 122
3044 Caliper Plastic Cover (without chip) Knorr 122
3045  Caliper Calibration Shaft Chain (29 link) Knorr 133
3046  Caliper Shaft Housing (Full kit) Knorr 118
3047 Caliper Shaft Housing (Full kit) Knorr 118
3048  Caliper Shaft Housing (Full kit) Knorr 119
3049 Brake Caliper Mechanism Gear Knorr 110
3050 Brake Pad Retainer Repair Kit Knorr 133

www.alcanotomotiv.com



CODE DESCRIPTION Marka / Brand

3051 Adjusting Mechanism Cap Set (38mm) Knorr 135
3052 Adjusting Mechanism Cap Set (38mm) Knorr 135
3053 Adjusting Mechanism Cap Set (35mm) Knorr 135
3054 Adjusting Mechanism Adapter Set Knorr 135
3055 Caliper Repair Kit Knorr 89
3056  Caliper Repair Kit Knorr 100
3057 Lever Bearing Knorr 136
3058 Brake Caliper Lever - Straight - (Angle 0°) Knorr 137
3059 Brake Caliper Lever (Angle 12°) Knorr 137
3060 Brake Caliper Lever - Straight - (Angle 0°) Knorr 138
3061 Brake Caliper Lever (Angle 12°) Knorr 138
3062 Brake Caliper Lever Knorr 138
3063 Brake Caliper Lever - Straight - (Angle 0°) Knorr 139
3064 Brake Caliper Lever (Angle 12°) Knorr 139
3065  Caliper Cap Knorr 140
3066 Brake Caliper Lever Knorr 139
3067 Brake Caliper Lever Knorr 140
3068 Caliper Cover Knorr 136
3069 Caliper Cover Knorr 137
3070 Caliper Cover Knorr 137
3071 Caliper Lever Support Knorr 136
3072 Caliper Plastic Cover ( 2 Cables ) Knorr 123
3073 Caliper Plastic Cover ( 3 Cables ) - MERCEDES, ACTROS Knorr 124
3074  Caliper Repair Kit Knorr 88
3075 Caliper Calibration Bolt Knorr 117
3076 Caliper Tappet Repair Kit (69mm) Knorr 113
3077 Caliper Cap Kit Knorr 116
3078  Caliper Roller Bearings Knorr 121
3081 Actuator Seal - 42mm Knorr 141
3082 Actuator Seal - 45mm Knorr 141
3085  Caliper Lever Knorr 140
3086  Caliper Guide and Bush Knorr 107
3087  Caliper Metal-Rubber Bush (@40mm) Knorr 106
3088  Caliper Plastic Cover (without chip) Knorr 127
3089  Caliper Plastic Cover (without chip) Knorr 128
3090  Caliper Plastic Cover (without chip) Knorr 129
3091 Caliper Repair Kit Knorr 96
3092  Caliper Repair Kit Knorr 98
3093 Brake Pad Retainer Repair Kit Knorr 134
3094 Caliper Repair Kit Knorr 101
3095 Brake Caliper Lever Knorr 140
3096 Caliper Repair Kit Knorr 96
3097 Caliper Repair Kit Knorr 97
3098 Caliper Boots and Pistons Repair Kit Knorr 115
3099 Caliper Repair Kit Knorr 101
3100 Caliper Repair Kit Knorr 97
3101 Caliper Shaft Housing Knorr 120
3102  Caliper Shaft Housing Knorr 120
3103 Dust Cover Knorr 120

www.alcanotomotiv.com




IN\Parey

Caliper Brake Systems

CODE DESCRIPTION Marka / Brand

3104 Caliper Plastic Cover ( 2 Cables ) Knorr 128
3105 Caliper Plastic Cover ( 3 Cables ) Knorr 128
3106 Caliper Plastic Cover ( 2 Cables ) Knorr 128
3107 Caliper Plastic Cover ( 3 Cables ) Knorr 129
3108 Caliper Plastic Cover ( 2 Cables ) Knorr 129
( )

3109 Caliper Plastic Cover ( 3 Cables Knorr 129
3110  Caliper Pinion Shaft Knorr 111
3111 Caliper Pinion Shaft Knorr 111
3112  Caliper Steel Cap Kit Knorr 117
3113  Caliper Repair Kit Knorr 98
3114  Caliper Calibration Shaft Chain (12 link) Knorr 132
3115  Caliper Calibration Shaft Chain (14 link) Knorr 132
3116  Caliper Adjusting Mechanism - (Original Head) Knorr 107
3118  Caliper Plastic Cover (without chip)- DAF, SCANIA, IVECO Knorr 125
3119  Caliper Plastic Cover ( 2 Cables )- DAF, SCANIA, IVECO Knorr 125
3120 Caliper Plastic Cover ( 3 Cables )- DAF, SCANIA, IVECO Knorr 125
3121  Caliper Roller Bearings Knorr 122
3122  Caliper Repair Kit Knorr 88
3123  Caliper Plastic Cover Screw Set Knorr 133
3125 Caliper Metal-Rubber Bush (@35mm) Knorr 104
3126  Caliper Repair Kit Knorr 90
3127  Caliper Repair Kit Knorr 87
3128 Caliper Repair Kit Knorr 94
3129  Caliper Repair Kit Knorr 104
3130  Caliper Tappet Repair Kit (69mm) Knorr 114
3131  Caliper Adjusting Mechanism - (Original Head) Knorr 108
3132  Caliper Repair Kit Knorr 95
3134  Caliper Adjusting Mechanism Knorr 110
3135  Caliper Adjusting Mechanism Knorr 110
3136 Caliper Adjusting Mechanism Knorr 110
3137 Caliper Repair Kit Knorr 103
3138 Caliper Repair Kit Knorr 104
3139 Caliper Repair Kit Knorr 90
3140 Caliper Repair Kit Knorr 92
3141  Caliper Plastic Cover (without chip) Knorr 130
3142  Caliper Plastic Cover ( 2 Cables) Knorr 130
3143  Caliper Plastic Cover ( 3 Cables) Knorr 130
3144 Brake Pad Retainer Repair Kit Knorr 99
3145 Caliper Repair Kit Knorr 115
3146  Caliper Plastic Cover ( 3 Cables ) - MAN TGA Knorr 123
3147  Caliper Repair Kit Knorr 100
3148 Caliper Repair Kit Knorr 100
3149 Dust Cover Set Knorr 111
3150 Dust Cover Set Knorr 112
3151  Caliper Shaft Housing (Full kit) Knorr 129
3153  Caliper Guide and Bush Knorr 106
3154  Caliper Adjusting Mechanism (Hexagonal Head) Knorr 109
3155  Caliper Guide and Bush (@35mm) Knorr 105
3157  Caliper Plastic Cover (without chip) Knorr 126

www.alcanotomotiv.com



CODE DESCRIPTION Marka / Brand

3158 Caliper Adjusting Mechanism Knorr 110
3159 Repair Kit - SET ( SB5) Knorr 83
3160 Repair Kit - SET ( SN5) Knorr 83
3161 Repair Kit - SET ( SB6 / SB7 ) Knorr 84
3162 Repair Kit - SET ( SN6 / SN7 / SK7 / NA7 ) Knorr 84
3163 Repair Kit - SET ( SN6 / SN7 / SK7 / NA7 ) Knorr 84
3164 Repair Kit - SET ( SN6 / SN7 / SK7 / NA7 ) Knorr 85
3165 Repair Kit - SET ( SN6/SN7/SK7/NA7/ST7 ) Knorr 85
3166 Repair Kit - SET ( SN6/SN7/SK7/NA7/ST7) Knorr 85
3167 Plastic Cover Adaptor Knorr 131
3168 Caliper Repair Kit Knorr 90
3169 Sensor Cover Plug Knorr 131
3170 Plastic Shaft Knorr 132
3171 Plastic Shaft Knorr 131
3172 Caliper Plastic Cover - UNIVERSAL (without chip) Knorr 124
3173 Caliper Adjusting Mechanism Knorr 109
3174 Caliper Repair Kit Knorr 142
3175 Caliper Plastic Cover Seal Knorr 125
3176 Plastic Shaft Knorr 133
3177 Caliper Plastic Cover (without chip) Knorr 126
3178 Repair Kit - SET ( SN6 / SN7 / SK7 / NA7 ) Knorr 83
3179 Caliper Repair Kit Knorr 93
3180 Caliper Calibration Bolt Knorr 117
3181 Caliper Cover Knorr 136
3182 Caliper Tappet Repair Kit Knorr 114
3183 Repair Kit - SET ( SN6 / SN7 ) Knorr 82
3184 Caliper Tappet Repair Kit Knorr 114
3185 Plastic Shaft Knorr 131
3186 Caliper Plastic Cover ( 3 Cables) Knorr 127
3187  Caliper Plastic Cover ( 2 Cables) Knorr 127
3188 Caliper Plastic Cover (without chip) Knorr 126
3189  Caliper Plastic Cover ( 3 Cables) Knorr 126
3190 Caliper Repair Kit Knorr 122
3191 Caliper body Seal Knorr 141
3192  Adjuster Screw Gaiter Knorr 121
3193 Caliper Lever Bearing Set Knorr 120
3194 Caliper Tappet Repair Kit (74mm) Knorr 113
3195  Caliper Repair Kit Knorr 99
3196 Caliper Tappet Repair Kit (69mm) Knorr 112
3197 Caliper Repair Kit Knorr 89
3198 Brake Pad Retainer Repair Kit Knorr 134
3199 Brake Caliper Lever (Angle 12°) Knorr 138
3200 Caliper Cap Set Knorr 116
3201 Caliper Adjusting Mechanism Knorr 109
3202 Repair Kit - SET ( SN6 / SN7 ) Knorr 82
3203 Repair Kit - SET ( SK7 , ST7) Knorr 82
3205 Plastic Shaft Knorr 132
3206 Caliper Plastic Cover (without chip) Knorr 124
3207 Caliper Plastic Cover (without chip) Knorr 124
3208 Caliper Adjusting Mechanism Knorr 107
3209 Caliper Repair Kit Knorr 98

www.alcanotomotiv.com




IN\Parey

Caliper Brake Systems

CODE DESCRIPTION Marka / Brand

3210 Brake Pad Retainer Repair Kit Knorr 134
3211 Caliper Repair Kit Knorr 102
3212 Caliper Repair Kit Knorr 101
3213 Caliper Repair Kit Knorr 102
3214 Brake Pad Retainer Repair Kit Knorr 99
3215 Caliper Plastic Cover ( 3 Cables ) - MAN TGA Knorr 127
3216 Rubber Cap Kit Knorr 142
3217 Rubber Cap Kit Knorr 141
3218 Caliper Repair Kit Knorr 87
3219 Metal Cover (without chip) Knorr 123
3220 Caliper Adjusting Mechanism (Original Head) Knorr 108
3221 Caliper Adjusting Mechanism (Hexagonal Head) Knorr 109
3222 Caliper Tappet Repair Kit (69mm) Knorr 143
3223 Pin Cap Set Knorr 142
3224 Caliper Repair Kit Knorr 143
3225 Mechanism Repair Kit Knorr 143
3226 Caliper Repair Kit Knorr 143
3227 Repair Kit Knorr 144
3228 Caliper Repair Kit Knorr 144
3229 Caliper Adjusting Shaft Knorr 144
3232 Pin Repair Kit Knorr 145
3233 Pin Cap Set Knorr 145
3234 Caliper Lever Knorr 145
3300 Calibration Bolt Removal Tool Knorr 146
3301 Caliper Pin Repair Kit Knorr 146
3302 Brake Pad Retainer Repair Kit Knorr 146
3303 Caliper Guides & Cap Repair Kit Knorr 146
3304  Caliper Boots and Pistons Repair Kit Knorr 147
3305 Brake Pad Cable Protection Kit Knorr 147
3306  Caliper Complete Mechanism Repair Kit Knorr 147
3307  Caliper Complete Mechanism Repair Kit Knorr 147
3000-01 Wedged Fork Knorr 86
3025-6  Ring of Mechanism Knorr 142
3072-1 Sensor Chip ( 2 Cables) Knorr 122
3073-1  Sensor Chip ( 3 Cables - Mercedes ) Knorr 123
3146-1 Sensor Chip ( 3 Cables - MAN ) Knorr 123
SDo1 Knorr Sensor Test Device - Manual Knorr 86
3308 Caliper Repair Kit Knorr 148
3309 Knorr Set MAN TGA (New Model) Knorr 148
3310 Knorr Set Mercedes Axor (Old Model) Knorr 148
3311 Knorr Set Mercedes Axor (Old Model) Knorr 149
3312 Repair Kit Knorr 149
3313 Repair Kit Knorr 149
3314 Knorr Set Scania Knorr 150
3315 Knorr Set - Schmitz Knorr 150
3316 Caliper Repair Kit Knorr 150
3317 Caliper Repair Kit Knorr 151
3318 Caliper Tappet Repair Kit Knorr 151
3319  Caliper Repair Kit Knorr 151
3320 Pin Knorr 151

www.alcanotomotiv.com



CODE DESCRIPTION Marka / Brand

3321 Screw Knorr 152
3322 Pin Cap Knorr 152
3323 Caliper Repair Kit Knorr 152
3324  Caliper Repair Kit Knorr 152
3325 Caliper Repair Kit Knorr 153
3326  Shaft Housing Repair Kit Knorr 153
3327  Caliper Plastic Cover (3 Cables) (MAN) Knorr 153
3328 Repair Kit - SET ( SN5)) Knorr 153
3329 Caliper Repair Kit Knorr 154
3330 Caliper Lever Knorr 154
3331 Adjusting Mechanism Knorr 154
3332 Caliper Repair Kit Knorr 154
3333 Caliper Repair Kit Knorr 155
3334  Caliper Repair Kit Knorr 155
3335 Caliper Repair Kit Knorr 155
CCKO01 Caliper - Carrier Assembly (Right) Knorr 156
CCKO02 Caliper - Carrier Assembly (Left) Knorr 156
CCKO03 Caliper - Carrier Assembly (Right) Knorr 156
CCKO04 Caliper - Carrier Assembly (Left) Knorr 156
CCKO05 Caliper - Carrier Assembly (Right) Knorr 157
CCKO06 Caliper - Carrier Assembly (Left) Knorr 157
CCKO07 Caliper Kit (Left) Knorr 157
CCKO08 Caliper Kit (Right) Knorr 157
G10 Grease Oil Knorr 157

www.alcanotomotiv.com




IN\Parey

Caliper Brake Systems

Wabco

CODE DESCRIPTION Marka / Brand

4001 Caliper Repair Kit Wabco 161
4002 Caliper Repair Kit Wabco 163
4003 Caliper Repair Kit Wabco 164
4004  Caliper Roller Bearings Wabco 165
4005 Caliper Boots Wabco 166
4006 Caliper Boots Wabco 166
4007  Caliper Repair Kit Wabco 167
4008  Caliper Repair Kit Wabco 168
4009 Caliper Adjusting Mechanism 109mm Wabco 169
4010  Caliper Adjusting Mechanism 115mm Wabco 169
4011 Caliper Adjusting Mechanism 109mm (Assembly) Wabco 170
4012 Caliper Adjusting Mechanism 115mm (Assembly) Wabco 171
4013 Caliper Lever Wabco 171
4014  Adjusting Mechanism Washer & Spring Set Wabco 172
4015 Caliper Repair Kit Wabco 164
4016  Caliper Repair Kit Wabco 162
4017 Caliper Head Gasket Set Wabco 173
4018  Caliper Calibration Bolt (87mm) Wabco 168
4019  Caliper Calibration Bolt (91mm) Wabco 168
4020 Brake Caliper Tappet & Boot Set Wabco 174
4021 Caliper Repair Kit Wabco 175
4022 Caliper Repair Kit Wabco 175
4023 Caliper Push Plate Slotted ( Left) Wabco 176
4024 Caliper Push Plate Slotted ( Right ) Wabco 176
4025 Caliper Push Plate With Pin ( Left) Wabco 176
4026 Caliper Push Plate With Pin ( Right ) Wabco 176
4027 Caliper Push Plate Slotted ( Left) Wabco 177
4028  Caliper Push Plate Slotted ( Right ) Wabco 177
4029 Caliper Push Plate Slotted ( Left ) Wabco 177
4030 Caliper Push Plate Slotted ( Right ) Wabco 177
4031 Caliper Calibration Bolt (Left) Wabco 178
4032 Caliper Calibration Bolt (Right) Wabco 178
4033 Caliper Shaft Housing Wabco 178
4034  Caliper Shaft Housing (Full kit) Wabco 178
4035 Caliper Gasket & Bolts Repair Kit Wabco 174
4036  Caliper Gasket & Bolts Repair Kit Wabco 174
4037 Caliper Head Gasket Set Wabco 173
4038  Caliper Calibration Bolt (87mm) - With Groove Wabco 169
4039 Caliper Adjusting Mechanism 109mm (Assembly) - With Groove Wabco 171
4040 Caliper Adjusting Mechanism 109mm - With Groove Wabco 169
4041 Caliper Boots Wabco 167
4042 Caliper Roller Bearings Wabco 180
4043 Caliper Roller Bearings Wabco 180
4044 Brake Caliper Lever Wabco 179
4045 Brake Caliper Lever Kit Wabco 179
4046 Mechanism Pim Wabco 180
4047 Brake Caliper Lever Wabco 179
4048  Caliper Tappet Cover Kit Wabco 167
4049 Caliper Tappet Cover Kit Wabco 167
4050 Caliper Repair Kit Wabco 165
4051 Caliper Shaft Housing (Full kit) Wabco 182
4052 Caliper Shaft Housing Wabco 182

www.alcanotomotiv.com



CODE DESCRIPTION Marka / Brand

4053 Brake Caliper Lever Wabco 182
4054 Caliper Repair Kit Wabco 187
4055 Caliper Roller Bearings Wabco 183
4056 Brake Pad Retainer Repair Kit Wabco 183
4057 Caliper Repair Kit Wabco 163
4058 Caliper Roller Bearings Wabco 183
4059 Caliper Calibration Bolt Wabco 182
4060 Caliper Adjusting Mechanism Wabco 184
4061 Caliper Steel Cap Kit Wabco 165
4062 Caliper Push Plate Slotted ( Left) Wabco 184
4063 Caliper Push Plate Slotted ( Right ) Wabco 184
4064  Adjuster Repair Kit Wabco 184
4065 Caliper Repair Kit Wabco 165
4066 Caliper Bearing Caps Wabco 181
4067 Caliper Adjusting Mechanism 115mm - With Groove Wabco 170
4068 Caliper Adjusting Mechanism 115mm (Assembly) - With Groove Wabco 171
4069 Caliper Calibration Bolt (91mm) - With Groove Wabco 169
4070 Caliper Boots Wabco 182
4071 Caliper Repair Kit Wabco 166
4072 Caliper Shaft Housing (109mm) Wabco 170
4073 Caliper Shaft Housing (115mm) Wabco 170
4074 Caliper Adjuster Mechanism Gear ( Left) Wabco 179
4075 Caliper Adjuster Mechanism Gear ( Right ) Wabco 180
4076 Caliper Repair Kit Wabco 162
4077  Caliper Plug Repair Kit Wabco 185
4078 Sensor Cover Wabco 184
4079 Sensor Cover - Mercedes New Model Wabco 185
4081 Caliper Repair Kit Wabco 164
4082 Repair Kit - SET ( Pan 17.5 - Right ) Wabco 161
4083 Repair Kit - SET ( Pan 17.5 - Left) Wabco 161
4084 Pad Retainer Wabco 172
4085 Caliper Repair Kit Wabco 172
4086 Head Cover Wabco 172
4087  Caliper Cover Wabco 185
4088 Caliper Repair Kit Wabco 185
4089 Caliper Repair Kit Wabco 180
4092 Caliper Shaft Housing (Full kit) Wabco 185
4093 Brake Pad Retainer Repair Kit Wabco 173
4094 Caliper Calibration Bolt Wabco 186
4095 Caliper Adjusting Mechanism Wabco 186
4096 Caliper Shaft Housing Wabco 186
4097 Brake Pad Retainer Repair Kit Wabco 173
4098 Caliper Repair Kit Wabco 186
4099 Caliper Boots Wabco 166
4100 Caliper Repair Kit Wabco 162
4101 Caliper Repair Kit Wabco 175
4102 Caliper Repair Kit Wabco 183
4103 Caliper Repair Kit Wabco 163
4104 Caliper Cover Wabco 187
4105 Caliper Shaft Housing (Full kit) Wabco 187
4106 Brake Caliper Lever Wabco 187

www.alcanotomotiv.com




IN\Parey

Caliper Brake Systems

CODE DESCRIPTION Marka / Brand

4108 Repair Kit - SET ( MAXX22T - Left) Wabco 160
4109  Repair Kit - SET ( MAXX22T - Right ) Wabco 160
4110 Caliper Head Gasket Set Wabco 174
4111 Tappet Boot - New Model Wabco 188
4112 Caliper Repair Kit Wabco 160
4114 Caliper Shaft Housing (Full kit) Wabco 181
4115 Caliper Shaft Housing (Full kit) Wabco 181
4116 Adjusting Mechanism Washer & Spring Set Wabco 172
4117 Caliper Repair Kit Wabco 181
4118 Caliper Calibration Bolt Wabco 168
4120 Caliper Repair Kit Wabco 188
4121 Caliper Repair Kit - Left Wabco 188
4122 Caliper Repair Kit - Right Wabco 189
4123 Caliper Complete Repair Kit (Left) Wabco 189
4124 Caliper Complete Repair Kit (Right) Wabco 189
4125 Caliper Repair Kit Wabco 190
4126 Complete Repair Kit Wabco 190
4127  Complete Repair Kit Wabco 190
4128 Caliper Pin & Mechanism Repair Kit Wabco 191
4129  Caliper Pin & Mechanism Repair Kit Wabco 191
4130 Complete Repair Kit Wabco 192
4131 Caliper Boot & Pin Bush Set Wabco 192
CCWO01 Completely Caliper (Left) Wabco 199
CCW02 Completely Caliper (Right) Wabco 199
CCWO03 Completely Caliper (Left) Wabco 199
CCW04 Completely Caliper (Right) Wabco 199
4132 Caliper Repair Kit Wabco 192
4133  Complete Repair Kit Wabco 193
4134  Caliper Repair Kit Wabco 193
4135 Head Seal Set Wabco 193
4136 Caliper Repair Kit Wabco 193
4137 Caliper Repair Kit (Left) Wabco 194
4138 Caliper Repair Kit - Right Wabco 194
4139 Pad Retainer Wabco 194
4140  Screw Set Wabco 194
4141 Caliper Roller Bearings Half Kit Wabco 195
4142  Repair Kit - SET (Right) Wabco 195
4143 Repair Kit - SET (Left) Wabco 195
4144  Caliper Repair Kit Wabco 195
4145 Caliper Repair Kit Wabco 196
4146 Caliper Repair Kit Wabco 196
4147 Caliper Repair Kit Wabco 196
4148 Caliper Pin Boot Set Wabco 196
4149 Caliper Repair Kit (Left) Wabco 197
4150 Caliper Repair Kit - Right Wabco 197
4151 Caliper Repair Kit Wabco 197
4152 Caliper Repair Kit Wabco 198
4153  Caliper Shaft Housing Wabco 198
4154 Pin Repair Kit Wabco 198

www.alcanotomotiv.com



Haldex

CODE DESCRIPTION Marka / Brand

5001 Caliper Repair Kit Haldex 202
5002 Caliper Repair Kit Haldex 202
5003 Caliper Repair Kit Haldex 202
5004 Caliper Repair Kit Haldex 202
5005 Caliper Repair Kit Haldex 203
5006 Caliper Repair Kit Haldex 203
5007 Caliper Repair Kit Haldex 204
5008 Caliper Repair Kit Haldex 204
5009 Caliper Cap Set Haldex 205
5010 Caliper Roller Bearing Haldex 205
5011 Caliper Roller Bearings Haldex 206
5012 Caliper Tappet Plate and Bolt Set Haldex 207
5013 Caliper Tappet Plate Haldex 207
5014 Caliper Calibration Bolt Haldex 207
5015 Caliper Adjusting Mechanism Gear Haldex 208
5016 Caliper Adjusting Mechanism Gear Haldex 208
5017 Caliper Adjuster Shaft Set Haldex 208
5018 Caliper Repair Kit Haldex 209
5019 Caliper Boot and Cap Set Haldex 209
5020 Caliper Boot and Cap Set Haldex 210
5021 Cap Set Haldex 210
5022 Caliper Mechanism Clamp Haldex 210
5023 Caliper Mechanism Plate Haldex 210
5024 Caliper Shaft Housing Haldex 211
5025 Caliper Adjusting Mechanism Haldex 211
5026 Caliper Adjusting Mechanism Gear Haldex 21
5027  Caliper Adjusting Mechanism Gear Haldex 211
5028 Caliper Manual Adjusting Gear Haldex 21
5029 Caliper Tappet and Calibration Bolt Haldex 212
5030 Caliper Roller Bearings Haldex 212
5031 Caliper Roller Bearings Haldex 212
5032 Caliper Pin Boot (Old Model) Haldex 203
5033 Caliper Pin Boot (New Model) Haldex 203
5034 Brake Caliper Lever Haldex 212
5035 Caliper Tappet Plate Haldex 213
5036 Caliper Tappet Plate and Bolt Set Haldex 207
5037 Caliper Adjuster Shaft Set Haldex 209
5038 Caliper Pad Retainer Haldex 205
5041 Caliper Roller Bearing Haldex 206
5043 Caliper Shaft Housing Haldex 206
5044 Caliper Shaft Housing Haldex 206
5046 Calibration Mechanism Complete Haldex 214
5046 Calibration Mechanism Complete Haldex 214
5047 Calibration Mechanism Haldex 208
5048 Caliper Adjusting Mechanism Haldex 213
5049 Caliper Mechanism Haldex 206
5050 Caliper Shaft Housing Haldex 214
5051 Bearing Cage Haldex 213
5052 Caliper Boot and Cap Set Haldex 209
5055 Calibration Mechanism Complete Haldex 204
5056 Mechanism Locking Wire Haldex 205

www.alcanotomotiv.com




IN\Parey

Caliper Brake Systems

CODE DESCRIPTION Marka / Brand

5057 Calibration Mechanism Complete Haldex 213
5058 Brake Caliper Lever Haldex 204
5059  Caliper Shaft Housing Haldex 214
5060  Caliper Brake Lining Calibration Gear - Right Haldex 215
5061 Caliper Brake Lining Calibration Gear - Left Haldex 215
5062 Lever Pin Haldex 215
5063  Caliper Repair Kit Haldex 215

lveco

CODE DESCRIPTION Marka / Brand

6001 Brake Adjusting Seal Kit Iveco 218
6002 Brake Adjusting Seal Iveco 218
6003  Brake Adjusting Seal Iveco 218
6004 Brake Adjusting Seal Iveco 218
6005  Brake Adjusting Seal and Clutch Plate Kit Iveco 219
6006 Brake Adjusting Repair Kit Iveco 219
6007  Brake Adjusting Seal and Clutch Plate Kit Iveco 219
6008 Brake Adjusting Seal and Clutch Plate Kit Iveco 219
6009 Caliper Boots and Pistons Repair Kit Iveco 220
6010  Caliper Tappet Repair Kit (74mm) Iveco 220
6011 Caliper Boot & Ring Set Iveco 220
6012  Caliper Repair Kit Iveco 221
6013  Caliper Repair Kit Iveco 221
6014  Brake Adjusting Repair Kit Iveco 221
6015  Return Spring Iveco 222
6016  Return Spring Iveco 222
6017  Brake Adjusting Repair Kit Iveco 222
6018  Adjuster Repair Kit Iveco 222
6019  Adjuster Repair Kit Iveco 223
6020  Caliper Pat Retainer Repair Kit Iveco 223
6021 Adjuster Repair Kit Iveco 223
6022  Brake Adjusting Repair Kit (Left) Iveco 223
6023  Brake Adjusting Repair Kit (Right) Iveco 224
6024  Dust Boot Iveco 224
6025  Brake Adjusting Holder - Left Iveco 224
6026  Brake Adjusting Holder - Right Iveco 224
6027 Brake Adjusting Repair Kit Iveco 225
6028 Brake Adjusting Repair Kit Iveco 225
6029 Brake Adjusting Repair Kit Iveco 225
6030 Brake Adjusting Repair Kit Iveco 225
6031 Brake Adjusting Repair Kit Iveco 226
6032  Brake Adjusting Repair Kit Iveco 226
6033  Brake Adjusting Nut Iveco 226
6035  Brake Adjusting Repair Kit Iveco 226
6036  Return Spring Iveco 222

www.alcanotomotiv.com



Hydraulic Caliper

DESCRIPTION Marka / Brand

2179 Caliper Repair Kit Hydraulic

2200 Caliper Repair Kit Hydraulic 231
2212 Caliper Repair Kit Hydraulic 230
2214 Caliper Repair Kit Hydraulic 230
8001 Caliper Piston Kit Hydraulic 231
8002 Setting Shaft Hydraulic 232
8003 Shaft Girling Hydraulic 232
8004 Adjusting Mechanism Hydraulic 232
8005 Spring mechanism Hydraulic 233
8006 Wedge Repair Kit Hydraulic 233
8007 Wedge Repair Kit Hydraulic 233
8008 Wedge Repair Kit Hydraulic 234
8009 Bush Hydraulic 234
8010 Caliper Repair Kit Hydraulic 234
8011 Screw Set Hydraulic 235
8012 Locking plate Hydraulic 235
8013 Bush Hydraulic 235
8014 Setting Washer Hydraulic 236
8015 Operating Seals (60mm piston) Hydraulic 236
8016 Operating Seals Hydraulic 236
8017 Bearing Hydraulic 236
8018 Caliper Boot Kit (40mm piston) Hydraulic 237
8019 Caliper Boot Kit (40mm piston) Hydraulic 237
8020 Operating Seals (40mm piston) Hydraulic 237
8021 Caliper Piston Kit Hydraulic 231
8022 Setting Screw Hydraulic 233
8023 Wedge Repair Kit Hydraulic 234
8024 Caliper Repair Kit Hydraulic 235
8025 Caliper Repair Kit Hydraulic 237
8026 Caliper Repair Kit Hydraulic 238
8027 Setting Shaft Hydraulic 232
8028 Cap Set Hydraulic 238
8029 Shaft Setting lever Hydraulic 238
8030 Caliper Piston Hydraulic 231
8031 Caliper Piston Hydraulic 231
8032 Caliper Repair Kit Hydraulic 238
8033 Caliper Piston Hydraulic 239
8034 Caliper Piston Hydraulic 239
8035 Piston Hydraulic 239
8037 Caliper Lubricating Plug Kit Hydraulic 239
8037 Wedge Grooved Hydraulic 239

www.alcanotomotiv.com




IN\Parey

Caliper Brake Systems

Saf Modul T

CODE DESCRIPTION Marka / Brand

9001 Caliper Repair Kit 242
9002  Caliper Adjuster Screw Gaiter Kit Saf 242
9003 Piston Actuator Saf 243
9004 Inner Boot Saf 243
9005 Plastic Locking Mechanism Saf 243
9006 Caliper Adjusting Gear Saf 243
9007 Caliper Adjusting Gear Saf 244
9008 Setting Tappet Saf 244
9009 Caliper Roller Bearings Saf 245
9010 Caliper Roller Bearings Saf 245
9011 Needle & Roller Bearings Saf 245
9012 Calibration Mechanism Complete Saf 246
9013 Adjustment mechanism Saf 246
9014 Caliper Calibration Bolt Saf 246
9015 Caliper Mechanism Plate Saf 246
9016 Brake Caliper Lever Saf 246
9017 Caliper Bearing Cap Saf 247
9018 Brake Pad Retainer Repair Kit Saf 247
9019 Caliper Bearing Caps Saf 247
9020 Caliper Roller Bearings Saf 245
9021 Caliper Adjusting Gear Saf 244
9022 Piston Actuator Saf 242
9023 Caliper Adjusting Gear Saf 244
9024 Caliper Repair Kit Saf 242
9025 Caliper Complete Kit Saf 247
9026 Protection Plug Set Saf 247
9027 Caliper Repair Kit Saf 248
9028 Caliper Repair Kit Saf 248
9029 Mechanism Fixing Kit Saf 248
9030 Brake Pad Retainer Repair Kit Saf 248
9031 Piston Actuator Saf 249
9032  Caliper Adjusting Gear Saf 249
9400 Caliper Repair Kit Saf 249

www.alcanotomotiv.com



Z-Cam Brake

CODE DESCRIPTION Marka / Brand

D001  Adjusting Gear Repair Kit (Right) Z-Cam 252
D002  Adjusting Gear Repair Kit (Left) Z-Cam 252
D005 Cross Shaft Z-Cam 255
D007  Thrust Pin Z-Cam 256
D008 Brake Adjuster Return Spring Z-Cam 256
D009  Return Spring Pin Z-Cam 256
D010 Reverse Lock Repair Kit (Right) Z-Cam 253
D011 Reverse Lock Repair Kit (Left) Z-Cam 253
D012 Cover Z-Cam 256
D013  Dust Cover Z-Cam 257
D014  Pinion Kit (Left) Z-Cam 257
D015  Pinion Kit (Right) Z-Cam 257
D016  Pinion (Right) Z-Cam 256
D017  Pinion (Left) Z-Cam 256
D019  Adjusting Gear Cap Z-Cam 257
E023  Adjusting Pinion (Right) Z-Cam 255
E024  Adjusting Pinion (Left) Z-Cam 255
E027  Gasket Kit Z-Cam 255
E028 Lock Cap Repair Kit (23 teeth) Z-Cam 254
E029 Lock Cap Repair Kit (14 teeth) Z-Cam 254
E030 Lock Cap Repair Kit (14 teeth) Z-Cam 254
E031 Lock Cap Repair Kit (23 teeth) Z-Cam 254
E032 Lock Cap Repair Kit (14 teeth) Z-Cam 253
E033 Brake Pad (Left) Z-Cam 252
E034 Brake Pad (Right) Z-Cam 252
E035 Caliper Repair Kit Z-Cam 253

www.alcanotomotiv.com




IN\Parey

Caliper Brake Systems

Carrier

CODE DESCRIPTION Marka / Brand

CFo01 Caliper Carrier (22,5) Haldex 275
CKO01  Caliper Carrier (22,5” - Left+Right ) - Bidirectional - Scania Knorr 263
CKO02  Caliper Carrier (22,5” - Left+Right ) - Bidirectional Knorr 263
CKO03  Caliper Carrier (17,5” - Left+Right ) Knorr 263
CKO04  Caliper Carrier (22,5” - Left+Right ) Knorr 263
CKO05  Caliper Carrier (22,5” - Left+Right ) Knorr 264
CKO06  Caliper Carrier (22,5” - Left+Right ) Knorr 264
CKO07  Caliper Carrier (22,5” - Left+Right ) Knorr 264
CK10  Caliper Carrier (22,5” - Left+Right ) Knorr 264
CK11  Caliper Carrier (19,5” - Left+Right ) Knorr 265
CK12  Caliper Carrier (22,5” - Left+Right ) Knorr 265

)

)

)

)

)

)

)

)

)

(

(

(

(

(

(

(

(

(

(

(

CK13  Caliper Carrier (22,5” - Left+Right Knorr 265

CK14  Caliper Carrier (19,5” - Left+Right Knorr 265

CK15  Caliper Carrier (19,5” - Left+Right Knorr 266

CK17  Caliper Carrier (22,5” - Left+Right

CK18  Caliper Carrier (22,5” - Left+Right

CK19  Caliper Carrier (19,5” - Left+Right

CK20 Caliper Carrier (22,5” - Left+Right
(
(
(
(
(
(
(

Knorr 266
Knorr 266
Knorr 267
Knorr 267

CK21  Caliper Carrier (22,5” - Left+Right Knorr 267
CK22  Caliper Carrier (17,5” - Left+Right Knorr 267
CK23  Caliper Carrier (22,5”) Knorr 268
CK24  Caliper Carrier (22,5”) Knorr 268
CK25  Caliper Carrier (22,5”) Knorr 268
CK26  Caliper Carrier (22,5” - Right ) Wabco 266
CK27  Caliper Carrier (22,5”) Knorr 268
CK28  Caliper Carrier Knorr 269
CK29  Caliper Carrier (22,5”) Knorr 269
CK30 Caliper Carrier (19,5” - Right ) Knorr 269
CK31 Caliper Carrier (22,5”) Knorr 270
CK32  Caliper Carrier (22,5”) Knorr 270
CK33 Caliper Carrier (19,5” - Left) Knorr 269
CK34  Caliper Carrier (22,5”) Knorr 270
CK35 Caliper Carrier (22,5>>) Meritor 270
CMO1  Caliper Carrier (22,5” - Left+Right ) Meritor 270
CMO02 Caliper Carrier (22,5” - Left+Right ) Meritor 271
CMO03  Caliper Carrier (22,5” - Left+Right ) Meritor 271
CMO04  Caliper Carrier (22,5” - Left+Right ) Meritor 271
CMO05  Caliper Carrier (22,5” - Left+Right ) Meritor 271
CMO06  Caliper Carrier (22,5”) Meritor 272
CMO07  Caliper Carrier (22,5”) Meritor 272
CMO08  Caliper Carrier (22,5”) Meritor 272
CMO09 Caliper Carrier (19,5”) Meritor 272
CM10 Caliper Carrier (19,5”) Meritor 273
CM11 Caliper Carrier (22,5”) Meritor 273
CM12  Caliper Carrier (22,5”) Meritor 273
CM13  Caliper Carrier (19,5”) Meritor 273
CM14  Caliper Carrier (22,5”) Meritor 274
CM15  Caliper Carrier (22,5”) Meritor 274
CM16  Caliper Carrier (19,5”) Meritor 274
CM17  Caliper Carrier (22,5”) Meritor 274

www.alcanotomotiv.com



CODE DESCRIPTION Marka / Brand

CM18  Caliper Carrier (19,5”) Meritor 275
CM19  Caliper Carrier (19,5”) Meritor 275
CM20  Caliper Carrier (22,5”) Meritor 275
CM21  Caliper Carrier (22,5”) Meritor 275
CWO01  Caliper Carrier (Pan 17,5’ - Right ) Wabco 260
CW02 Caliper Carrier (Pan 17,5’ - Left ) Wabco 260
CWO03  Caliper Carrier (Pan 17,5’ - Left+Right ) - Bidirectional Wabco 260
CWO04 Caliper Carrier (Pan 19,5’ - Right ) Wabco 260
CW05 Caliper Carrier (Pan 19,5’ - Left) Wabco 261
CW06 Caliper Carrier (Pan 22,5’ - Left) Wabco 261
CWO07  Caliper Carrier (Pan 22,5’ - Right ) Wabco 261
CWO08  Caliper Carrier (Pan 19,5-1 Plus - Right ) Wabco 262
CWO09 Caliper Carrier (Pan 22,5’ - Left ) Wabco 262
CW10 Caliper Carrier (Pan 19,5-1 Plus - Left) Wabco 261
CW11  Caliper Carrier (Pan 22,5’ - Right ) Wabco 262
CW50 Caliper Carrier (Pan 17,5’ - Left+Right ) - Rear Wabco 262

www.alcanotomotiv.com




IN\Parey

Caliper Brake Systems

Cable

CODE DESCRIPTION Marka / Brand

www.alcanotomotiv.com

CAB3002-230cm Caliper Sensor Cable (Front Right) Meritor 278
CAB3003-140cm Caliper Sensor Cable (Rear Right) Meritor 278
CAB3006-520cm Caliper Sensor Cable (Front Right) Meritor 278
CAB3008-360cm Caliper Sensor Cable (Front Left) Meritor 278
CAB3010-150cm Caliper Sensor Cable Meritor 279
CAB3012-135cm Caliper Sensor Cable (Front Right - Left) Meritor 279
CAB3014-175cm Caliper Sensor Cable (Rear Right) Meritor 279
CAB3015-156 cm Caliper Sensor Cable Meritor 279
CAB3025-130cm Caliper Sensor Cable Meritor 280
CAB3048-175cm Caliper Sensor Cable Meritor 280
CAB3049-175cm Caliper Sensor Cable Meritor 280
CAB1031-G1-40cm Caliper Sensor Cable (with socket) Knorr 280
CAB1031-G2-70cm  Caliper Sensor Cable (with socket) Knorr 281
CAB1031-G3-130cm  Caliper Sensor Cable (with socket) Knorr 281
CAB1031-G4-150cm  Caliper Sensor Cable (with socket) Knorr 281
CAB1031-G5-170cm  Caliper Sensor Cable (with socket) Knorr 281
CAB1031-G6-200cm  Caliper Sensor Cable (with socket) Knorr 282
CAB1031-G7-220cm  Caliper Sensor Cable (with socket) Knorr 282
CAB1031-G8-230cm  Caliper Sensor Cable (with socket) Knorr 282
CAB1031-G9-350cm  Caliper Sensor Cable (with socket) Knorr 282
CAB1031-G10-500cm Caliper Sensor Cable (with socket) Knorr 283
CAB1031-G11-800cm Caliper Sensor Cable (with socket) Knorr 283
CAB1031-G12-1000cm Caliper Sensor Cable (with socket) Knorr 283
CAB1031-G13-1200cm Caliper Sensor Cable (with socket) Knorr 283
CAB1032-K1-40cm Caliper Sensor Cable (with socket) Knorr 284
CAB1032-K2-70cm Caliper Sensor Cable (with socket) Knorr 284
CAB1032-K3-130cm  Caliper Sensor Cable (with socket) Knorr 284
CAB1032-K4-150cm  Caliper Sensor Cable (with socket) Knorr 284
CAB1032-K5-170cm  Caliper Sensor Cable (with socket) Knorr 285
CAB1032-K6-200cm  Caliper Sensor Cable (with socket) Knorr 285
CAB1032-K7-220cm  Caliper Sensor Cable (with socket) Knorr 285
CAB1032-K8-230cm  Caliper Sensor Cable (with socket) Knorr 285
CAB1032-K9-350cm  Caliper Sensor Cable (with socket) Knorr 286
CAB1032-K10-500cm Caliper Sensor Cable (with socket) Knorr 286
CAB1032-K11-800cm  Caliper Sensor Cable (with socket) Knorr 286
CAB1032-K12-1000cm Caliper Sensor Cable (with socket) Knorr 286
CAB1032-K13-1200cm Caliper Sensor Cable (with socket) Knorr 287
CAB1033-U1-40cm Caliper Sensor Cable (with socket) Knorr 287
CAB1033-U2-70cm Caliper Sensor Cable (with socket) Knorr 287
CAB1033-U3-130cm  Caliper Sensor Cable (with socket) Knorr 287
CAB1033-U4-150cm  Caliper Sensor Cable (with socket) Knorr 288
CAB1033-U5-170cm  Caliper Sensor Cable (with socket) Knorr 288
CAB1033-U6-200cm  Caliper Sensor Cable (with socket) Knorr 288
CAB1033-U7-220cm  Caliper Sensor Cable (with socket) Knorr 288
CAB1033-U8-230cm  Caliper Sensor Cable (with socket) Knorr 289
CAB1033-U9-350cm  Caliper Sensor Cable (with socket) Knorr 289
CAB1033-U10-500cm Caliper Sensor Cable (with socket) Knorr 289
CAB1033-U11-800cm  Caliper Sensor Cable (with socket) Knorr 289



CODE DESCRIPTION Marka / Brand

CAB1033-U12-1000cm Caliper Sensor Cable (with socket)
CAB1033-U13-1200cm Caliper Sensor Cable (with socket

CAB1034-G-200cm
CAB1034-Y-200cm
CAB1034-T-200cm
CAB1034-S-200cm
CAB1035-40cm
CAB1035-70cm
CAB1035-130cm
CAB1035-150cm
CAB1035-170cm
CAB1035-200cm
CAB1035-220cm
CAB1035-230cm
CAB1035-250cm
CAB1035-350cm
CAB1035-500cm
CAB1035-550cm
CAB1035-800cm
CAB1035-1000cm
CAB1035-1200cm
CAB1035-2000cm
CAB3030-185cm
CAB3031-185cm

Caliper Sensor Cable (with socket
Caliper Sensor Cable (with socket
Caliper Sensor Cable
Caliper Sensor Cable
Caliper Sensor Cable
Caliper Sensor Cable
Caliper Sensor Cable
Caliper Sensor Cable
Caliper Sensor Cable
Caliper Sensor Cable
Caliper Sensor Cable
Caliper Sensor Cable
Caliper Sensor Cable
Caliper Sensor Cable
Caliper Sensor Cable
Caliper Sensor Cable
Caliper Sensor Cable
Caliper Sensor Cable
Caliper Sensor Cable
Caliper Sensor Cable

(

( )
Caliper Sensor Cable (with socket)
Caliper Sensor Cable (with socket)

( )

( )

www.alcanotomotiv.com

Knorr
Knorr
Knorr
Knorr
Knorr
Knorr
Knorr
Knorr
Knorr
Knorr
Knorr
Knorr
Knorr
Knorr
Knorr
Knorr
Knorr
Knorr
Knorr
Knorr
Knorr
Knorr
Meritor
Meritor

290
290
290
290
291
291
291
291
292
292
292
292
293
293
293
293
294
294
294
294
295
295
295
295




IN\Bared

Caliper Brake Systems

www.alcanotomotiv.com




ALCAN

OTOMOTIV

A\

Caliper Brake Systems




	Boş Sayfa
	Boş Sayfa

